- -

N m— /

| “Etaist LH\P’“”
\ &*DFI]IQI

AP, Center Dr|II DIES‘

T




OFI}R} AFEE 744l Bl E§ 7|}

b I O — | L

=

=2 AHMEX| &2 5= JAELICE

o
E|ojLF DZHEIAIM HE[SHH| MEE ol

W[t
AlAE
ADIEE
o a4

27t



Rt
Ol&2 A

S 4 QUi B[St A SQILIC,

7t ot 25 9| T/0|S3E Het

TP

SPULDRAR/A TN wT) - PRVAWAWA M THEAXDE

Js .
M:A—RFILAL =
kD -
T X EwFnl#
M:X— LR . 6 i .
5 . Ve: I IEE(m/min)
HEEMTEEE ADCEEN
1 - [ 30.0 BGLI
mRES -
VUSP "

Bl 313734 ERTiTEC 30 -

Vi ¢ K D EE (mm/min)
1592
f : ED E(mm/rev)

mEES BN TE  BR 2RL)  HrT7EDs) )

VUSSP HESF | MGX! P2 ED G =3 1
WuUsP HSSP | MBX1 P3 BD & 3—3
VUSP HES-F | MEXT Pa BD (] 3—3

Tt TP

RUYAMAWA 52 FAE

O—gv7 -
M:A— kLl -
534 Vir 5 7 & ey FliE
6 -1 -

5y THR I G7 .
HEE T 7RE(mm) : 5.56

SHIEEOS OICIAME 2M NS

7| B MOf|A]

B PR
SHOIM AZ2 R0| HRg tH=, 1 Xf2(0f|Af

sofl, AR MO Z71S 21518, e ME
ADIEES AR 2| ZAE 4 QLI =

SOl 2A =Hof|

USLICE

HAOl|A]

&S0 LR ot 3 rH elsmh O wi=
ADIEE HMOR B2 AFS0M 2EE
FESH= 20| 7ksELIC



R YAMAWA

=3t

I el




P YAMAWA

SP ALO|E ® - Metric size

NE7|=
SP
SP
SP
SP
SP
SP
SP
+SP
SP
+SP
SP
+SP
SP
+SP
SP
+SP
SP
+SP
SP
SP
+SP
SP
+SP
SP
SP
SP
SP
+SP
SP
SP
SP
SP
SP
+SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP

2 mm
M 1.0 x 0.25
M 1.2 x 0.25
M 1.4 x 0.30
M 1.6 x 0.35
M 1.7 x 0.35
M 1.8 x 0.35
M 2.0 x 0.25
M 2.0 x 0.40
M 2.2 x 0.25
M 2.2 x 0.45
M 2.3 x0.25
M 2.3 x 0.40
M 2.5 x 0.35
M 2.5 x 0.45
M 2.6 x 0.35
M 2.6 x 0.45
M 3.0 x 0.35
M 3.0 x 0.50
M 3.0 x 0.60
M 3.5 x 0.35
M 3.5 x 0.60
M 4.0 x 0.50
M 4.0 x 0.70
M 4.0 x 0.75
M 4.5 x 0.50
M 4.5 x 0.75
M 5.0 x 0.50
M 5.0 x 0.80
M 5.0 x 0.90
M 5.5 x 0.50
M 5.5 x 0.90
M 6.0 x 0.50
M 6.0 x 0.75
M 6.0 x 1.00
M 7.0 x 0.50
M 7.0 x 0.75
M 7.0 x 1.00
M 8.0 x 0.50
M 8.0 x 0.75
M 8.0 x 1.00
M 8.0 x 1.25
M 9.0 x 0.50
M 9.0 x 0.75
M 9.0 x 1.00
M 9.0 x 1.25
M 10.0 x 0.50
M 10.0 x 0.75
M 10.0 x 1.00
M 10.0 x 1.25
M 10.0 x 1.50
M 11.0 x 0.75

BlofE7}
53,790
49,490
44,160
42,180
35,890
38,300
49,390
25,120
50,720
30,260
49,770
23,210
38,510
21,880
35,060
17,100
27,580
13,490
18,280
32,090
20,790
23,910
13,040
17,540
32,570
22,630
24,000
13,200
18,000
32,040
25,300
29,350
20,790

14,110
36,420
33,230
24,260
41,780
28,480
24,510
19,370
51,160
45,000
39,680
36,000
53,600
50,360
33,960
25,460
25,460
70,540

I\

10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10

MOoQ

10
10
10
5]
10
5)
5
30
5
)
5
10
5
20
5
20
5
30
5
10
10
10
30
5)
10
5)
10
30
5
5)
5
10
10
30
5
5)
10

SP ALO|E B - Metric size

HZ71=
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP
SP

4 mm
M 11.0 x 1.00
M 12.0 x 0.50
M12.0 x 0.75
M 12.0 x 1.00
M12.0 x 1.25
M 12.0 x 1.50
M12.0 x 1.75
M 13.0 x 1.00
M 14.0 x 1.00
M 14.0 x 1.25
M 14.0 x 1.50
M 14.0 x 2.00
M 15.0 x 1.00
M 16.0 x 1.00
M 16.0 x 1.50
M 16.0 x 2.00
M 17.0 x 1.00
M 18.0 x 1.00
M 18.0 x 1.50
M 18.0 x 2.50
M 20.0 x 1.00
M 20.0 x 1.50
M 20.0 x 2.50
M 22.0 x 1.00
M 22.0 x 1.50
M 22.0 x 2.50
M 24.0 x 1.50
M 24.0 x 2.00
M 24.0 x 3.00
M 26.0 x 1.50
M 27.0 x 1.50
M 27.0 x 3.00
M 28.0 x 1.50
M 30.0 x 1.50
M 30.0 x 3.50
M 33.0 x 1.50
M 33.0 x 3.50
M 36.0 x 4.00
M 42.0 x 4.50
M 45.0 x 4.50
M 48.0 x 5.00
M 64.0 x 6.00

RN} IN
65,920 10
75,240 10
70,540 10
48,270 10
35840 10
35840 10
35840 10

113,880 10
82,280 10
75,240 10
49,290 10
49,290 10

132,860 10

108,440 10
65,670 10
65,670 10

182,750 10

150,920 10
89,640 10
91,980 1

192,260 1

105,660 1

108,410 1

252,900 1

136,190 1

136,190 1

170,700 1

189,810 1

170,700 1

263,880 1

267,020 1

245,660 1

330,940 1

333,350 1

319,470 1

566,760 1

402,330 1

491,100 1

942,170 1

1,092,090 1
1,341,370 1
2,363,570 1

MOQ

(SN ¢, B¢ BN &2 BN &) RN OV)

-
o

B T T T Y e S e S . T ¢ © == WP N 6 [N S S ') P W S ') S S e YO 2 BN 'S I S N & 2 I 06 T ' I Y=y

SP fL|uto] An}0]3 @ UNC/ UNF

HE71=
N-SP
N-SP
N-SP
N-SP
N-SP

2 mm
0-80UNC
1-8UNC
1-12 UNF
1-64 UNC
1-72 UNF

T IN
51,140 10
323,400 10
323,400 10
46,310 10
46,310 10

MOQ

10
1
1

10

10

YAMAWA CATALOG 7



P YAMAWA

HZ7|S 72 mm TSPl IN  MOQ eE THOI=IE
N-SP  2-56UNC 35790 10 10 SU+SL 81188 AHE ALOIEE
N-SP  2-64UNF 35790 10 5 HZ7|= 4 mm TRt IN ~ MOQ

m N-SP  3-48UNC 31,420 10 5 SU+SL 3x0.5 19,320 10 10
N-SP  3-56UNF 31,420 10 10 SU+SL 4x0.7 18,540 10 10
N-SP  4-40UNC 24,480 10 10 SU+SL 5x0.8 18,990 10 10
N-SP  4-48UNF 24,480 10 5 SU+SL 6x1.0 19,970 10 10
N-SP  5-40UNC 23,800 10 5
N-SP  5-44 UNF 23,800 10 5 SU-SP SISIT1HE AHIS ATO|2 &
N-SP  6-32UNC 23,090 10 10
N-SP  6-40UNF 23,090 10 10 HZ7I= 2 mm HOHE IN  MOQ
N-SP  8-32UNC 22,420 10 10 SU-SP  M1.4X0.3 51,770 10 5
N-SP  8-36 UNF 22,420 10 10 SU-SP  M1.7X0.35 45170 10 5
N-SP  10-24 UNC 22,420 10 10 SU+SP M 2.0X0.4(+) 28790 10 10
N-SP  10-32UNF 22,420 10 10 SU+SP M 2.3X0.4(+) 26,640 10 5
N-SP  12-24 UNC 24,450 10 10 SU-SP  M2.3X0.4 26,640 10 5
N-SP  12-28 UNF 24,450 10 10 SU+SP  M2.5X0.45(+) 23520 10 5
N-SP  1/2-13 UNC 63,490 10 5 SU+SP M 2.6X0.45(+) 19,680 10 10
N-SP  1/2- 20 UNF 63,490 10 5 SU-SP M 2.6X0.45 19,680 10 10
N-SP  1/4-20UNC 18,970 10 10 SU+SP M 3.0X0.5(+) 16,00 10 10
N-SP  1/4- 28 UNF 18970 10 10 SU+SP M 4.0X0.7(+) 15450 10 20
N-SP  3/4-10 UNC 151,860 10 3 SU+SP M 5.0X0.8(+) 15,820 10 20
N-SP  3/4-16 UNF 151,860 10 3 SU+SP M 6.0X1.0(+) 16,650 10 20
N-SP  3/8-16 UNC 30,250 10 10 SU-SP M 8.0X1.25 22,940 10 20
N-SP  3/8-24 UNF 31,040 10 10 SU-SP  M10.0X1.5 29760 10 10
N-SP  5/8-11UNC 98,750 10 3 SU-SP  M12.0X1.75 41,830 10 5
N-SP  5/8-18 UNF 98,750 10 3 SU-SP  M14.0X2.0 57,850 10 5
N-SP  7/8-9UNC 229,880 10 1 SU-SP  M16.0X2.0 76,970 10 5
N-SP  7/8-14 UNF 229,880 10 1 SU-SP  M18.0X2.5 140,00 10 3
N-SP  5/16- 18 UNC 25120 10 10 SU-SP  M20.0X2.5 199,650 10 3
N-SP  5/16 - 24 UNF 25120 10 10 SU-SP  M24.0X3.0 221,990 10 1
N-SP  7/16-14 UNC 52,690 10 5
N-SP  7/16 - 20 UNF 52,690 10 5 _

N-SP  9/16- 12 UNC 91,220 10 3 SP-LH Z}-Anto|g
N-SP  9/16 - 18 UNF 91,220 10 3 pE— =2 mm p— T
SP-LH  M20X0.40% 40,200 10 10
o - SP-LH M 3.0X0.50 21,580 10 10
SP ${ELt AnOIE & SP-LH M4.0X070% 20,870 10 10
HZ7|s 72 mm TR} IN  MOQ SP-LH M 5.0X0.80 %t 21,110 10 10
N-SP W1/2 - 12 49,180 10 5 SP-LH M 6.0X1.00 Z 22,570 10 10
N-SP W 1/8 - 40 22,140 10 10 SP-LH  MB80X1.25% 30,990 10 5
N-SP W 3/16 - 24 17,150 10 10 SP-LH  M10.0X1.50 % 40,740 10 3
N-SP W 5/32 - 32 20,560 10 10 SP-LH  M12.0X1.75% 57,350 10 3
SP-LH  M16.0X2.00% 105,070 10 1
AU+SP TINZ& AL}O|E ™ PM-SP =20}0|A A} Auto|=H
HZ7|s 72 mm TSPl IN  MOQ HiZ7| 72 mm mofE ot IN  MOQ
AU+SP 4x0.7 33,230 10 10 PM-SP 3x0.5 20,470 10 10
AU+SP 5x0.8 33,620 10 10 PM-SP 4x0.7 20,470 10 10
AU+SP 6x1.0 34,710 10 10 PM-SP 5x0.8 21,140 10 10
AU+SP 8x1.25 51,160 10 10 PM-SP 6x1.0 22,520 10 10
AU+SP 10x1.5 60,030 10 10 PM-SP 8x1.25 34,810 10 10
AU+SP 12x1.75 79,800 10 10 PM-SP 10x1.5 43,690 10 10

8 YAMAWA CATALOG



P YAMAWA

HE7|= 4 mm RONEL IN MOQ > =1 - 1=
PM-SP 10x1.25 43690 10 5 Z-Pro HVSP SSUNEREINSE
PM-SP 12x1.75 60,700 10 10 NZ7|= 74 mm RN IN \Y[e]e]
PM-SP 12x1.5 60,700 10 5 HVSP 3x0.5 16,390 10 5 m
PM-SP 12x1.25 60,700 10 5 HVSP 4%0.7 16,390 10 5
PM-SP 14x2.0 84,560 10 5 HVSP 5x0.8 16,390 10 5
PM-SP 14x1.5 84,560 10 5 HVSP 6x1.0 18,560 10 5
PM-SP 16x2.0 114,580 10 3 HVSP 8x1.25 26,250 10 5
PM-SP 16x1.5 114,580 10 1 HVSP 10X1.5 34,220 10 5
PM-SP 18x2.5 159,620 10 1 HVSP 12x1.5 44,370 10 5
PM-SP 18x1.5 159,620 10 1 HVSP 12x1.75 44,370 10 5
PM-SP 20x2.5 206,650 10 1 HVSP 14x1.5 61,190 10 5
PM-SP 20x1.5 206,650 10 1 HVSP 14%2.0 61,190 10 5
PM-SP 22x2.5 273,470 10 1 HVSP 16x1.5 81,490 10 5
PM-SP 22x1.5 273,470 10 1 HVSP 16x2.0 81,490 10 5
PM-SP 24x3.0 341,660 10 1 HVSP 18x2.5 110,780 10 5
PM-SP 24x1.5 341,660 10 1 HVSP 20x1.5 145,000 10 5
PM-SP 27x3.0 473,270 10 1 HVSP 20%2.5 145,000 10 5
PM-SP 27x1.5 473,270 10 1 HVSP 22%2.5 185,020 10 5
PM-SP 30x3.5 598,810 10 1 HVSP 24%3.0 231,710 10 5
PM-SP 30x1.5 598,810 10 1 HVSP 30X3.5 356,700 10 5
HVSP 36X4.0 475,600 10 5
HVSP 42X4.5 690,200 10 5
SVSP TINZE ATHO|E & P —
RIZ7|S 2 mm mofsst N MoQ AL-SP 2li=8 A0 &
SVsP 3x0.5 26,140 10 10 HZ7|= ™ mm THoHEo IN~ MOQ
SVSP 4x0.7 27,000 10 10 AL+SP M 2.0 x 0.40 35,700 10 10
SVSP 5x0.8 28,520 10 10 AL+SP M 2.5 x 0.45 29,120 10 10
SVSP 6x1.0 31,090 10 10 AL+SP M 2.6 x 0.45 24,410 10 10
SVSP 8x1.25 44,260 10 10 AL+SP M 3.0 x 0.50 16,960 10 10
SVSP 10x1.5 56,470 10 10 AL+SP M 4.0 x 0.70 16,300 10 10
SVSP 12x1.75 77,350 10 10 AL+SP M 5.0 x 0.80 16,650 10 10
AL+SP M 6.0 x 1.00 17,590 10 10

AL+SP M 8.0 x 1.25 23,630 10 10
AL+SP M10.0 x 1.50 30,680 10 10

AL+SP M12.0 x 1.75 53,880 10 5
Z_pRro VUSP E2I510|A FEI ATlO[

RZ7| 2 mm Ot IN  MOQ

VUSP 3x0.5 31,610 10 5 - TEOI21 TEO|iZEH

VUSP 4x0.7 30,740 10 5 SP-PT ALOJE LOI=E

VUSP 5x0.8 31,030 10 5 HE7|= 4 mm TRt IN  MoQ
VUSP 6x1.0 33640 10 5 SP-PT 1/16-28 59,520 10 5
VUSP 8x1.25 44,370 10 5 SP-PT 1/8-28 48710 10 5
VUSP 10X1.5 55,680 10 5 SP-PT 1/4-19 70,950 10 5
VUSP 12x1.75 74,240 10 5 SP-PT 3/8-19 101,800 10 3
VUSP 14x2.0 101,790 10 5 SP-PT 1/2-14 162,310 10 3
VUSP 16x2.0 136,300 10 5 SP-PT 3/4-14 311,570 10 2
VUSP 18x2.5 158,340 10 5 SP-PT 1-11 749,090 10 1
VUSP 20x2.5 228810 10 5 SP-PT 11/4-11 1,086,890 10 1
VUSP 22x2.5 275,790 10 5 SP-PT 11/2-11 1,661,110 10 1
VUSP 24x3.0 339300 10 5 SP-PT 2'-11 2,632,120 10 1

YAMAWA CATALOG 9



P YAMAWA

HE7|= 2 mm =7} IN MOoQ
LS-N-SP 5.0 X 0.80 L=100 30,250 10 10

SP-PF AT}0|2 ft0| =

NE7|= T mm ORIt IN MOQ LS-N-SP 6.0 X1.00 L=100 26,310 10 10
m SP-PF 1/8-28 45,960 10 5 LS-N-SP 8.0 X1.25 L=100 32,820 10 10
SP-PF 1/4-19 66,790 10 5 LS-N-SP 10.0 X1.25 L=100 44,450 10 10
SP-PF 3/8-19 110,960 10 3 LS-N-SP 10.0X1.50 L=100 44,450 10 10
SP-PF 1/2-14 178,770 10 3 LS-N-SP 12.0X1.75 L=100 72,080 10 5
SP-PF 3/4-14 302,130 10 2
SP-PF -1 572,870 10 1 =Nl — —_ m 21EH
SP-PF 11/4-11 917,690 10 1 LS N SP L 1 50 % éuI‘OI ==
SP-PF 11/2-1 1,267,840 10 1 HE7 = 2 mm Hopgot  IN MOQ
LS-N-SP 3.0 X 0.50 L=150 74170 10 10
SP_PS ﬁrl-l'oleéll EI'OIEEEIIII LS-N-SP 4.0X0.70 L=150 66,660 10 10
LS-N-SP 5.0 X0.80 L=150 50,510 10 10
HE7|= 4 mm ToHEIE IN  MOQ LS-N-SP 6.0 X 1.00 L=150 45150 10 10
SP -PS 1/8-28 45,960 10 5 LS-N-SP 8.0 X1.25 L=150 55,290 10 10
SP -PS 1/4-19 66,790 10 5 LS-N-SP 10.0 X1.25 L=150 66,170 10 10
SP -PS 3/8-19 110,960 10 3 LS-N-SP 10.0 X1.50 L=150 66,170 10 10
SP -PS 1/2-14 178,770 10 3 LS-N-SP 12.0X1.25 L=150 85,430 10 10
SP -PS 3/4-14 302,130 10 2 LS-N-SP 12.0X1.50 L=150 113,330 10 10
SP -PS 17-1 572,870 10 1 LS-N-SP 12.0X1.75 L=150 85,430 10 5
LS-N-SP 14.0X2.00 L=150 111,070 10 5
_ - 21 E LS-N-SP 16.0X2.00 L=150 120,670 10 5
SU2 SP H‘él. éﬂg Aul.ol = EI'II LS-N-SP 18.0X2.50 L=150 166,230 10 1
HZ7|= 4 mm o=t IN MOQ LS-N-SP 20.0 X2.50 L=150 253,070 10 1
SU2-sP M 3.0 x 0.50 19,320 10 10 LS-N-SP 22.0X2.50 L=150 354,740 10 1
SU2-SP M 4.0 x 0.70 18,540 10 10 LS-N-SP 24.0 X 3.00 L=150 409,170 10 1
SU2-SP M 5.0 x 0.80 18,990 10 10
SU2-SP M 6.0 x 1.00 19,970 10 10 =Nl — - o 21 EH
SU2-SP M 8.0 x 1.25 27,540 10 10 LS N SP L 200 % é.l.I.I‘OI ==
SU2-SP M10.0 x 1.50 35,720 10 5 NE7|= 4 mm il syl IN MOQ
SU2-sP M12.0 x 1.75 50,200 10 5 LS-N-SP 8.0 X1.25 L=200 115,680 3 3
LS-N-SP 10.0 X1.50 L=200 133,980 3 3
_ [ e - 21 EH LS-N-SP 12.0X1.75 L=200 133,980 3 3
ZET-B EIEhsE=8 L0101 B LS-N-SP 14.0X2.00 L=200 192,260 3 1
NZE7|= 2 mm HOEIt IN Ye]e] LS-N-SP 16.0X2.00 L=200 154,310 3 1
ZET-B M 2X0.4 48,260 10 10 LS-N-SP 20.0X2.50 L=200 322,420 3 1
ZET-B M 3X0.5 32,460 10 10 LS-N-SP 24.0X3.00 L=200 474,750 1 1
ZET-B M 4X0.7 29,650 10 10
ZET-B M 5X0.8 30,360 10 10 LS_SP_PT % éEI.OIEE-l EI.OIEEEI-II (L-100)
ZET-B M 6X1.0 32,930 10 10
ZETB M8X125 50680 10 10
ZET-B M10X1.5 64,230 10 5 LS-SP-PT 1/8-28 L=100 130,310 10 5
ZET-B M12X1.75 89,350 10 5 LS-SP-PT 1/4-19 L=100 141,050 10 5
LS-N-SP L-100 & AL}O|E2® LS-SP-PT & Au}0|3 n}0| =Y -150)
HE7|= 4 mm mOEZE IN MOQ HZ7|S 724 mm THIfE7} IN  MOQ
LS-N-SP 2.0 X 0.40 L=100 97,700 10 10 LS-SP-PT  1/8-28 L=150 204,280 10 5
LS-N-SP 2.3X0.40 L=100 83,200 10 10 LS-SP-PT  1/4-19 L=150 207,550 10 5
LS-N-SP 25X 0.45 L=100 83,200 10 10 LS-SP-PT  3/8-19 L=150 342,100 10 5
LS-N-SP 2.6X0.45 L=100 77,820 10 10 LS-SP-PT  1/2-14 L=150 409,350 10 1
LS-N-SP 3.0 X 0.50 L=100 38,510 10 10 LS-SP-PT  3/4-14 L=150 657,420 1 1
LS-N-SP  4.0X0.70 L=100 35,040 10 10 LS-SP-PT  1-11 L=150 916,470 1 1

10 vAamAwa caTALOG



Think threads with

YAMAWA

Z-PRO VUPO EL3}0|A TE ZQIEH

HE7|= 74 mm oot IN MOQ
VUPO 3x0.5 31,610 10 5
VUPO 4x0.7 30,740 10 5
VUPO 5x0.8 31,030 10 5
VUPO 6x1.0 33,640 10 5
VUPO 8x1.25 44,370 10 5
VUPO 10X1.5 55,680 10 5
VUPO 12x1.75 74,240 10 5
VUPO 14x2.0 101,790 10 5
VUPO 16x2.0 136,300 10 5
VUPO 18x2.5 158,340 10 5
VUPO 20x2.5 228,810 10 5
VUPO 22x2.5 275,790 10 5
VUPO 24x3.0 339,300 10 5
PO HEOIEE&H - Metric size
HNE7|= 72 mm oot IN MOQ
N-PO M 1.0X0.25 53790 10 5
N-PO M 1.4X0.3 44,160 10 5
N-PO M 1.6X0.35 42,180 10 5
N-PO M 1.7X0.2 64,870 10 5
N-PO M 1.7X0.35 35,890 10 5
N+PO M 1.8X0.35(+) 38,300 10 5
N+PO M 2.0X0.25 49,390 10 10
N+PO M 2.0X0.4 (+) 25120 10 20
N+PO M 2.2X0.45(+) 30,260 10 5
N+PO M 2.3X0.4 (+) 23,210 10 10
N+PO M 2.5X0.45(+) 21,880 10 10
N+PO M 2.6X0.45 17,100 10 10
N+PO M 3.0X0.5(+) 13,490 10 20
N+PO M 3.5X0.6(+) 20,790 10 10
N-PO M 4.0X0.5 23,910 10 10
N+PO M 4.0X0.7(+) 13,040 10 20
N+PO M 5.0X0.8(+) 13,200 10 20
N+PO M 6.0X1.0(+) 14,110 10 20
N-PO M 8.0X1.25 19,370 10 20
N-PO M 10X1.25 25,460 10 10
N-PO M 10X1.5 25,460 10 20
N-PO M 12X1.25 35,840 10 5
N-PO M 12X1.5 35,840 10 5
N-PO M 12X1.75 35,840 10 10
N-PO M 14X1.5 49,290 10 5
N-PO M 14X2.0 49,290 10 5
N-PO M 16X1.5 65,670 10 3
N-PO M 16X2.0 65,670 5 3
N-PO M 18X2.5 89,640 3 1
N-PO M 20X2.5 105,660 3 1
N-PO M 24X3.0 170,700 3 1

PO ZQIE® JLJLt0] UNC/UNF

HNE7|= 4 mm RO IN  MOQ
N-PO 0 - 80 UNF 51,140 10

N-PO 2-56 UNC 35,790 10

N-PO 4 - 40 UNC 24,480 10 10
N-PO 6 - 32 UNC 23,090 10 10
N-PO 8-32UNC 22,420 10 10
N-PO 8 - 36 UNF 22,420 10 10
N-PO 10 - 24 UNC 22,420 10 10
N-PO 10 - 32 UNF 22,420 10 10
N-PO 12 - 24 UNC 24,450 10 10
N-PO 1/2 -13 UNC 63,490 10 )
N-PO 1/2 - 20 UNF 63,490 10

N-PO 1/4 - 20 UNC 18,970 10 10
N-PO 1/4 - 28 UNF 18,970 10 10
N-PO 3/4 -10 UNC 151,860 10 10
N-PO 3/4 - 16 UNF 151,860 10 10
N-PO 3/8 -16 UNC 30,250 10 10
N-PO 3/8-24 UNF 30,250 10 10
N-PO 5/8-11 UNC 98,750 10 )
N-PO 5/8-18 UNF 98,750 10 5
N-PO 5/16-18 UNC 25,120 10 10
N-PO 5/16-24 UNF 25,120 10 10

N+RS SR(HZH) - HIRE
HE7|= 2 mm THORE7} IN  MOQ
N+RS M 1.2X0.25(+) 37,660 10 5
N-RS M 1.2X0.25(B) @s® 37,660 10 5
N+RS M 1.4X0.3(+) 33,820 10 10
N-RS M 1.6X0.35(-) 27,530 10 )
N+RS M 1.7X0.35(+) 31,120 10 5
N+RS M 2.0X0.4(+) 25,560 10 10
N+RS M 2.5X0.45(+) 27,130 10 5
N+RS M 2.6X0.45(+) 23,210 10 10
N+RS M 3.0X0.5(+) 20,710 10 10
N-RS M 3.5X0.6(-) 24,860 10 5
N+RS M 4.0X0.7(+) 22,740 10 10
N+RS M 5.0X0.8(+) 23,730 10 10
N+RS M 6.0X1.0(+) 25,910 10 10
N-RS M 8.0X1.25 36,070 10 10
N-RS M10.0X1.5 46,210 5 10
N-RS M12.0X1.75 75,990 5 5
SU-PO A%IE ZQAEHM
HE7|= 2 mm ozt IN  MOQ
SU+PO M 2X0.4 28,190 10 10
SU+PO M 2.5X0.45 23,520 10 10
SU-PO M 3X0.5 16,100 10 10
SU-PO M 4X0.7 15,450 10 10
SU-PO M 5X0.8 15,820 10 10
YAMAWA CATALOG

10

1



12

P YAMAWA

HME7|= 4 mm 7L IN Y[e]e] NZ7|= 4 mm L IN Y [o]e}
SU-PO M 6X1.0 16,650 10 10 PF 3/8-19 66,260 3 3
SU-PO M 8X1.25 22,940 10 10 PF 1/2-14 109,370 3 3
SU-PO M 10X1.5 29,760 10 5 PF 3/4-14 180,210 2 2
SU-PO M 12X1.75 41,830 5 5 PF 171 339,030 1 1
SU-PO M 16X2.0 76,970 5 5

INT-S-PT QIETHE® PS 6}0|A mjo|=&H
NZ7|= 4 mm Rl psyly IN MOQ NZ7|= 4 mm o7t IN Ye]e}

INT-S-PT 1/8-28 69,080 10 5 PS 1/8-28 27,480 10 10
INT-S-PT 1/4-19 100,440 5 5 PS 1/4-19 40,840 5 5
INT-S-PT 3/8-19 164,450 5 5 PS 3/8-19 67,990 3 3
INT-S-PT 1/2-14 263,010 1 1 PS 1/2-14 109,370 3 3
INT-S-PT 3/4-14 445,790 1 1 PS 3/4-14 180,210 2 2
INT-S-PT 17-1 830,700 1 1 PS 171 311,910 1 1
INT-S-PT 11/4-11 1,206,080 1 1

INT-S-PT 11/2-11 1,690,290 1 1

INT-S-PT 2'-11 2,681,130 1 1

NPT O|=22H2 nlo]| =&

N+RZ SE(HxH) - 28 x| 72 mm HOPEE N MOQ
HE7|= 2 mm R} IN MOQ NPT 116-27 53,030 10 3
N+RZ M 1.4X0.3(+) 33,820 10 10 NPT 1/8-27 50,130 10 3
N+RZ M 1.7X0.35(+) 31,120 10 10 NPT 1/4-18 70,710 10 3
N+RZ M 3.0X0.5(+) 20,710 10 10 NPT 3/8-18 117,750 10 3
N+RZ M 4.0X0.7(+) 22,740 10 10 NPT 1/2-14 208,910 10 1
N+RZ M 5.0X0.8(-) 23,730 10 10 NPT 3/4-14 373,350 10 1
N+RZ M 5.0X0.8(+) 23,730 10 10 NPT 1-11-1/2 639,490 10 1
N+RZ M 6.0X1.0(+) 25910 10 10
N+RZ M 8.0X1.25 36,070 10 10
N+RZ M10.0X1.5 46,210 5 10 - — — —
N+RZ M12.0X1.75 75,990 5 5 SP_NPT ulaﬂg éuI‘OIEE:l .I.|.|'0|£E=,"

NZ7|= 4 mm 7L IN MOQ

PT '6".0'& EI-OIEEEH SP-NPT 1/16-27 93,470 10 3

SP-NPT 1/8-27 88,400 10 3
ME7|= 74 mm O} IN MOQ SP-NPT 1/4-18 128,260 10 3
PT 1/16-28 48,050 10 5 SP-NPT 3/8-18 209,880 10 3
PT 1/8-28 33,100 10 10 SP-NPT 1/2-14 344,210 10 1
PT 1/4-19 47,450 10 5 SP-NPT 3/4-14 582,660 10 1
PT 3/8-19 78,320 10 3 SP-NPT 1-11-1/2 1,103,260 10 1
PT 1/2-14 124,910 10 3
PT 3/4-14 201,180 10 2
PT 17-11 394,130 10 1 5 MI TLOI T EH
PT 11/4-11 797090 10 1 NPTF 0|=#8 E2t012 ol =5
PT 11/2-1 1,118,640 10 1 NZ7|= 4 mm syl I\ MOQ
PT 2'-1 1,771,190 10 1 NPTF 1/16-27 62,430 10 3
NPTF 1/8-27 58,990 10 3
PF '6".0'& EI-OIEEEII'I NPTF 1/4-18 88,400 10 3
NPTF 3/8-18 216,620 10 3
HE71= 4 mm 7t I\ MOQ NPTE 1/2-14 346,670 10 1
PF 1/8-28 27,480 10 10 NPTF 3/4-14 587,540 10 1
PF 1/4-19 39,810 5 5 NPTF 1-11-1/2 1,091,840 10 1
YAMAWA CATALOG



P YAMAWA

LS—PT L—1 00 % _6_I_o|é EI‘OIEEHH NE7|= 4 mm TN L IN MOQ
HSS-HT M5.0x0.80(3) 10,990 10 20
HZ7|s 22 mm o7t N MOQ HSS-HT M6.0x1.00(2) 11820 10 20
LS-PT 1/8-28 L=100 65,520 5 5 HSS-HT M6.0 x1.00 (3) 11,820 10 20 m
LS-PT 1/4-19 L=100 87,220 5 5 HSS-HT M8.0x1.25(2) 16,800 10 20
LS-PT 3/8-19 L=100 117,200 3 3 HSS-HT M 8.0 x1.25 (3) 16,800 10 20

HSS-HT  M10.0x1.50 (2
" E— HSS-HT  M10.0x1.50 (3
LS-PF L-100 & 6}0|A umjo|=EH HSS-HT  M12.0x1.75 (2

HSS-HT M12.0x1.75 (3

21,790 10 10
21,790 10 10
30,740 10 5
30,740 10 5

- —

- —

HZ71= 4 mm O IN  MOQ
LS-PF 1/8-28 L=100 72,050 10
LS-PF 1/4-19 L=100 97,500 10
LS-PF 3/8-19 L=100 125,360 10
LS-PF 1/2-14 L=100 266,370 10

LS-HT L-100 5 6l0|A SHEFY

HZ7|= 4 mm EOREIE N MoQ
LS-HT 3.0X0.50(2) L=100 32,360 112 1
LS-HT 4.0X0.70(2) L=100 29,390 21 1

= 01 0o O,

LS-PT L-150 8 5l0|]A J_LI'OIE'E'.i
LS-HT L-120 & 810|A HER

— e

LS-PT  1/8-28 L=150 116,020 3

LS-PT  1/4-19 L=150 117,750 10 3 HIZ7|1= A mm gt N MOQ
LS-PT  3/8-19 L=150 194,310 10 3 LS-HT 3.0X0.50(2) L=120 55,420 75 1
LS-PT  1/2-14 L=150 232,480 10 3 LS-HT 4.0X0.70 (2) L=120 49,820 65 1
LS-PT  3/4-14 L=150 514,500 10 1 LS-HT 5.0X0.80(3) L=120 43,670 40 1
LS-PT 111 L=150 734,410 10 1 LS-HT 80X1.25(2) L=120 45620 57 1

LS-PF L-150 & 6l0|A mjoj=% LS-HT L-150 & 6}0|A SH=EH

HZ7|S 2 mm TOHEZE I MOQ HIZ7|= 2 mm TOHE7E N MOQ
LS-PF 1/8-28 L=150 129,210 10 5 LS-HT 4.0X0.70 (2) L=150 54,920 68 1
LS-PF 1/4-19 L=150 132,080 10 5 LS-HT 8.0X1.25(2) L=150 46,380 18 1
LS-PF 3/8-19 L=150 220,910 10 5 LS-HT 10.0X1.25(2) L=150 57,540 107 1
LS-PF 1/2-14 L=150 266,370 10 3 LS-HT 10.0X1.50 (2) L=150 55,720 107 1
LS-PF 3/4-14 L=150 425980 10 1

LS-PF 17-11 L=150 616,930 10 1

LS-HT L-200 & 6l0|A SHEE
HZ7|= 2 mm EORE7E IN MOQ
LS-HT 12.0X175(2) L=200 138,380 33 1

HSS-HT 6l0|A HERY (HHE)

HE7|= 2 mm O} IN MoQ

HSS-HT M14x0.30(2) 25730 10 5 CD-S MEIER 60 AS

HSS-HT M1.4x0.30(3) 25730 10 5

HSS-HT M17x0.35(2) 23,960 10 5 NZ7|= 72 mm HoOHEZ N MOQ
HSS-HT M17x0.35(3) 23,960 10 5 cD-S 0.5x60°x3.5 27,240 10 10
HSS-HT M1.8x0.2(2) 30,810 10 5 CD-S 0.8x60°x3.5 18,730 10 10
HSS-HT M20x0.4(2) 19,930 10 10 CD-S 1.0x60°x 4 14,750 10 20
HSS-HT M2.0x0.4(3) 19,930 10 10 CD-S 1.5x60°x5 11,150 10 20
HSS-HT M25x0.45(3) 16,600 10 10 CD-S 2.0x60°x6 12,710 10 30
HSS-HT M26x045(3) 13,720 10 10 CD-S 2.5x60°x7.7 15720 10 30
HSS-HT M3.0x050(2) 11,220 10 20 CD-S 3.0x60°x7.7 15,720 10 30
HSS-HT M3.0x050(3) 11,220 10 20 CD-S 3.0x60°x (8) 16,910 10 30
HSS-HT M4.0x070(2) 10,760 10 20 CD-S 4.0x60°x10 31,980 10 30
HSS-HT M4.0x070(3) 10,760 10 20 CD-S 5.0x60°x11 34,840 10 10
HSS-HT M5.0x0.80(2) 10,990 10 20 cD-s 6.0x60°x18 115,730 10 3

YAMAWA CATALOG 13



P YAMAWA

CD—S (B) ﬂEI‘EE B_ég ME7|= 4 mm oot MOQ
HSS D 2.6 X 0.35(20) 240,370 1
HZ7|s 2 mm mOpEIE N MOQ HSS D 2.6 X 0.45(20) 99,700 2
m CD-S(B)  2.0x60°x10 37,660 10 10 HSSD 3.0X0.35(20) 105,770 !
CD-S(B)  2.5x60°x12 55360 10 10 sl Ep QU D) UGos 2
CD-S(B)  3.0x60°x14 75620 10 5 HSSD 3.0X0.60(20) 122,090 !
CD-S(B)  4.0x60°x18 149750 10 3 s EEpO ) 0750 .
CD-S(B)  5.0x60°x22 208,580 10 3 HSSD 35 X0.60(20) 77,340 !
CD-S(B)  6.0x60°x25 301,290 10 1 e c00 iy 167100 J
HSS D 4.0 X 0.50(20) 99,180 1
HSS D 4.0 X 0.70(20) 76,060 5
CD-SL L-100 S MEI=E HSS D 4.0 X 0.75(20) 122,230 1
HSS D 4.5 X 0.35(20) 236,200 1
HZ7|= 7+ mm Hoiigsk  IN - MoQ HSS D 4.5 X 0.50(20) 164,280 1
CD-SL 1.0x60°x4 L=100 70,150 10 10 HSS D 4.5 0.75(20) 134,920 1
CD-SL 1.5x60°x5 L=100 52,910 10 10 HSS D 5.0 X 0.35(20) 195,460 1
CD-SL 2.0x60°x6 L=100 58,350 10 10 HSS D 5.0 X 0.50(20) 99,180 1
CD-SL 2.5x60°x8 L=100 70,150 10 10 HSS D 5.0 X 0.75(20) 195,970 1
CD-SL 3.0x60°x8 L=100 70,150 10 10 HSS D 5.0 X 0.80(20) 76,060 5
CD-SL 4.0x60°x10 L=100 80,300 10 5 HSS D 5.0 X 0.90(20) 122,230 1
CD-SL 5.0x60°x12 L=100 101,600 10 5 HSSD 5.5 X 0.50(20) 164,280 1
HSS D 5.5 X 0.90(20) 138,960 1
HSS D 6.0 X 0.40(20) 170,750 1
CD-SL L-150 & MEI=E HSS D 6.0 X 0.50(20) 170,750 1
= e T VR HSS D 6.0 X 0.75(20) 111,270 1
HSS D 6.0 X 1.00(20) 76,060 5
CD-SL 1.0x60°x4 L=150 105,030 10 10 Hes D T ETETE SETTED ]
CD-SL 1.5x60°x5 L=150 86,140 10 10 Hss D 6.0 0.50(25) 260,560 :
CD-SL 2.0x60°x6 L=150 88,400 10 10 HeS D e e ]
CD-SL 2.5x60°x8 L=150 105,980 10 10 Hss D 6.0 X 1.00(25) 105 590 :
CD-SL 3.0x60°x8 L=150 105,980 10 10 HeS D R G 5
CD-SL  4.0x60°x10 L=150 116,160 10 5 Hes D 0.0 X 0.50(25) 264 480 1
CD-SL 5.0x60°x12 L=150 156,040 10 5 HeS D e SR ]
HSS D 9.0 X 1.00(25) 203,390 1
—Q MEIC2I HSS D 9.0 X 1.25(25) 106,750 1
CD-S MEIEE Ak HSS D 10.0 X 0.50(25) 227,490 1
HZ7|s 2 mm mOpE7t N MOQ HSS D 10.0 X 1.00(25) 120,120 1
CD-S 4.0 (B5) wezol g2 3 HSS D 10.0 X 1.25(25) 93,160 1
HSS D 10.0 X 1.50(25) 96,080 3
HSS D 11.0 X 0.50(38) 487,840 1
HSS C}HOJA(D) — Metric size HSS D M0X075(38) 425670 1
HSS D 11.0 X 1.00(38) 323,410 1
HiE7 = A mm Bt MoQ HSS D 11.0 X 1.25(38) 245,530 1
HSS D 1.4 X 0.30(16) 120,450 1 HSS D 11.0 X 1.50(38) 235,010 1
HSS D 1.6 X 0.35(16) 120,450 1 HSS D 12.0 X 0.50(38) 448,690 1
HSS D 1.7 X 0.35(16) 120,450 1 HSS D 12.0 X 0.75(38) 425,670 1
HSS D 1.7 X 0.50(16) 183,340 1 HSS D 12.0 X 1.00(38) 188,160 1
HSS D 1.8 X 0.35(16) 183,340 1 HSS D 12.0 X 1.25(38) 137,130 1
HSS D 2.0 X 0.25(20) 210,630 1 HSS D 12.0 X 1.50(38) 137,130 1
HSS D 2.0 X 0.40(20) 99,700 3 HSS D 12.0 X 1.75(38) 137,670 3
HSS D 2.2 X 0.25(20) 210,630 1 HSS D 13.0 X 0.75(38) 340,370 1
HSS D 2.2 X 0.45(20) 156,030 1 HSS D 13.0 X 1.50(38) 258,200 1
HSS D 2.3X0.25(20) 210,630 1 HSS D 14.0 X 1.00(38) 177,870 1
HSS D 2.3X 0.35(20) 210,630 1 HSS D 14.0 X 1.25(38) 266,560 1
HSS D 2.3 X 0.40(20) 99,700 1 HSS D 14.0 X 1.50(38) 137,130 1
HSS D 2.3X 0.40(20) 99,700 2 HSS D 14.0 X 2.00(38) 137,670 1
HSS D 2.5 X 0.35(20) 240,370 1 HSS D 15.0 X 1.00(38) 323,410 1
HSS D 2.5 X 0.45(20) 99,700 3 HSS D 16.0 X 1.00(38) 177,870 1

14  vamawa caTALOG



P YAMAWA

NE7|= 2 mm oAt MOQ
HSS D 16.0 X 1.25(38) 263,140 1
HSS D 16.0 X 1.50(38) 137,780 1
HSSD 16.0 X 2.00(38) 149,980 1
HSS D 17.0 X 1.00(50) 577,370 1
HSSD 18.0 X 1.00(50) 350,510 1
HSS D 18.0 X 1.50(50) 230,340 1
HSS D 18.0 X 2.50(50) 229,980 1
HSS D 20.0 X 1.00(50) 283,940 1
HSS D 20.0 X 1.50(50) 217,150 1
HSS D 20.0 X 2.00(50) 390,910 1
HSS D 20.0 X 2.50(50) 229,980 1
HSS D 22.0 X 2.00(50) 390,910 1
HSS D 22.0 X 2.50(50) 229,980 1
HSS D 24.0 X 3.00(50) 229,980 1
HSS D 26.0 X 1.50(63) 1,030,290 1
HSSD 27.0 X 1.50(63) 1,030,290 1
HSS D 27.0 X 3.00(63) 980,790 1
HSSD 30.0 X 1.50(63) 1,030,290 1
HSS D 30.0 X 3.50(63) 980,790 1
SL|E}to| HSS(D) CHOjA
NZE7|= 74 mm TR} MOQ
HSSDU 0- 80 (16) UNF 215,970 1
HSSD U 1- 8(50) UNC 412,950 1
HSSDU 1-12 (50) UNF 412,950 1
HSSDU 1-64 (20) UNC 215,970 1
HSSDU 1-72(20) UNF 215,970 1
HSSDU 2-56 (20) UNC 169,660 1
HSSDU 2-64 (20) UNF 169,660 1
HSSDU 3-48(20) UNC 169,660 1
HSSDU 3-56 (20) UNF 169,660 1
HSSD U 4.- 40 (20) UNC 184,400 1
HSSDU 4 - 48 (20) UNF 184,400 1
HSSDU 5-40 (20) UNC 150,740 1
HSSDU 5-44 (20) UNF 150,740 1
HSSDU 6- 32 (20) UNC 150,740 1
HSSDU 6 - 40 (20) UNF 150,740 1
HSSDU 8-32(20) UNC 150,740 1
HSSDU 8 - 36 (20) UNF 150,740 1
HSSD U 10 -24 (20) UNC 150,740 1
HSSDU 10 - 32 (20) UNF 150,740 1
HSSDU 12 - 24 (20) UNC 150,740 1
HSSDU 12 - 28 (20) UNF 150,740 1
HSSDU 1/2-13(38) UNC 264,480 1
HSSDU 1/2 - 20 (38) UNF 264,480 1
HSSDU 1/4 - 20 (20) UNC 150,740 1
HSSDU 1/4 - 28 (20) UNF 150,740 1
HSSD U 1/4 - 32 (25) UNEF 221,210 1
HSSDU 1/4 - 36(20) UNS 287,870 1
HSSD U 3/4-10 (50) UNC 412,950 1
HSSDU 3/4-16 (50) UNF 412,950 1
HSSDU 3/8-16 (25) UNC 182,370 1
HSSDU 3/8 - 24 (25) UNF 182,370 1
HSSDU 3/8 - 32 (25) UNEF 259,390 1
HSSDU 5/8-11(50) UNC 412,950 1
HSSDU 5/8 - 18 (50) UNF 412,950 1

NE7|= 4 mm THE 7} MOQ
HSSD U 7/8 -9 (50) UNC 412,950 1
HSSD U 7/8 - 14 (50) UNF 412,950 1
HSSD U 5/16 - 18 (25) UNC 182,370 1
HSSD U 516-24(25)UNF 182,370 1
HSSD U 516-32(25)UNEF 263,400 1
HSSD U 7/16-14(38) UNC 289,740 1
HSSD U 7116-20 (38)UNF 289,740 1
HSSDU 9/16-12(38)UNC 323,410 1
HSSDU 9/16 - 18 (38) UNF 323,410 1

LH Z-HSS(D) Cto|A
N[} 2 mm Syl MOQ
1 (#FHHSSCIO|AD3.0X0.50(20) 190,050 1
2 (ZHHSSLCIO|AD10.0X150(25) 240,110 1
3 (ZHHSSLCIO|ADI12.0X1.75(38) 322,740 1
PT - L}0|= HSS(D) Cto]A
N[} 2 mm Rl syl MOQ

1 1/8-28(38) 193,180 1

2 1/4-19(38) 193,180 1

3 1/2-14(50) 309,100 1

4 3/4-14(63) 844,680 1

5 3/8-19(50) 306,790 1

6 1-11(75) 1,508,260 1

PF - mo]= HSS(D) CtOJA
NO. 72 mm ot MOQ

1 1/8-28(25) 193,900 1

2 1/8-28(38) 193,900 1

3 1/4-19(38) 193,900 1

4 1/2-14(50) 321,320 1

5 3/8-19(50) 321,320 1

6 1/4-19(38) 193,900 1

7 3/4-14(63) 882,790

8 1-11(75) 1,569,640

NPT - O|= m}0|= HSS(D) CtojA

NO.

A wnN -

Z mm
1/8-27(38)
1/4-18(38)
3/8-18(50)
1/2-14(50)

THOHE

343,440
343,440
569,980
569,980

MOQ

[ I L N

NPTF - 0= E2t0|&& HSS(D) Cto]A

NO.

oo 0o WN -

2 mm
1/8-27(38)
1/4-18(38)
3/8-18(50)
1/2-14(50)
3/4-14(63)
1-11(75)

ORI}

379,230
379,230
644,740
644,740
1,822,430
3,265,640

MOQ

S I O Nt G |

YAMAWA cATALOG 1§



Think threads with
oto|

X YAMAWA

= H
oo oo oo ol F1 Ho <
20 &1 Z0 0 70 e
rF | ! 5 S H K
ol ol ol U] ol U] =] KO KO
TERTIE - - Gk
2Oz
Gy ot
FIOE
&
_ B2 _
oo EI ol & oo ~ 00 < il T o
Wolm ooTp X L0 & - ujau gk
ol oS o ) R4 40 g o #r O
= O 7 o K ol o <r =l ol K
[
[E—
’ _ 11 __ I
— 0
| — mu [}
R0 2 2o Xl 0 &
- Fo K T T 5
<] HO Ho W Mo 1o i n3 3 <
S 4r 4r ﬂ_ 4r WE o o o o
g HH  HE g 2! Kl ql

YAMAWA CATALOG

16






L8 &R0 - IT-JX

I olE C|A3 EZlo|H

18

SURZ

SUEH (28)

MS+RS

O|LIOIA LIAKS S (HIE8)

— ey TAMAWA - T

HPsRZ

OILIOIKLIALE SHOIHZEHAM B (HE)

0 @

OIL0XHLIALE 28 TH0|A

P YAMAWA

YAMAWA CATALOG

—

MG-HT

Y& STEE ABHI HEM

o e e

RLS-HT

2R MEH

- YEMERR

HT TRI

H2ACHS e

e ——
SP TRI

HZE AL 2™







§
OL+RZ/OL-RZ

EatorsE 24

Tr— )N e —

R -
VUSP

Z-PRO
Z-PRO

Y ATjo|Y

e R T R
VUPO

Z-FRO
Z-PRO Al2|X

g ZOIEY

S TR
AUCES
Y ZHIS B AY

60° 2 MIEES

P YAMAWA

20 YAMAWA CATALOG



OL+RZ/OL-RZ

caloiRs 24

o =2-d

AU+SL

T FETIE ALO|2HY

HMEZ =

D “
¢ 5

£2|E CHojA

HOIE

>

2|= Cjo|A

£2|E 0|28 KEHX[HE

P YAMAWA

YAMAWA cATALOG 21







R
AUSP Rc

ZrRO
Z-PRO Al2|=
22 H|O|ILIAIR TE! ALO|ZIEH

—
AUSP G ‘

Z-PRO
Z-PRO Al2|=
THE WHLIAIS TE AIO™

Iz

RS e
AUSP Rp

Z-PRO
Z-PRO Al2|E

TS HHLIALE T ALO|ZY

SRR
AUSP Rp

Z-PRO
Z-PRO AlE|X
28 LWeHLIALE T ALLO|ZE

LYS A

P YAMAWA

YAMAWA CATALOG 23



24

=2 HoIXIZ
Z-PRO

Z-PRO Al2|=

SSY UHYRE/SE ALOIZH

P YAMAWA

YAMAWA CATALOG

SRR A
VUSP

ZPRO
Z-PRO Al2|X

SEPSIEE)

FE2 HOIXIZ







I 22 HOIXIZ
HA

Z-PRO Al2|=
S8 HAZE ALOIEH

EL=cm U

P YAMAWA

26  YAMAWA CATALOG



I ;nH AF E E Q?BIC‘I\I\Q

Ay H_ﬁi ?}}}}1&- b)) HFICT-P
o AT48 TS FUTHG X7 HEHY

2T HOITIZ

P YAMAWA

YAMAWA CATALOG

2]




:
a
;

f?""n f}/io(/,f'

~ T )

AUCDS

TY O HIST Z A 60" AL MEIES

=0 O

JIEEI HOITIZ

53T HAUS SUTYS ATj0ZY

P YAMAWA

28  YAMAWA CATALOG



HDISP

Ed0ts8 A28 A2

— e
VUSP

Z-PROA|E|E

Y ALOIEH

EaoUtEE AEE A0 2

e
HDISL

E2jotE, X148 A
S27YS ATj0|ZHY

St0| HEHA (N YS) 2

ATAE UNIES 29 ATIOZE

HP+RZ /HP-RZ

P YAMAWA

YAMAWA CATALOG 29



Aoy a2 - XpSAL

IFIEE0 HOIXIZ

I ZEE

HP+RZ /HP-RZ

510| HEHA(UNS) EH

|

I CVvT

IIEZ HOITZ

HDISL

CELO|7+E, 2T48 AL
ST ALO|ZH

IIEZ HOITZ

OL+RZ / OL-RZ

Eaortse e

LRI HOINZ

P YAMAWA

30 YAMAWA CATALOG



HFASP

AT4S Y5 22 AOZY

P YAMAWA

YAMAWA CATALOG 3]



rg"‘}..hfa. e

PN
[

1
¥ | il

- B~ RoKAI
: st
pRiLl - L | 1
|

TIE
|i3 =1 : v
e

@ E e

Think threads with



HVSP

Z-PRO

SSU HYRE 7158 ALOIZH

ST Zwﬁw
HVSP

Z-PRO

332 HEE /188 AuiolzY

& IR HONE

E
".%

RE-HT e

LIA} AR IR E SHTEY

DA RRiA

YAMAWA CATALOG

33




34

EL=mB DN
- 3 YAMAWA

Z-FRO
Z-PRO Al2|X
S HAHEETISE ALO|HH

e

P YAMAWA

YAMAWA CATALOG

Lo S e R
VUSP

Z-FRO

Z-PRO Al2|=
Y Ao/







FIE2 2 HOIXIZ

HT BC

KA LIALE HEH

TAKH B £ 71&(m/min)

A
Netag /BEAZ ~10

I X8 718 ELOjO] EH

— . —

HT CTV

K74 EFO[O] E LIALE HEH

ALY EH 5 712 (m/min)

g5 ~10

P YAMAWA

36 YAMAWA cATALOG



T ——— . 1 Y

YAMAWA

ITRD a2 min e
PT/PF/PS moiz%

D zajc crojA
CD #sg =2

OfOi2t MIZE LINE UP

SVSP TIN Z& ALO| S
MHSP 53k HAZS Amjo|2
VUSP SUSHOIA TS Ajo|
HVSP 53% 018 £ 7138 ATjo|=H
sP ATfo| g
+SP SEANEIZ ATHO|2E
SP LH 5 Amfo|2ig
AU+SP T8 Amfoj2ig
LS-SP ERN UEE
SU+SP -
- AHIAS ATO[ZE!
SU2-SP AARIRIAS ATIO[ZE:
L UR0|ES ATIOIZE
ZET-B ElEt=2IE8 ATO[2E
PM-SP SEBI0IA LHATHE ATIO[ZE:
AU+SL T8 5278 ATo[2H
SU+SL AHAAS SR8 AT0[Z
VUPO STHHOIL 7 EOIEH
PO HOIER
+PO SSAARIE A0
SU+PO

AH|HALZ IIO|EEH
S AHYAS TOIEH
PM-PO SHHOIL TS
HT =
N+RZ AEI2 =5
N-RZ
N+RS N
L HuZ4E B
ITRD T 8 A7 S
PT BISHIOIH_AS H=- 71 LAR]

LS-PT &~ 43 US HIOIHLIAIS SHERH - 21 LIARS

SP-PT__ HISE(OMHLIARS ATIOIZIE -7/ LI\

LS-SP-PT &-43 28 HOIHLIALE A0 - ZILIARS
INT-S-PT _ ZE HIO|HLIALE QIE{ZEH — B2 LIAFY

PS S HAULIAIS HE
LS-PS S- 43 B BALAS HEY
SP-PS S BN A0
PF 218 WAHLIAIS HEH
LS-PF S- 43 B WA NS HEH

OF

SP-PF T8 HHLIAIR AL
LS-SPLPF = 415 218 HALIAIS ALO|ZE

NPT  0O/= 28 HIO|HLIALS SHER - Z1 LIAIS

SP-NPT 0| 28 HIO|HLIALS ALO|ZE - ZILIARY

INT-NPT 0|= &#& H|O|THLIAFS O~ 71 LIAFY

NPTF _ O|= C2to[ RE8 HIO|HLIANS SHEH
D HSS&2IE CI0jA
CD-S SFEQIAE Z A¥ 60° MIEEZ
CD-SL 5- M3 F EQAE £ AY60° MEEH
CcD-Q SFEQIAE Z A¥ 90" MIEEZ
CE-Q ZEQAE 5 A¥ 90" MEEZ
CD-SV__ 7=- O EQAE 5 AH 60° MECT
CD-SLV = 4775l OFEQIAE 2 A% 60" MEICE




L2 B 4o =

5 m/min 10m/min 15m/min 20m/min - 30 m/min

60HRC

Iots THE

60HRC

I
i

55HRC I R 55HRC
[

ZH10X Kl

?'

' g
L e R B B B R R B _R_BEB_EF _F_EF _F B __EF __F I _E__E__NE__J __§E__§E_J|

- -

ZH10X Kl

45HRC 45HRC

45HRC _ 45HRC
1 EH-HT

35HRC 35HRC

SKS
SKD

SKS
SKD

SCM

: SCM
SCr - -

SCr

03 0Imet |OM Ok | 0N M FA
05 OIIMS | O 4O0H | O A

1) I +SP

S45C HT

S45C

0N E-T k=l
(OS] Dl US|

S45C S45C

B~ T 0
-

S30C S30C

-
0% BT oM

0¥

IHT E-SP
ISP

S25C S25C

i
-

SS400 SS400

-
NS

0¥

FeD FCHT [ NCTFC FCD

gy
permiw

gk
permin

FC

M4

5m/.min 'IOrr.]/min 15rT.1/min 20m/.min 30m./min
ks Jts HYYE Totatet Ol0IXI = LIC
K YAMAWA

38 vamawa caTALOG



5m/min  10m/min 15m/min 20 m/min 30m/min 40m/min - 50 m/min
L= W 2t 5| 2lE 0| 29 : : : : : o=

60HRC I 5 60HRC
o % 0 : 3 n
a : 2z
= SS;RC i 5 SB;RC =
W |sspme B : asre| M
-
X |45HRC : 0 45HRC| X
by} ‘ . ‘ xI
= =
Zt |35HRC 35HRC| 2t
ru | ru
o
SKS sks | ©
- SKD sk | T
2t A
o o
5t of
S | scMm scMm | B
= | scr scr | =
g g
-
L n
nl
S t | &
L | sasc S45C | A
g %

S45C S45C

S30C S30C

0% >~ oM
o
g

0 B> TIToM

S25C S25C

S$8400 S$S400

TR
-

AU+SP

g
0N p-ro>d

ZEH oo HFISP | | HFICTBE § | rco | TE}
=0 ; ; ; - =0
= : : f =
x5 | FC : 3 5 FC =
= : ﬁ =

5m/min  10m/min 15m/min 20 m/min 30m/min 40m/min - 50 m/min
ks Jis HYE T otskst 0101 XI = LILCE

P YAMAWA

YAMAWA CATALOG 3



| 4ENAIE - ARAE [E2]TYE B (W54 F9)

= EHE &% =
5 m/min 10m/min 15m/min 20m/min - 30 m/min
m MotE THE : : : | morE e
UH-CT | ? 5 -
o GO;RC | | | B lsorRC o
2 | I— | A 2
= 55;90 i : : 0 SSHRC| £
W ssimc il ERECT ) 4stRe u
: i |
X |45HRC 1 - B |45HRC| X
Z | [ EH-PO 1 o) 2
= . . l =
2t |35HRC N I : ¥ l3sHRe| 2t
= EH-HT T = 4 =
S | sks : % ‘hisks | §
I+ | SKD : : ; SKD | 7}
° HC-PO = 1 °
2 | som : I 1 som | 2
= ; N | =
5| sor 3 : ; l T
n ; § | 1
R PO | +PO : ; e B
2 | sasc : : D mlsasc | 2
Z HT 3 HE
: é A !
: 3 |
2 | susc 4 WVesc| 2
2e ' s g
N i 3 N
I | s30c : s3] 3
4 i : g
) . . l
s -
IPO 1 ;
1 4
HT [ 5 3 |
: . |
X | s2sc i : - s2sc | A
B¢ i I -
A |ss400 I 5 B issioo] &
4 : : 2t
[=] . : . l =
5 4
3 1
i 5
<O : F . 4 <
o I N- : : -
LEH Fop FC-HT |N-CTFC P I 0| Foo | GE
= : : 3 | =
- z L3 | 1 =
X | FC : ; : FC =
= : : l =

5 m/min 10m/min 15m/min 20m/min - 30 m/min
ItE Jts HYE TOtatet 0|0IXI=LICE.
XX YAMAWA

40 vyAmAwA caTALOG



T it _ ElHICd [EE EH (<A
AEMAE - AEAIE [E2] 2HE ¥ (148 FY9)
- "
5m/min  10m/min 15m/min 20 m/min 30m/min 40 m/min 50 m/min
IokE 1 2 571 21E 01 8% : : : : | ke
o [BOHRC i B soHRC i
8 lsshrc . : : A ssHRc| S
e [ 5 : | T
W ssiic| B g g | | |45HRC \
] : : A |
-—“—-—‘ * :
X |45HRC : i 5 * |} |45HRC| X
X1 . . X P
= . . . l =
2t |35HRC ; l: . % |35HRC| 2t
- — A =
S | sks o ‘hisks | 5
S+ | skD : : L | SKD N
o 0 o
St i | st
EREY tplSCeM |5
TR b sor =
o . o
n 4 o
=S 3 1 =
& | sa5c D@ lsasc| &
2t . l It
o : o
)
1
3 |
=< l =<
g S45C S45C g
S8 Lt |5
2 | s30C s3oc| =
2t | T
o o
i
i
0
0
0
0
X | s25c B | s2sc N
2l e $ | =
A |ss400 1 ss400| A
Z i 2t
1 A |
1 5 A
. ; .
= 3 | ' LINNEE
LE} Fop : F-SL HDISL || Fop | &E}
=0l I . . . - =0l
= . . . ' =
- B HFICTP -
5| rC i : Fc |5
= =
5m/min  10m/min 15m/min 20 m/min 30m/min 40m/min 50 m/min
5 Jts HYE TOotstst 010IXI= LI

Think threads with

YAMAWA

YAMAWA CATALOG

|



Ix it — o o) E
| A= HIAIE - AHHASUSHY [UsI]1HE &
cay BT 2 =
5 m/min 10m/min 15m/min =~ 20m/min 30 m/min
m PR | ' ' ' WIHE e
LH =0 = =1 LH
g I B b
° uz ! ; 5 5 5 LT
HE] i : : : : : B ==
I ' i ? : N
Lt ABOIZIA : b ZEN-B: : : 5 I LA ABOIZIA
SUS316 S ; : : : ; l SUS316 S
E : f : : IF
A . . A
& : : HFISP &
8 sussos : SU2-SP§ B sussos |8
% : : : [ by
SU+SP 5 5
SUS303 SU-SP - HEHS B sussos
i

5m/r.nin 'IOm./min 15m./min 20m./min 30rr.|/min
tS Jts HYE TOtatet 0101 X = ILICH

| AZ HAE - AIYASUSHS [S2I]1HE EH

=1 HY £ HE
5 m/min 10m/min 15m/min -~ 20m/min - 30 m/min
mots W& : : : : mots W&
EIEt : EIEt
=] e | =] g |
o i o
g g
°| uz Vo |°
=5 | I
LEAF AFOIZ|A l LR AHIQIRIA
SUS316 5 l SUS316 5
A It A
8 sussos B sussos |5
2l l gl
A A
51 I Z
SUS303 I SUS303
5 m/min 10m/min 15m/min -~ 20m/min 30 m/min
b3 Jts HYYE Totarst 0101 X LICE

P YAMAWA

42 vyAvAWA cATALOG



| 4ENAE - HEAE

[2r2

|7HE ™

== B &=
5 m/min 10m/min 20 m/min 30 m/min 50 m/min 100 m/min
: EESIEEEEE : :

MJHE HE L2=0 MJHE HE
2205, b, | g50=
e e
2205 |ac bic| 22015
LN joog o
staxg|20e S2xE
HES (e hrs &S
St=

== |BsC BsC -
HE |Bs Bes| zs
22 |cu oo 2
RS BLI-ERRY

5 m./min

| 4ENAE - HIEAE

10m/min

[E2

20 rrll/min

1748

30 rrlm/min

JtE It

50 rrlm/min

100 m/min

S HYE Totetot 0101 XI=&ILIC

(=5
—_—
5 m/min 10m/min 20 m/min 30 m/min
ootE HE .
otz
=-ul=
AL
2rATH
L20I= | ac
Ot |ADC
gtaxg|4c
HS |pB
=
;'E_% BsC
s |Bs
22| |cu
e X

5 rr;/min ’IOm./min
ItE Jts HAE TOoHtst 010X = &ILICH

20 m./min

30 m./min

50 m/min

50 m./min

S

100 m/min

100 rr.1/min

IotES THE
A | ER0I=
U ATH
ac | E20IE
ADC (0] 3%
nC| si=xg
PB| HNS
St=
BsC| o=
=
Bs '%I‘%
Cul 22|
H=ESN

P YAMAWA

YAMAWA CATALOG

Z-pro
SP

Aoz

SL

A0S

PO

ZoIEE

HT

e

RZ/RS

Z2EH
=0

[TRD

i

PTPFPS

n
S
1>

LD

M=

J=sli=

43



44

SENAE - [AEVISE-EH

= B &5 il =4
5 m/min 10m/min 15m/min 20 m/min 25 m/min 30 m/min 50 m/min
ML THE ' ' ' ' ' M+ THE
ﬁ sussie) W SUS316 ﬁ
5 |sussos sussoa|
A A
% |sus303 suUs303| T
~35HRC : . ~35HRC
z 1 L z
€ |oshre B osine 2
St : l St
B | scMm : som | B
?:* SCr I SCr ;j
T 5 HINIE
; $45C : [ $45C ;'Ep
% S45C SC _TL_ RZ . l S45C g
@ : N X
¥ | s30c : HP+R7 B osaoc| 2
a S25C : l S25C g
;|8 . HP-RZ TR
d | ss400 R-Y OL*+RZ : 1 ss400| &
w : : i T
It N It
or + = ot
& | spcc R¥VE OL ;RZ i spcc | &
2 ' 2
& &
5 m/.min ‘IOn.1/min 15m./min 20 m./min 25 m./min 30 r.n/min 50 r.n/min
bS8 Jts HYYE Totatst 0101 XI= 4 LICE
AFEE it — b | 2 _ = EH
dENAEZ - [HEPISE-EH
L Bl & =
5 m/min 10 m/min 15m/min 20 m/min 25 m/min 30 m/min 50 m/min
IS HE : 5 , = : : MIHE
AU20E : 4 : : : : A20IE
ereiTy | i N+RS | ! 1 ! ! : S it
oz : : E E N I
“Be | N-RS | ' | | e
e : ; . : : : : e 2XE
55 b | : s s ; A e
zs ? 0 i i LI
== BsC l I BsC ==
9 o s : s s z e Es
| | | : | scT-Rz. . ¥
22l |cu : . ! : : : : Bic| 2

10 m/min 15m/min 20 m/min

5 m/min

P YAMAWA

YAMAWA CATALOG

25 m/min

30 n.1/min 50 r;1/min
s Jts HYE T Otetst 010 XI= Y LICH



mThink threads with m Z-PRO ZE AIOIEEY =

YAMAWA

VISP

A
Z-PRO

’ HAIS 0 2/52tE 59| PRO(EZI) =

A 2 HH= s ) I :

ZIAF TS HAO2)
2HH OI At olfEPE BirAI S,

JAet 20k =900 02004

4

o

-

—

202110 W S 2ol 011 0] At BZ5ks 7t ABULE 012] ofiol FAIV|1E SHEZLUC



Z-PRO
L ? n | & | Ds K l’k
VUSP Z-PRO 3 - =
Z-pro

HErAZ = ABO12|A 2
Low carbon steels i Alloy steels Stainless steels
* S HE2 &) 28 BMETZ2H 30% 2t
m4E0 53

o R — = | B2 E A
o 13 BT 5j0| A% E4 B0 LiTE A,
© SXIHQI L AR  HiIS BT TA XSS XIZoI0] FIOILt QLIAIR} BT 2TS A,
@ HTot 37 SETS &1 Fo| B0l Cheh Y S 2lmE 4= UELICE
@ =24 B Bl 7430 0 HeleiLict
W EH GlOJE R, ——
HOH IS &2 HOH LI

t2 X7 [M8 x 1.25]
LIS TH SUS304
LEAFHIZ 201 | 16mm

HE &5 10m/min
=] HAIE MH HZEH
EHE 2l +2d BAQI

SIHQ 2 il 8 MYE MOISe=

OKS0] £10] S 7HIS SITIE & QO SUS3049] ZPEOHH LY HA LW
ASM EHA OHIE USEHH Z2EILICH A8 J13 2HEHME HO L 2L
HHS s £ USUCH
g Z=7 [M3x0.5]
LIS TH S50C
LEAEMIZ Z01 | 4.5mm
HE &k 20m/min
AHZI1H HAIS HMEH M2
HE ul +2d BAQ
| | | | | |
VUSP D ZuEo2m
_# D}anl w
100 200 300 400 500(%)
@ ZHLIS I|7Z ol CHS 7Hs
Ut TR EHAT, HIVE TeleH BYS AL TIPIEI0N HSY 4 UBLICH

P YAMAWA

46 YAMAWA CATALOG



w | | BE | umz0 | wam | 22| 82
20| 210 AR E | ARIE Zo|
L ? n 2s Ds K 2k
™ TYPE @ 1 n [ TYPE @ 2 ]
Ds K Ds £
T T — — | + l + — — —
YA I
4 A K p 0. K
L S Z-pro
L
T TYPE @ 3 N [ TYPE @ 4 N
Ds K Ds K
IE | — Y K EF%iiiiii 7
RN L2k 2
£n £s Y/ fs ‘ K
L L
VUSP Z-PRO £25}0|A & Anto|HL it

O|E{ LIAME
M3x0.5 P2 1101101035 2.5P 56 5 18 32 4 3.2 6 3 1 31,610
M3x0.5 P3 1101201035 2.5P 56 5 18 32 4 3.2 6 3 1
M3x0.5 P4 1101301035 2.5P 56 5 18 32 4 3.2 6 3 1
M3x0.35 P2 1101101036 2.5P 56 5 18 32 4 3.2 6 3 1
M3x0.35 P3 1101201036 2.5P 56 5 18 32 4 3.2 6 3 1
M3x0.35 P4 1101301036 2.5P 56 5 18 32 4 3.2 6 3 1
M4x0.7 P2 1101101042 2.5P 63 7 21 36 ) 4 7 3 1 30,740
M4x0.7 P3 1101201042 2.5P 63 7 21 36 5 4 7 3 1
M4x0.7 P4 1101301042 2.5P 63 7 21 36 5 4 7 3 1
M4x0.5 P2 1101101043 2.5P 63 5 21 36 5 4 7 3 1
M4x0.5 P3 1101201043 2.5P 63 5 21 36 5 4 7 3 1
M4x0.5 P4 1101301043 2.5P 63 5 21 36 5 4 7 3 1
M5x0.8 P2 1101101049 2.5P 70 9 25 40 55 4.5 7 3 1 31,030
M5x0.8 P3 1101201049 2.5P 70 9 25 40 5.5 4.5 7 3 1
M5x0.8 P4 1101301049 2.5P 70 9 25 40 5.5 4.5 7 3 1
M5x0.5 P2 1101101051 2.5P 70 6 25 40 5.5 4.5 7 3 1
M5x0.5 P3 1101201051 2.5P 70 6 25 40 55 4.5 7 3 1
M5x0.5 P4 1101301051 2.5P 70 6 25 40 55 4.5 7 3 1
M6x1.0 P2 1101101055 2.5P 80 " 30 45 6 4.5 7 3 1 33,640
M6x1.0 P3 1101201055 2.5P 80 " 30 45 6 4.5 7 3 1
M6x1.0 P4 1101301055 2.5P 80 " 30 45 6 4.5 7 3 1
M6x0.75 P2 1101101056 2.5P 80 8 30 45 6 4.5 7 3 1
M6x0.75 P3 1101201056 2.5P 80 8 30 45 6 4.5 7 3 1
M6x0.75 P4 1101301056 2.5P 80 8 30 45 6 4.5 7 3 1
M6x0.5 P2 1101101057 2.5P 80 8 30 45 6 4.5 7 3 1
M6x0.5 P3 1101201057 2.5P 80 8 30 45 6 4.5 7 3 1
M6x0.5 P4 1101301057 2.5P 80 8 30 45 6 4.5 7 3 1
M8x1.25 P3 1101101064 2.5P 90 12 = 46 6.2 5 8 3 2 44,370
M8x1.25 P4 1101201064 2.5P 90 12 - 46 6.2 5 8 3 2
M8x1.25 P5 1101301064 2.5P 90 12 = 46 6.2 5 8 3 2
M8x1.0 P3 1101101065 2.5P 90 12 - 46 6.2 5 8 3 2
M8x1.0 P4 1101201065 2.5P 90 12 = 46 6.2 5 8 3 2
M8x1.0 P5 1101301065 2.5P 90 12 - 46 6.2 5 8 3 2
M10x1.5 P3 1101101078 2.5P 100 13 = 51 7 515 8 3 2 55,680
M10x1.5 P4 1101201078 2.5P 100 13 - 51 55 8 3 2
M10x1.5 P5 1101301078 2.5P 100 13 - 51 55 8 3 2

Think threads with
D YAMAWA
YAMAWA CATALOG

47



L 2 n {s Ds K Pk

VUSP Z-PRO 2%6lo|A JE Anjo|HR

O[Ef LEALS
M10x1.25 P3 1101101079 2.5P 100 13 - 51 7 5.5 8 3 2
M10x1.25 P4 1101201079 2.5P 100 13 = 51 7 515 8 3 2
Z-prn M10x1.25 P5 1101301079 2.5P 100 13 - 51 7 5.5 8 3 2
M10x1.0 P3 1101101080 2.5P 100 13 - 51 7 5.5 8 3 2
M10x1.0 P4 1101201080 2.5P 100 13 - 51 7 5.5 8 3 2
M10x1.0 P5 1101301080 2.5P 100 13 - 51 7 515 8 3 2
M12x1.75 P4 1101101088 2.5P 110 15 - 56 8.5 6.5 9 3 2 74,240
M12x1.75 P5 1101201088 2.5P 110 15 - 56 8.5 6.5 9 3 2
M12x1.75 P6 1101301088 2.5P 110 15 - 56 8.5 6.5 9 3 2
M12x1.5 P3 1101101089 2.5P 110 15 - 56 8.5 6.5 9 3 2
M12x1.5 P4 1101201089 2.5P 110 15 - 56 8.5 6.5 9 3 2
M12x1.5 P5 1101301089 2.5P 110 15 - 56 8.5 6.5 9 3 2
M12x1.25 P3 1101101090 2.5P 110 15 - 56 8.5 6.5 9 3 2
M12x1.25 P4 1101201090 2.5P 110 15 - 56 8.5 6.5 9 3 2
M12x1.25 P5 1101301090 2.5P 110 15 - 56 8.5 6.5 9 3 2
M14x2 P4 1101101100 2.5P 110 18 = 56 10.5 8 " 3 2 101,790
M14x2 P5 1101201100 2.5P 110 18 - 56 10.5 8 1 3 2
M14x2 P6 1101301100 2.5P 110 18 - 56 10.5 8 1 3 2
M14x1.5 P3 1101101102 2.5P 110 14 - 56 10.5 8 1 3 2
M14x1.5 P4 1101201102 2.5P 110 14 - 56 10.5 8 1 3 2
M14x1.5 P5 1101301102 2.5P 110 14 - 56 10.5 8 (il 3 2
M16x2 P4 1101101114 2.5P 110 18 = 56 12.5 10 13 3 2 136,300
M16x2 P5 1101201114 2.5P 110 18 - 56 12.5 10 13 3 2
M16x2 P6 1101301114 2.5P 110 18 - 56 12.5 10 13 3 2
M16x1.5 P3 1101101116 2.5P 110 14 - 56 12.5 10 13 3 2
M16x1.5 P4 1101201116 2.5P 110 14 - 56 12.5 10 13 3 2
M16x1.5 P5 1101301116 2.5P 110 14 - 56 12.5 10 13 3 2
M18x2.5 P5 1101101130 2.5P 125 20 = 64 14 4 2 158,340
M20x2.5 P5 1101101144 2.5P 140 20 - 71 15 4 3 228,810
M22x2.5 P4 1101101156 2.5P 140 20 - 71 17 4 S 275,790
M24x3.0 P5 1101101167 2.5P 160 25 - 82 19 4 S 339,300
£ 0|E{ LiALE
M3x0.5 P2 2101101035 2.5P 100 5 18 40 4 3.2 6 3 3
M3x0.35 P2 2101101036 2.5P 100 5) 18 40 4 3.2 6 3 3
M4x0.7 P2 2101101042 2.5P 100 7 21 40 5 4 7 3 3
M4x0.5 P2 2101101043 2.5P 100 5) 21 40 5 4 7 S 3
M5x0.8 P2 2101101049 2.5P 100 9 25 40 5.5 4.5 7 3 3
M5x0.5 P2 2101101051 2.5P 100 6 25 40 515 4.5 7 S 3
M6x1.0 P2 2101101055 2.5P 100 1 30 40 6 4.5 7 3 3
M6x0.75 P2 2101101056 2.5P 100 8 30 40 6 4.5 7 3 3
M6x0.5 P2 2101101057 2.5P 100 8 30 40 6 4.5 7 3 3
M8x1.25 P3 2101101064 2.5P 150 12 = 50 6.2 8 S 4
M8x1.0 P3 2101101065 2.5P 150 12 - 50 6.2 8 3 4
M10x1.5 P3 2101101078 2.5P 150 13 - 50 7 BI5 8 3 4
M10x1.25 P3 2101101079 2.5P 150 13 - 50 7 5.5 8 3 4
M10x1.0 P3 2101101080 2.5P 150 13 - 50 7 15 8 3 4
M12x1.75 P4 2101101088 2.5P 150 15 - 50 8.5 6.5 9 3 4
M12x1.5 P3 2101101089 2.5P 150 15 - 50 8.5 6.5 9 S 4
M12x1.25 P3 2101101090 2.5P 150 15 - 50 8.5 6.5 9 3 4
M14x2.0 P4 2101101100 2.5P 150 18 - 60 105 8 1 3 4
M14x1.5 P3 2101101102 2.5P 150 14 - 60 10.5 8 L 3 4
M16x2.0 P4 2101101114 2.5P 150 18 - 60 12.5 10 13 3 4
M16x1.5 P3 2101101116 2.5P 150 14 - 60 12.5 10 13 3 4

*
i
an
0z
40
om
o
=4
Rl
o=
=
o

P YAMAWA

48 vAmAwA cATALOG



-
T
0

Wulldl

e |mre

Think threads with

YAMAWA

JHH S 26l ol .2 glol Alds

-] EE‘&E
HETOR ’
HRERR R \\

Bote B/t AFLICE O12] ool FAI7|1E REERUCE



Z-pro

a0

Z-PRO

VU PO Z-PRO

Z-PRO £%0}0|A T T HEQIEH

NS

@Et

o| 715712t =N EHE S

ABIY AL
Stainless steels

515
(m/min)

*ZE HNE2 & HE B4 SZ0M 30 % 240t B BAF SEALLC

= =

43 43
AR Z | ARIE Zoj

Ds | K 2k

~ YAMAWA

= [ 2
bor | Sy | wamol | waz

[
0zt

—
~
~
=}
~
(72)

Flofeh ALPAL

SAHEQl e HAT B HES H0|E
o= oz £84 HAIRT} HARH AI80| 72 BHH0IME
Elofict QLA IS 218 4 LT

SUS3042| 7t50] RLojA, -84

SELIC

VUPO EtALE

® 113 22 5j0|A0t S4 ROR L7 4t
© SRl S HAIOR Fo| Hizs SHAIIL AL XSS F0f HOfc QLARL BT £TS A
® =P 37 S5 Eolo] AU £84 WAL TIS 4.
@ =84 HAR 7130 2= LT,
W E{T ClOJE
7t8= [M10x 1.5]

m J 2 1| SUS304

B % % T | 10m/min

Ab 2 J1 A | ABY HAIE ME

H Z Q M| *8B8EM4Q

A =

7t8=7 [M10x 1.5]

m J 3 | S50C

LEAFE 91210l | 20mm (2D)

B % T | 20m/min 5602

Ab 8 J1 H | AHIY HAE ME zs

H E L M| x88EHMQ

@ BELIS Ol 7tS ol TS 7ts

o]

LURZZOILL EAZ, BSTS Zeit FH2 AR LIS tHSE & ASLICE

Think threads with

YAMAWA

YAMAWA CATALOG



w | G| AR | mmee| em | 08 el
L ? n fs Ds K 2k
[ TYPE :1 ]
Ds K
4 — o — — |
‘g -gk K
&n 4
L Z-pro
[ TYPE :2 7 [ TYPE :3 7
K
DS }_ Ds K
_|_ - H—= — —
4 P« K P %
gn -gs k
Y 4
L
[ TYPE :4 N [~ TYPE :5 ]
K
Ds Ds K
s ,Jﬁ _ _ _ —T— —— —
) % 4 24 gx
E gs gn ES
L L
[~ TYPE :6 N [ TYPE :7 ]
. Ds K Ds K
=EESE SSEm s T T =
Y &k K bk K
gn -es g gs
L L )
QHAO|=
VUPO Z-PRO FE! ZOIEEH 2.9
= = L 14 n £s Ds K 2k A
DIE{LIALR
M2 x 0.4 P2 1102101021 5p 45 15 27 3 25 5 2 1
M2.2 x 0.45 P2 1102101024 5P 45 8 15 27 3 25 5 2 1
M2.3 x 0.4 P2 1102101026 5P 45 8 15 27 3 25 5 2 1
M25 x 0.45 P2 1102101029 5P 50 8 15 32 3 25 5 2 1
M2.6 x 0.45 P2 1102101032 5p 50 8 15 32 3 25 5 2 1
M3 x 0.5 P2 1102101035 5P 56 9 18 32 4 32 6 3 1 31,610
M3 x 05 P3 1102201035 5P 56 9 18 32 4 32 6 3 1
M3 x 05 P4 1102301035 5P 56 9 18 32 4 32 6 3 1 %
M3 x 0.35 P2 1102101036 5P 56 65 18 32 4 32 6 3 2
M3 x 0.35 P3 1102201036 5P 56 65 18 32 4 32 6 3 2 S
M3 x 0.35 P4 1102301036 5P 56 65 18 32 4 32 6 3 2 *
M4 x 0.7 P3 1102101042 5P 63 13 21 36 5 4 7 3 1 30,740
M4 x 0.7 P4 1102201042 5P 63 13 21 36 5 4 7 3 1
M4 x 0.7 P5 1102301042 5P 63 13 21 36 5 4 7 3 1 S
M4 x 0.5 P2 1102101043 5P 63 9 21 36 5 4 7 3 2
M4 x 0.5 P3 1102201043 5P 63 21 36 5 4 7 3 2 *
M4 x 05 P4 1102301043 5P 63 9 21 3 5 4 7 3 2 x

P YAMAWA

YAMAWA CATALOG

al



% PRO w | | SR | eee | e | 8 el
L ? n s | Ds K {4

VUPO Z-PRO IE ZOIE

X = A} Ic AI | 7(1
A|.0| == == _ YR

M5 x 0.8 1102101049 31,030

M5 x 0.8 P4 1102201049 5P 70 14 25 40 55 4.5 7 3 1

M5 x 0.8 P5 1102301049 5p 70 14 25 40 55 45 7 3 1 #
Z-prg M5 x 0.5 P2 1102101051 5P 70 9 25 40 55 4.5 7 3 2

M5 x 0.5 P3 1102201051 5p 70 9 25 40 55 45 7 3 2 #

M5 x 0.5 P4 1102301051 5p 70 9 25 40 55 45 7 3 2 *

M6 % 1 P3 1102101055 5P 80 15 30 45 6 4.5 7 3 1 33,640

M6 x 1 P4 1102201055 5P 80 15 30 45 6 4.5 7 3 1

M6 X 1 P5 1102301055 5P 80 15 30 45 6 4.5 7 3 1 x

M6 x 0.75 P2 1102101056 5p 80 15 30 45 6 45 7 3 1

M6 x 0.75 P3 1102201056 5P 80 15 30 45 6 4.5 7 3 1 H

M6 x 0.75 P4 1102301056 5P 80 15 30 45 6 4.5 7 3 1 x

M6 x 0.5 P2 1102101057 5P 80 9 30 45 6 4.5 7 3 2

M6 x 0.5 P3 1102201057 5P 80 9 30 45 6 4.5 7 3 2 x

M6 x 0.5 P4 1102301057 5P 80 9 30 45 6 45 7 3 2 #

M8 x 1.25 P3 1102101064 5P 90 19 - 46 6.2 5 8 3 3 44,370

M8 x 1.25 P4 1102201064 5P 90 19 = 46 6.2 5 8 3 3

M8 x 1.25 P5 1102301064 5P 90 19 - 46 6.2 5 8 3 3 *

M8 x 1 P3 1102101065 5P 90 19 = 46 6.2 5 8 3 3

M8 x 1 P4 1102201065 5P 90 19 - 46 6.2 5 8 3 3 *

M8 x 1 P5 1102301065 5p 90 19 - 46 6.2 5 8 3 3 #

M10 x 1.5 P3 1102101078 5P 100 23 - 51 7 55 8 3 3 55,680

M10 % 1.5 P4 1102201078 5P 100 23 = 51 7 5.5 8 3 3

M10 % 1.5 P5 1102301078 5P 100 23 - 51 7 55 8 3 3 x

M10 x 1.25 P3 1102101079 5P 100 23 - 51 7 5.5 8 3 3

M10 x 1.25 P4 1102201079 5P 100 23 - 51 7 5.5 8 3 3

M10 x 1.25 P5 1102301079 5P 100 23 = 51 7 55 8 3 3 53

M10 X% 1 P3 1102101080 5P 100 23 - 51 7 5.5 8 3 3

M10 x 1 P4 1102201080 5P 100 23 = 51 7 55 8 3 3 *

M10 x 1 P5 1102301080 5p 100 23 - 51 7 55 8 3 3 *

M12 x 1.75 P4 1102101088 5P 110 26 = 56 8.5 6.5 9 3 3 74,240

M12 x 1.75 P5 1102201088 5P 110 26 - 56 8.5 6.5 9 3 3

M12 x 1.75 P6 1102301088 5P 110 26 = 56 8.5 6.5 9 3 3 &

M12 x 1.5 P3 1102101089 5P 110 26 - 56 8.5 6.5 9 3 3

M12 x 1.5 P4 1102201089 5P 110 26 = 56 8.5 6.5 9 g 3

M12 x 1.5 P5 1102301089 5P 110 26 - 56 8.5 6.5 9 3 3 x

M12 x 1.25 P4 1102101090 5P 110 26 = 56 8.5 6.5 9 3 3

M12 x 1.25 P5 1102201090 5P 110 26 - 56 8.5 6.5 9 3 3

M12 x 1.25 P6 1102301090 5p 110 26 - 56 85 6.5 9 3 3 A

M14 x 2 P4 1102101100 5P 110 26 = 56 10.5 8 M 3 3 101,790

M14 x 2 P5 1102201100 5P 110 26 - 56 10.5 8 1 3 3

M14 x 2 P6 1102301100 5P 110 26 - 56 10.5 8 M 3 3 x

M14 x 1.5 P3 1102101102 5P 110 26 = 56 10.5 8 1 3 3

M14 x 1.5 P4 1102201102 5P 110 26 - 56 10.5 8 n 3 3

M14 x 1.5 P5 1102301102 5P 110 26 = 56 10.5 8 1 3 3 o

M16 x 2 P4 1102101114 5P 110 26 = 56 125 10 13 3 3 136,300

M16 x 2 P5 1102201114 5P 110 26 = 56 12.5 10 13 3 3

M16 x 2 P6 1102301114 5P 110 26 - 56 125 10 13 3 3 *

M16 % 1.5 P3 1102101116 5P 110 26 = 56 125 10 13 3 3

M16 % 1.5 P4 1102201116 5P 110 26 - 56 125 10 13 3 3

P YAMAWA

52  YAMAWA CATALOG



LA
20|

M3 M3
AR E | Ap2tE o]

2k

2
o
N ‘"ﬂ

o

2o

NS
[=)

I—
)
)
S
o
()
O
(2]
~

VUPO Z-PRO & HQIEFH

= = L 2 &n 2s Ds K 2k =
5 26 - 56 10 13 3 3 e

M16 x 1.5 P 1102301116 5P 110 12.5

M18 x 2.5 P5 1102101128 5P 125 33 - 64 14 1 14 3 3 158,340
M18 x 1.5 P4 1102101130 5P 125 33 - 64 14 1 14 3 3
M20 x 2.5 P5 1102101141 5P 140 33 -7 5 12 15 3 4 228 810 Z-pro
M20 x 1.5 P4 1102101144 5P 140 33 -7 5 12 15 3 4
M22 x 2.5 P5 1102101156 5P 140 33 -7 7 13 186 3 4 275,790
M22 x 1.5 P4 1102101158 5P 140 33 -7 77 13 16 3 4
M24 x 3 P5 1102101167 5P 160 37 - 82 19 15 18 3 4 339,300
M24 x 1.5 P4 1102101170 5P 160 37 - 82 19 15 18 3 4
E- D[E|LIALE
M3 x 0.5 P2 2102101035 5P 100 9 18 40 4 32 6 3 5
M3 % 0.35 P2 2102101036 5P 100 6.5 18 40 4 32 6 3 6 X
M4 x 0.7 P3 2102101042 5P 100 1 21 40 5 4 7 3 5
M4 x 0.5 P2 2102101043 5P 100 9 21 40 5 4 7 3 6 *
M5 x 0.8 P3 2102101049 5P 100 13 25 40 55 45 7 3 5
M5 x 0.5 P2 2102101051 5P 100 9 25 40 55 45 7 3 6 *
M6 x 1 P3 2102101055 5P 100 15 30 40 6 45 7 3 5
M6 x 0.75 P2 2102101056 5P 100 15 30 40 6 45 7 3 5
M6 x 0.5 P2 2102101057 5P 100 9 30 40 6 45 7 3 6 &
M8 x 1.25 P3 2102101064 5P 150 19 - 50 62 5 8 3 7
M8 % 1 P3 2102101065 5P 150 19 - 50 62 5 8 3 7
M10 x 1.5 P3 2102101078 5P 150 23 - 50 7 55 8 3 7
M10 x 125 P3 2102101079 5P 150 23 - 50 7 55 8 3 7
M10 x 1 P3 2102101080 5P 150 23 - 50 7 55 8 3 7
M12 x 1.75 P4 2102101088 5P 150 26 - 50 85 65 9 3 7
M12 x 1.5 P3 2102101089 5P 150 26 - 50 85 65 9 3 7
M12 x 125 P4 2102101090 5P 150 26 - 50 85 65 9 3 7
M14 x 2 P4 2102101100 5P 150 26 - 80 105 8 1 3 7
M14 x 15 P3 2102101102 5P 150 26 - 60 105 8 1 3 7
M16 x 2 P4 2102101114 5P 150 26 - 60 125 10 13 3 7
M16 x 1.5 P3 2102101116 5P 150 26 - 60 125 10 13 3 7

*=5F RES(HF MUF) m Think threads with

YAMAWA CATALOG ~ §3



Z-prg o [ o
[ TYPE : 1 ]
K
Ds
|_ I — _ _
|
4 4 K
gs
TERAZE [
High carbon steels Alloy steels Thermal refined steels
(m/min) (m/min) (m/min)
25~35HRC
m 4z 53
@ 48C~S55C2| TH=E 3! ZERH(20~30HRC) | £|H.
@ L0t M-S n2{st Slo|AxHet E4~ RIS RHEHSIH] 71 +EHE A
@ LIARO| E~ HAO R 2bH Mol H ifE WX, Tl EFoF OFE Xjgt 22, LIAI0|EY |X|0f Z1tE Y(siL|ch
@ HiEE|= F0| S| ZHISHK| R=E HEot Z+ SETS ALY = JULE HH| ZO0|E HFSIRELICL

W EHZ CIOIE
7}2 &7 [M8 x 1.25]

WotSTH SCM440 35HRC
#a 20l 12mm
EHE £k 15m/min
AZI1AH 2SI HAIE MIE
EHE LM =84 MM

YIS IR 7HB0 S THs

WIS EHE £E9| JIE(m/min)

TEAZ/EIS2Z S50C/SCM440 35HRC 5715

TEAZ/EIEZ S50C/SCM440 25HRC 5720

VEAZ/EEZ S50C/SCM440 ATH 5730

AILE2 1D

OIE LIALS

M8 x 1.25 P4 SY8.0NSOCLJ 2.5P 90 19 - 46 6.2 5 8 3 1
M10 x 1.5 P4  SY0100SOCLJ 2.5P 100 23 - 51 7 5.5 8 3 1
M10 x 1.25 P4  SYO1ONSOCLJ 2.5P 100 23 - 51 7 55 8 3 1
M10 % 1 P4 SYO1OMSOCLJ 2.5P 100 23 = 51 7 5.5 8 3 1
M12 % 1.75 P4  SYO012PSOCLJ 2.5P 110 26 - 56 8.5 6.5 9 4 1
M12 x 1.5 P4  SY0120SOCLJ 2.5P 110 26 = 56 85 6.5 9 4 1
M12 x 1.25 P4 SY012NSOCLJ 2.5P 110 26 - 56 8.5 6.5 9 4 1
M14 x 2 P5 SY014QTOCLJ 2.5P 110 26 = 56 10.5 8 (K 4 1
M14 x 1.5 P4  SY0140SOCLJ 2.5P 110 26 - 56 10.5 8 n 4 1
M16 x 2 P5 SY016QTOCLJ 2.5P 110 26 = 56 12.5 10 13 4 1
M16 % 1.5 P4  SY0160SOCLJ 2.5P 110 26 - 56 12.5 10 13 4 1

P YAMAWA

54 YAMAWA CATALOG




Think threads with

YAMAWA

IE 4% =319 miomk= o> 1<k ok 09

Sles AH

x%&\%‘ oH0l T -

‘.'\-l C
.

e
\V]

Py

|
P

AN H Yo OO
\=hVPO
2 xﬁi\ﬂénﬁ:a:‘:é 1ol




Z-pro

Z-PRO

©Z-PROME "HVSP 2t JISHZAYE "SP, 2| HIWAE

Z-PRO HVSP

M0IS2| Z0iT HE
ol Eoof 2t

0124 4X17| 20|
&o I2|1101| EINRY

toz

o1

47 | IE01)

SP s 5=zl

SELHIZ0l: 1.5D

M12x1.75 SXIZ0l:37 mm

HVPO AIZA| -

MOojEel 2ot dHe= O PROSE HVPO.AISTAES
Erio YA SAPL Z-PRO HVPO
SHHE|OZ A Q|
IErst 30| 7HsELICt,

PO, 2| HIA

PO (s 2=20J)

QSLEAZO0! : 1.5D
SXIZ0l:37 mm

M12%X1.75

YATLINES 3422 AEZ I E ZIAIGI0] H 2 - S Bk X!
2017t @ S5= 201t
O1:54 AFEHOH A A 20]:54H+012:34t
HEE AEHOI 21T B2
I I |
51l F 3
} Sl
210 20120 TIATHZHE &0l IATHELE
25| Z2lEIX L0t 25| 2L
2101 24SH BLIC AUSBHH HSELICH

Think threads with
X YAMAWA
YAMAWA CATALOG

26



w | U | Yo 230 992 | 3 el
L 4 n | & | Ds K 1{

Z-pro

HErAZ AH2HAZ
Low carbon steels Alloy steels Stainless steels

=9 9]

(m/min) i (m/min)

~9

(m/min)

B Y39 53
@ =AMl = HYT S S AESo] H HE Y S SYAMTSL T
@ LAF Q20| H S Heto| =Tt & T ES loH7| 2ldh 2 2 452 SeAIZELUC
© & THI=0| §IeE = Ho|HA| LS| +12 AlR2| LlE X7 A ATt
O LIAPRO| E YO Z I o] I MiE WX, BT 2239} OHE Met B, LI 710|=d |X|0l| 2utE LeefLict.
W E{EO|0[E
-2 THE 2H MM IS T2 [M36 X 4] O AT EE
IS | SS400
BHE £ 3m/min
Ha 20l 50mm
I IRENFEERT
HEeH | E28434Q 250% 914 Jk3 5

EREESS

s XA IE HVSP
WIS TH BHE £ J1=E(m/min) SaM
AHIYAZ  SUS303/SUS304/SUS316 3~8
=z SCM/SCr 3~8
EAZ S45C~ 3~8
EEAZ S25C~S45C 3~8
HEtAZ  ~520C/SS400 3~8

}; il
=L

1=

oA ol £X{z}El F=52] PRO(HEf) £ DXV ARRA

YAMAWA cATALOG ~ §7



Z-pro

a8

% -PRO w | O | Yo |23 #38 |E0a e
L 2 h | & | Ds | K &K
H HiEE 2 035t ME(L)2 2 HEASLICH
TYPE : 1 7 [ TYPE @ 2 7
Ds K Ds K
e e i
2 4 K ] A K
4s Is
L
ALtz :1C
s3 | umac
O|Ef LEARE
M3x0.5 P3 SY3OGREEXJ 2.5P 56 9 18 32 7 3.2 6 3 1 16,390
M4x0.7 P4 SY40ISEEXJ 2.5P 63 13 21 36 7 4 7 3 1 16,390
M5x0.8 P4 SY50KSEEXJ 2.5P 70 14 25 40 7 4.5 7 3 1 16,390
M6x1.0 P4 SY6OMSEEXJ 2.5P 80 15 30 45 7 4.5 7 3 1 18,560
M8x1.25 P4 SY8ONSEEXJ 2.5P 90 19 = 46 7 5 8 3 3 26,250
M10x1.5 P4 SYO100SEEXJ 2.5P 100 23 = 51 7 5.5 8 3 3 34,220
M12x1.5 P4 SYO0120SEEXJ 2.5P 110 26 = 56 8.5 6.5 9 3 3 44,370
M12x1.75 P4 SYO12PSEEXJ 2.5P 110 26 = 56 8.5 6.5 9 3 3 44,370
M14x2.0 P4 SYO14QSEEXJ 2.5P 110 26 - 56 10.5 8 (il 3 3 61,190
M14x1.5 P4 SYO0140SEEXJ 2.5P 110 26 = 56 10.5 8 (il 3 3 61,190
M16x2.0 P4 SYO16QSEEXJ 2.5P 10 26 = 56 12.5 10 13 3 3 81,490
M16x1.5 P4 SYO160SEEXJ 2.5P 10 26 = 56 12.5 10 13 3 3 81,490
M18x2.5 P5 SYO18RTEEXJ 2.5P 125 33 = 64 14 M 14 4 3 110,780
M20x2.5 P5 SYO20RTEEXJ 2.5P 140 33 0 71 15 12 15 4 4 145,000
M20x1.5 P5 SY0200TEEXJ 2.5P 140 33 - 71 15 12 15 4 4 145,000
M22x2.5 P5 SY022RTEEXJ 2.5P 140 33 S 71 17 13 16 4 4 185,020
M24x3.0 P5 SY024STEEXJ 2.5P 160 37 S 82 19 15 18 4 4 231,710
M27x3.0 P5 SY027STEEXJ 2.5P 160 37 o 82 20 15 18 4 4
M30x3.5 P6 SYO30TUEEXJ 2.5P 180 44 = 92 23 17 20 4 4 356,700
M30x3.0 P6 SYO30SUEEXJ 2.5P 180 44 o 92 23 17 20 4 4
M33x3.5 P6 SYO33TUEEXJ 2.5P 180 46 - 92 25 19 22 4 4
M33x3.0 P6 SYO33SUEEXJ 2.5P 180 46 = 92 25 19 22 4 4
M36x4.0 P6  SYO36UUEEXJ 2.5P 200 52 = 102 28 21 24 4 4 475,600
M36x3.0 P6 SYO36SUEEXJ 2.5P 200 52 o 102 28 21 24 4 4
M39x4.0 P6  SYO3QUUEEXJ 2.5P 200 52 - 102 30 23 26 4 4
M39x3.0 P6  SYO39SUEEXJ 2.5P 200 52 o 102 30 23 26 4 4
M42x4.5 P6 SY042VUEEXJ 2.5P 200 59 = 102 32 26 30 4 4 690,200
M42x3.0 P6 SY042SUEEXJ 2.5P 200 59 o 102 32 26 30 4 4
M48x5.0 P6 SYO48WUEEXJ 2.5P 250 65 - 128 38 29 32 4 4
M48x3.0 P6 SYO048SUEEXJ 2.5P 250 65 o 128 38 29 32 4 4
[LITHO| LEALE
1-8UNC P5 SYU16XTEEXJ 2.5P 160 37 = 82 19 15 18 4 2
1-12UNF P4 SYU16SSEEXJ 2.5P 160 37 - 82 19 15 18 4 2
11/8-7UNC P6 SYU18YUEEXJ 2.5P 180 44 - 92 23 17 20 4 2
11/8-8UN P5 SYU18XTEEXJ 2.5P 180 44 - 92 23 17 20 4 2
11/8-12UNF P4 SYU18SSEEXJ 2.5P 180 44 - 92 23 17 20 4 2
11/4-7UNC P6  SYU20YUEEXJ 2.5P 180 44 - 92 24 19 22 4 2
11/4-8UN P5 SYU20XTEEXJ 2.5P 180 44 = 92 24 19 22 4 2
11/4-12UNF P4 SYU20SSEEXJ 2.5P 180 44 - 92 24 19 22 4 2
13/8-6UNC P6 SYU22ZUEEXJ  2.5P 200 52 = 102 28 21 24 4 2
13/8-8UN P5 SYU22XTEEXJ 2.5P 200 52 - 102 28 21 24 4 2
13/8-12UNF P4 SYU22SSEEXJ 2.5P 200 52 = 102 28 21 24 4 2
11/2-6UNC P6 SYU24ZUEEXJ 2.5P 200 52 - 102 30 23 26 4 2
11/2-8UN P5 SYU24XTEEXJ 2.5P 200 52 = 102 30 23 26 4 2
11/2-12UNF P4 SYU24SSEEXJ 2.5P 200 52 - 102 30 23 26 4 2
13/4-5UNC P6  SYU280UEEXJ 2.5P 220 59 = 112 35 26 30 4 2
13/4-8UN P5 SYU28XTEEXJ 2.5P 220 59 - 112 35 26 30 4 2
13/4-12UN P4 SYU28SSEEXJ 2.5P 220 59 - 112 35 26 30 4 2
2-41/2UNC P7 SYU329VEEXJ 2.5P 250 73 - 128 40 32 35 4 2
2 -8UN P6  SYU32XUEEXJ 2.5P 250 73 = 128 40 32 35 4 2
X YAMAWA
YAMAWA CATALOG



LA
Zo| 2

M3 M3
AR E | AR 2o|

2k

2
o
N ‘"ﬂ

=]

2o

S

Z-PRO

—
~
~
=]
~
7
O
7]
~

HVPO zuwo

Z-PRO
PROAEIE 5l0|HZ|E WF ZQIEH

Z-pro

At EXI

L7t MY S £

AHAHAZ
Stainless steels

- IS EA HVPO M12x1.75

T AFTH SS400
HE &% 10m/min
LEAHE ZE01 24mm
AEI1H MC 28
EHE QHl 28 BAQT

SS400 7+ Al =84 FAl
S LU EERHS 2 4 YL Ho|EO= pHs0f AR}

LTS SZELC

{9 BRI Sxpsjol & $T 8 8 2olg

@ et I7tST 7HS0i| thE 7ts
ZYAS LIS IS0l 8 Jts

WK EHE £ J1E(m/min)

M3~M5 M6~M16
et ~520C / SS400 3~9 3~12
SEHAZ S25C~S45C 3~9 3~12
nEAZ S45C~ 3~9 3~12
HER SCM / SCr 3~9 3~12
XEHY 25~35HRC 3~9 3~12
=Z SC 3~9 3~12
AHIQIZ|IAZ SU303 /SUS304 ~5 ~5

(SIIHS-HISIINE)

P YAMAWA

YAMAWA CATALOG ~ §Q



(V=R BT I CERRIE)
2ol | zo | #3EN| #3F | spmm |wamml

[
0zt

Z-PRO

L ? n fs Ds K 2k
[ TYPE : 1 ]
Ds
= - - =
=)
Y
Zn 4s
Z-pro L
[ TYPE : 2 7 [ TYPE : 3 N
Ds Ds
e e e
Y
4n 4s £ 4s
L L

HVPO Z-PRO PROZEE 5l0|EZ|E E7 ZAEY

= = L 2 2n 0s D = x
M3 x 0.5 P 5P 56 9 18 32 4

il

3 1113101035 3 1
M4 x 0.7 P3 1113101042 5P 63 13 21 36 5 3 1
M5 x 0.8 P3 1113101049 5P 70 14 25 40 5.5 3 1
M6 x 1 P3 1113101055 5p 80 15 30 45 6 3 1
M8 x 1.25 P3 1113101064 5P 90 19 - 46 6.2 3 3
M10 x 1.5 P4 1113101075 5P 100 23 - 51 3 3
M10 x 1.25 P3 1113101079 5P 100 23 - 51 3 3
M12 x 1.75 P4 1113101088 5P 110 26 - 56 8.5 3 3
M14 x 2 P4 1113101100 5P 110 26 - 56 10.5 3 3
M16 x 2 P4 1113101114 5P 110 26 - 56 12.5 3 3

P YAMAWA

60 YAMAWA cATALOG



SP LINE UP

@ éEI-OIEé E=|I'| (E!"ﬂ__rl.%'l_g) SVSP INEERSTVEE]

MHSP S4E SAZS A0 &
VUSP SS5{0]A 28] AT[0|ZEY
HVSP 529 [ 52 7128 ATIO|ZH
SP ATito[ i
+SP AR ALIO|ZH
SPLH FPNTEL)
AU+SP EEPSTVELR]
LS-SP = Ao/
S AHIAS ATHO|ZE
SU2-SP LA AEIZIAS ATOZH
AL+ o

N AD|5 8 ALO|E
ZET-B EEfS 228 ALIO|ZE
PM-SP S91510]A LIAHE ATHOJH

VMYINVA

.n

ey 3 7R
3 2

/;

R,

VR
TSI




7l01=

q

KO
<

KO
34|

FEH A

g

by
Kd
Ho
™

SP 1.5P

HSS

LS-LO-SP

HSS

priliotenitas ]

LO-SP

HSS

LS-SP LH

HSS

s
Lt

SP LH

HSS

LS-SP-K

HSS

LS-SP

HSS

SP

HSS

ISP

OoXx

HSS

U uuuuuuuuu

104

H
<0

EIGE
B

®0
B0

OIE LI
SUINOI LEAH

AE LA}
THEE LEA

ZHE LA}
0= Z& LIt

OILIOIA LEAE
AtCk2d

= LIt

no

ol

n0
K4

n0
K4

n0
K4

n0
K4

AHI2I2|AZS

no
Ho

no
Kk

R
Kk

Al
Kk

n0

Lo
0

Ohu
Kk

10
0

1Ho

0

Ofu
Kk
rio
ol

Ok
Kk
rin
fol
<0

b

1]l

rio
jol

rio
fol

~825C

S25C~S45C

S45C~

SCM

25~35HRC

35~45HRC

45~55HRC

55~63HRC

SuUs

SKD

SC

FC

FCD

Cu

Bs

BsC

PB

AL

AC.ADC

Mg

ZDC

SP

ESUME L

Think threads with

DX YAMAWA

YAMAWA CATALOG

62



ar
30

Ho

=)

klo

JIHINS - X/

SP
Amofg

S-SP

LS-SU-S-
SP

SU-S-SP

SU+SP
SU - SP

AHY AR

=3

HC+SP OX
HC - SP 0X

3

B4

ot 2l

HC+SP
HC - SP

Z-PRO
HVSP

E-SP

+SP

AL-SP
1.5P

AL+SP
AL -SP

LS-SP OX

TAMAWA

SP OX

T TSN -
TS i
Wy g —
L yamawa
AR

U uuuuuuuuumuuu

Think threads with

X YAMAWA

63

YAMAWA CATALOG



1=

q

KO
<

KO
T

FEH A

:

by
Kd
Ho
™

Wﬂ UO o|lo|o|o O O O
=2
< | L2 e * * *
mm. olo|o|e o
S <
N [ =
S oo oo oo *
mm. UO ole|o|o o
o
(%2}
J.w. oo oo oo .
=5 UQ olo|o|o o
I8
¢ soe[oefoe *
5| 2] B
olo|o|e ©
2 % .
ol =
CRRERN i
g || ¢ UQ 0|0
& | (= ole|e|o
o || 2 *
s
&
P | — © ol|o
= [i] - |*
@
-
o ‘ N
B - o[ Jolo
o
~1H =
: elo|o|eo
@S ‘
wn
LB oo e[oefoe
= | Of | O %0 | X0
R0 7l o gk he || o | w& 4
NO [ RO | MO | a0 | =n | =0 | =0 | =0 | <I | = b on | ro | Tl o ~
|| R R m0 ) Re ) R0 Sy A0 ko | | K@ (o | KE | wo | o |e1 | @0 |mo|en | S| B0 aw
mrl R I I R R R R T e TR - = I R T
= k0| M o 0 B AR A =
o 20 = =z == “ mae_ﬂ._n_w_._o %__.__mu___
= | ®x3x3\5712|3 ’
Mo | =B B0 5|5y W w e
0 H - S| d|e | B2 |3
oll Ok o |5 |=x
(6] Ol |0 | O
ol % | SIEE £ 2
n 0w | a o (&) o
BlS|E|8[33(5|3|2|2(8|2|8|8|2 82 3|28
T o |V [To I Vo I B Yo B B Yo ) <
m N | ™M | W0

SP

ESUME L

Think threads with

DX YAMAWA

YAMAWA CATALOG

64



JHIES/2H SI1 015 HE ¥ 1% I8 29

AUXSP

)=

F-SP LS-F-SP HDISP HDASP HFIHS HFISP HFAHS HFASP

o) 3 o) ] =)

1048 £n22
xeg oI5

§$7EMOI% ZL A0

== =]
L20IENS

| SP

: ATo|ZeY

PROPIOI

o | | mmm——

| —
Sl = —

=

c
=
=

. . . > . >

* © O © * © * © * © * ©

* © O © * © * © * (@] * © * ©

* © ©) * (€} * © * €} * ©

o © © le| © ol © 3l o |3] ©

* ©

ol © © ©
* © * © L 4

L 2 o * © L 2 © * (€]
L 4 © L 4 © * ©

* (@] * © * © * ©

* ©
L 2 ©

P YAMAWA

YAMAWA CATALOG 5



MThink threads with
2021 128 ATIZ S

| % Original
=§ TIN EIElaRE
}

NS - I3k

4

200158

SVSP

2= OHIIIONM
X% Sl
TIN EIEHS2E!
ATIHOI2EO)

=chz 352

AE dalol HAAQ
M3~M12 %,

o5 ATHO '\
SHOIHEHA
TAM=S ws|st |t >

1]
J_.!
TH
ofl
H
L
5
|
El
=
3
=
A
Il
Ol
=
=

—
=
5
X
T,
L.
<
v
O




el antojzit SVSP

o Ciosot Anfo] EatoI 2o

5 A8 = ASLICL
o H12 6H YLIALS M5} I3l BEH

Think threads with

YAMAWA

YAMAWA CATALOG

HrH1SE QHAO|ZZE HIEE|RELIC
SVSP 7Iax71
I &4 TH %‘f/‘%ﬁ"iz mamy | =E Ml

HELAZ ~520C/SS400 10~20 — ‘ L .
EEIAY S25C-S45C 10~15 LB F-SP \ =
MEFALT SA5C~ 10~15

BZT  SCM 5~10 i

AEIBIA SUS304 5~10 o

ACIADOIIDG 15-25 asa

SsC0MAE
ol
10m/min 20m/min 30m/min
(M3~Mé6] D (M8~M12] Ds
e P
gen Ys £ 7n Js
L L
74 ofEst | 53 HEs g B o & S Ds, 24

M3X0.5 26,140 P2 | SY3.0GQNEV | 2.5P 46 9 14 26 4 3
M3.5X0.6 P2 | SY3.5HQNEV | 2.5P 52 1 16 29 5 3
M4X0.7 27,000 P3 | SY4.0IRNEV | 2.5P 52 1 17 29 5 3
M5X0.8 28,520 P3 | SY5.0KRNEV | 2.5P 60 13 22 33 55 3
M6X1.0 31,090 P3 | SY6.0MRNEV | 2.5P 62 15 26 33 6 3
M8X1.25 44,260 P3 | SY8.ONRNEV | 2.5P 70 19 = 36 6.2 3
M10X1.5 56,470 P3 |SYO100ORNEV | 2.5P 75 23 s 38 7 3
M10X1.25 P3 |SYOTONRNEV | 2.5P 75 23 - 38 7 3
M10X1 P3 |SYOTOMRNEV | 2.5P 75 23 - 38 7 3
M12X1.75 77,350 P3 | SYO12PRNEV | 2.5P 82 26 = 42 8.5 3
M12X1.5 P3 |SYO120RNEV | 2.5P 82 26 - 42 8.5 3
M12X1.25 P3 |SYO12NRNEV | 2.5P 82 26 - 42 8.5 3
M12X1 P3 |SYO12MRNEV | 2.5P 82 26 - 42 85 3

67



OES VEENEEICEEE
L ? n | & | Ds | K | &

SP

ALOIE &

A% £

SEHLY
Medium carbon steels

SP

ESUME L

(m/min)

PR

= o

@ 20| 0oiRL0] &2 Z Helo| ALEl EE SHUOZ HiESI D
Eatele 2o7|X| olot akel = 7h30)| i Hefei|ct.

@ 0f2[Ef0| 7| wizof|, £35| THT I|7tSRiLE E2tAE! S|
ol =/,

@ 12| AT LF2e| & Hoj S0ZITL.

@ 7| 20| U= BTE S| B BME Ik

@ HTOj| H[gH & 2= HOIX|7| 20| DFE=Rl= HT Wado| o
mBRSHLC, SPOlMS| H HiEE = 2&

M SP2t+ SP2| Xt0|0f| CHaHAM

SP EEEMAO0ILF HAISHES X% JESE +SP MHAEYHS£ IS8 /371018 2%
HZE 8 AI2IX SP (2! 1HE) EHA AZZE + SP (243! HE)
CU=H] :: sy PN LU= :: EEE Kl e
N-SP SP M1.2 ~ M64 N+SP +SP M2 ~M12
IAE 0IA(EZE HAl S)2 IISHM SIS LIBtLICH k2717t STI0IS(RIRE) IISHM SIS LEIELICH
* DS 713 2tE0] 5h3R0] JHLEl HE Amo|Z RHRIL|C
B JENA =
o =
oo 5m/min 10 m/min 15m/min 20m/min o
WIHETH o 28 S| 2IE 015 % =31
g [ scMm T scM | ¥
5| sor T scr g
o | ss5C o SE5C | 1
: ; \L I \ 1 g
2 | s45C \ 1 s45C | Z
~ S45C \ S45C |
1 : 1 £
# | s30c SP i +SP ssoc | 2
]
$30C I $30C
g ! g
g 1 H
z I z
$5400 i $5400
[ = gc
4z =i

5m/min 10m/min 15m/min 20m/min
7138 7t HRIE Eetefet o|o|X| L c.

P YAMAWA

68 vAmMAWA cATALOG



A
03

D= | g2 2 ¥ | 53
Zo| | o |83 838 | spmz |amml

—
~
~ |
=)
o
()

Ds K 2k
[ TveE ;T N
< e e [ -
A
) 2 K
L SP
| B Amjojzey
[ TYPE : 2 N [ TYPE : 3 N
K
Ds ‘&K Ds é: ;
——r1 |- = —= - = §
by “QQ/ Y/ R K
, gs " K Z. 25
L L
[T TYPE : 4 N [T TYPE : 5 N
: " ol &S
—= - - ] < - - - ]
Y i K Y £ W
-gn Es -gn Es :
L | L
" Tvee 1 B ] [ TYPE 1 7 ]
Ds Ds
Y/ I Y Iy
Is fs
L L
[ TYPE : 8 N [ TYPE : 9 N
Ds K Ds
N = / Bl I =
9 4 2 4
o K 2"
L L

*=EH QEZ (£ MAE) ng Think threads with

YAMAWA CATALOG  §9



— e = =aig o . El e}

D ADio|EBAR X (UBILHE)
L ? n s | Ds K 2k

QH AlO|=

SP Ano|E 23:1C

O|E{ LIALS

M1.0 x 0.25  P1 SNP1.08 25P 32 55 - 24 3 25 5 2 1 53,790

M1.2 x 0.25  P1 SPP1.2B 25P 36 45 - 24 3 25 5 2 1 49,490

M1.4 x 0.3 P1 SPP1.4C 25P 36 5.4 - 24 3 25 5 2 1 44,160

M1.6 x 0.35 P1 SPP1.6D 25P 36 6.3 - 24 3 25 5 2 2 42,180
ME_&E@ M1.7 x 0.35  P1 SPP1.7D 25P 36 6.3 - 24 3 25 5 2 2 35,890

M17 x 0.35 P2 SPQ1.7D 25P 36 6.3 - 24 3 25 5 2 2

M1.7 x 0.35 P3 SPR1.7D 25P 36 6.3 - 24 3 25 5 2 2

M1.8 x 0.35 P1 SPP1.8D 25P 42 6.3 - 27 3 25 5 2 2 38,300

M2 x 0.4 P1 SPP2.0E 25P 42 72 12 27 3 25 5 2 3

M2 x 0.4 P2 SPQ2.0E 25P 42 72 12 27 3 25 5 2 3

M2 x 0.4 P3 SPR2.0E 25P 42 72 12 27 3 25 5 2 3

M2 x 0.4 P4 SPS2.0E 25P 42 72 12 27 3 25 5 2 3

M2 x 0.25 P1 SPP2.0B 25P 42 45 12 27 3 25 5 2 5 49,390

M2.2 x 0.45  P1 SPP2.2F 25P 42 81 12 27 3 25 5 2 3

M2.2 x 0.45 P3 SPR2.2F 25P 42 81 12 27 3 25 5 2 3

M2.3 X 0.4 P1 SPP2.3E 25P 42 72 12 27 3 25 5 2 3 23,210

M2.3 x 0.4 P2 SPQ2.3E 25P 42 72 12 27 3 25 5 2 3

M2.3 x 0.4 P3 SPR2.3E 25P 42 72 12 27 3 25 5 2 3

M2.3 x 0.4 P4 SPS2.3E 25P 42 72 12 27 3 25 5 2 3

M2.3%0.25 P1 SPP2.3B 25P 42 45 12 27 3 25 5 2 5 49,770

M2.5 x 0.45  P1 SPP2.5F 25P 46 81 14 29 3 25 5 2 3

M2.5 x 0.45 P2 SPQ2.5F 25P 46 81 14 29 3 25 5 2 3

M2.5 x 0.45 P3 SPR2.5F 25P 46 81 14 29 3 25 5 2 3

M2.5 x 0.45 P4 SPS2.5F 25P 46 81 14 29 3 25 5 2 3

M2.5 x 0.35  P1 SPP2.5D 25P 46 63 14 29 3 25 5 2 5 38,510

M2.6 x 0.45  P1 SPP2.6F 25P 46 81 14 29 3 25 5 2 3

M2.6 x 0.45 P2 SPQ2.6F 25P 46 81 14 29 3 25 5 2 3

M2.6 x 0.45 P3 SPR2.6F 25P 46 81 14 29 3 25 5 2 3

M2.6 x 0.45 P4 SPS2.6F 25P 46 81 14 29 3 25 5 2 3

M2.6 x 0.35  P1 SPP2.6D 25P 46 63 14 29 3 25 5 2 5 35,060

M3 x 0.5 P1 SPP3.0G 25P 46 9 14 26 4 32 6 3 3

M3 x 0.5 P2  SPQ3.0G 25P 46 9 14 26 4 32 6 3 3

M3 x 0.5 P3 SPR3.0G 25P 46 9 14 26 4 32 6 3 3

M3 x 0.5 P4 SPS3.0G 25P 46 9 14 26 4 32 6 3 3

M3 x 0.6 P1 SPP3.0H 25P 46 9 14 26 4 32 6 3 3 18,280

M3 x 0.35 P1 SPP3.0D 25P 46 65 14 26 4 32 6 3 5 27,580

M3.5 x 0.6 P1 SPP3.5H 25P 52 1 16 29 5 7 3 3

M3.5 x 0.6 P2  SPQ3.5H 25P 52 11 16 29 5 4 7 3 3

M3.5 x 0.6 P3 SPR3.5H 25P 52 1 16 29 5 4 7 3 3

M3.5 x 0.6 P4 SPS3.5H 25P 52 11 16 29 5 4 7 3 3

M3.5 x 0.35 P1 SPP3.5D 25P 52 65 16 29 5 4 7 3 5 32,090

M4 x 0.7 P2 SPQA4.0! 25P 52 11 17 29 5 4 7 3 3

M4 x 0.7 P3 SPR4.0I 25P 52 11 17 29 5 4 7 3 3

M4 x 0.7 P4 SPS4.0l 25P 52 1 17 29 5 4 7 3 3

M4 x 0.75 P2 SPQ4.0J 25P 52 11 17 29 5 4 7 3 3 17,540

M4 x 0.5 P1 SPP4.0G 25P 52 9 17 29 5 4 7 3 5 23,910

M4.5x0.75 P2 SPQ4.5J 25P 60 13 21 33 55 45 7 3 3 22,630

M4.5x 0.5 P1 SPP4.5G 25P 60 9 21 33 55 45 7 3 5 32,570

M5 x 0.8 P2 SPQ5.0K 256P 60 13 22 33 55 45 7 3 3

P YAMAWA

70  YAMAWA CATALOG



SP AmojE

AH

M5 x 0.8
M5 x 0.8
5M x 0.9
M5 x 0.75
M5 x 0.5
M5.5 x 0.9
M5.5 x 0.5
M6 x 1

M6 x 1

M6 x 1

M6 x 1

M6 x 0.75
M6 x 0.75
M6 x 0.5
M6 x 0.5
M6 x 0.5
M7 x 1

M7 x 1

M7 x 1

M7 x 0.75
M7 x 0.5
M8 x 1.25
M8 x 1.25
M8 x 1.25
M8 x 1

M8 x 1

M8 x 1

M8 x 0.75
M8 x 0.75
M8 x 0.5
M9 x 1.25
M9 x 1

M9 x 0.75
M9 x 0.5
M10 x 1.5
M10 x 1.5
M10 x 1.5
M10 x 1.25
M10 x 1.25
M10 x 1.25
M10 x 1
M10 x 1
M10 x 1
M10 x 0.75
M10 x 0.5
M11 x 1.5
M11 x 1.25
M11 x 1
M11 x 0.75
M12 x 1.75
M12 x 1.75

P3
P4
P2
P2
P1
P2
P1
P2
P2
P3
P4
P2
P3
P1
P2
P3
P2
P3
P4
P2
P2
P2
P3
P4
P2
P3
P4
P2
P3
P2
P2
P2
P2
P2
P2
P3
P4
P2
P3
P4
P2
P3
P4
P2
P2
P2
P2
P2
P2
P2
P3

= L 2 n os Ds K 2k =
60 13 22 33 55 4.5 7 3 3

SPR5.0K
SPS5.0K
SPQ5.0L
SPQ5.0J
SPP5.0G
SPQ5.5L
SPP5.5G
SPQ6.0M

SPQ6.0M-T

SPR6.0M
SPS6.0M
SPQ6.0J
SPR6.0J
SPP6.0G
SPQ6.0G
SPR6.0G
SPQ7.0M
SPR7.0M
SPS7.0M
SPQ7.0J
SPQ7.0G
SPQ8.0N
SPR8.0ON
SPS8.0N
SPQ8.0M
SPR8.0M
SPS8.0M
SPQ8.0J
SPR8.0J
SPQ8.0G
SPQ9.0N
SPQ9.0M
SPQ9.0J
SPQ9.0G
SPQ0100
SPR0O100
SPS0100
SPQO10N
SPRO10N
SPSO10N
SPQO10M
SPRO10OM
SPS010M
SPQO10J
SPQO10G
SPQO110
SPQOTIN
SPQO1MM
SPQO11J
SPQO12P
SPRO12P

2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P

60
60
60
60
62
62
62
62
62
62
62
62
62
62
62
70
70
70
70
70
70
70
70
70
70
70
70
70
70
75
75
75
75
75
75
75
75
75
75
75
75
75
75
75
82
82
82
82
82
82

13
13
13

19
19
19
19

19
19
19
19
19
19
19
19

23
23
13
i
23
23
23
23
23
23
23
23
23
13
1
26
26
26
14
26
26

22
22
22
22
26
26
26
26
26
26
26
26
26
26
26

# | U0 | e #2092 | B el
L ? n s Ds K 2k

33
33
33
33
33
33
33
33
33
33
33
33
33
33
33
36
36
36
36
36
36
36
36
36
36
36
36
36
36
38
38
38
38
38
38
38
38
38
38
38
38
38
38
38
42
42
42
42
42
42

5.5
5.5
5.5
5.5

o O O O O O O o O O

o 0o 0o 0 000 00000 0 0
VI I R R O OO SO O O SR SR R R I e

N N N NN NN N NN NN

® o ® o ® ®
g o0 o0 o0 o0 o N

4.5
4.5
4.5
4.5
4.5
4.5
4.5
4.5
4.5
4.5
4.5
4.5
4.5
4.5
4.5

a o o0 o0 ;o0 ;oo oo

o o000 O 0 o ool 0oy ;1 o1 ool oo o1 O
5 IS TR, TS, RS, RS, TR, S RS IS IS B NS, B, NS, BN S, BN S, NS TS TS IS I

© © © © O ©O© 0w W 0 00 00 W 0 0 00 00 0 0 00 00 0 0 0 0 00 0 0 0 00 0 0 0 0 0 0 N N N N N N N N N N N N N NN

W W W W wWwwwwwowowowowowowowowowowowowowowowowowowowowowowowowowowowowowowowowowowowowowowowowow

O O N O 0O O NN O OO OO0 o0 0 00 0NN OO NO OGO OO O O O N O OO O O g O O W Ww wWw wh woa owoa w w w

18,000
24,000

25,300
32,040

20,790

29,350

24,260

33,230
36,420
19,370

24,510

28,480

41,780
36,000
39,680
45,000

51,160
25,460

25,460

33,960

50,360
53,600

65,920
70,540
35,840

Think threads with

YAMAWA

YAMAWA CATALOG

SP

ESUNIE L

nn



2
&)

(D ALIOIEHAR X (LBITHE)

SP AI}o|z EH

= | =29
|

B | S |0l w32 | 38 el

Ds | K 2k

—
o
~
>S5
o
/)

(= 3 Al Ds K 2k =
8.5 6.5 9 3 6

M12 x 1.75 SPS012P 2.5p

MI12x 1.5 P2 SPQO120  25P 82 26 - 42 85 65 9 3 6 35,840

M12 x 1.5 P3 SPRO120 25P 82 26 - 42 85 65 9 3 6

M12 x 1.5 P4 SPS0120 25P 82 26 - 42 85 65 9 3 6

M12 x 1.25 P2 SPQO12N 25P 82 26 - 42 85 65 9 3 6 35,840
ém?%!zﬂ M12 x 1.25 P3 SPRO12N 25P 82 26 - 42 85 65 9 3 6

M12 x 125 P4 SPS012N 25P 82 26 - 42 85 65 9 3 6

M12 x 1 P2 SPQO12M  25P 82 26 - 42 85 65 9 3 6 48,270

M12 x 1 P3 SPRO12M 25P 82 26 - 42 85 65 9 3 6

M12 x 1 P4 SPS012M 25P 82 26 - 42 85 65 9 3 6

M12 x 0.75 P2 SPQO12J 25P 82 14 - 42 85 65 9 3 7 70,540

M12 x 0.5 P2 SPQ012G 25P 82 12 - 42 85 65 9 3 7 75,240

M13 x 1.75 P2 SPQO13P 25P 88 26 - 45 105 8 1 3 6

M13 x 1.5 P2 SPQO130  25P 88 26 - 45 105 8 N 3 6

M13 x 125 P2 SPQO13N 25P 88 26 - 45 105 8 M 3 6

M13 x 1 P2 SPQO13M  2.5P 88 26 - 45 105 8 1 3 6 113,880

M14 x 2 P2 SPQO14Q  25P 88 26 - 45 105 8 N 3 6 49,290

M14 x 2 P3 SPRO14Q 25P 88 26 - 45 105 8 M 3 6

M14 x 2 P4 SPS014Q 25P 88 26 - 45 105 8 M 3 6

M14x 1.5 P2 SPQO140  25P 88 26 - 45 105 8 1N 3 6 49,290

M14 x 1.5 P3 SPR0O140 25P 88 26 - 45 105 8 N 3 6

M14 x 1.5 P4 SPS0140 25P 88 26 - 45 105 8 M 3 6

M14 x 1.25 P2 SPQO14N 25P 88 26 - 45 105 8 N 3 6 75,240

M14 x 1 P2 SPQO14M  2.5P 88 26 - 45 105 8 M 3 6 82,280

M15 x 2 P2 SPQO15Q  25P 95 26 - 48 125 10 13 3 6

M15 x 1.5 P2 SPQO150  25P 95 26 - 48 125 10 13 3 6

M15 x 1 P2 SPQOISM  2.5P 95 26 - 48 125 10 13 3 6 132,860

M16 x 2 P2 SPQO16Q  25P 95 26 - 48 125 10 13 3 6 65,670

M16 x 2 P3 SPRO16Q 25P 95 26 - 48 125 10 13 3 6

M16 x 2 P4 SPS016Q 25P 95 26 - 48 125 10 13 3 6

M16 x 2 P5 SPT016Q 25P 95 26 - 48 125 10 13 3 6

M16 x 1.5 P2 SPQO160  25P 95 26 - 48 125 10 13 3 6 65,670

M16 x 1.5 P3 SPRO160 25P 95 26 - 48 125 10 13 3 6

M16 x 1.5 P4 SPS0160 25P 95 26 - 48 125 10 13 3 6

M16 x 125 P2 SPQO16N 25P 95 26 - 48 125 10 13 3 6

M16 x 1 P2 SPQO1BM  2.5P 95 26 - 48 125 10 13 3 6 108,440

M17 x 1.5 P2 SPQ0170 25P 100 33 - 5 14 1 14 4 6

M17 x 1 P2 SPQOI7M  25P 100 18 - 5 14 M 14 4 7 182,750

M18 x 2.5  P3 SPRO18R 25P 100 33 - 5 14 1 14 4 6 91,980

M18 x 2.5 P4 SPSO18R 25P 100 33 - 51 14 N 14 4 6

M18 x 2 P3 SPRO18Q 25P 100 33 - 5 14 M 14 4 6

M18 x 1.5 P2 SPQO180  25P 100 33 - 51 14 N 14 4 6 89,640

M18 x 1.5 P3 SPRO180 25P 100 33 - 5 14 M 14 4 6

M18 x 1.5 P4 SPS0180 25P 100 33 - 51 14 N 14 4 6

M18 x 125 P2 SPQO18N 25P 100 33 - 5 14 M 14 4 6

M18 x 1 P2 SPQO1BM  25P 100 18 - 5 14 M 14 4 7 150,920

M19 x 1.5 P3 SPR0O190 25P 105 33 - 50 15 12 15 4 8

M19 x 1 P2 SPQOI9M  2.5P 105 18 - 50 15 12 15 4 9

M20x 2.5 P3 SPRO20R 25P 105 33 - 50 15 12 15 4 8 108,410

M20x 2.5 P4 SPS020R 25P 105 33 - 50 15 12 15 4 8

P YAMAWA

72  YAMAWA CATALOG



LIPS
Zo| Z

5} #EL
AR E | Az o]

2k

m

A

0
N .“U
2
—lo

S

I—
o
o)
S
o
%]
)
(%2
X

SP AIjo|= &M

= = L 4 n s Ds K 2k =
33 = 50 15 12 15 4 8

M20 x 2 P3 SPR020Q 25pP 105

M20 x 1.5  P3 SPRO200  25P 105 33 - 50 15 12 15 4 8 105,660
M20 x 1.5 P4 SPS0200  25P 105 33 - 50 15 12 15 4 8

M20 x 1.5 P5 SPT0200  25P 105 33 - 50 15 12 15 4 8

M20 x 1.25 P2 SPQO20N  255P 105 18 - 5 15 12 15 4 9

M20 x 1 P2 SPQO20M  255P 105 18 - 50 15 12 15 4 9 192,260 3‘;3&4
M22 x 25  P3 SPRO22R 25P 115 33 - 55 17 13 16 4 8 136,190
M22 x 25 P4 SPS022R 25P 115 33 - 55 17 13 16 4 8

M22 x 2 P3 SPRO22Q  25P 115 33 - 55 17 13 16 4 8

M22 x 1.5 P3 SPR0220  25P 115 33 - 55 17 13 16 4 8 136,190
M22 x 1.5 P4 SPS0220  25P 115 33 - 55 17 13 16 4 8

M22 x 1.5 P5 SPT0220  25P 115 33 - 55 17 13 16 4 8

M22 x 1 P2 SPQO22M  25P 115 19 - 5 17 13 16 4 9 252,900
M23 x 1.5 P3 SPR0O230  25P 120 39 - 55 19 15 18 4 8

M24 x 3 P3 SPR024S 25P 120 39 - 55 19 15 18 4 8 170,700
M24 x 3 P4 SPS024S 25P 120 39 - 55 19 15 18 4 8

M24 x 2 P3 SPRO24Q  25P 120 39 - 55 19 15 18 4 8 189,810
M24 x 1.5 P3 SPR0O240  25P 120 39 - 55 19 15 18 4 8 170,700
M24 x 1.5 P4 SPS0240  25P 120 39 - 55 19 15 18 4 8

M24 x 1 P2 SPQO24M  25P 120 19 - 55 19 15 18 4 9

M25 x 2 P3 SPR025Q  2.5P 125 39 - 58 19 15 18 4 8

M25 x 1.5 P3 SPRO250  25P 125 39 - 58 19 15 18 4 8

M25 x 1 P2 SPQO25M  25P 125 20 - 58 19 15 18 4 9

M26 x 3 P3 SPR026S 25P 130 39 - 60 20 15 18 4 8

M26 x 2 P3 SPRO26Q  2.5P 130 39 - 60 20 15 18 4 8

M26 x 1.5  P3 SPRO260  25P 130 39 - 60 20 15 18 4 8 263,880
M26 x 1 P2 SPQO26M  2.55P 130 20 - 60 20 15 18 4 9

M27 x 3 P3 SPR0O27S 25P 130 39 - 60 20 15 18 4 8 245,660
M27 x 2 P3 SPRO27Q  25P 130 39 - 60 20 15 18 4 8

M27 x 1.5 P3 SPRO270  25P 130 39 - 60 20 15 18 4 8 267,020
M27 x 1 P2 SPQO27M  25P 130 20 - 60 20 15 18 4 9

M28 x 2 P3 SPR0O28Q  2.5P 135 46 - 82 23 17 20 4 8

M28 x 1.5 P3 SPRO280  25P 135 46 - 62 23 17 20 4 8 330,940
M28 x 1 P2 SPQO28M  25P 135 20 - 62 23 17 20 4 9

M30 x 3.5 P4 SPS030T 25P 135 46 - 682 23 17 20 4 8 319,470
M30 x 3 P3 SPRO30S 25P 135 46 - 82 23 17 20 4 8

M30 x 2 P3 SPRO30Q  25P 135 46 - 62 23 17 20 4 8

M30 x 1.5 P3 SPRO300  25P 135 46 - 62 23 17 20 4 8 333,350
M30 x 1 P2  SPQO3OM  25P 135 21 - 62 23 17 20 4 9

M32 x 3 P3  SPMR032S 2.5P 145 46 - 67 24 19 22 4 8

M32 x 2 P3  SPMR032Q 25P 145 46 - 67 24 19 22 4 8

M32 x 1.5 P3  SPMR0320 2.5P 145 46 - 87 24 19 22 4 8

M32 x 1 P2  SPMQO32M 25P 145 21 - 67 24 19 22 4 9

M33 x 3.5 P4  SPMS033T  25P 145 46 - 87 25 19 22 4 8 402,330
M33 x 3 P3  SPMRO33S 25P 145 46 - 67 25 19 22 4 8

M33 x 2 P3  SPMR033Q 25P 145 46 - 87 25 19 22 4 8

M33 x 1.5  P3  SPMR0330 25P 145 46 - 867 25 19 22 4 8 566,760
M33 x 1 P2  SPMQO33M  25P 145 21 - 67 25 19 22 4 9

M34 x 3 P3  SPMR034S 25P 155 52 - 7M1 28 21 24 4 8

M34 x 2 P3  SPMR034Q 25P 155 52 - 7M1 28 21 24 4 8

i
B
R
0%
>
o

P YAMAWA

YAMAWA CATALOG  ]3



2
&)

s | S am || 2 ITE] TE]
2 Zo) | ¥ 838 | spmz |aml

Ds | K 2K

28 21 24 4 9

@ ATLIO|HEA| 2| = (2HSILHE)

SP Amjo|2 &

3 26

—
o
~
>S5
o
/)

(mm) | (mm)
- 71

M34 x 1.5 P SPMR0340  25P 155
M34 x 1 P2  SPMQ034M 25P 155 26 - 71 28 21 24 4 9
M35 x 3 P3  SPMR035S 25P 155 52 - 71 28 21 24 4 8
M35 x 2 P3  SPMR035Q 2.5P 155 52 - 71 28 21 24 4 8
M35 x 1.5 P3  SPMRO350 2.5P 155 26 - 71 28 21 24 4 9
SP M35 x 1 P2  SPMQO35M  25P 155 26 - 71 28 21 24 4 9
SO M36 x 4 P4 SPMSO36U 25P 155 52 - 71 28 21 24 4 8 491100
M36 x 3 P3  SPMRO36S 25P 155 52 - 71 28 21 24 4 8
M36 x 2 P3  SPMR036Q 2.5P 155 52 - 71 28 21 24 4 8
M36 x 1.5 P3  SPMRO360 2.5P 155 26 - 71 28 21 24 4 9
M36 x 1 P2  SPMQO36M 25P 155 26 - 71 28 21 24 4 9
M38 x 3 P3  SPMR038S 25P 165 52 - 76 30 23 26 4 8
M38 x 2 P3  SPMR038Q 2.5P 165 52 - 76 30 23 26 4 8
M38 x 1.5 P3  SPMRO380 2.5P 165 26 - 76 30 23 26 4 9
M39 x 4 P4  SPMS039U 2.5P 165 52 - 76 30 23 26 4 8
M39 x 3 P3  SPMR039S 25P 165 52 - 76 30 23 26 4 8
M39 x 2 P3  SPMR039Q 25P 165 52 - 76 30 23 26 4 8
M39 x 1.5 P3  SPMR0390 25P 165 26 - 76 30 23 26 4 9
M40 x 3 P3  SPMR040S 25P 175 59 - 8 32 26 30 4 8
M40 x 2 P3  SPMR040Q 2.5P 175 59 - 8 32 26 30 4 8
M40 x 1.5 P3  SPMR0O400 25P 175 27 - 8 32 26 30 4 9
M42 x 4.5 P4  SPMS042v  25P 175 59 - 8 32 26 30 4 8 942,170
M42 x 3 P3  SPMR042S 25P 175 59 - 8 32 26 30 4 8
M42 x 2 P3  SPMR042Q 2.5P 175 59 - 81 32 26 30 4 8
M42 x 1.5 P3  SPMR0420 25P 175 27 - 8 32 26 30 4 9
M45 x 4.5 P4 SPMS045V 2.5P 180 59 - 83 35 26 30 4 8 1,092,090
M45 x 3 P3  SPMR045S 25P 180 59 - 83 35 26 30 4 8
M45 x 2 P3  SPMR045Q 2.5P 180 59 - 83 35 26 30 4 8
M45 x 1.5 P3  SPMR0450 2.5P 180 27 - 83 35 26 30 4 9
M48 x 5 P4  SPMS048W 2.5P 185 65 - 8 38 29 32 4 8 1,341,370
M48 x 4 P4  SPMS048U 2.5P 185 65 - 8 38 29 32 4 8
M48 x 3 P3  SPMR048S 2.5P 185 65 - 8 38 29 32 4 8
M48 x 2 P3  SPMR048Q 2.5P 185 65 - 8 38 29 32 4 8
M48 x 1.5 P3  SPMR0480 2.5P 185 28 - 8 38 29 32 4 9
M52 x 5 P4 SPSO52W  25P 195 70 - 86 42 32 35 4 8
M56 x 5.5 P4 SPS056X 25P 205 70 - 91 44 35 38 4 8
M60 x 5.5 P4 SPS060X 25P 215 76 - 96 46 35 38 4 8
M64 x 6 P4 SPS064Y 25P 225 79 - 100 48 38 42 4 8 2,363,570
fLmto| LIALE
No.1-64UNC  P1 SPPUN1D 25P 42 7.2 - 27 3 25 5 2 2 46,310
No.2-56UNC  P1 SPPUN2E 25P 42 81 12 27 3 25 5 2 3 35,790
No.2-64UNF  P1 SPPUN2D  25P 42 81 12 27 3 25 5 2 3 35,790
No.3-48UNC  P1 SPPUN3F 26P 46 81 14 29 3 25 5 2 3 31,420
No.3-56UNF  P1 SPPUN3E 25P 46 81 14 29 3 25 5 2 3 31,420
No.4-40UNC  P1 SPPUNAH  2.5P 46 9 14 25 4 32 6 2 3 24,480
No.4-48UNF  P1 SPPUN4F 25P 46 9 14 25 4 32 6 2 3 24,480
No.5-40UNC  P1 SPPUNSH  2.5P 52 1N 16 28 5 4 7 3 3 23,800
No.5-44UNF  P1 SPPUN5G ~ 2.5P 52 1N 16 28 5 4 7 3 3 23,800
No.6-32UNC P2 SPQUNG.J 25P 52 1 17 27 5 4 7 3 3 23,090

P YAMAWA

74 yamawa caTALOG



LIPS
Zo| 20|

43zl | 433 ﬁ%‘a—% *Pﬁa’é‘"

2k

m

A

0
N .“U
2
—lo

I—
o
o)
S
o
%]
)
(%2
X

SP AIjo|2i el

= = L 2 n £s Ds K [{ =
52 m 17 27 5 4 7 3 3

No.6-40UNF P1 SPPUN6H 2.5P 23,090

No.8-32UNC P2 SPQUN8J 2.5P 60 13 22 31 55 45 7 3 3 22,420
No.8-36UNF P2 SPQUNSI 2.5P 60 13 22 31 55 45 7 3 3 22,420
No.10-24UNC P2  SPQUNAM  25P 60 13 22 32 55 45 7 3 3 22,420
No.10-32UNF P2 SPQUNAJ 2.5P 60 13 22 32 55 45 7 3 3 22,420
No.12-24UNC P2  SPQUNCM  25P 62 15 26 32 6 45 7 3 3 24,450 SP
No.12-28UNF P2  SPQUNCK  25P 62 15 26 32 6 45 7 3 3 24 450 St
1/4-20UNC P2 SPQUOAN  2.5P 62 15 26 33 6 45 7 3 3 18,970
1/4-28UNF P2 SPQUO4K  2.5P 62 15 26 33 6 45 7 3 3 18,970
1/4-32UNEF P2 SPQUO04J 2.5P 62 15 26 33 6 45 7 3 3

5/16-18UNC P2 SPQUO50  2.5P 70 19 - 3 6.2 5 8 3 6 25,120
5/16-24UNF P2  SPQUOSM  25P 70 19 - 36 62 5 8 3 6 25,120
5/16-32UNEF P2 SPQUO5J 2.5P 70 19 - 36 62 5 8 3 6

3/8-16UNC P2 SPQUOBP 2.5P 75 23 - 38 7 55 8 3 6 30,250
3/8-24UNF P2  SPQUOBM  25P 75 23 - 38 7 55 8 3 6 31,040
3/8-32UNEF P2 SPQUO06J 2.5P 75 13 - 38 7 55 8 3 7

7/16-14UNC P3 SPRU07Q 2.5P 82 26 - 42 85 65 9 3 6 52,690
7/16-20UNF P2 SPQUO7N 2.5P 82 26 - 42 85 65 9 3 6 52,690
7/16-28UNEF P2 SPQUO7K 2.5P 82 26 - 42 85 65 9 3 6

1/2-13UNC P3 SPRUO8R 2.5P 88 26 - 45 105 8 M 3 6 63,490
1/2-20UNF P2 SPQUOSN  2.5P 88 26 - 45 105 8 M 3 6 63,490
1/2-28UNEF P2 SPQUOBK  2.5P 88 26 - 45 105 8 M 3 6

9/16-12UNC P3 SPRU09S 2.5P 95 26 - 48 125 10 13 3 6 91,220
9/16-18UNF P2 SPQUO9O  2.5P 95 26 - 48 125 10 13 3 6 91,220
9/16-24UNEF P2 SPQUOSM  25P 95 26 - 48 125 10 13 3 6

5/8-11UNC P3 SPRU10U 2.5P 95 26 - 48 125 10 13 3 6 98,750
5/8-18UNF P2 SPQU100 2.5P 95 26 - 48 125 10 13 3 6 98,750
5/8-24UNEF P2 SPQU10M 2.5P 95 26 - 48 125 10 13 3 6

3/4-10UNC P3 SPRU12V 25P 105 33 - 50 5 12 15 4 8 151,860
3/4-16UNF P3 SPRU12P 25P 105 33 - 50 5 12 15 4 8 151,860
3/4-20UNEF P2 SPQU12N 25P 105 33 - 50 5 12 15 4 8

7/8-9UNC P3 SPRUT4W  25P 115 33 - 55 7 13 16 4 8 229,880
7/8-14UNF P3 SPRU14Q 25P 115 33 - 55 77 13 16 4 8 229,880
7/8-20UNEF P2 SPQU14N 25P 115 33 - 55 7 13 16 4 8

1-8UNC P3 SPRU16X 25P 125 39 - 58 19 15 18 4 8 323,400
1-12UNF P3 SPRU16S 25P 125 39 - 58 19 15 18 4 8 323400
1-14UNS P3 SPRU16Q 25P 125 39 - 58 19 15 18 4 8

1-20UNEF P2 SPQU16N 25P 125 39 - 58 19 15 18 4 8

11/8-7UNC P4 SPSU18Y 25P 135 46 - 62 23 17 20 4 8

11/8-8UN P3 SPRU18X 25P 135 46 - 82 23 17 20 4 8

11/8-12UNF P3 SPRU18S 25P 135 46 - 62 23 17 20 4 8

11/8-14UNS P3 SPRU18Q 25P 135 46 - 82 23 17 20 4 8

11/4-7UNC P4  SPMSU20Y 25P 145 46 - 67 24 19 22 4 8

11/4-8UN P3  SPMRU20X 25P 145 46 - 67 24 19 22 4 8

11/4-12UNF P3  SPMRU20S 25P 145 46 - 67 24 19 22 4 8

13/8-6UNC P4  SPMSU22Z 25P 155 52 - 71 28 21 24 4 8

13/8-8UN P3  SPMRU22X 25P 155 52 - 71 28 21 24 4 8

13/8-12UNF P3  SPMRU22S 25P 155 52 - 71 28 21 24 4 8

11/2-6UNC P4  SPMSU24Z 25P 165 52 - 76 30 23 26 4 8

11/2-8UN P3  SPMRU24X 25P 165 52 - 76 30 23 26 4 8

11/2-12UNF P3  SPMRU24S  25P 165 52 - 76 30 23 26 4 8

*=EX QEE($F AHAE) ng Think threads with

YAMAWA CATALOG ~ [§



2
&)

@D AGto|ZHAIRI=(2EITHE)

= | =29
|

o | Yo | #3800 #33 | H5s | e

Ds | K 2k

—
o
~
>S5
o
/)

SP AI}o|z EH

= = Ds K *k | =
35 26 30 4 8

13/4-5UNC P4 SPMSU280 2.5P 180

13/4-12UN P3  SPMRU28S  25P 180 59 - 8 35 26 30 4 8
2-41/2UNC P5  SPTU329  25P 195 70 - 8 40 32 35 4 8
2 -12UN P3  SPRU32S  25P 145 45 - 8 40 32 35 4 8
RIE LIALE
anri!zﬂ 1/8W40 Pl SPPWO2H 25P 52 11 16 28 5 4 7 3 3 22,140
5/32W32 P2 SPQW2HJ 25P 52 1 17 29 5 4 7 3 3 20,560
3/16W24 P2 SPQWO3M 25P 60 13 21 32 55 45 7 3 3 17,150
7/32W24 P2  SPQW3HM 25P 62 15 26 32 6 45 7 3 3
1/4W20 P2 SPQWOAN  25P 62 15 26 33 6 45 7 3 3
5/16W18 P2  SPQWO50 25P 70 19 - 3 62 5 8 3 6
3/8W16 P2 SPQWOBP  25P 75 23 - 38 7 55 8 3 6
7/16W14 P3  SPRW0O7Q  25P 82 26 - 42 85 65 9 3 6
1/2W12 P3  SPRW0OSS  25P 88 26 - 45 105 8 N 3 6 49,180
9/16W12 P3  SPRWO9S  25P 95 26 - 48 125 10 13 3 6
5/8W11 P3  SPRWIOU 25P 95 26 - 48 125 10 13 3 6
3/4W10 P3  SPRWI2V  25P 105 33 - 50 5 12 15 4 8
7/8W9 P3  SPRWI4W  25P 115 33 - 55 77 13 16 4 8
1W8 P3  SPRW1BX  25P 125 39 - 58 19 15 18 4 8
11/8W7 P4 SPSW18Y 25P 135 46 - 62 23 17 20 4 8
11/4W7 P4 SPMSW20Y 25P 145 46 - 67 24 19 22 4 8
13/8W6 P4 SPMSW22Z 25P 155 52 - 71 28 21 24 4 8
11/2W6 P4  SPMSW24Z 25P 165 52 - 76 30 23 26 4 8
15/8W5 P4 SPMSW260 2.5P 175 59 - 81 32 26 30 4 8
13/4W5 P4  SPMSW280 25P 180 59 - 83 3 26 30 4 8
17/8W41/2 P4 SPMSW309 25P 185 65 - 8 38 29 32 4 8
2W4 1/2 P4 SPSW329  25P 195 70 - 8 40 32 35 4 8
O] LIS
3/32SM56  P1 SPPSOBE ~ 2.5P 46 81 14 29 3 25 5 2 3
1/85M40 P1 SPPSOSH  25P 52 11 16 28 5 4 7 3 3
1/8SM44 P1 SPPSOSG  25P 52 11 16 28 5 4 7 3 3
9/64SM40  P1 SPPSO9H  25P 52 11 16 29 5 4 7 3 3
11/64SM40  P1 SPPST11H 25p 60 13 21 33 55 45 7 3 3
3/16SM28 P2 SPQSI2K  25P 60 13 21 32 55 45 7 3 3
3/16SM32 P2 SPQS12)  25P 60 13 21 32 55 45 7 3 3
7/32SM32 P2 SPQS14)  25P 62 15 26 33 6 45 7 3 3
15/64SM28 P2 SPQSI5K  25P 62 15 26 33 6 45 7 3 3
1/4SM24 P2 SPQS1BM  25P 62 15 26 33 6 45 7 3 3
1/4SM40 P1 SPPS16H  25P 62 86 26 33 6 45 7 3 5

P YAMAWA

76  YAMAWA CATALOG



= [ =29 |, 3| A=
3 2o 3
2ol | o | 83| ¥38 | spim= |apmaol

on s | Ds K 2k

2
0%

@ ATLIO|EHA|2| = (2SI AHE)

+SP oS CSS

—
~

AR 53 Sp

AIIO| g
W AL AIEQ|
S~ THBoiMe 57] 015 7H200

MBIt U TY 71 ATHOIZ YLIC

SA A2 X ALjo|= H

7St MY EHE £

SEAZ

Medium carbon steels

—TYPE : 1 . — TYPE : 2 .
Ds K Ds K
—F- _ ] _ l_ _ _
Y O K Y bk K
-gn T ‘es -gs
L
MU :1C
OJEf LIALS

M2 x 0.4 Pl SNPP2OE  25P 42 72 12 27 3 25 5 2 1 25,120
M2.2 x 0.45 P1  SNPP2.2F  25P 42 81 12 27 3 25 5 2 1 30,260
M2.3 x 0.4 Pl SNPP2.3E  25P 42 72 12 27 3 25 5 2 1 23,210
M2.5x 0.45 Pl SNPP25F  25P 46 81 14 29 3 25 5 2 1 21,880
M2.6 x 0.45 P1  SNPP26F  25P 46 81 14 29 3 25 5 2 1 17,100
M3 x 0.5 Pl SNPP3.0G  25P 46 9 14 26 4 32 6 3 1 13,490
M3.5 x 0.6 Pl SNPP35H 25P 52 11 16 29 5 4 7 3 1 20,790
M4 x 0.7 P2 SNPQ4OI 25P 52 1 17 29 5 4 7 3 1 13,040
M5 x 0.8 P2 SNPQ5.0K 25P 60 13 22 33 55 45 7 3 1 13,200
M6 x 1 P2 SNPQ6OM 25P 62 15 26 33 6 45 7 3 1 14,110
M8 x 1.25 P2 SNPQSON 25P 70 19 - 36 62 5 8 3 2

M10 x 1.5 P2 SNPQO100  25P 75 23 - 38 7 55 8 3 2

M10 x 1.25 P2 SNPQOION 25P 75 23 - 38 7 55 8 3 2

M12 x 1.75 P2 SNPQO12P  25P 82 26 - 42 85 65 9 3 2

M12 x 1.25 P2 SNPQOI2N  25P 82 26 - 42 85 65 9 3 2

*»=53 QEE(+F ULHE) m Think threads with

YAMAWA

YAMAWA CATALOG ]



@D AGto|ZHAIRI=(2EITHE)

SP LH

ALOIEH ZHLIALE

SP A X W 2IE LIAL| 2131 7 7HE] ATHOIY BRlLIt,
ESuE

TYPE : 1
_ D K
7St HE Y £ S
SEAZ nEAZ _-|_ — ~ ¥
Medium carbon steels Il High carbon steels g «gk K
5104 5-10 Z Zs
(m/min) (m/min) |
[ TYPE : 2 N [ TYPE @ 3 ]
D K Ds K
S
_ l_ _ _ i i _ =
|
Y/ . Ik K Y/ ’ O K
L L
A|L-=,~1C
O/E{ LIALS
M2 x 0.4 Pl SPP2.OE--L 25P 42 72 12 27 3 25 5 2 1 40,200
M2.3 x 0.4 Pl SPP2.3E--L 25P 42 72 12 27 3 25 5 2 1
M25 x 0.45 P1  SPP25F--L 25P 46 81 14 29 3 25 5 2 1
M2.6 x 0.45 P1  SPP26F--L 25P 46 81 14 29 3 25 5 2 1
M3 x 0.5 P1  SPP3.0G—-L 25P 46 9 14 26 4 32 6 3 1 21,580
M4 x 0.7 P2  SPQ4.0OI-L  25P 52 n 17 29 5 4 7 3 1 20,870
M5 x 0.8 P2  SPQS.0K--L 25P 60 13 22 33 55 45 7 3 1 21,110
M6 % 1 P2 SPQBOM--L 25P 62 15 26 33 6 45 7 3 1 22,570
M7 X 1 P2 SPQ7OM--L 25P 70 19 - 36 62 5 8 3 2
M8 x 1.25 P2 SPQS.ON--L 25P 70 19 - 36 62 5 8 3 2 30,990
M8 X 1 P2 SPQSOM--L 25P 70 19 - 36 62 5 8 3 2
M10 x 1.5 P2  SPQO100--L 25P 75 23 - 38 7 55 8 3 2 40,740
M10 x 1.25 P2 SPQOION--L 25P 75 23 - 38 7 55 8 3 2
M10 x 1 P2 SPQOIOM--L 25P 75 23 - 38 7 55 8 3 2
M12 x 1.75 P2 SPQO12P--L 25P 82 26 - 42 85 65 9 3 2 57,350
M12 x 1.5 P2 SPQO120--L 25P 82 26 - 42 85 65 9 3 2
M12 x 1.25 P2 SPQOI2N--L  25P 82 26 - 42 85 65 9 3 2
M12 x 1 P2 SPQOI2M--L 25P 82 26 - 42 85 65 9 3 2
M14 x 2 P2 SPQO14Q--L 25P 88 26 - 45 105 8 1 3 2
M14 x 1.5 P2 SPQO140--L 25P 88 26 - 45 105 8 M 3 2
M14 x 1 P2 SPQOI4M--L  25P 88 26 - 45 105 8 1 3 2
M16 x 2 P2 SPQO16Q--L 25P 95 26 - 48 125 10 13 3 2 105,070
M16 x 1.5 P2 SPQO160--L 25P 95 26 - 48 125 10 13 3 2

P YAMAWA

78  vamawa cataLoG



wy | U] RBY | waze | w3z | JEL | i
L ? n | 8s | Ds | K | &
sa | weas
M18 x 2.5 SPRO18R--L 2.5P 100 2
M18 x 1.5 P2 SPQ0180--L  2.5P 100 33 - 51 14 " 14 4 2
M20 x 2.5 P3 SPRO20R--L 2.5P 105 33 - 50 15 12 15 4 3
M20 x 1.5 P3 SPR0200--L 25P 105 33 - 50 15 12 15 4 3
M22 x 2.5 P3 SPRO22R--L 2.5P 115 33 - 55 17 13 16 4 3
M22 x 1.5 P3 SPR0220--L 2.5P 115 33 - 55 17 13 16 4 3 35%‘@1
M24 x 3 P3 SPR024S--L 25P 120 39 - 55 19 15 18 4 3
M24 x 2 P3 SPR024Q--L 25P 120 39 - 55 19 15 18 4 3
M24 x 1.5 P3 SPR0240--L  2.5P 120 39 = 55 19 15 18 4 3
M27 x 3 P3 SPRO27S--L 25P 130 39 - 60 20 15 18 4 3
M27 x 1.5 P3 SPR0270--L  2.5P 130 39 - 60 20 15 18 4 3
M30 x 3.5 P4 SPS030T--L 25P 135 46 - 62 23 17 20 4 3
M30 x 2 P3 SPRO30Q--L  2.5P 135 46 - 62 23 17 20 4 3
M30 x 1.5 P3 SPRO300--L 25P 135 46 - 62 23 17 20 4 3
FLITO| LIALE
1/4-20UNC P2  SPQUO4N--L  2.5P 62 15 26 33 6 4.5 7 3 1
1/4-28UNF P2 SPQUO4K--L  2.5P 62 15 26 33 6 4.5 7 3 1
5/16-18UNC P2  SPQUO50--L  2.5P 70 19 - 36 6.2 5 8 3 2
5/16-24UNF P2  SPQUO5M--L  2.5P 70 19 - 36 6.2 5 8 3 2
3/8-16UNC P2 SPQUO6P--L  2.5P 75 23 - 38 7 5.5 8 3 2
3/8-24UNF P2  SPQUOEBM--L  2.5P 75 23 - 38 7 515 8 3 2
7/16-14UNC P3 SPRUO7Q--L  2.5P 82 26 - 42 8.5 6.5 9 3 2
7/16-20UNF P2  SPQUO7N--L  2.5P 82 26 = 42 8.5 6.5 9 3 2
1/2-13UNC P3 SPRUO8R--L 2.5P 88 26 - 45 10.5 8 1 3 2
1/2-20UNF P2  SPQUO8SN--L  2.5P 88 26 = 45 105 8 1 3 2
SIE LIAME
1/4W20 P2  SPQWO4N--L  2.5P 62 15 26 33 6 4.5 7 3 1
5/16W18 P2  SPQWO050--L  2.5P 70 19 - 36 6.2 5 8 3 2
3/8W16 P2  SPQWO6P--L  2.5P 75 23 - 38 7 5.5 8 3 2
7/16W14 P3  SPRWO7Q--L  2.5P 82 26 - 42 8.5 6.5 9 3 2
1/2W12 P3  SPRWO08S--L  2.5P 88 26 - 45 10.5 8 1 3 2
5/8W11 P3 SPRW10U--L  2.5P 95 26 - 48 125 10 13 3 2
3/4W10 P3 SPRW12V--L  25P 105 33 - 50 15 12 15 4 3

%=EX OEI(A E=d
¥=EF REE(+F YUE) m Think threads with

YAMAWA

YAMAWA CATALOG ]9



@) ATto|AX(2ATITHE)
L L n | & | Ds K Pk

AU+SP

3 AL

~ 'y A

SP

ESUME L

L7152t A s £

HErAZ ey

L=y ey

Low carbon steels High carbon steels Alloy steels Stainless steels

10-20410-20410-20410-20Q 5-10

(m/min) (m/min) (m/min) (m/min) (m/min)

AHQI2IAZ

L20IEEZT2 Oriet=2 &

Medium carbon steels Aluminum alloy castings Zinc alloy castings

20-30§20-30

(m/min) (m/min)

[ | M==0| EII

@ AU+SPL LIAHELS| ITHAHS B JH (410 0350] LIAAS BHE 7iotdh S
@ Lixjo] 5o w02 817 Ato] B W, B S39¢ OFE K 22, LIAL 1014 SRl 531 eI
® SAHE0l B YOS A vk

=
S o— o=

ER
o
Ll

2

4
lTI
g=|’

|I|>

r

P

0x02

W EfEO(O[E
kS 2 [M6x1]

IO | sCcM440 T l l l | | |
LI NE | ¢5.0 AU+SP ‘ 1
BZ 20l | omm (31 72 o 2,002 115715, |
HZ £ | 10m/min uwa sz e T AE e
I I
M| M2 HAIE ME(E2E B0 ALS) )z | \ I—->
B QH | +84 BAR (T4 208 814) . I :
0 500 1,000 1, 500 2,000 2,500 3,000

o njus ALRE o5
2{|0|X ztelo|z} sh= FHO| O|Het OpEro
YT S DTS |G| s M3

>

ECLIY X7 | mhEof

H3 Ol Mo =
(=] o—— OE =
Of| U DFIS HIX|SHL M3 ARZES0l| 7|20t S5S 2IStAELICE

@ HL T I7tEHof| S 7ts
TR EF(LHOI=R Y, B LH8AY) 2 Altieh 221 + U= SIS MESIH] ZHe(et 7SRl chSE 4= ASLIT

| %
ot 8 EAIROI|T 0 Heheii|c.

n

AolE0M SYa2
=4 4 QlaLct,

P YAMAWA

80 YAMAWA cATALOG



ChAP=
20| 2

5} #EL
AR E | Az o]

m

A

0
N .“U
2
—lo

S

L ? n 2s Ds K 2k
[ TYPE : 1 N
o &S
__|_ I_ _ —
ﬂgn . bk :K
L
SP
= - Amjofze
[ TYPE : 2 7 [ TYPE : 3 ]

Ds K DS K
i H 1Tt =

4 Ik K Y Ok K

Os Os
L L
=7 11C
O|E{ LIAMR

M2 x 0.4 P2 VSAPQ2.0E 25P 42 72 12 27 3 25 5 2 1
M2.5 x 0.45 P2  VSAPQ25F 25P 46 81 14 29 3 25 5 2 1
M2.6 x 0.45 P2  VSAPQ2.6F 2.5P 46 81 14 29 3 25 5 2 1
M3 x 0.5 P2  VSAPQ3.0G 25P 46 9 14 26 4 32 6 3 1

M4 x 0.7 P2 VSAPQ4Ol 25P 52 1 17 29 5 4 7 3 1 33,230

M5 x 0.8 P2  VSAPQ5.0K 25P 60 13 22 33 55 45 7 3 1 33,620

M6 x 1 P2 VSAPQ6.OM 25P 62 15 26 33 6 45 7 3 1 34,710

M8 x1.25  P3  VSAPR8ON 25P 70 19 - 36 62 5 8 3 2 51,160
M8 x 1 P3  VSAPR8OM 25P 70 19 - 36 62 5 8 3 2

M10 x 1.5 P3  VSAPROI00 25P 75 23 - 38 7 55 8 4 2 60,030
M10 x1.25 P3  VSAPROION 25P 75 23 - 38 7 55 8 4 2
M10 x 1 P3  VSAPROIOM 25P 75 23 - 38 7 55 8 4 2

M12 x1.75 P3  VSAPRO12P  25P 82 26 - 42 85 65 9 4 2 79,800
M12 x 1.5 P3  VSAPROI20 25P 82 26 - 42 85 65 9 4 2
M12 x1.25 P3  VSAPROI2N 25P 82 26 - 42 85 65 9 4 2
M14 x 2 P3  VSAPRO14Q 2.5P 88 26 - 45 105 8 N 4 2
M14 x 1.5 P3  VSAPRO140 25P 88 26 - 45 105 g8 M 4 2
M16 x 2 P3  VSAPRO16Q 2.5P 95 26 - 48 125 10 13 4 2
M16 x 1.5 P3  VSAPROIBO 2.5P 95 26 - 48 125 10 13 4 2
M18 x 2.5 P4  VSAPSOI8R  2.5P 100 33 - 51 14 M 14 4 2
M18 x 1.5 P4  VSAPSO180 2.5 100 33 - 5 14 N 14 4 2
M20 x 2.5 P4  VSAPSO20R 2.5 105 33 - 5 15 12 15 4 3
M20 x 1.5 P4  VSAPS0200 2.5 105 33 - 50 15 12 15 4 3

*=53 RE5(+F YU5) ng Think threads with

YAMAWA

YAMAWA CATALOG 81



= | =29

o | Ghor | wmEe | 433 | 30s el

n s | Ds K 2k

2
&)

@D AGto|ZHAIRI=(2EITHE)

LS-SP

S A0 &

SP
HORE : W EZ MO ALY YORE ¥R % R0
LA} 7301 7H5 8t & Eriol HRiLict,

L7tSMet 2 EHE S

—
)

" TYPE ;] [ TYPE 2
D, K ) K
T — - = e e .
2% Ys L&’ K gﬂn & 5 K
L - L
T TYPE : 3 N T TYPE : 4 n
Ds K Ds K
— - 1= - - H—- % - -
2 2 4 K ; . i K
L L
QHAIO| X
E7:1C
sa | sma= | ax
IJIE‘I '—Mf%
M2 x 0.4 P1 SPFP2.0ELO7 2.5P 70 7.2 15 52 3 2.5 5 2 1
M2 x 0.4 P1 SPFP2.0EL10 2.5P 100 7.2 15 30 3 2.5 5 2 2 97,700
M2.3 x 0.4 Pl SPFP23ELO7 25P 70 72 15 52 3 25 5 2 1
M2.3x 0.4 P1 SPFP2.3EL10 2.5P 100 7.2 15 30 3 2.5 5 2 2 83,200
M2.5 x 0.45 P1 SPFP2.5FLO7 2.5P 70 8.1 15 52 3 2.5 5 2 1
M2.5 x 0.45 P1 SPFP2.5FL10 2.5P 100 8.1 15 30 3 2.5 5 2 2 83,200
M2.6 x 0.45 P1 SPFP2.6FLO7 2.5P 70 8.1 15 52 3 2.5 5 2 1
M2.6 x 0.45 P1 SPFP2.6FL10 2.5P 100 8.1 15 30 3 2.5 5 2 2 77,820
M3 x 0.5 P1 SPFP3.0GL07 2.5P 70 9 18 46 4 3.2 6 3 1
M3 x 0.5 P1 SPFP3.0GL10 2.5P 100 9 18 40 4 3.2 6 3 2 38,510
M3 x 0.5 P1 SPFP3.0GL12 2.5P 120 9 18 40 4 3.2 6 3 2
M3 x 0.5 Pl SPFP3.0GL15 25P 150 9 18 40 4 3.2 6 3 2 74,170
M3 x 0.5 P2 SPFQ3.0GL10  2.5P 100 9 18 40 4 3.2 6 3 2
M3 x 0.5 P2 SPFQ3.0GL15 2.5P 150 9 18 40 4 3.2 6 3 2
M3 x 0.5 P3  SPFR3.0GLI0 25P 100 9 18 40 4 32 6 3 2
M3 x 0.5 P3 SPFR3.0GL15 2.5P 150 9 18 40 4 3.2 6 3 2
M4 x 0.7 P2 SPFQ4.0IL07 2.5P 70 1" 21 43 5 7 3 1
M4 x 0.7 P2 SPFQ4.0IL10 2.5P 100 " 21 40 5 4 7 3 2 35,040
M4 x 0.7 P2 SPFQ4OIL12 25P 120 1M 21 40 5 4 7 3 2
M4 x 0.7 P2 SPFQ4.0IL15 2.5P 150 " 21 40 5 4 7 3 2 66,660

P YAMAWA

82 vamawa cATALOG



ChAP=
20| 2

m

43zl | 433 ﬁ%‘a—% Miﬂ’em'

K | 2%

ra

0
o
2
=1lo

S

I—
o
o)
S
o
%]
)
(%2

LS-SP E- Amo|

= = L ? n os Ds K 2k =
8 1 21 40 5 4 7 3 2

M4 x 0.7 P SPFR4.0IL10  2.5P 100

M4 x 0.7 P3  SPFR4.0IL15 25P 150 1 21 40 5 4 7 3 2

M5 x 0.8 P2 SPFQ5.0KL10 2.5P 100 13 25 40 55 45 7 3 2 30,250
M5 x 0.8 P2 SPFQ5.0KL12 2.5P 120 13 25 40 55 45 7 3 2

M5 x 0.8 P2  SPFQ5.0KL15 2.5P 150 13 25 40 55 45 7 3 2 50,510
M5 x 0.8 P3  SPFR5.0KL10  2.5P 100 13 25 40 55 45 7 3 2 SP
M5 x 0.8 P3  SPFR5.0KL15 2.5P 150 13 25 40 55 45 7 3 2 SN EE
M6 x 1 P2 SPFQ6.0ML10 2.5P 100 15 30 40 6 45 7 3 2 26,310
M6 x 1 P2 SPFQ6.0ML12 2.5P 120 15 30 40 6 45 7 3 2

M6 x 1 P2 SPFQ6.0ML15 2.5P 150 15 30 40 6 45 7 3 2 45,150
M6 x 1 P2 SPFQ6.0ML20 2.5P 200 15 30 40 6 45 7 3 2

M6 x 1 P3 SPFR6.OML10 2.5P 100 15 30 40 6 45 7 3 2

M6 x 1 P3 SPFR6.OML15 2.5P 150 15 30 40 6 45 7 3 2

M6 x 0.75 P2  SPFQ6.0JL10 2.5P 100 15 30 40 6 45 7 3 2

M8 x 1.25 P2  SPQ8.ONL10  2.5P 100 19 - 50 6.2 5 8 3 3 32,820
M8 x 1.25 P2  SPQ8.ONL12 25P 120 19 - 50 6.2 5 8 3 3

M8 x 1.25 P2  SPQ8.ONL15 25P 150 19 - 50 6.2 5 8 3 3 55,290
M8 x 1.25 P2  SPQ8.ONL20 25P 200 19 - 50 6.2 5 8 3 3 115,680
M8 x 1.25 P3  SPR8.ONL10  2.5P 100 19 - 50 6.2 5 8 3 3

M8 x 1.25 P3  SPR8.ONL15 25P 150 19 - 50 6.2 5 8 3 3

M8 x 1 P2  SPQ8.OML10 2.5P 100 19 - 50 6.2 5 8 3 3

M8 x 1 P2  SPQ8.OML12 25P 120 19 - 50 6.2 5 8 3 3

M8 x 1 P2 SPQ8.OML15 25P 150 19 - 50 6.2 5 8 3 3

M8 x 0.75 P2  SPQ8.0JL10  2.5P 100 19 - 50 6.2 5 8 3 3

M10 x 1.5 P2  SPQO100L10 2.5P 100 23 - 50 7 55 8 3 3 44,450
M10 x 1.5 P2  SPQO100L12 2.5P 120 23 - 50 7 55 8 3 3

M10 x 1.5 P2  SPQO100L15 2.5P 150 23 - 50 7 55 8 3 3 66,170
M10 x 1.5 P2 SPQO100L20 2.5P 200 23 - 50 7 55 8 3 3 133,980
M10 x 1.5 P3  SPRO1OOL10  2.5P 100 23 - 50 7 55 8 3 3

M10 x 1.5 P3  SPRO10OL15  2.5P 150 23 - 50 7 55 8 3 3

M10 x 1.25 P2 SPQOIONL10  2.5P 100 23 = 50 7 515 8 3 3 44,450
M10 x 1.25 P2  SPQOIONL12 2.5P 120 23 - 50 7 55 8 3 3

M10 x 1.25 P2  SPQOIONL15S 2.5P 150 23 - 50 7 55 8 3 3 66 170
M10 x 1.25 P2  SPQOIONL20 2.5P 200 23 - 50 7 55 8 3 3 '
M10 x 1 P2  SPQOIOML1I0  2.5P 100 23 - 50 7 55 8 3 3

M10 x 1 P2  SPQOIOML12 2.5P 120 23 - 50 7 55 8 3 3

M10 x 1 P2  SPQOIOML15 2.5P 150 23 - 50 7 55 8 3 3

M10 x 0.75 P2  SPQO10JL15  2.5P 150 13 - 50 7 55 8 3 3

M12 x 1.75 P2~ SPQO12PL10  2.5P 100 26 S 50 8.5 6.5 9 3 3 72,080
M12 x 1.75 P2  SPQO12PL12 2.5P 120 26 - 50 85 65 9 3 3

M12 x 1.75 P2  SPQO12PL15  2.5P 150 26 - 50 85 65 9 3 3 85,430
M12 x 1.75 P2  SPQO12PL20 2.5P 200 26 - 50 85 65 9 3 3 133,980
M12 x 1.75 P3  SPRO12PL15  2.5P 150 26 - 50 85 65 9 3 3

M12 x 1.5 P2  SPQO120L10  2.5P 100 26 - 50 85 65 9 3 3

M12 x 1.5 P2  SPQO120L12 2.5P 120 26 - 50 85 65 9 3 3

M12 x 1.5 P2  SPQO120L15 2.5P 150 26 - 50 85 65 9 3 3 113,330
M12 x 1.5 P2 SPQO120L20 2.5P 200 26 - 50 85 65 9 3 3

M12 x 1.25 P2  SPQO12NL10  2.5P 100 26 - 50 85 65 9 3 3

M12 x 1.25 P2  SPQO12NL12  2.5P 120 26 - 50 85 65 9 3 3

M12 x 1.25 P2  SPQO12NL15 2.5P 150 26 - 50 85 65 9 3 3 85,430
M12 x 1.25 P2  SPQOI2NL20 2.5P 200 26 - 50 85 65 9 3 3

#=EX QEZ (4T MME) m Think threads with

YAMAWA cATALOG 83



2
&)

= | =29
|

B | S |0l w32 | 38 el

Ds | K 2k

n s D
= 50 8.5

QRS EENEESCEEE

—
o
~
>S5
o
/)

Ls-sP E-Amoje

M12 X 1 P2 SPQOI2ML1I0  2.5P 100 26 .=
M12 x 1 P2 SPQOI2ML12 25P 120 26 - 50 85 65 9 3 3 X
M12 x 1 P2 SPQOI2MLI5S 25P 150 26 - 50 85 65 9 3 3 X
M14 x 2 P2 SPQOT4QLI2 25P 120 26 - 60 105 8 M 3 3 X
M14 x 2 P2 SPQO14QLI5S 2.55P 150 26 - 60 105 8 Mn 3 3 111,070
QHE_&E@ M14 x 2 P2 SPQO14QL20 25P 200 26 - 60 105 8 M 3 3 192260
M14 x 1.5 P2 SPQO140L12 2.55P 120 26 - 60 105 8 MmN 3 3 x
M14 x 1.5 P2 SPQO140L15 25P 150 26 - 60 105 8 M 3 3
M14 x 1.5 P2 SPQO140L20 2.5P 200 26 - 60 105 8 1" 3 3 *
M16 x 2 P2 SPQOI6QLIS 2.5P 150 26 - 60 125 10 13 3 3 120670
M16 x 2 P2 SPQO16QL20 25P 200 26 - 60 125 10 13 3 3 154310
M16 x 2 P2 SPQO1I6QL25 25P 250 26 - 60 125 10 13 3 3 x
M16 x 1.5 P2 SPQOIGOLIS 2.5P 150 26 - 60 125 10 13 3 3
M16 x 1.5 P2 SPQOI6OL20 2.5P 200 26 - 60 125 10 13 3 3 x
M18 x 2.5  P3  SPROI8RLI5 25P 150 33 - 70 14 1 14 4 3 166,230
M18 x 2.5 P3  SPROI8RL20 2.5P 200 33 - 70 14 M 14 4 3 *
M8 x 2.5 P3  SPROIBRL25 2.5P 250 33 - 70 14 M 14 4 3 S
M18 x 2 P3  SPROIBQL20 25 200 33 - 70 14 M 14 4 3 x
M18 x 1.5 P2 SPQOIBOLI5 25P 150 33 - 70 14 M 14 4 3
M18 x 1.5 P2 SPQOI8OL20 2.5P 200 33 - 70 14 M 14 4 3 x
M20x 2.5  P3 SPRO20RL15S 25P 150 33 - 70 15 12 15 4 4 253,070
M20x 2.5  P3 SPRO20RL20 2.5P 200 33 - 70 15 12 15 4 4 322,420
M20 x 2.5 P3  SPRO20RL25 25P 250 33 - 70 15 12 15 4 4 x
M20 x 2 P3  SPRO20QL20 2.5P 200 33 - 70 15 12 15 4 4 x
M20 x 1.5 P3  SPRO200L15 25P 150 33 - 70 15 12 15 4 4
M20 x 1.5 P3  SPRO200L20 2.5P 200 33 - 70 15 12 15 4 4 *
M22x 2.5  P3 SPRO22RL15 25P 150 33 - 70 17 13 1 4 4 354740%
M22 x 2.5 P3  SPRO22RL20 2.5P 200 33 - 720 17 13 16 4 4 X
M22 x 2.5 P3  SPRO22RL25 25P 250 33 - 70 17 13 16 4 4 x
M22 x 2 P3  SPRO22QL20 2.5P 200 33 - 70 177 13 16 4 4 x
M22 x 1.5 P3  SPR0220L15 25P 150 33 - 70 17 13 16 4 4
M22 x 1.5 P3  SPRO220L20 2.5P 200 33 - 70 17 13 16 4 4 x
M24x 3 P3  SPR024SL15 2.5P 150 39 - 80 19 15 18 4 4 409,170
M24x 3 P3  SPRO24SL20 25P 200 39 - 80 19 15 18 4 4 474750
M24 x 3 P3  SPRO24SL25 2.5P 250 39 - 80 19 15 18 4 4 *
M24 x 2 P3  SPR024QL20 25P 200 39 - 80 19 15 18 4 4 x
M24 x 1.5 P3  SPRO240OL15 25P 150 39 - 80 19 15 18 4 4
M24 x 1.5 P3  SPR0240L20 2.5P 200 39 - 80 19 15 18 4 4 x
M27 x 3 P3  SPRO27SL20  2.5P 200 39 - 80 20 15 18 4 4 x
M27 x 3 P3  SPRO27SL25 2.5P 250 39 - 80 20 15 18 4 4 *
M27 x 2 P3  SPRO27QL20 2.5P 200 39 - 80 20 15 18 4 4 x
M27 x 2 P3  SPRO27QL25 25P 250 39 - 80 20 15 18 4 4 x
M27 % 1.5 P3  SPRO270L20 2.5P 200 39 - 80 20 15 18 4 4 x
M27 x 1.5 P3  SPRO270L25 2.5P 250 39 - 80 20 15 18 4 4 *
M30x 3.5 P4 SPS030TL20 2.5P 200 46 - 80 23 177 20 4 4 x
M30x 3.5 P4 SPSO30TL25 2.5P 250 46 - 80 23 177 20 4 4 x
M30x 3.5 P4 SPS030TL30 25P 300 46 - 80 23 177 20 4 4 *
M30 x 3 P3  SPRO30SL25 2.5P 250 46 - 80 23 17 20 4 4 *
M30 x 2 P3  SPRO30QL20 25P 200 46 - 80 23 17 20 4 4 *
M30 x 2 P3  SPRO30QL25 2.5P 250 46 - 80 23 17 20 4 4 *

P YAMAWA

84 vAmawa caTALOG



LS-SP E- Ao

Afo|= S8

M30 x 1.5
M30 x 1.5
M30 x 1.5
M33 x 3.5
M36 x 4
M36 x 4

1/4-20UNC
1/4-20UNC
1/4-28UNF
1/4-28UNF
5/16-18UNC
5/16-18UNC
5/16-24UNF
5/16-24UNF
3/8-16UNC
3/8-16UNC
3/8-16UNC
3/8-24UNF
3/8-24UNF
3/8-24UNF
7/16-14UNC
7/16-20UNF
1/2-13UNC
1/2-13UNC
1/2-20UNF
1/2-20UNF
5/8-1MUNC
5/8-1MUNC
5/8-18UNF
5/8-18UNF
3/4-10UNC
3/4-10UNC
3/4-16UNF
3/4-16UNF
7/8-9UNC
7/8-9UNC
7/8-14UNF
1-8UNC
1-8UNC
1-12UNF

1/4W20
1/4W20
5/16W18
5/16W18
3/8W16
3/8W16
3/8W16
7[16W14

= = =
*=EF REE(5F HAUE

P3
P3
P4
P4
P4

P2
P2
P2
P2
P2
P2
P2
P2
P2
P2
P2
P2
P2
P2
P3
P2
P3
P3
P2
P2
P3
P3
P2
P2
P3
P3
P3
P3
P3
P3
P3
P3
P3
P3

P2
P2
P2
P2
P2
P2
P2
P3

48 3E

SPRO300L20
SPRO300L25
SPRO300L30
SPS033TL25
SPS036UL25
SPS036UL30

SPFQUO4NL10
SPFQUO4NL15
SPFQUO4KL10
SPFQUO4KL15
SPQUO50L10
SPQUO50L15
SPQUO5ML10
SPQUO5ML15
SPQUO6GPL10
SPQUOGPL15
SPQUO6PL20
SPQUOGML10
SPQUO6ML15
SPQUO6ML20
SPRUO7QL15
SPQUO7NL15
SPRUO8RL15
SPRUO8RL20
SPQUO8NL15
SPQUO8NL20
SPRU1T0UL15
SPRUT0UL20
SPQU100L15
SPQU100L20
SPRU12VL15
SPRU12VL20
SPRU12PL15
SPRU12PL20
SPRU14WL15
SPRU14WL20
SPRU14QL20
SPRU16XL15
SPRU16XL20
SPRU16SL20

SPFQWO4NL10
SPFQWO4NL15
SPQWO050L10
SPQWO50L15
SPQWO6PL10
SPQWOGPL15
SPQWO6PL20
SPRWO07QL15

A
0

ChAP=
20|

N ‘“u
me
=lo

/g;::
AptE

43
Afzi 20|

—

2k

l’n (’s Ds lk

2.5P
2.5P
2.5P
2.5P
2.5P
2.5P

2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P

2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P

200
250
300
250
250
300

100
150
100
150
100
150
100
150
100
150
200
100
150
200
150
150
150
200
150
200
150
200
150
200
150
200
150
200
150
200
200
150
200
200

100
150
100
150
100
150
200
150

46 - 80
46 - 80
51 - 80
57 - 100
57 - 100
FL|mO| LEAMS
15 30 40
15 30 40
15 30 40
15 30 40
19 - 50
19 - 50
19 - 50
19 - 50
23 - 50
23 - 50
23 - 50
23 - 50
23 - 50
23 - 50
26 - 50
26 - 50
26 - 60
26 - 60
26 - 60
26 - 60
26 - 60
26 - 60
26 - 60
26 - 60
33 - 70
33 - 70
33 - 70
33 - 70
33 - 70
33 - 70
33 - 70
39 - 80
39 - 80
39 - 80
IEM LIAE
15 30 40
15 30 40
19 - 50
19 - 50
23 - 50
23 - 50
23 - 50
26 - 50

23
23
25
28
28

[N NN e)]

N N NN

8.5
10.5
10.5
10.5
10.5
12.5
12.5
12.5
12.5

15
15
15
15
17
17
17
19
19
19

6.2
6.2

8.5

17
17
19
21
21

4.5
4.5
4.5
4.5

5

5

5

5
5.5
5.5
5.5
5.5
5.5
5.5
6.5
6.5

8

20
20
22
24
24

© © 00w 0 00w 0 0 0 0 W 00 00 N N N N

- 2 a2 a2 4O 4 A a3y A A
O 00 0O O O O g O O O W W W W =2 2 2 2

© 0 0 00 0 00 N N

A A D DM D DM DD DD OO OOWOWWWWWWWWWWWWWWWWWwWwwwow A A b b b

W W W W w w w w

A A B B DDA BSA DB DD O WOWOWWWWWWWWWWWWWWWWwWNDDNDDDDDN A A DM DA D

W W W W wWw w NN

Think threads with

YAMAWA

YAMAWA CATALOG

SP

ESUNIE L

85



)
oz

= | =29
20| Zo|

FEN ]
AR E | A2t ol

@D AGto|ZHARI=(2EITHE)

—
o
~
>S5
o
/)

Ds | K 2k

SU+SP
SU-SP

ABIYAZ ATO|ZY

SP AI.OFExI
Amjolz =i - 7|50l ket AHE 7|37t P2El0f YALIC
SU+SP M2~M6 (B3E
SU-SP "M1.7, M2"M6 (HIZHE), M8~, U- WEH|
AHIYAZ
Medium carbon steels i Alloy steels Stainless steels
(m/min) i (m/min) (m/min)
W HSe EF
@ 7t3 Zop7H oIXSHA| Bt M=l AR ALS HIR 2L, SE|EHIZo|2| 2elH 7H30l| X FULICE
@ LIAMEL| XX HA o] 2ol 412 2ito| 7t8 fEES HLAIZELICL
® T Hizte| XL Asisl 37 42 sHALI
@ I E HUEHOE USot ZEHE MHAZISLICE
® 2T BMoR 25 i2 A
@ 37| - HIS7| 0{=F0|E OK
W EfE GIO[E
FEZ [M6x 1] 1 1 l l l 1
I JF = T | SUS304(30HRB) SU+SP =)
2 3 9| @50 w w w w PESIS
I I I I I
LEAF& 201 | 9nm (BR1I1E) ! !
M % & & | 8mmn SU-sP l l
7l H| HEE HAIY ME (&8 =701 ‘ ‘ ‘ ‘ ‘
< HEl ( ) 0 250 500 750 1,000 1,250
B Z R W | E4838EMR(EL T2 e
(3E2)
BYE MHAZE EHE E239] 0|
AH[PIE|AZE arsl7E 7k 8 B K (N-cm)
L2 s 350
5 m/min 10 m/mm 15 m/min -~ 20 m/min 30 m/min
I7HE R ; : : : WS HE 3925
Lisb . - 3 i LhAH
A : IZEN B : : AHAY
SUS3165 : | : : SUS3165 __300
81 sussos | '| su2-sp| 3 sussos || M1
: ! S s Mors
Z I Z ‘LL_H.
5 [ SU+SP
SUS303 SU-SP SUS303 250
5 ‘m/mm 'IO‘m/min 15‘m/mm 20‘m/min 30‘m/min 225
JHE JHs BAS EorS OIDIXIE UL
200
*xJI 2502 5008 7508 1,000
W ZOArEt DiEse=]

SU+SPZ SSA00MLt HAME 7t32 = 7| 0152] 71AIE ALESH FHAIL.
HIS7| 0l&2| BRI SO Z JHS51H, YLIAL iTIH EH4lish= ZL7t ASELICE

— OoT:

=2x
Ex
mThink threads with HME = £ ASLICH

YAMAWA

86 YAmMAWA caTALOG




LIPS
Zo| 20|

vazol | w3z |, 30s i

m

A

0
N .“U
2
—lo

L ? n s | Ds K 2k
[ TvPE : 1 N [ TYPE :2 N
Ds K Ds 2 >4K
= |- - =——FFf |- —
Y/ —gs b | K 4 s ‘&’ é K
L L
SP
L - - - Anjojaigy
[ TYPE :3 N [ TYPE :4 N
Ds K Ds
- - . - |» 4 -
£ 2 K ] )
-gn T ‘es gs
L
[ TYPE :H 7 [ TYPE :6 7
Ds K
R/ ’ L&, K 4
L L
SU+SP AtEIRAE ﬁ]II.OIEéiEI’-I giﬂocl:z
O|E LIALE
M2 x 0.4 Pl SUPP2OE  25P 42 72 12 27 3 25 5 2 3 28,190
M2 x 0.4 P2 SUPQ2.OE 25P 42 72 12 27 3 25 5 2 3 X
M2 x 0.4 P3  SUPR20OE 25P 42 72 12 27 3 25 5 2 3 *
M2.3 x 0.4 Pl SUPP23E  25P 42 72 12 27 3 25 5 2 3 26,640%
M2.3 x 0.4 P2 SUPQ2.3E 25P 42 72 12 27 3 25 5 2 3 x
M2.3 x 0.4 P3  SUPR23E  25P 42 72 12 27 3 25 5 2 3 X
M2.5 x 0.45  P1 SUPP2.5SF  2.5P 46 81 14 29 3 25 5 2 3 23,520
M2.5 x 0.45 P2  SUPQ25F  25P 46 81 14 29 3 25 5 2 3 X
M25 x 0.45 P3  SUPR25F  25P 46 81 14 29 3 25 5 2 3 X
M2.6 x 0.45 P1  SUPP2.6F  25P 46 81 14 29 3 25 5 2 3 19,680
M2.6 x 0.45 P2  SUPQ26F 25P 46 81 14 29 3 25 5 2 3 X
M2.6 x 0.45 P3  SUPR2.6F  2.5P 46 81 14 29 3 25 5 2 3 *
M3 x 0.5 PI  SUPP3.0G  25P 46 9 14 26 4 32 6 3 3 16,100
M3 x 0.5 P2 SUPQ3.0G  25P 46 9 14 26 4 32 6 3 3 X
M3 x 0.5 P3  SUPR3.0G  25P 46 9 14 26 4 32 6 3 3 #
M3 x 0.6 Pl SUPP3.OH 25P 46 9 14 26 4 32 6 3 3 25
M3.5 x 0.6 Pl SUPP35SH 25P 52 11 16 29 5 7 3 3 X
M3.5x 0.6 P3  SUPR3SH 25P 52 1 16 29 5 4 7 3 3 =
M4 x 0.7 P2 SUPQ4Ol  25P 52 1M 17 29 5 4 7 3 3 15,450
M4 x 0.7 P3  SUPR4OI 25P 52 1 17 29 5 4 7 3 3 X
M4 x 0.7 P4  SUPS40l 25P 52 1 17 29 5 4 7 3 3 X
M4 x 0.75 P2 SUPQ4.0J  25P 52 n 17 29 5 4 7 3 3 &
M5 x 0.8 P2 SUPQS.OK 25P 60 13 22 33 55 45 7 3 3 15, 820
M5 x 0.8 P3  SUPRS.OK 25P 60 13 22 33 55 45 7 3 3 X

#=EX QEE(LF MAE) m Think threads with

YAMAWA CATALOG 8]



2
&)

UME | 29 | g0 | = | 4=
go | o |BABN| I3 | pm= |apmal

Ds | K 2k

@ ATLIO|HEA| 2| = (2HSILHE)

—
)
~
>S5
o
/)

SU+SP AHIZAE ANjo|ZEH

= L 2 n os Ds K (S =
60 13 22 33 5.5 4.5 7 3 3 *

M5 x 0.8 P4 SUPS5.0K 2.5P

5M0.9 P2 SUPQ5.0L 2.5P 60 13 22 33 5.5 4.5 7 3 3 e
M6 x 1 P2 SUPQ6.0M 2.5P 62 15 26 33 6 4.5 7 <) <] 16,650
M6 x 1 P3 SUPR6.0M 2.5P 62 15 26 33 6 45 7 3 3 e
M6 x 1 P4 SUPS6.0M 2.5P 62 15 26 33 6 45 7 3 3 *
SU-SP AEHIHAE ALO|ZEH ol
OlE{LIALE
M1.4 x 0.3 P1 SUMP1.4C 2.5P 36 5.4 = 24 3 25 5 2 1 51,770
M1.6 x 0.35  P1 SUMP1.6D  25P 36 6.3 - 24 3 25 5 2 2 Bt
M1.7 x 0.35 P1 SUMP1.7D 2.5P 36 6.3 - 24 3 2.5 5 2 2 45170
M1.7 x 0.35 P2 SUMQ1.7D 2.5P 36 6.3 = 24 3 25 5 2 2 &
M6 x 0.75 P2  SUMQ6.0OJ 25P 62 15 26 33 6 45 7 3 3 x
M8 x 1.25 P2 SUMQ8.0N 2.5P 70 19 - 36 6.2 5 8 S 4 22,940
M8 x 1.25 P3  SUMRBON 25P 70 19 - 36 62 5 8 3 4 x
M8 x 1.25 P4  SUMS8ON  25P 70 19 - 36 6.2 5 8 3 4 *
M8 x 1 P2 SUMQ8OM  25P 70 19 - 36 6.2 5 8 3 4 x
M8 x 0.75 P2 SUMQ8.0J 2.5P 70 19 - 36 6.2 5 8 3 4 *
M10 x 1.5 P2 SUMQO100  2.5P 75 23 = 38 7 55 8 3 4 29,760
M10 x 1.5 P3  SUMRO100  2.5P 75 23 - 38 7 55 8 3 4 *
M10 x 1.5 P4  SUMS0100  2.5P 75 23 - 38 7 55 8 3 4 x
M10 x 1.25 P2  SUMQOION  2.5P 75 23 - 38 7 55 8 3 4
M10 x 1.25 P3  SUMROION 25P 75 23 - 38 7 55 8 3 4 *
M10 x 1.25 P4  SUMSOION 25P 75 23 - 38 7 55 8 3 4 B
M10 x 1 P2  SUMQOIOM  25P 75 23 - 38 7 55 8 3 4 *
M10 x 1 P4  SUMSO1OM  2.5P 75 23 = 38 7 BB 8 3 4 B
M12 x 1.75 P2 SUMQO12P 2.5P 82 26 - 42 8.5 6.5 9 3 4 41,830
M12 x 1.75 P3  SUMRO12P  25P 82 26 - 42 85 65 9 3 4 2
M12 x 1.75 P4  SUMSO12P  25P 82 26 - 42 85 65 9 3 4 x
M12 x 1.5 P2  SUMQO120  2.5P 82 26 = 42 85 65 9 3 4
M12 x 1.5 P3  SUMRO120 25P 82 26 - 42 85 65 9 3 4 X
M12 x 1.5 P4  SUMS0120 2.5P 82 26 - 42 85 65 9 3 4 Bt
M12 x 1.25 P2  SUMQOI2N  25P 82 26 - 42 85 65 9 3 4
M12 x 1.25 P3  SUMROI2N  25P 82 26 - 42 85 65 9 3 4 B¢
M12 x 1 P2  SUMQO12M  2.5P 82 26 - 42 85 65 9 3 4 x
M14 x 2 P2  SUMQ014Q  2.5P 88 26 - 45 105 8 1 3 4 57,850
M14 x 2 P3  SUMR0O14Q  2.5P 88 26 - 45 105 8 M 3 4 *
M14 x 2 P4 SUMS014Q 2.5P 88 26 - 45 105 8 M 3 4 G
M14 x 1.5 P2  SUMQO140 25P 88 26 - 45 105 8 M 3 4
M14 x 1.5 P4  SUMS0140  2.5P 88 26 - 45 105 8 M1 3 4 &
M14 x 1 P2  SUMQO14M  25P 88 26 - 45 105 g8 M 3 4 *
M16 x 2 P2  SUMQO16Q 25P 95 26 - 48 125 10 13 3 4 76,970
M16 x 2 P3  SUMRO16Q  2.5P 95 26 - 48 125 0 13 3 4 *
M16 x 2 P4  SUMS0O16Q  2.5P 95 26 - 48 125 10 13 3 4 x
M16 x 1.5 P2  SUMQO160  2.5P 95 26 - 48 125 10 13 3 4
M16 x 1.5 P4  SUMS0160  2.5P 95 26 - 48 125 10 13 3 4 *

P YAMAWA

88 vamawacataLoG



LIPS
Zo| Z

m

A

0
o
2
—lo

FE]
AR E | Af2t ol

2k

S

I—
o
o)
S
o
%]
)
(%2
7<

SU-SP AEIZH|AE Anjo|ig

==1 AMZE 3 I

M18 x 2.5 SUMROIBR  2.5P 100 140,100
M18 x 2.5 P4  SUMSOI8R  25P 100 33 - 51 14 M 14 4 4 B
M18 x 1.5 P2 SUMQO180 25P 100 33 - 51 14 M 14 4 4
M18 x 1.5 P4  SUMSO180 25P 100 33 - 51 14 M 14 4 4 %
M20 x 2.5 P3  SUMRO20R 25P 105 33 - 5 15 12 15 4 5 199,650
M20 X 2.5 P4  SUMSO20R  25P 105 33 - 5 15 12 15 4 5 2 ASHEEA
M20 % 1.5 P3  SUMRO200  2.55P 105 33 - 5 15 12 15 4 5
M20 X 1.5 P4  SUMS0200 25P 105 33 - 5 15 12 15 4 5 &
M22 x 2.5 P3 SUMRO22R 2.5P 115 33 - 55 17 13 16 4 5
M22 x 2.5 P4  SUMSO22R  25P 115 33 - 5 17 13 16 4 5 &
M22 X 2.5 P5  SUMTO22R 25P 115 33 - 5 17 13 16 4 5 x
M22 x 1.5 P3  SUMR0220 25P 115 33 - 5 17 13 16 4 5 &
M22 % 1.5 P4  SUMS0220 25P 115 33 - 5 17 13 186 4 5 x
M24 x 3 P3  SUMR024S  25P 120 39 - 5 19 15 18 4 5 221990
M24 x 3 P4  SUMS024S  25P 120 39 - 5 19 15 18 4 5 X
M24 x 3 P5  SUMT024S  25P 120 39 - 5 19 15 18 4 5 B
M24 x 2 P3  SUMR024Q 25P 120 39 - 5 19 15 18 4 5 x
M24 x 1.5 P3  SUMR0240 25P 120 39 - 5 19 15 18 4 5 B
M24 % 1.5 P4 SUMS0240 25P 120 39 - 5 19 15 18 4 5 X
M27 x 3 P3  SUMR027S  25P 130 39 - 60 20 15 18 4 5 B
M27 % 1.5 P3  SUMRO270  2.55P 130 39 - 60 20 15 18 4 5 x
M30 x 3.5 P4  SUMSO30T 25P 135 46 - 62 23 17 20 4 5 B
M30 X 1.5 P3  SUMR0O300 25P 135 46 - 62 23 17 20 4 5 *
M33 x 3.5 P4  SUMSO33T  25P 145 46 - 67 25 19 22 4 5 &
M36 x 4 P4  SUMS036U 25P 155 52 - 71 28 21 24 4 5 *
M39 x 4 P4  SUMS039U  2.5P 165 52 - 76 30 23 26 4 5 ><
M42 x 4.5 P4  SUMS042V  25P 175 59 - 8 32 26 30 4 5 x
M42 x 1.5 P3  SUMR0420 2.5p 175 27 - 8 32 26 30 4 6 &
M45 x 4.5 P4  SUMS045V  25P 180 59 - 83 35 26 30 4 5 x
M48 x 5 P4  SUMS048W 25P 185 65 - 8 38 29 32 4 5 X
FL|TIO| LIAFR
N0.2-56UNC ~ P1  SUMPUN2E  2.5P 42 81 12 27 3 25 5 2 3 *
No.3-48UNC P1  SUMPUN3F 25P 46 81 14 29 3 25 5 2 3 &
No.4-40UNC P1 SUMPUN4H 2.5P 46 9 14 25 4 3.2 6 2 3 *
No.4-48UNF P1  SUMPUN4F 25P 46 9 14 25 4 32 6 2 3 &
No.5-40UNC P1  SUMPUNSH  2.5P 52 1 16 28 5 4 7 3 3 x
No.5-44UNE  P1  SUMPUN5G  2.5P 52 1 16 28 5 4 7 3 3 &
No.6-32UNC P2  SUMQUNBJ  2.5P 52 1 17 27 5 4 7 3 3 x
No.6-40UNF  P1  SUMPUNGBH  2.5P 52 1 17 27 5 4 7 3 3 &
No.8-32UNC P2  SUMQUNSJ  2.5P 60 13 22 31 55 45 7 3 3 X
No.8-36UNF P2  SUMQUN8SI  2.5P 60 13 22 31 55 45 7 3 3 &
N0.10-24UNC P2  SUMQUNAM  2.5P 60 13 22 32 55 45 7 3 3 x
N0.10-32UNF P2 SUMQUNAJ  2.5P 60 13 22 32 55 45 7 3 3 X
1/4-20UNC P2  SUMQUO4N  2.5P 62 15 26 33 6 45 7 3 3 X
1/4-28UNF P2 SUMQUO4K  2.5P 62 15 26 33 6 45 7 3 3 B
5/16-18UNC P2 SUMQUO50  2.5P 70 19 - 36 62 5 8 3 4 *
5/16-24UNF P2 SUMQUO5M  2.5P 70 19 - 36 62 5 8 3 4 B
3/8-16UNC P2 SUMQUOBP  2.5P 75 23 - 38 7 55 8 3 4 x
3/8-24UNF P2 SUMQUOBM  2.5P 75 23 - 38 7 55 8 3 4 &

*=5F REB(HF MLE) m Think threads with

YAMAWA cATALOG 89



(B T

o | Ghor | wmEe | 433 | 30s el

n s | Ds K 2k

2
&)

@D AGto|ZHAIRI=(2EITHE)

—
)

SU-SP AHIZAE ALlO|ZE

AfO|= =4=1 A 3 Al o
== s= i TP ]IH]H 7|‘

7/16-14UNC SUMRU07Q  2.5P P
7/16-20UNF P2 SUMQUO7N  25P 82 26 - 42 85 65 9 3 4 ><
1/2-13UNC P3  SUMRUOBR 25P 88 26 - 45 105 8 M 3 4 x
Sp 1/2-20UNF P2 SUMQUOSN 25P 88 26 - 45 105 8 1 3 4 ><
Amofziey 5/8-11TUNC P3  SUMRUIOU 25P 95 26 - 48 125 10 13 3 4 X
5/8-18UNF P2  SUMQUIOO 25P 95 26 - 48 125 10 13 3 4 *
3/4-10UNC P3  SUMRUI2V  25P 105 33 - 50 15 12 15 4 5 X
3/4-16UNF P3  SUMRUI2P  25P 105 33 - 5 15 12 15 4 5 X
7/8-9UNC P3  SUMRUM4AW 25P 115 33 - 55 17 13 16 4 5 X
7/8-14UNF P3  SUMRU14Q 25P 115 33 - 55 17 13 16 4 5 x
1-8UNC P3  SUMRUI6X 25P 125 39 - 58 19 15 18 4 5 *
1-12UNF P3  SUMRUI6S 25P 125 39 - 58 19 15 18 4 5 x
IEMLIAE

3/16W24 P2 SUMQWO3M 25P 60 13 21 32 55 45 7 3 3 x
1/4W20 P2 SUMQWO4N 25P 62 15 26 33 6 45 7 3 3 X
5/16W18 P2 SUMQWO50 25P 70 19 - 36 62 5 8 3 4 X
3/8W16 P2  SUMQWO6P 25P 75 23 - 38 7 55 8 3 4 x
7/16W14 P3  SUMRWO7Q 2.5P 82 26 - 42 85 65 9 3 4 X
1/2W12 P3  SUMRWO8S 25P 88 26 - 45 105 8 1 3 4 x
9/16W12 P3  SUMRWO09S 25P 95 26 - 48 125 10 13 3 4 *
5/8W11 P3  SUMRWIOU 25P 95 26 - 48 125 10 13 3 4 x
3/4W10 P3  SUMRWI2V  25P 105 33 - 50 15 12 15 4 5 X
7/8W9 P3  SUMRWI4AW 25P 115 33 - 55 17 13 16 4 5 x
1W8 P3  SUMRWI6X 2.5P 125 39 - 58 19 15 18 4 5 x

P YAMAWA

g0 YAMAWA CATALOG



@D AGto|EHARI=(2UEITHE)

PM-SP

2
0%

g3 [ 4=
AR E |t ol

—

K | 2%

HOtSI0|A LHARS ALHO|2IEH

8 AT0|Z "Lt

AMEEY TYPE : 1 ]
D K AEJ'IEE*EA
High carbon steels [l Thermal refined steels [l Thermal refined steels S — =
Bw iiiE
(m/min) (m/min) (m/min) Y Ik K
25°35HRC  35°45HRC Zn s
L
TYPE : 2 ] TYPE : 3 ]
K
Ds Ds
_ l_ _ _ B I I N (N AN R ===~ B
Y . bk Y ‘ bk K
L L
=7:1D
O|E{LIAE
M3 x 0.5 P3 SY3.0GRDPB  2.75P 46 9 14 26 4 3.2 6 3 1 20,470>:<
M4 x 0.7 P3 SY4.0IRDPB  2.75P 52 1 17 29 5 4 7 3 1 20,470>:<
M5 x 0.8 P3 SY5.0KRDPB  2.75P 60 13 22 33 55 4.5 7 3 1 21,140>:<
M6 x 1 P3 SY6.0MRDPB 2.75P 62 15 26 33 6 4.5 7 3 1 22,520>:<
M8 x 1.25 P3 SY8.0NRDPB  2.75P 70 19 - 36 6.2 5 8 3 2 34,810>:<
M10 x 1.5 P3  SYO100RDPB 2.75P 75 23 - 38 7 5.5 8 3 2 43,690X
M10 x 1.25 P3  SYO1ONRDPB 2.75P 75 23 - 38 7 5.5 8 3 2 43,690>:<
M12 x 1.75 P3 SYO12PRDPB  2.75P 82 26 - 42 8.5 6.5 9 3 2 60,7OO>:<
M12 x 1.5 P3  SYO120RDPB 2.75P 82 26 = 42 8.5 6.5 9 3 2 60,700§<
M12 x 1.25 P4  SYO012NSDPB 2.75P 82 26 - 42 8.5 6.5 9 3 2 60,700>:<
M14 x 2 P4  SY014QSDPB 2.75P 88 26 - 45 10.5 8 " 3 2 84,560>:<
M14 x 1.5 P3 SYO140RDPB 2.75P 88 26 - 45 10.5 8 1" 3 2 84,560>:<
M16 x 2 P4  SYO16QSDPB 2.75P 95 26 - 48 12.5 10 13 3 2 114,580X
M16 x 1.5 P3 SYO160RDPB 2.75P 95 26 - 48 12.5 10 13 3 2 114,580§<
M18 x 2.5 P4 SYO18RSDPB  2.75P 100 33 - 51 14 " 14 4 2 ’|59,620>:<
M18 x 1.5 P4  SY0180SDPB 2.75P 100 33 - 51 14 1 14 4 2 159,620>:<
M20 x 2.5 P4  SYO20RSDPB 2.75P 105 33 - 50 15 12 15 4 3 206,650.>:<
M20 x 1.5 P4  SY0200SDPB 2.75P 105 33 - 50 15 12 15 4 3 206,650.5'<
M22 x 2.5 P4  SY022RSDPB 2.75P 115 33 - 55 17 13 16 4 3 273,470.24
M22 x 1.5 P4  SY0220SDPB 2.75P 115 33 - 55 17 13 16 4 3 273,470.;<
M24 x 3 P4  SY024SSDPB 2.75P 120 39 = 55 19 15 18 4 3 341,660.24
M24 x 1.5 P4  SY0240SDPB 2.75P 120 39 - 55 19 15 18 4 3 341,660.2<
M27 x 3 P4  SY027SSDPB 2.75P 130 39 = 60 20 15 18 4 3 473,270'2<
M27 x 1.5 P4  SY0270SDPB 2.75P 130 39 - 60 20 15 18 4 3 473,270.>:<
M30 x 3.5 P4  SYO30TSDPB 2.75P 135 46 - 62 23 17 20 4 3 598,810.;<
M30 x 1.5 P4  SY0O300SDPB 2.75P 135 46 - 62 23 17 20 4 3 598,810.>:<

Think threads with

YAMAWA

YAMAWA CATALOG

91



\.I‘“u
o
2o

wazol | 437 |, 30x |

@ Anto|ZHARIZ(LETHE)

L ? ;n s | Ds K 2k
SU2-SP
m AP ABIYAS ATO|HH

ATo2H Synchro

| 71370t =8 B £
HEHAZ TEAY graz W Aoz BLF3 A

[e}
oo
Low carbon steels i Alloy steels Stainless steels

(m/min) (m/min) (m/min) (m/min) (m/min)

W HE 52

@ SUS3160|Lt SUS317 S2f AHIZA0] 8ol 71 7150f| 2[KQl it AHIZ|AZ ATtO|E LI,
@ SU2-SP=, LIAIRO| 2iEitts St E7| 1, 0|2 2| LEARS B Z4OLH HEHO| E4= HHS MBS UBLICE
@ LIAMRO| 4= S|l Qfal|, 2t Mo| Ef MHE WX, B =S 0HE X{gte| 2Y

LIAFZH0|E42| RX|0f ZatE et
@ SXMHQl = EH0f ot H HiEHS SIS

=Zo= o

W EfT GOl
7}2ZE A [M12x1.75]

JF = I | sUS316 1
SU2-SP
2 7 g 103 ? 1
b= 2 0| 25mm (B ks
A 2 71 H| CNCHEMA SU-SP ;
H A £ | 8m/min I
) H| 224 zMe 800
m ASIHAZ 57
Jla Al 20 _ _
& Befot| &t ATH7IS HE S2E(%)
- &lo| H{Z=O0| LtuHC -
- DFol sl 4t N o
SUS303 8.00710.00 17.00719.00
20| EHlsty| £t
S oo SUS304 8.00710.50 18.00720.00
- S| 2ot0| T
SUS316 10.00714.00 16.00718.00
SUS317 11.00715.00 18.00720.00
HHAF AHIPAZHO[ZE?

UL O 2 QAH|LIO|E(Austenite) 2] AHIHAZS, A7|Q ZH2 EM0| Ql04
3 S0ME LIZ(Ni) ehRako| 32 ARRAZ2 O E40| ES XEiL|Ct,

— /| o

YAMAWAOIA = SUS316 52| Ni 2R20[10%S 'di= QAHILI0IEA| AHQI2|AZS NobAr ARl AL OF FHESH QAELICE

AT Z 2RO ASLICH

P YAMAWA

92 YAMAWA CATALOG



# | U0 | e #2092 | B el
L ? n 2s Ds K 2k
[ TvPE 1 N
o &
<EF - - ]
2 O \\K%é/
In £s
L
SP
— — Anjojaigy
[ TYPE :2 7 [ TYPE :3 7
Ds K — Ds K
e s 6
2 4 K 7 | 4 K
Os fs
L L
E7+:1C
0| LIALE
M3 x 0.5 P2 SU2MQ3.0G 3P 46 9 14 26 4 3.2 6 3 1 19,320
M3.5 x 0.6 P2 SU2MQ3.5H 3P 52 " 16 29 5 4 7 3 1 x
M4 x 0.7 P2 SU2MQ4.0I 3P 52 M 17 29 5 4 7 3 1 18,540
M5 x 0.8 P2 SU2MQ5.0K 3P 60 13 22 33 5.5 4.5 7 3 1 18,990
M6 x 1 P2 SU2MQB.OM 3P 62 15 26 33 6 45 7 3 1 19,970
M8 x 1.25 P3 SU2MR8.0N 3P 70 19 - 36 6.2 5 8 3 2 27,540
M10 % 1.5 P3  SU2MRO100 3P 75 23 - 38 7 55 8 3 2 35,720
M10 x 1.25 P3 SU2MRO10N 3P 75 23 = 38 7 55 8 3 2
M10 x 1 P3 SU2MR0O10M 3P 75 23 - 38 7 55 8 3 2 *
M12 x 1.75 P3 SU2MRO12P 3P 82 26 0 42 8.5 6.5 9 4 2 50,200
M12 % 1.5 P3  SU2MRO120 3P 82 26 - 42 85 65 9 4 2 X
M12 x 1.25  P3  SU2MRO12N 3P 82 26 - 42 85 65 9 4 2 X
M12 % 1 P3  SU2MRO12M 3P 82 26 - 42 85 65 9 4 2 X
M14 x 2 P3  SU2MRO14Q 3P 88 26 - 45 105 8 M 4 2 =
M14 x 1.5 P3 SU2MR0140 3P 88 26 - 45 10.5 8 m 4 2 x
M16 x 2 P3 SU2MR016Q 3P 95 26 - 48 125 10 13 4 2
M16 x 1.5 P3 SU2MR0160 3P 95 26 - 48 125 10 13 4 2 *
M18 x 2.5 P4 SU2MSO018R 3P 100 33 = 51 14 n 14 4 2 #
M18 x 1.5 P3 SU2MR0180 3P 100 33 - 51 14 " 14 4 2 ®
M20 x 2.5 P4 SU2MSO020R 3P 105 33 - 50 15 12 15 4 3
M20 % 1.5 P4 SU2MS0200 3P 105 33 - 5 15 12 15 4 3 X
M22 x 2.5 P4  SU2MS022R 3P 115 33 - 55 17 13 16 4 3 &
M22 X 1.5 P4  SU2MS0220 3P 115 33 - 55 17 13 16 4 3 X
M24 x 3 P4 SU2MS024S 3P 120 39 = 55 19 15 18 4 3 S
M24 x 1.5 P4  SU2MS0240 3P 120 39 - 55 19 15 18 4 3 X

Think threads with
DX YAMAWA
YAMAWA CATALOG

93



@D AGto|ZHAIRI=(2EITHE)

AL+SP
AL-SP

205 ALnOIEY (LIAES)

NS

SP

ESUME L

20T
Wrought aluminum

1025

(m/min)

Bronze

1025

(m/min)

Brass castings

1025

(m/min)

(m/min)

W HZ

o| EXI
1O

@ 20|ELOPHAE, H0|EFE S a2 FZE0| 2% o
o

| LIALMIE 7822 717 +12 g2

@ 20| 2H

Aol ofsl, FE=E

W EH CilO|E
IBEHA[MEx 1]

I Jt & | AC4AC

2 F & g0

LEAF&AE S ZI01 | 9mm (2UEITE)

B £ T | 20m/min

7| H | AHY AL HIE (H24)

B Z e H| +88ZFMQ(HA I 20 g4)

AL+SP

|
2sE=TE
Aluminum alloy castings

ol
AN

L —

LHE LEARSHON FHOl 21 (= 2)01 81

@ AL+SPE

Think threads with
X YAMAWA
YAMAWA CATALOG

94

(m/min)

=

w | T | G |30 w92 | R el
L L h | & | Ds | K {4

- TFVINEEREE TS

- 7|20 w2t &F 7|27t L0 ST

AL+SP ~M6

AL -SP M8~

01 85 F2
Zinc alloy castings

IaWz gz 22
Magnesium alloy die castings

(m/min) (m/min)

OME OFRIE! LA 7}20| 7Hs.

FH0i|2|(ZE)0| &1 P =1 TS HLIAL 71S0] 7ts.

AL+SP #
‘ ‘ ‘ P
]
L #‘WHE%)“%“'M
]
] ] ] ] ]
5000 10000 15000 20,000 25,000
OtEE4)
- IX
SlS
IS QLA £

SHE0ll HisH LA 20| 112 ¥=2

#

= =

LHE LEARE] FHl2l (= 2) 0] 2

511 HABS AHBALIC



LIPS
Zo| 20|

L ? n s Ds K 2k

RE] 3

4adol | 433 | ow Arzxwi?-_’E'OI

m

g

o
2
=10

[ TyPE ;1 ] [ TYPE :2
Ds K Ds

«gn ‘ZS gs

SP

- - - - Amjolge

AL+SP 0|E8 Ano|EH g7:1C

= = L 2 n £s Ds K [{ =

O|E{LIAME
M2 x 0.4 P2 ASHPQ2OE 25P 42 72 12 27 3 25 5 2 1 35,700
M2.3 x 0.4 P2 ASHPQ2.3E 25P 42 72 12 27 3 25 5 2 1 X
M2.5 x 0.45 P2  ASHPQ25F 25P 46 81 14 29 3 25 5 2 1 29,120
M2.6 x 0.45 P2  ASHPQ26F 25P 46 81 14 29 3 25 5 2 1 24,410
M3 x 0.5 P2  ASHPQ3.0G 25P 46 9 14 26 4 32 6 3 1 16,960
M3.5 x 0.6 P2 ASHPQ3.5H 25P 52 11 16 29 5 4 7 3 1 B
M4 x 0.7 P3  ASHPR4OI 25P 52 11 17 29 5 4 7 3 1 16,300
M5 x 0.8 P3  ASHPR5.OK 25P 60 13 22 33 55 45 7 3 1 16,650
M6 x 1 P3  ASHPR6.OM 25P 62 15 26 33 6 45 7 3 1 17,590
AL-SP ¢iO|s& Anjo|HE 22:1c

= = L 2 n £s Ds K [{3 =

O|E{LIALS
M8 x 1.25 P3 ASHMRS8ON 25P 70 19 - 36 62 5 8 3 2 23,630
M10 x 1.5 P3  ASHMRO100 25P 75 23 - 38 7 55 8 3 2 30,680
M10 x 1.25 P3 ASHMROION 25P 75 23 - 38 7 55 8 3 2 X
M10 x 1 P3  ASHMROIOM 25P 75 23 - 38 7 55 8 3 2 g
M12 x 1.75 P3  ASHMRO12P 25P 82 26 - 42 85 65 9 3 2 53,880
M12 x 1.5 P3  ASHMRO120 25P 82 26 - 42 85 65 9 3 2 i
M12 x 125 P3  ASHMROI2N 25P 82 26 - 42 85 65 9 3 2 X
M12 x 1 P3  ASHMRO12M 25P 82 26 - 42 85 65 9 3 2 e
M14 x 2 P3  ASHMRO14Q 25P 88 26 - 45 105 8 1 3 2 X
M14 x 1.5 P3  ASHMRO140 2.5P 88 26 - 45 105 8 1 3 2 B
M16 x 2 P3  ASHMRO16Q 25P 95 26 - 48 125 10 13 3 2 X
M16 x 1.5 P3 ASHMRO160 25P 95 26 - 48 125 10 13 3 2 &

*»=53 REE (T UHE) m Think threads with

YAMAWA

YAMAWA CATALOG 5§



@ ADo|EHARIZ(AETHER)
n S S

ZET-B

EIEIEEE2 ALIO|EH sasiox Lucz

Sp AYEH

ATo2H Synchro
LN

Il kSt =M EfE &=
FEEE]

Titanium alloys

510

(m/min)

W HE2 S8

® HHE2 LHEY - Lhot= 40| Foft g 22 50| AE MEBH ASLIC
@ HHO|Lt EAES 12{oE LEARM 2 LIS AAISHL QUELIC.

@ E[ELs B30 HEst 2

@ U0t2ES 2{ot BH X2|(LIALF)S SIFUELIC
@ ALtAe| =53 gt

M EHY G|OIE]
7}2Z7 [M6x1]

o Jt 3 T | Ti-6AL-4V T I I I I |
2 3 & ¢50

B &8 Z 0| 12mm

H % % T | 8m/min

7l H | CNCEHE MIH

B 4 2 H | BHEMR

(=]
E[EHSS FHROR 61T, P57 &1, ALt ZYOR LIZYE S4B1LICL

0| E40| FH2Z 71 BO| MEE|= Ti-6A-4VE HIXSHN
Ti-5A-2.55n, Ti-5Ta S Ctefet E[ERs RS 2AH7t UASLICE

W LIAPR2| EBE OAl

@ 200N Z=Tt gL FeHE0| 27| T 0l 7ol 52Tt 020} LSty | &L Tt
@ A2 FIM0Y| Of3f|, QLI ALY, 0| EHah20] Thk|= FLIt AFLICH
@ MSLF TRHSH0| 8412 U077 &1, YLl ZEHE HEFLICE

P YAMAWA

06 YAMAWA CATALOG



LA
o] 2

5} #EL
AR E | Az o]

m

A

0
N .“U
2
—lo

S

L ? n 2s Ds K 2k
[ TvPE : 1 N

Ds K

I — _ )
4 bk K
g
In 4
L SP
— - Anjojaigy
[ TYPE :2 7 [ TYPE :3 7
| Ds
YA Oy Y
4s
L L
Z7:1D
DIE{LIALR

M3 x 0.5 P2 ZETBMQ3.0G 3P 46 5 9 14 26 4 3.2 6 3 1 32,460

M4 x 0.7 P3 ZETBMRA4.0I 3P 52 7 " 17 29 5 4 7 3 1 29,650

M5 x 0.8 P3 ZETBMR5.0K 3P 60 9 13 22 33 55 45 7 3 1 30,360

M6 % 1 P3 ZETBMR6.OM 3P 62 m 15 26 33 6 4.5 7 3 1 32,930

M8 x 1.25 P3  ZETBMRSON 3P 70 - 12 - 3 62 5 8 3 2 50680

M10 x 1.5 P3  ZETBMRO10O 3P 75 o 13 5 38 7 55 8 3 2 64,230

M10 x 1.25 P3  ZETBMRO1ON 3P 75 - 13 - 38 7 55 8 3 2

M12 x 1.75 P3 ZETBMRO12P 3P 82 - 15 0 42 85 6.5 9 3 2 89,350
M12 x 1.5 P3  ZETBMRO0120 3P 82 - 15 - 42 85 6.5 9 3 2 X
M12 x 1.25 P3 ZETBMRO12N 3P 82 = 15 = 42 85 6.5 9 3 2 *
M14 x 2 P3 ZETBMR014Q 3P 88 - 18 - 45 10.5 8 M 3 2 x
M14 x 1.5 P3  ZETBMR0140 3P 88 = 14 = 45 10.5 8 " 3 2 *
M16 x 2 P3  ZETBMR0O16Q 3P 95 - 18 - 48 125 10 13 4 2 x
M16 x 1.5 P3  ZETBMR0O160 3P 95 = 14 = 48 125 10 13 4 2 *
M18 x 2.5 P4 ZETBMSO18R 3P 100 - 20 - 51 14 1 14 4 2 x
M18 x 1.5 P3 ZETBMR0O180 3P 100 = 14 = 51 14 M 14 4 2 *
M20 x 2.5 P4  ZETBMSO20R 3P 105 - 20 - 50 15 12 15 4 3 *
M20 x 1.5 P4 ZETBMS0200 3P 105 - 14 - 50 5 12 15 4 3 *
M27 x 3 P4 ZETBMS027S 3P 130 - 25 - 60 20 15 18 4 3 *
M30 x 3.5 P5 ZETBMTO30T 3P 135 = 30 = 62 23 17 20 4 3 x

*»=5% REE(+F ULE) m Think threads with

YAMAWA CATALOG ~ §]



R YAMAWA




SL

@ ALO|12 &

o

—

f

l<
:
:

(AT AR

] —wemTEErEE——
-!m-.ff {1

=o13E)

LINE UP

AU+SL TIN ZE ALIO|2H
SU+SL SET EIAZE A0S B

i 502 91f

==



2 ALOIFHARZ(EUTLE)
L £ | n | 8 | Ds | K | &

AU+SL T

Y FTTYE Anjo|2H

@
SL

ES

AHOZAY W 2EESFE | 01X 85 2
High carbon steels Stainless steels Alumninum alloy castings Zinc alloy castings

10- 204102041020 2030

(m/min) i (m/min)

N[EEy
Low carbon steels

W 420 5%
@ SH|SZ ALO|R 3 MESI0] & 7t JHOIM = QFYE E BiEY &
[

SIOIA] ARIZATEX] B TPFBHOIA & sy 2
@ 20[x} Zfoloja} BRI2kE FR0| 0jA2t OFo] Listo] MR0| HUEE BfxI7E|0s,
DHUZ 0fEl 40| 3 WU U TS QRIS 9l 4aLolo| 0
TX|SHD AR2bR0] 7|9t S22 ZAoletAALIT
folst T30l ChS Jks
Bjo| S(LOHRY, LR, LHE A

o= ) =]
Helet m|7tExHol| chE e 4= UASLICE ot =84 BARO| = 0 HetstL|Ct

et

ol T Y

W EHZH|OIE
7k2 =7 [M6x1]
IS SCM440
RIHTIE | ¢5.0

LEAFHIZ 201 | 9mm (£27Y)

BT &% | 15m/min MMSH I-Y 3IWS
13 XS (A HIE] CHEXOR QX[5t7] sl
BT QU | 224 AR (FHA 3|A) AR Eof 0P gHELUCH

P YAMAWA

100 vamAwa caTALOG



R
20| 2

43zl | 433 u;f?-% *Pﬁa’é‘"

m

r

0
o
2
=1lo

S

L ? n s Ds K 2k
[ TYPE: 1 ]
Ds K
_| — ] )
Y/ Y/
‘gn ‘gs : K
L
[TYPE: 2 N [ TvPE: 3 P N SL
Ds K Ds ESuLEE
Y/ i K Y I
2 2 K
L L

EF:1S
= = L 2 n £s Ds K {3

O[E{LIALES
M3 x 0.5 P2  VSAPQ3.0GL 5P 46 9 14 26 4 32 6 3 1
M4 x 0.7 P3  VSAPR4.OIL 5P 52 1 17 29 5 4 7 3 1
M5 x 0.8 P3  VSAPRS.OKL 5P 60 13 22 33 55 45 7 3 1
M6 x 1 P3  VSAPRG.OML 5P 62 15 26 33 6 45 7 3 1
M8 x 1.25 P3  VSAPRS.ONL 5P 70 19 - 36 62 5 8 3 2
M8 x 1 P3  VSAPRS.OML 5P 70 19 - 36 62 5 8 3 2
M10 % 1.5 P3  VSAPRO10OL 5P 75 23 - 38 7 55 8 3 2
M10 x 1.25 P3  VSAPROTONL 5P 75 23 - 38 7 55 8 3 2
M10 x 1 P3  VSAPROIOML 5P 75 23 - 38 7 55 8 3 2
M12 x 1.75 P4 VSAPSO12PL 5P 82 26 - 42 85 65 9 3 2
M12 x 1.5 P3  VSAPRO120L 5P 82 26 - 42 85 65 9 3 2
M12 x 1.25 P3  VSAPROI2NL 5P 82 26 - 42 85 65 9 3 2
M4 x 2 P4  VSAPSO14QL 5P 88 26 - 45 105 8 11 3 2
M4 x 1.5 P3  VSAPRO14OL 5P 88 26 - 45 105 8 1M 3 2
M16 x 2 P4  VSAPSO16QL 5P 95 26 - 48 125 10 13 3 2
M16 x 1.5 P3  VSAPRO16OL 5P 95 26 - 48 125 10 13 3 2
M18 x 2.5 P4 VSAPSOI8RL 5P 100 33 - 5 14 1N 14 4 2
M18 x 1.5 P4 VSAPSO18OL 5P 100 33 - 5 14 1N 14 4 2
M20 x 2.5 P4 VSAPSO20RL 5P 105 33 - 50 15 12 15 4 3
M20 x 1.5 P4 VSAPS0200L 5P 105 33 - 5 15 12 15 4 3

*=53 REF(+F YUF) m Think threads with

YAMAWA

vamawa catatoe 101



A= [ 2]

o | Ghor | wmEe | w33 | 30s el

n s | Ds K 2k

)
(&)

—
)

YAMAWA

SU+SL
m AHIYAE FZE 2 Anjo|2iEd

A I 7HE A} A EHE &

TEtAZ SEAY =) HEE; ARl AZ
Low carbon steels Medium carbon steels Stainless steels

SL
HOEE W40 EY
@ 713 Zopt FEHX| D Bt MZ0l AR A S HIRSI| IEZ, S2|2HIZ0) 2 1Y 7+30l| oiL MEtet|ct
@ HE £ : 5~15m/min
@ SUS3040{|M SU-PO2| 3t O|AfS] 37 £ HS AHsIH, 2,0002 7t2 = LA T3 0| OfZHHE kst QHLIAL SA T SHAIBH Tt
@ IH|EZ! ATIO|HZS MEHSIO SU-POO]| H|sH ! HIEAMS SFAA|IF| D 274+HE HARIMSLICE
[ | EH’I'|31|0|E1
FZ =7 M5 x 0.8]
IS SUS304 (90HRB)
2IE XE ¢4.2
LEAFMIZ 201 | 12mm (E27H)
HE &5 15m/min
1A 22 HAY M
EHE 2l ELEH MR (RS
W AE HA=E
[ HE= =
5 m/min 10 m/min 15m/min 20 m/min 30 m/min
LotSTHE : | : : : LOHSTHE
it : == : : ! e
ABIY A ; ZEN-P : : ; ABIY A
SUS3163 : g g : : SUS3163
A : : : : : A
Eil Eil
dl | SUS304 ] SUS304 | &
A A
2 . 1 2
SU+PO I
SUS303 SU-PO s SUS303
i LSS
5 m/min 10 m/min 15m/min~ 20m/min 30 m/min
Z3:18
== = o o L 2 2 2 D K 2k A
OJE{LIAE
M3 x 0.5 P2 SUPQ3.0GL 5P 46 9 14 26 4 3.2 6 3 1 19,320
M4 x 0.7 P2 SUPQ4.0IL 5P 52 1 17 29 5 4 7 3 1 18,540
M5 x 0.8 P3 SUPR5.0KL 5P 60 13 22 33 55 4.5 7 3 1 18,990
M6 x 1 P2 SUPQ6.0ML 5P 62 15 26 33 6 4.5 7 3 1 19,970
TYPE : 1 ]
Ds K
_| — ]
QEEQ Vi A K
Sou OIENHE | ahEm z Zs
Think threads with HZ0 EFM EEE et L
X YAMAWA i '

102 vAmAwA caTALOG



AR T

P YAMAWA



37101

X
o

1

<

=
KO
T

FE!

:|

S | o) K& — oo o
2 gk e .
o) 2 | —
2 2 NE
oo
o2 4 A0 —_— O|0o O
al .
oo LT il |
25 3% =
anrs - o0
o %] Tl
+ ES ol |
< | 2] - olo|o
o L 2R 2K 4
2| 5] -
o @»
=
T | o | O
2| [
) -—
=2
WE IQ (OB N6
& -—
-
(] -— 0|0
< -—
-— ©0|0
m. o|olo e
2]
o IO o
o
g -
— | O | O 20 | 0
N L KE | KR & 4
b il o Sl m| & ool S
P N P P A O N X on | LI} !
WX | o R0 Ao N0 AG Ay | RO s || K| @ | o | KF | w0 | g | [ PD | g | || 3O
B i R S B T B Y S O = - T = = T e B e T I
= K| = %0 el ETmHEHUW_ﬁ
%0 = - =zl=lx 4 ou E__ﬂmn_._LO. z_EEHE
@m_._._al ) MUHMHUUU °
~ | % o |23 m| 2|0 = .
| SEl D =R AR AR
= =2} - |S|T|er|%|m|w|I|T
olll Ok ERCRE=S
3. |slglglgle 3
B3| o I ||| |8|S|lo|lo|8 23| Q |2 |2]8
%mm%%%%mm%SFmCBmPAQMm
~% w|lw|w|w <
n N | ™| W0

PO
ZoIEEY

Think threads with

DX YAMAWA

YAMAWA CATALOG

104



g eiEs
HMAO | A8
-  ©=3

5271289 |sre1eTes

SU+PO LS-SU-S- ~ o " Y BV g Z-PRO N
SU-PO PO S-PO POV LS-PO V EH-PO PM-PO LS-PM-PO MC-PO VUPO ZEN-P

AHYAZ

PO
% ol

§
= |T,
L 2 * * L 2 L 2 * L 2 * * L 2 L 2
L 2
L 2
©) [©) @) * o . ©) @) * ©) ©)
@) o @) * o * @) ©) * ©) @)
@) O ©) * o . ©) o ©) o ©) * o
@) @) * o * ©) @) * ©)
[©) ©) [©)
©) ©) ©)
©) o * (@) ©)
* O
¢ O

P YAMAWA

yamAwA caTaLoc 109



2
&)

W | o | #2200 | 438 | yioa |waivio

n s | Ds K 2k

—
)

Z-pro

SH

ATjo|2iey

sEAZ
H T Medium carbon steels

AR FA Ko 22 H|ASS| Z{OILi0], Ho| AZL 2 ELX| =5 HA[5H0]
A =] 6:;:

= == g I
Ho= 2Igt Holizt glof £2 7ol 25| 452 LRI,

D
Clo|A
LD
MEt=Z
B PO2t+ PO2| X[O[Z0i| CHH A
DE=IN =
PO EEZHUOL; HAILMES SX% 7t58 +PO  HAIEHE 34 7t58/87| 0lS 2
HE © A2IZ PO (F27E8) EYA AZZX + PO (FEFYE)
kS| : Iy paES=E 8y : [=kES] ES=E
N-PO PO M1.2"M50 N+PO +PO M3~M6
2IZE 0IQ(EZE HA 5)9| JHEHM 20HE L3ELICL ItBI19t ST 0IS(RIXE) IIS0IM 2HE L2BLIC

* DT 7HS BHE0| S| T E HE HoIE JLIC

W SEHAE

g 2
212t == — e 22t
S5m/min 10m/min 15m/min 20m/min
WoHE e R E IR D12 e
§ | sou - sow | E
o SCr — SCr o
2 | sssc 1 S
g i g
3 | s4sC s45C | Z
_ | sasc | S45C | o
=) =)
! A 1
Z | s30C PO [ +PO | ssc | 3
s30C A | s3oc
; : | ;
$5400 M : $5400
ot | S—— —_— ot

5 m/min 10 m/min 15 m/min 20 m/min
I8 Jts YHIE £otakst 010IXIALLCH

P YAMAWA

106 vavawa caTALOG



i I s M O A
L ? n s Ds K 2k
- —
Ed{A A|2|X ZOIERH
W A MIE S ~ 112 7FS0M 571013
MAEH O] 737t =M Y &5 7|‘60||’5|%".5_|"§'§E._|:r"%" 7188 ZQIE RHAUL|CE

vss Bl

Afo|= sg

EF1E

= L 2 n s Ds K 1{3 =

DJE{LALR
M1.8 x 0.35 P2 POQ1.8D 5p 42 6.3 o 27 3 2.5 5 2 2 38,300
M2 x 0.4 P2 POQ2.0E 5p 42 7.2 12 27 3 2.5 5 3 3 25,120
M2.2 x 0.45 P2 POQ2.2F 5P 42 81 12 27 3 25 5 3 3 30,260
M2.3x 0.4 P2 POQ2.3E 5p 42 7.2 12 27 3 2.5 5 3 3 23,210
M2.5 x 0.45 P2 POQ2.5F 5p 46 8.1 14 29 3 25 5 3 3 21,880
M3 x 0.5 P2 PNPQ3.0G 5p 46 9 14 26 4 3.2 6 3 1 13,490
M3.5 x 0.6 P2 PNPQ3.5H 5P 52 " 16 29 5 4 7 3 1 20,790
M4 x 0.7 P2 PNPQ4.0I 5p 52 k| 17 29 5 4 7 3 1 13,040
M5 x 0.8 P2 PNPQ5.0K 5P 60 13 22 33 5.5 4.5 7 3 1 13,200
M6 x 1 P2 PNPQ6.0M 5p 62 15 26 33 6 4.5 7 3 1 14,110
[ TYPE : 1 ] [ TYPE :2 n
Ds K Ds K
= — — = _ _ =)
Iy I
2 2 K 2 96 1 /K
L L
TYPE :3 N TYPE :4 ]
Ds K Ds K
- - - ] B i | - X
4 Yk K 4 A K
«gn 'gS gn 'gS
A L L
TYPE :5 N TYPE :6 7
Ds K Ds
4 4« K VR O
4s Os
L L
TYPE :7 7 TYPE :8 n
Ds K _ Ds K
Y y/m J | Iy Nk
2 K 2
L L

Think threads with

YAMAWA

YAMAWA CATALOG

PO

ZoIEEY

107




w | T | G |30 w92 | 3 el
L ? n s | Ds K 2k
=
PO HQIEH ragie
O/E{LIALE
M1.0 X 0.25 P1 PNP1.0B 5p 32 55 - 24 3 25 5 2 1 53,790
M12 x 0.25 P1 POP1.2B 5p 36 45 - 24 3 25 5 2 1
M1.4 x 0.3 P1 POP1.4C 5p 36 54 - 24 3 25 5 2 1 44,160
M1.4 x 0.3 P2 POQ1.4C 5p 36 54 - 24 3 25 5 2 1
M14 x 0.3 P3 POR1.4C 5p 36 54 - 24 3 25 5 2 1 x
M1.6 x 0.35 P2 POQ1.6D 5p 36 6.3 - 24 3 25 5 2 2 42,180
M1.6 x 0.35 P3 POR1.6D 5p 36 6.3 - 24 3 25 5 2 2 x
M1.7 x 0.35 P2 POQ1.7D 5p 36 6.3 - 24 3 25 5 2 2 35,890
1':,'5% M1.7 x 0.35 P3 POR1.7D 5p 36 6.3 - 24 3 25 5 2 2
M1.7 x 0.35 P4 POS1.7D 5p 36 6.3 - 24 3 25 5 2 2 x
M1.8 x 0.35 P2 POQ1.8D 5p 42 63 - 27 3 25 5 2 2
M2 x 0.4 P2 POQ2.0E 5p 42 72 12 27 3 25 5 3 3
M2 x 0.4 P3 POR2.0E 5p 42 72 12 27 3 25 5 3 3
M2 x 0.4 P4 POS2.0E 5p 2 72 12 27 3 25 5 3 3
M2 x 0.25 P1 POP2.0B 5p 42 45 12 27 3 25 5 3 4 49 390
M2.2 x 0.45 P2 POQ2.2F 5p 42 81 12 27 3 25 5 3 3
M2.2 x 0.25 P2 POQ2.2B 5p 42 45 12 27 3 25 5 3 4 X
M2.3 x 0.4 P2 POQ2.3E 5p 42 72 12 27 3 25 5 3 3
M2.3 x 0.4  P3 POR2.3E 5p 42 72 12 27 3 25 5 3 3
M2.3 x 0.4 P4 POS2.3E 5p 42 72 12 27 3 25 5 3 3 *
M2.5 x 0.45 P2 POQ2.5F 5p 46 81 14 29 3 25 5 3 3
M2.5 x 0.45 P3 POR2.5F 5p 46 81 14 29 3 25 5 3 3
M2.5 x 0.45 P4 POS2.5F 5p 46 81 14 29 3 25 5 3 3 *
M2.5 x 0.35 P2 POQ2.5D 5p 46 63 14 29 3 25 5 3 4 *
M2.6 x 0.45 P2 POQ2.6F 5p 46 81 14 29 3 25 5 3 3 17,100
M2.6 x 0.45 P3 POR2.6F 5p 46 81 14 29 3 25 5 3 3
M2.6 x 0.45 P4 POS2.6F 5p 46 81 14 29 3 25 5 3 3 X
M2.6 x 0.35 P2 POQ2.6D 5p 46 63 14 29 3 25 5 3 4 *
M3 x 0.5 P2 POQ3.0G 5p 46 9 14 26 4 32 6 3 3
M3 x 0.5 P3 POR3.0G 5p 46 9 14 26 4 32 6 3 3
M3 x 0.5 P4 POS3.0G 5p 46 9 14 26 4 32 6 3 3
M3 x 0.6 P2 POQ3.0H 5p 46 9 14 26 4 32 6 3 3 x
M3 x 0.35 P2 POQ3.0D 5p 46 65 14 26 4 32 6 3 4 *
M35 x 0.6 P2 POQ3.5H 5p 52 1 16 29 5 7 3 3
M35 x 0.6  P3 POR3.5H 5p 52 11 16 29 5 4 7 3 3 X
M35 x 0.6 P4 POS3.5H 5p 52 1 16 29 5 4 7 3 3 *
M3.5 x 0.35 P2 POQ3.5D 5p 52 65 16 29 5 4 7 3 4 #
M4 x 0.7 P2 POQA4.0I 5p 52 1 17 29 5 4 7 3 3
M4 x 0.7 P3 PORA4.0I 5p 52 1 17 29 5 4 7 3 3
M4 x 0.7 P4 POS4.01 5p 52 1 17 29 5 4 7 3 3
M4 x 0.75 P2 POQ4.0J 5p 52 1 17 29 5 4 7 3 3 x
M4 x 0.5 P2 POQ4.0G 5p 52 9 17 29 5 4 7 3 4 23,910
M4.5 x 0.75 P2 POQ4.5J 5p 60 13 21 33 55 45 7 3 3 x
M45 x 0.5 P2 POQ4.5G 5p 60 9 21 33 55 45 7 3 4 *
M5 x 0.8 P2 POQ5.0K 5p 60 13 22 33 55 45 7 3 3
M5 x 0.8 P3 POR5.0K 5p 60 13 22 33 55 45 7 3 3
M5 x 0.8 P4 POS5.0K 5p 60 13 22 33 55 45 7 3 3
M5 x 0.9 P2 POQ5.0L 5p 60 13 22 33 55 45 7 3 3 *
M5 x 0.5 P2 POQ5.0G 5p 60 9 22 33 55 45 7 3 4

P YAMAWA

108 vamAwA caTALOG



sy | U | SB[ waze | w3 | AL | i
L ? n s | Ds K 2k
PO XOIEEH4
M5.5 x 0.9 POQ5.5L 5p 62 15 26 33 6 45 7 3 3 &
M55 x 0.5 P2 POQ5.5G 5p 62 9 26 33 6 45 7 3 4 *
M6 x 1 P2 POQ6.0M 5p 62 15 26 33 6 45 7 3 3
M6 x 1 P3 POR6.0M 5p 62 15 26 33 6 45 7 3 3
M6 x 1 P4 POS6.0M 5p 62 15 26 33 6 45 7 3 3
M6 x 0.75 P2 POQ6.0J 5p 62 15 26 33 6 45 7 3 3
M6 x 0.75 P3 POR6.0J 5p 62 15 26 33 6 45 7 3 3 X
M6 x 0.5 P2 POQ6.0G 5p 62 9 26 33 6 45 7 3 4 *
M7 X 1 P2 POQ7.0M 5p 70 19 - 36 62 5 8 3 5
M7 x 1 P3 POR7.0M 5p 70 19 - 36 62 5 8 3 5 X E_EJ
M7 % 0.75 P2 POQ7.0J 5p 70 19 - 36 62 5 8 3 5 x
M7 % 0.75 P3 POR7.0J 5P 70 19 - 36 62 5 8 3 5 X
M7 % 0.5 P2 POQ7.0G 5p 70 10 - 36 62 5 8 3 6 X
M8 x 1.25 P3 PORS.ON 5P 70 19 - 36 62 5 8 3 5 19,370
M8 x 1.25 P4 POS8.0N 5p 70 19 - 36 62 5 8 3 5
M8 X 1 P3 PORS.0M 5p 70 19 - 36 62 5 8 3 5
M8 x 1 P4 POS8.0M 5p 70 19 - 36 62 5 8 3 5 %
M8 % 0.75 P3 PORS.0.J 5p 70 19 - 36 62 5 8 3 5
M8 X 0.5 P2 POQ8.0G 5p 70 10 - 36 62 5 8 3 6 ><
M9 X 1.25 P3 POR9.0N 5p 75 23 - 38 7 55 8 3 5 X
M9 x 1 P3 POR9.0M 5P 75 23 - 38 7 55 8 3 5 S
M9 x 0.75 P3 POR9.0J 5p 75 13 - 38 7 55 8 3 6 *
M9 x 0.5 P2 POQ9.0G 5p 75 1 - 38 7 55 8 3 6 &
M10 x 1.5 P3 POR0100 5p 75 23 - 38 7 55 8 3 5 25 460
M10 % 1.5 P4 POS0100 5p 75 23 - 38 7 55 8 3 5
M10 x 1.25  P3 PORO10N 5p 75 23 - 38 7 55 8 3 5 25 460
M10 x 125 P4 POSO10N 5p 75 23 - 38 7 55 8 3 5 %
M10 x 1 P3  POROIOM 5p 75 23 - 38 7 55 8 3 5
M10 % 1 P4 POSO10M 5p 75 23 - 38 7 55 8 3 5 =
M10 x 0.75 P3 POR010J 5p 75 13 - 38 7 55 8 3 6 x
M10 x 0.5 P2 POQO10G 5p 75 N - 38 7 55 8 3 6 G
M1 % 1.5 P4 POS0110 5p 82 26 - 42 85 65 9 3 5 x
M11 x 125  P3 PORO1IN 5p 82 26 - 42 85 65 9 3 5 X
M1 % 1 P3 PORO1TIM 5P 82 26 - 42 85 65 9 3 5 x
M11 x 0.75 P3 PORO11J 5p 82 14 - 42 85 65 9 3 6 %
M1 x 05 P2 POQO11G 5p 82 12 - 42 85 65 9 3 6 #
M12 x 1.75 P4 POSO012P 5p 82 26 - 42 85 65 9 3 5 35,840
M12 x 1.75  P5 POTO12P 5p 82 26 - 42 85 65 9 3 5 x
M12 x 1.75  P6 POUO12P 5p 82 26 - 42 85 65 9 3 5 S
M12 x 1.5 P3 POR0120 5p 82 26 - 42 85 65 9 3 5 35,840
M12 x 1.5 P4 POS0120 5p 82 26 - 42 85 65 9 3 5 X
M12 x 1.5 P5 POTO0120 5p 82 26 - 42 85 65 9 3 5 X
M12 x 125 P4 POSO12N 5P 82 26 - 42 85 65 9 3 5 35,840
M12 x 125  P5 POTO12N 5p 82 26 - 42 85 65 9 3 5 x
M12 x 1 P3  POROI2M 5p 82 26 - 42 85 65 9 3 5
M12 % 1 P4 POSO12M 5p 82 26 - 42 85 65 9 3 5 x
M12 x 0.75 P3 POR012J 5p 82 14 - 42 85 65 9 3 6 *
M12 x 05 P2 POQO12G 5p 82 12 - 42 85 65 9 3 6 #
M13 x 1.75 P4 POS013P 5p 88 26 - 45 105 8 M 3 5 S
M13 x 1.5 P3 POR0130 5p 88 26 - 45 105 8 1 3 5 x

%=EX QEZ (4T MAE) m Think threads with

vamawa cataloc 109



el E]
AR E | Az o]

2k

2
&)

V=R N
20| 2o|

I—
)
)
=
o
w
O
[%2)
~

PO ZOIEFHY

= = L ? n £s Ds K 2k
3 5p 88 26 - 45 8 1 3 5 *

M13 x 1 P POR0O13M 10.5
M13 x 0.75 P3 PORO013J 5p 88 14 - 45 105 8 1 3 6 e
M13 x 0.5 P2 POQO013G 5P 88 12 - 45 10.5 8 i 3 6 X
M14 x 2 P4 POS014Q 5P 88 26 = 45 10.5 8 n 3 5 49,290
M14 x 2 P5 POT014Q 5p 88 26 - 45 105 8 M 3 5 *
M14 x 1.5 P3 POR0140 5P 88 26 & 45 10.5 8 1 3 5 49,290
M14 x 1.5 P4 POS0140 5p 88 26 - 45 105 8 1 3 5 *
M14 x 1.5 P5 POT0140 5p 88 26 - 45 105 8 1 3 5 &
M14 x 1.25 P3 PORO14N 5P 88 26 - 45 10.5 8 n 3 5 x
EE'EQJ M14 % 1 P3 PORO14M 5p 88 26 - 45 105 8 1 3 5
M14 x 1 P4 POS014M 5P 88 26 - 45 10.5 8 " 3 5 x
M14 x 0.75 P3 POR014J 5p 88 15 - 45 105 8 1 3 6 &
M14 x 0.5 P2 POQO14G 5p 88 12 - 45 105 8 1 3 6 x
M15 x 2 P4 POS015Q 5p 95 26 - 48 125 10 13 3 5 &
M15 x 1.5 P3 POR0150 5p 95 26 - 48 125 10 13 3 5 x
M15 x 1 P3 PORO15M 5p 95 26 - 48 125 10 13 3 5 2
M16 x 2 P4 POS016Q 5p 95 26 - 48 125 10 13 3 5 65,670
M16 x 2 P5 POT016Q 5p 95 26 - 48 125 10 13 3 5 &
M16 x 2 P6 POU016Q 5P 95 26 - 48 125 10 13 3 5 x
M16 x 1.5 P3 POR0160 5p 95 26 - 48 125 10 13 3 5 65,670
M16 x 1.5 P4 POS0160 5P 95 26 - 48 12.5 10 13 3 5 *
M16 x 1.5 P5 POT0160 5p 95 26 - 48 125 10 13 3 5 e
M16 x 1.25 P3 PORO16N 5p 95 26 - 48 125 10 13 3 5 *
M16 % 1 P3 PORO16M 5P 95 26 = 48 12.5 10 13 3 5
M17 x 1.5 P4 POS0170 5P 100 33 - 51 14 1" 14 3 5 *
M17 % 1 P4 POS017M 5p 100 18 - 51 1“4 N 14 3 6 =
M18 x 2.5 P4 POS018R 5P 100 33 - 51 14 1 14 3 5 89,640
M18 x 2.5 P5 POTO18R 5p 100 33 - 51 1“4 N 14 3 5 &
M18 x 2 P4 POS018Q 5P 100 33 - 51 14 1 14 3 5 x
M18 x 1.5 P4 POS0180 5P 100 33 - 51 14 1 14 3 5
M18 x 1.5 P5 POT0180 5P 100 33 - 51 14 1 14 3 5 x
M18 x 1.25 P3 PORO18N 5P 100 33 = 51 14 1 14 3 5 S
M18 x 1 P3 PORO18M 5P 100 18 - 51 14 1 14 3 6
M19 x 1.5 P4 POS0190 5P 105 33 = 50 15 12 15 3 7 &S
M19 x 1 P3 POROT9M 5p 105 18 - 50 15 12 15 3 8 x
M20 x 2.5 P4 POS020R 5p 105 33 - 50 15 12 15 3 7 105,660
M20 x 2.5 P5 POTO20R 5p 105 33 - 50 1B 12 15 3 7 .
M20 x 2.5 P6 POUO20R 5p 105 33 - 50 15 12 15 3 7 B
M20 x 2 P4 P0OS020Q 5P 105 33 - 50 15 12 15 3 7 x
M20 x 1.5 P4 POS0200 5p 105 33 - 50 15 12 15 3 7
M20 x 1.5 P5 POT0200 5P 105 33 - 50 15 12 15 3 7 x
M20 x 1 P3 POR020M 5p 105 18 - 50 15 12 15 3 8
M22 x 2.5 P4 POS022R 5P 115 33 - 55 17 13 16 3 7
M22 x 2.5 P5 POTO022R 5p 15 33 - 55 17 13 16 3 7 &
M22 x 2 P4 P0OS022Q 5P 115 33 - 55 17 13 16 3 7 x
M22 x 1.5 P4 POS0220 5P 115 33 = 55 17 13 16 3 7
M22 x 1.5 P5 POT0220 5p 15 33 - 55 17 13 16 3 7 *
M22 x 1 P3 POR022M 5P 115 19 - 55 17 13 16 3 8 Bt
M24 x 3 P4 P0OS024S 5P 120 39 - 55 19 15 18 3 7 170,700
M24 x 3 P5 POT024S 5P 120 39 = 55 19 15 18 3 7 S

P YAMAWA

110 vamawa caTALOG



ChAR
20| 2

vazol | w3z |, 0s |l

m

ra

03
o
2
=1lo

S

L ? n s | Ds K 2k
PO IOIEEH
M24 x 3 P6 POU024S 120
M24 x 2 P4 P0S024Q 5P 120 39 - 55 19 15 18 3 7
M24 x 1.5 P4 P0OS0240 5P 120 39 - 55 19 15 18 3 7
M24 x 1.5 P5 POT0240 5P 120 39 - 55 19 15 18 3 7 S
M24 x 1 P3  POR024M 5P 120 19 - 55 19 15 18 3 8 x
M25 x 2 P4 POS025Q 5P 125 39 - 58 19 15 18 3 7 H
M25 x 1.5 P4 POS0250 5P 125 39 - 58 19 15 18 3 7
M25 x 1 P3  POR025M 5P 125 20 - 58 19 15 18 3 8 X
M26 x 3 P4 POS026S 5P 130 39 - 60 20 15 18 4 7 X
M26 x 2 P4 P0OS026Q 5P 130 39 - 60 20 15 18 4 7 = E_EJ
M26 x 1.5 P4 P0S0260 5P 130 39 - 60 20 15 18 4 7
M26 x 1 P3  POR026M 5P 130 20 - 60 20 15 18 4 8 x
M27 x 3 P4 P0OS027S 5P 130 39 - 60 20 15 18 4 7
M27 x 2 P4 P0OS027Q 5P 130 39 - 60 20 15 18 4 7 x
M27 x 1.5 P4 P0OS0270 5P 130 39 - 60 20 15 18 4 7
M27 x 1 P3  POR027M 5P 130 20 - 60 20 15 18 4 8 S
M28 x 2 P4 POS028Q 5P 135 46 - 62 23 17 20 4 7 *
M28 x 1.5 P4 P0OS0280 5P 135 46 - 62 23 17 20 4 7 X
M28 x 1 P3  POR028M 5P 135 20 - 62 23 17 20 4 8 x
M30 x 3.5 P5 POTO30T 5P 135 46 - 62 23 17 20 4 7
M30 x 3 P4 POS030S 5P 135 46 - 62 23 17 20 4 7 x
M30 x 2 P4 POS030Q 5P 135 46 - 62 23 17 20 4 7
M30 x 1.5 P4 POS0300 5P 135 46 - 62 23 17 20 4 7
M30 x 1 P3  PORO30M 5P 135 21 - 62 23 17 20 4 8 S
M32 x 3 P4 POMS032S 5P 145 46 - 67 24 19 22 4 7 S
M32 x 2 P4  POMS032Q 5P 145 46 - 67 24 19 22 4 7 x
M32 x 1.5 P4 POMS0320 5P 145 46 - 67 24 19 22 4 7 X
M33 x 3.5 P5 POMTO33T 5P 145 46 - 67 25 19 22 4 7
M33 x 3 P4  POMS033S 5P 145 46 - 67 25 19 22 4 7 #
M33 x 2 P4 POMS033Q 5P 145 46 - 67 25 19 22 4 7 *
M33 x 1.5 P4 POMS0330 5P 145 468 - 67 25 19 22 4 7 #
M34 x 2 P4 POMS034Q 5P 155 52 - 71 28 21 24 4 7 S
M34 x 1.5 P4  POMS0340 5P 155 26 - 71 28 21 24 4 8 x
M35 x 2 P4  POMS035Q 5P 155 52 - 71 28 21 24 4 7 S
M35 x 1.5 P4  POMS0350 5P 155 26 - 71 28 21 24 4 8 S
M36 x 4 P5 POMTO36U 5P 155 52 - 71 28 21 24 4 7
M36 x 3 P4 POMS036S 5P 155 52 - 717 28 21 24 4 7 x
M36 x 2 P4 POMS036Q 5P 155 52 - 71 28 21 24 4 7 X
M36 x 1.5 P4  POMS0360 5P 155 26 - 71 28 21 24 4 8 x
M38 x 2 P4 POMS038Q 5P 165 52 - 76 30 23 26 4 7 x
M38 x 1.5 P4  POMS0380 5P 165 26 - 76 30 23 26 4 8 x
M39 x 4 P5 POMTO39U 5P 165 52 - 76 30 23 26 4 7 #
M39 x 3 P4 POMS039S 5P 165 52 - 76 30 23 26 4 7 S
M39 x 2 P4  POMS039Q 5P 165 52 - 76 30 23 26 4 7 #
M39 x 1.5 P4 POMS0390 5P 165 26 - 76 30 23 26 4 8 x
M40 x 3 P4 POMS040S 5P 175 59 - 81 32 26 30 4 7 x
M40 x 2 P4 POMS040Q 5P 175 59 - 8 32 26 30 4 7 X
M40 x 1.5 P4  POMS0400 5P 175 27 - 81 32 26 30 4 8 x
M42 x 4.5 P5  POMT042V 5P 175 59 - 81 32 26 30 4 7 #
M42 x 3 P4 POMS042S 5P 175 59 - 81 32 26 30 4 7 x

S=EX OEII(AX AALZ
*»=E4 REE(+F YUI) m Think threads with

yamawa cataLoe 111



PO

ZoIEEY

112

PO EQIEEH

M42 x 2

M42 x 1.5
M45 x 4.5
M45 x 3
M45 x 2
M45 x 1.5
M48 x 5
M48 x 3
M48 x 2
M48 x 1.5
M50 x 1.5

No.0-80UNF
No.1-64UNC
No.1-72UNF
No.2-56UNC
No.2-64UNF
No.3-48UNC
No.3-56UNF
No.4-40UNC
No.4-48UNF
No.5-40UNC
No.5-44UNF
No.6-32UNC
No.6-40UNF
No.8-32UNC
No.8-36UNF
No.10-24UNC
No.10-32UNF
No.12-24UNC
No.12-28UNF
1/4-20UNC
1/4-28UNF
1/4-32UNEF
5/16-18UNC
5/16-24UNF
5/16-32UNEF
3/8-16UNC
3/8-24UNF
3/8-32UNEF
7/16-14UNC
7/16-20UNF
7/16-28UNEF
1/2-13UNC
1/2-20UNF
1/2-28UNEF
9/16-12UNC
9/16-18UNF

Think threads with

YAMAWA

YAMAWA CATALOG

P4
P4
P5
P4
P4
P4
P5
P4
P4
P4
P4

P1
P1
P1
P1
P1
P1
P1
P2
P1
P2
P1
P2
P2
P2
P2
P2
P2
P2
P2
P2
P2
P2
P3
P2
P2
P3
P2
P2
P3
P3
P2
P3
P3
P2
P3
P3

H4FEIE
POMS042Q
POMS0420
POMTO045V
POMS045S
POMS045Q
POMS0450
POMT048W
POMS048S
POMS048Q
POMS0480
POS0500

POPUNOB
POPUN1D
POPUN1C
POPUN2E
POPUN2D
POPUN3F
POPUN3E
POQUN4H
POPUNA4F
POQUNSH
POPUNSG
POQUNGJ
POQUNGH
POQUN8J
POQUNSI
POQUNAM
POQUNAJ
POQUNCM
POQUNCK
POQUO4N
POQUO4K
POQU04J
PORUO50
POQUOSM
POQUO5J
PORUOGP
POQUOGM
POQUO06J
PORUO7Q
PORUO7N
POQUO7K
PORUO8R
PORUO8N
POQUO8K
PORU09S
PORU0S0O

e L 2 &n s Ds K 2k A
iy | Lo |t | o |t | | 8 [ 70|
P 59 - 81 32 26 30 4 7

5 175
5P 175
5P 180
5P 180
5P 180
5P 180
5P 185
5P 185
5P 185
5P 185
5P 145
5P 36
5P 42
5P 42
5P 42
5P 42
5P 46
5P 46
5P 46
5P 46
5P 52
5P 52
5P 52
5P 52
5P 60
5P 60
5P 60
5P 60
5P 62
5P 62
5P 62
5P 62
5P 62
5P 70
5P 70
5P 70
5P 75
5P 75
5P 75
5P 82
5P 82
5P 82
5P 88
5P 88
5P 88
5P 95
5P 95

27 -
59 -
59 =
59 -
27 =
65 -
65 =
65 -
28 -
45 -
QUITOILIAR
6.3 -

7.2 -
7.2 -
8.1 12
8.1 12
8.1 14
8.1 14

9 14

9 14
1 16
1 16
1 17
1 17
13 22
13 22
13 22
13 22
15 26
15 26
15 26
15 26
15 26
19 -
19 -
19 -
23 -
23 -
13 -
26 -
26 -
26 -
26 -
26 -
26 -
26 -
26 -

2
&)

LEAPs
Zo|

El E]

ARIRE | AREE Zo|

—

K 2k

81
83
83
83
83
85
85
85
85
81

24
27
27
27
27
29
29
25
25
28
28
27
27
31
31
32
32
32
32
33
33
33
36
36
36
38
38
38
42
42
42
45
45
45
48
48

32
35
35
35
35
38
38
38
38
40

a o a b~ b O W W WWWwow

5.5
5.5
5.5

6.2
6.2
6.2

8.5
8.5
8.5
10.5
10.5
10.5
12.5
12.5

26
26
26
26
26
29
29
29
29
32

2.5
2.5
2.5
2.5
2.5
2.5
2.5
3.2
3.2
4
4
4
4
4.5
4.5
4.5
4.5
4.5
4.5
4.5
4.5
4.5
5
5
5
515
5.5
515
6.5
6.5
6.5
8
8
8
10
10

30
30
30
30
30
32
32
32
32
35

© © O 0 0 00 0 00 O N N N N N N N N N N N N No o o oo oo oo g aa

Pl T Y—
w w = S 4

A DD DDA DDA DDA D

W W W W W W WwwwwowowowowowowowowowowowowowowowowowowowowowowwnNnNDNDNDN

N 0 N N N 00O NN N oo

o o1 g oo oo g Oo o 001 g 00 WWwWwWWWWWWWWWWWWWWWWWwNDNDN

oK XK X XK X X X X X

63,490

63,490



A
0

| 5B |wawe | waz | dEe

43
Zo| 20| Azt Ap2EEL 20|

FolEEY L 2 on s | Ds K 2k
5/8-11UNC P3 PORU10U 12 5 98,750
5/8-18UNF P3 PORU100 5p 95 26 - 48 125 10 13 3 5 98,750
5/8-24UNEF  P3 PORU1T0OM 5P 95 26 - 48 125 10 13 3 5 *
3/4-10UNC P4 POSU12V 5P 105 33 - 50 15 12 15 3 7 151,860
3/4-16UNF P3 PORU12P 5P 105 33 - 50 15 12 15 3 7 151,860
3/4-20UNEF  P3 PORU12N 5p 105 33 - 50 15 12 15 3 7 #
7/8-9UNC P4 POSU14W 5P 115 33 - 55 17 13 16 3 7 *
7/8-14UNF P3 PORU14Q 5p 115 33 - 55 17 13 16 3 7 x
1-8UNC P4 POSU16X 5P 125 39 - 58 19 15 18 3 7 *
1-12UNF P4 POSU16S 5P 125 39 - 58 19 15 18 3 7 #
1-14UNS P4 POSU16Q 5P 125 39 - 58 19 15 18 3 7 * ED_EEJ
11/8-7UNC P4 POSU18Y 5P 135 46 - 62 23 17 20 4 7 S
11/8-12UNF P4 POSU18S 5p 135 46 - 62 23 17 20 4 7 *
11/4-7UNC P4  POMSU20Y 5P 145 46 - 67 24 19 22 4 7 &3
11/4-12UNF P4 POMSU20S 5p 145 46 - 67 24 19 22 4 7 *
13/8-6UNC P5  POMTU22Z 5P 155 52 - 71 28 21 24 4 7 *
13/8-12UNF P4  POMSU22S 5p 155 52 - 71 28 21 24 4 7 *
11/2-6UNC P5  POMTU24Z 5P 165 52 - 76 30 23 26 4 7 *
11/2-12UNF P4 POMSU24S 5P 165 52 - 76 30 23 26 4 7 *

QEALLIALE

1/8W40 P2 POQWO2H 5P 52 M 16 28 5 4 7 3 3 x
5/32W32 P2 POQW2HJ 5P 52 M 17 29 5 4 7 3 3 &
3/16W24 P2 POQWO3M 5P 60 13 21 32 55 45 7 3 3

7/32W24 P2  POQW3HM 5p 62 15 26 32 6 45 7 3 3 &
1/4W20 P3 PORWO04N 5P 62 15 26 33 6 45 7 3 3

5/16W18 P3 PORW050 5p 70 19 - 36 6.2 5 8 3 5

3/8W16 P3 PORWO6BP 5p 75 23 - 38 7 55 8 3 5

7116W14 P3 PORWO07Q 5P 82 26 - 42 85 6.5 9 3 5 #
1/2W12 P3 PORWO08S 5p 88 26 - 45 105 8 1 3 5

9/16W12 P3 PORWO09S 5P 95 26 - 48 125 10 13 3 5 &
5/8W11 P3 PORW10U 5p 95 26 - 48 125 10 13 3 5

3/4W10 P4 POSW12V 5P 105 33 - 50 15 12 15 3 7

7/8W9 P4 POSW14W 5p 115 33 - 55 17 13 16 3 7 #
1W8 P4 POSW16X 5P 125 39 - 58 19 15 18 3 7 &
11/8W7 P4 POSW18Y 5p 135 46 - 62 23 17 20 4 7 x
11/4W7 P4 POMSW20Y 5P 145 46 - 67 24 19 22 4 7 &
13/8W6 P5  POMTW22Z 5P 155 52 - 71 28 21 24 4 7 *
11/2W6 P5  POMTW24Z 5P 165 52 - 76 30 23 26 4 7 &
2W41/2 P5 POTW329 5p 195 70 - 85 40 32 35 4 7 x

O] LA

3/32SM56 P1 POPSO06E 5P 46 8. 14 29 3 25 5 3 3 *
1/8SM40 P2 POQS08H 5p 52 M 16 28 5 4 7 3 3 =
1/8SM44 P2 POQS08G 5P 52 1 16 28 5 4 7 3 3 #
9/64SM40 P2 POQSO9H 5P 52 1 16 29 5 4 7 3 3 o
11/64SM40 P2 POQSTIH 5p 60 13 21 33 55 45 7 3 3 #
3/165SM28 P2 POQS12K 5P 60 13 21 32 55 45 7 3 3 #
3/16SM32 P2 POQS12J 5p 60 13 21 32 55 45 7 3 3 *
7/32SM32 P2 POQS14J 5P 62 15 26 33 6 45 7 3 3 *
15/64SM28 P2 POQS15K 5P 62 15 26 33 6 45 7 3 3 *
1/4SM24 P2 POQS16M 5p 62 15 26 33 6 45 7 3 3 &
1/4SM40 P2 POQS16H 5P 62 86 26 33 6 45 7 3 4 *

*=SE RES(HF LUF) ng Think threads with

YAMAWA CATALOG 113



7

Think threads with

X YAMAWA

YAMAWA CATALOG

114

R e e T A
L ? n s | Ds K {4
SU+PO e
R SU-PO
AHIHAE EOIEEH (M)A E])
NS
- 7|=0)| mat, AE 7127t LR USLICE
SU+PO “"M2.6
SU-PO M3~, UZHI, WEHI
3559.;1 O] 71382t F=H Bl &
AE{IE"A?I
Stalnleiistéels
(m/min)
W HEe EF
@ 713 3Pt oiX{sHA BT HZQ! AHRIAZE HIRS IEL, S2|2HYC| 7130 Meket &2l 1d 758t
@ S HUX|E 2[oH EHO|| A3t X2[[OX]E stFSLICE
H 4= HA=E
L2 e e
5m/min 10n/min 15n/min 20n/min -~ 30n/min
pJE=3 ES ‘ i ‘ i | LB
ElEHs ? i i 5
6+:E ZETP: : : Eisli}:E
2 : i ? g
= Yz o8 : : Lz |2
&2 e i i e
i — | m
ABIH A | : ‘ : ABIHAZ
SUS316s | ZEN-P c SUS316
A : : | : A
51| sus304 ‘ 1 i g SUS304 | §
A : : A
z et z
SU+PO: :
SUS303 SU_PO : SU+SL EHDlSL SUS303
5 m/min 10 m/min 15m/min -~ 20m/min  30n/min

IS 7t RIS Eotett 0|0 X = LCt.




ag | O RBY Jwaze | war | 5L |
L ? n s Ds K 2k
[ TYPE ;1 ]
Ds K
_' p— p—
Yy
K
Y Ys
L
[ TYPE :2 N [~ TYPE :3 N
5 K Ds K
e R=E -
Y /R K PO
Y g £« K I fs ZolEE
S L
L
TYPE :4 N TYPE :5 N
K
Dy K Ds
Y Ik K Y Bk
‘ 2 K
L L
QHAO|=
SU+PO AEIHAR HQIERH 2o
ﬂlH'—Mf%
M1.4 x 0.3 Pl PUPP1.4C 5p 36 54 - 24 3 25 5 2 1 X
M1.6 x 0.35 P2  PUPQ1.6D 5p 36 63 - 24 3 25 5 2 2 X
M1.7 x 0.35 P2  PUPQL7D 5p 36 6.3 - 24 3 25 5 2 2 #
M2 x 0.4 P2 PUPQ2.0E 5p 42 72 12 27 3 25 5 2 3 28,190
M2 x 0.4 P3  PUPR2.0E 5p 42 72 12 27 3 25 5 2 3
M2.3 x 0.4 P2  PUPQ2.3E 5p 42 72 12 27 3 25 5 2 3
M2.3 x 0.4  P3  PUPR2.3E 5p 42 72 12 27 3 25 5 2 3 %
M2.5 x 0.45 P2  PUPQ2.5F 5p 46 81 14 29 3 25 5 2 3 23,520
M2.5 x 0.45 P3  PUPR25F 5p 46 81 14 29 3 25 5 2 3 x
M2.6 x 0.45 P2  PUPQ2.6F 5p 46 81 14 29 3 25 5 2 3
M2.6 X 0.45 P3  PUPR2.6F 5p 46 81 14 29 3 25 5 2 3 X
FVIES
SU-PO AEHIAE ZOIEEH Fagh.
DIH'—W%
M3 x 0.5 P2 PUMQ3.0G 5P 46 9 14 26 4 32 6 3 3 16,100
M3x 0.5 P3  PUMR3.0G 5p 46 9 14 26 4 32 6 3 3 X
M3x 0.5 P4  PUMS3.0G 5p 46 9 14 26 4 32 6 3 3 X
3M0.6 P2 PUMQ3.0H 5p 46 9 14 26 4 32 6 3 3 X
M35x 0.6 P2  PUMQ3.5H 5p 52 1 16 29 5 4 7 3 3
M4 x 0.7 P2 PUMQ4.0l 5p 52 11 17 29 5 4 7 3 3 15,450
M4 x 0.7 P3  PUMRA4.0I 5p 52 M 17 29 5 4 7 3 3
M4x 0.7 P4 PUMSA4.0I 5p 52 1 17 29 5 4 7 3 3 X

%=X QEZ (4T MME) m Think threads with

YAMAWA

YAMAWA cATALOG 115



PO

ZoIEEY

116

SU-PO  AHIZAS HOIEH

Afo|= s

x 0.75
M5 x 0.8
M5 x 0.8
M5 x 0.8
M5 x 0.9
M6 x 1
M6 x 1
M6 x 1
M6 x 0.75
M7 x 1
M8 x 1.25
M8 x 1.25
M8 x 1.25
M8 x 1
M10 x 1.5
M10 x 1.5
M10 x 1.5
M10 x 1.25
M10 x 1.25
M10 x 1
M12 x 1.75
M12 x 1.75
M12 x 1.5
M12 x 1.5
M12 x 1.25
M12 x 1.25
M12 x 1
M14 x 2
M14 x 2
M14 x 1.5
M14 x 1.5
M14 x 1
M15 x 1.5
M15 x 1
M16 x 2
M16 x 2
M16 x 2
M16 x 1.5
M16 x 1.5
M16 x 1
M18 x 2.5
M18 x 2.5
M18 x 2.5
M18 x 1.5
M18 x 1.5
M20 x 2.5
M20 x 2.5
M20 x 2.5
M20 x 1.5
M20 x 1.5

P YAMAWA

YAMAWA CATALOG

P2
P2
P3
P4
P2
P2
P3
P4
P2
P2
P3
P4
P5
P3
P3
P4
P5
P3
P4
P3
P4
P5
P3
P5
P4
P5
P3
P4
P5
P3
P5
P3
P3
P3
P4
P5
P6
P3
P5
P3
P4
P5
P6
P4
P5
P4
P5
P6
P4
P5

o4F

U

PUMQ4.0J
PUMQ5.0K
PUMRS5.0K
PUMS5.0K
PUMQ5.0L
PUMQ6.0M
PUMR6.0M
PUMS6.0M
PUMQ6.0J
PUMQ7.0M
PUMRS.0N
PUMSS8.0N
PUMT8.0N
PUMRS8.0M
PUMRO100
PUMS0100
PUMTO100
PUMRO10N
PUMSO10N
PUMRO10M
PUMSO012P
PUMTO12P
PUMRO0120
PUMTO0120
PUMSO012N
PUMTO12N
PUMRO12M
PUMS014Q
PUMT014Q
PUMR0140
PUMT0140
PUMR014M
PUMRO150
PUMRO15M
PUMS016Q
PUMTO016Q
PUMUO016Q
PUMR0160
PUMT0160
PUMRO16M
PUMSO18R
PUMTO18R
PUMUO18R
PUMS0180
PUMT0180
PUMSO020R
PUMTO20R
PUMUO20R
PUMS0200
PUMT0200

5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P
5P

60
60
60
60
62
62
62
62
70
70
70
70
70
75
75
75
75
75
75
82
82
82
82
82
82
82
88
88
88
88
88
95
95
95
95
95
95
95
95
100
100
100
100
100
105
105
105
105
105

22
22
22
22
26
26
26
26

2
&)

LEAPs
Zo|

FE]

AR =

e
A2 Zlo|

—

2k

33
33
33
33
33
33
33
33
36
36
36
36
36
38
38
38
38
38
38
42
42
42
42
42
42
42
45
45
45
45
45
48
48
48
48
48
48
48
48
51
51
51
51
51
50
50
50
50
50

5.5
5.5
515
5.5
6
6
6
6
6.2
6.2
6.2
6.2
6.2

N N NN

8.5
8.5
8.5
8.5
8.5
8.5
10.5
10.5
10.5
10.5
10.5
12.5
12.5
12.5
12.5
12.5
12.5
12.5
12.5
14
14
14
14
14
15
15
15
15
15

4.5
4.5
4.5
4.5
4.5
4.5
4.5
4.5

5

5.5
5.5
5.5
5.5
5.5
5.5
6.5
6.5
6.5
6.5
6.5
6.5
6.5

o 0 0

10
10
10
10
10
10
10
1
1
1
L
1
12
12
12
12
12

© © © © © O O 0 W 0 00 00 0 0 0 00 00 00 N N N N N N N Vv

S
a o a g o b~ B B DD W W WWwWWwWwWWwWw=2 2 a2

W W W W W Wwwwwowowowowowowowowowowowowowowowowowowowowowowowowowowowowowowowowowowowowowowowow

a o a0 o a b~ b DM DDA DDA DDA DDAEDDAEDDAEDDAEDDSEDDEDDAEDDAEDDDEDDSAEDDEDDEDDEDOOOOOWOWOWOW

l’n 28 Ds
Al

15,820

16, 650

22,940

29,760
.>.'<

76,970



ChAR
20| 2

E]

AR E | Af2t ol

2k

m

A

0
N .“U
2
—lo

S

I—
o
o)
S
o
%]
)
(%2
7<

SU-PO AHIYAR ZOIEEH

AfO|= == AMZ 3C A= es Qk

M22 x PUMS022R

M22x 2.5 P5  PUMT022R 5p 115 33 = 55 17 13 16 3 5 &
M22x 2.5 P6  PUMUO22R 5P 115 33 - 55 17 13 16 3 5 *
M22x 1.5 P4 PUMS0220 5P 115 33 = 55 17 13 16 3 5 *
M22x 1.5 P5  PUMT0220 5P 115 33 - 55 17 13 16 3 5 *
M24x 3 P4 PUMS024S 5P 120 39 = 55 19 15 18 3 5

M24x 3 P5  PUMT024S 5P 120 39 - 55 19 15 18 3 5 *
M24x 3 P6  PUMU024S 5P 120 39 - 55 19 15 18 3 5 *
M24x 1.5 P4 PUMS0240 5P 120 39 - 55 19 15 18 3 5 *
M27x 3 P4 PUMS027S 5p 130 39 - 60 20 15 18 4 5 * PO
M27x 1.5 P4 PUMS0270 5P 130 39 - 60 20 15 18 4 5 * e
M30x 3.5 P5  PUMT030T 5P 135 46 - 62 23 17 20 4 5 *
M30x 1.5 P4 PUMS0300 5P 135 46 - 62 23 17 20 4 5 x
M33x 3.5 P5  PUMT033T 5P 145 46 - 67 25 19 22 4 5 *
M36x 4 P5  PUMT036U 5P 155 52 - 71 28 21 24 4 5 *
M39x 4 P5  PUMT039U 5P 165 52 - 76 30 23 26 4 5 *
M42x 4.5 P5  PUMT042V 5P 175 59 - 81 32 26 30 4 5 *

RL|TIO| LIAME
No.2-56UNC ~ P1  PUMPUN2E 5P 42 8.1 12 27 3 2.5 5 2 3 *
No.4-40UNC P2 PUMQUN4H 5p 46 9 14 25 4 3.2 6 2 3 *
No.4-48UNF  P1  PUMPUN4F 5p 46 9 14 25 4 3.2 6 2 3 #
No.5-40UNC P2 PUMQUNSH 5p 52 1 16 28 5 4 7 3 3 x
No.5-44UNF  P1  PUMPUN5G 5P 52 1 16 28 5 4 7 3 3 *
No.6-32UNC P2 PUMQUNGJ 5P 52 1 17 27 5 4 7 3 3 *
No.6-40UNF P2 PUMQUNGH 5p 52 1 17 27 5 4 7 3 3 *
No.8-32UNC P2 PUMQUNS8J 5P 60 13 22 31 55 45 7 3 3 *
No.8-36UNF P2 PUMQUNSI 5p 60 13 22 31 55 45 7 3 3 *
No.10-24UNC P2  PUMQUNAM 5P 60 13 22 32 55 45 7 3 3 *
No.10-32UNF P2 PUMQUNAJ 5p 60 13 22 32 55 45 7 3 3 *
1/4-20UNC P2 PUMQUO4N 5P 62 15 26 33 6 45 7 3 3 *
1/4-28UNF P2 PUMQUO4K 5P 62 15 26 33 6 45 7 3 3 *
5/16-18UNC ~ P3  PUMRUO050 5P 70 19 - 36 6.2 5 8 3 4 x
5/16-24UNF P2 PUMQUO5M 5P 70 19 - 36 6.2 8 3 4 *
3/8-16UNC P3  PUMRUOBP 5P 75 23 - 38 7 5.5 8 3 4 *
3/8-24UNF P2 PUMQUOBM 5P 75 23 - 38 7 5.5 8 3 4 *
7/16-14UNC P3  PUMRUO7Q 5P 82 26 - 42 8.5 6.5 9 3 4 x
7/16-20UNF ~ P3  PUMRUO7N 5p 82 26 - 42 85 65 9 3 4 *
1/2-13UNC P3  PUMRUOSR 5p 88 26 - 45 105 8 1 3 4 *
1/2-20UNF P3  PUMRUO8N 5P 88 26 - 45 105 8 1 3 4 *
9/16-18UNF ~ P3  PUMRUO090 5p 95 26 - 48 125 10 13 3 4 *
5/8-1MUNC P3  PUMRU10U 5P 95 26 - 48 125 10 13 3 4 *
QEM LI

3/16W24 P2 PUMQWO3M 5P 60 13 21 32 55 45 7 3 3 x
1/4W20 P3  PUMRWO4N 5P 62 15 26 33 6 45 7 3 3 *
5/16W18 P3  PUMRWO50 5P 70 19 - 36 6.2 5 8 3 4 *
3/8W16 P3  PUMRWOBP 5P 75 23 - 38 7 5.5 8 3 4 *
7/16W14 P3  PUMRWO7Q 5P 82 26 - 42 85 65 9 3 4 *
1/2W12 P3  PUMRWOSS 5P 88 26 - 45 105 8 11 3 4 *
5/8W11 P3  PUMRW10U 5p 95 26 - 48 125 10 13 3 4 *
3/4W10 P4 PUMSW12V 5P 105 33 - 50 15 12 15 3 5 *
1W8 P4 PUMSW16X 5P 125 39 - 58 19 15 18 3 5 *

*=5% REB(+F UtE)
ng Think threads with

YAMAWA caTALOG 117



PO

ZoIEEY

118

43
MR =

E]

rx
(]

(= | =29
2o [

ApziE 2o|

—
o

2k

s A A

o M i

W JEAZ- SISO HAFOILL 22, S8 S22
BE71 35 ~45HRC FEEl= 1ZEM9 F2I7H
71300 Bgot ZOIE elLCt,

[ TvPE : 1 ]
_ Ds K
O] 713Met F=H B &
74 _ _
Y/ I K
‘gn ‘gs
L
25"35HRC 35"45HRC B H
[ TYPE :2 7 [~ TYPE :3 7
D K Ds K
_ = — =) N I [ N A =
Y/ O K Y Yk K
Os fs
L L
Z3:9F
D|E{LEALR
M3 x 0.5 P3 PY3.0GRDPB 5.5P 46 9 14 26 4 3.2 6 3 1 *
M4 x 0.7 P3 PY4.0IRDPB 5.5P 52 " 17 29 5 4 7 3 1 *
M5 x 0.8 P3  PY5.0KRDPB  5.5P 60 13 22 33 55 45 7 3 1 *
M6 x 1 P3 PY6.0MRDPB 5.5P 62 15 26 33 6 4.5 7 3 1 *
M8 x 1.25 P4 PY8.0NSDPB 5.5P 70 19 - 36 6.2 5 8 3 2 *
M10 x 1.5 P4 PY0100SDPB  5.5P 75 23 = 38 7 55 8 3 2 X
M10 x 1.25 P4 PYO1TONSDPB 5.5P 75 23 - 38 7 5.5 8 3 2 *
M12 x 1.75 P4 PY012PSDPB 5.5P 82 26 = 42 8.5 6.5 9 3 2 X
M12 x 15 P4  PYO120SDPB  5.5P 82 26 - 42 85 65 9 3 2 *
M12 x 1.25 P4 PYO12NSDPB  5.5P 82 26 © 42 8.5 6.5 9 3 2 X
M14 x 2 P5 PY014QTDPB  5.5P 88 26 - 45 10.5 8 M 3 2 *
M14 x 1.5 P4 PY0140SDPB  5.5P 88 26 = 45 10.5 8 1 3 2 X
M16 x 2 P5 PY016QTDPB  5.5P 95 26 - 48 12.5 10 13 3 2 *
M16 x 15 P4 PYO160SDPB  5.5P 95 26 - 48 125 10 13 3 2 2
M18 x 2.5 P5 PYO18RTDPB 5.5P 100 33 - 51 14 " 14 3 2 *
M18 x 1.5 P4 PY0180SDPB  5.5P 100 33 = 51 14 1" 14 3 2 *
M20 x 2.5 P5 PYO20RTDPB 5.5P 105 33 - 50 15 12 15 3 3 *
M20 x 1.5 P4  PY0200SDPB 5.5P 105 33 = 50 15 12 15 3 3 *
M22 x 2.5 P5 PY022RTDPB  5.5P 115 33 - 55 17 13 16 3 3 x
M22 x 1.5 P4  PY0220SDPB 5.5P 115 33 = 55 17 13 16 3 3 *
M24 x 3 P5 PY024STDPB  5.5P 120 39 - 55 19 15 18 3 3 *
M24 x 1.5 P4  PY0240SDPB 5.5P 120 39 = 55 19 15 18 3 3 *
M27 x 3 P5 PY027STDPB  5.5P 130 39 - 60 20 15 18 4 3 *
M27 x 1.5 P4 PY0270SDPB  5.5P 130 39 = 60 20 15 18 4 3 *
M30 x 3.5 P5 PYO30TTDPB 5.5P 135 46 - 82 23 17 20 4 3 X
M30 x 1.5 P4 PY0O300SDPB 5.5P 135 46 = 62 23 17 20 4 3 &
X YAMAWA
YAMAWA CATALOG




@ ojCEH HT
=——dd LS-HT

YMYWYA




)
&)

o= | g o] 2 = | 4=
Zo| | o |83 838 | spm= |amml

Ds | K 2k

—
)
~
>S5
o
/)

STV

FERAZ ZEAY TERAZ
HT Low carbon steels Medium carbon steels High carbon steels
e

(m/min) (m/min) (m/min)

W HIZ2 £3

@ E0| 712 Ml L= T0f| 7RA7 27| Zdh= ml7hSxiol| X

o2
[
=

® LB ot i, A o
® Rieiniot gofsict, I =
Jt Iy
&t
/!
W A9 |5 =
© S 410K SHLIALS HaBiLIc TH X =
® A1 of2l Pelofl pls HRIS i 57| PiaH AEHS 86l ElOIT7} Slof QULIC, =
@ AEL SotH AM0|D2 QEX J2in} 20| QILIAME 22K Ato] ElLC, v I*.j'
(A7} D% STH5HX| O SRS LIS} SIX| 90D Qo8 FAUAIL.)
W A2 Z0[2] Xt0]
A
9 &t | FEE (1),2] A2 Z0l=, "9, 0] ELICE

AlBMo| Yoty | iR, 202 FMATA JIEE us, 1A HA ALSEILICE
TS T4 &,0/2tgt|ct

T2 L} 7+3E|7| 0l LA QFE 2| 9ok 2 S 2ot LIALTL E[0] EHEILICE

7o (1) -2013e0E wusn 521 7S 7HE e mhs, AFRSE7| 412 Ho[2tm L 4 UALICE
5 rhEH O| AlH ZI0l= TEA} O] =I
g (2),9] A2 Z0l=, "54t,0] ELIC

4 Bof olof Aleo] F2 eielct,
th ROR JHEEl LiAF olzE0] 54t 22 SebHSt LA} ElLIC
o181 72 7H2S B uhs % >eh-> b AMZ ABELICE

q:EEH (2) El El = = r 22|
%5 Btk b RO SZH0IM AFBE|7| W20 e & 0[2f SRILICH
1.5 &t
= L (3),2] A8 Z0l= "1.54,0] ELICH

A FX| 07| D20, HSHE| L YOR & 3|H 7132 OfRICD 2 4 ABLIC,
81 7% 71 BOR, LhAL OHB7IR| 2IT13t LIAKZ 2448 1 MBSt o] ELICE,
1 2ol 12| 7120 AHBEI7| TR0, "k ,012kn HELICY,

Pl

1o

1o

L& (3)

Sl e B (=5 RH)0I2t = 3, IHE(ME)Z, 568, b B, L Bnt X2 2 S0l MEsM &= Z2|HA LA Y, 2 7155h= WO
LEPHO|ASLICE T2{Lt FM= ©S 7| (EfEE, 228 MCLE HE7| S)0l| &XIsto] 17H(1=2]) 2 7tk 0| 2HHQl 4Ho| = AL Tt

P YAMAWA

120 vAmAwWA caTALOG



® | G | W | #2200 49 | ds ek
L 2 | | s | Ds | K | &
CTvee o N [ TYPE :2 N
Ds K Ds K
=) - - = - -
l g K ; o K
L L
[ TYPE 3 ] - Tvee (4 ]
Ds K Ds K
- J ) —— - _ -
Y Ik K Y i K
4y £s Zn s HT
L L =
* 5P -(2)H &
1.5P -(3)# & (1) e colat Mrsix| epsLict * 29| Ato|x i 24 2o| W HE SeI7HsLC
HT -6|-_EEHH E7 A
O|E{LIAE
M1.4 x 0.3 Pl TNMP1.4C5 5P 36 54 - 24 3 25 5 3 1 25,730
M1.4 x 0.3 P1  TNMP14C1 15P 36 5.4 - 24 3 25 5 3 1 25,730
M1.6 x 0.35 P2 TNMQ1.6D5 5P 36 6.3 - 24 3 2.5 5 3 2
M1.6 x 0.35 P2 TNMQ1.6D1 1.5P 36 6.3 - 24 3 2.5 5 3 2
M1.7 x 0.35 P1 TNMP1.7D5 5P 36 6.3 - 24 3 25 5 3 2 23,960
M1.7 x 0.35 P1 TNMP1.7D1 1.5P 36 6.3 - 24 3 25 5 3 2 23,960
M1.8 x 0.2 P1 TNMP1.8A5 5P 42 3.6 - 3 2.5 5 3 30,810
M2 x 0.4 P1  TNMP2.0E5 5P 42 72 12 27 3 25 5 3 3 19,930
M2 x 0.4 P1  TNMP20OE1 15P 42 72 12 27 3 25 5 3 3 19,930
M2.5 x 0.45 P2 TNMQ2.5F5 5P 46 8.1 14 29 3 2.5 5 3 3
M2.5 x 0.45 P2 TNMQ25F1 15P 46 8.1 14 29 3 25 5 3 3 16,600
M2.6 x 0.45 P1 TNMP2.6F5 5P 46 8.1 14 29 3 25 5 3 3
M2.6 x 0.45 P1 TNMP2.6F1 1.5P 46 8.1 14 29 3 2.5 5 3 3 13,720
M3 x 0.5 P2 TNMQ3.0G5 5P 46 9 14 26 4 3.2 6 3 3 11,220
M3 x 0.5 P2 TNMQ3.0G1  1.5P 46 9 14 26 4 3.2 6 3 3 11,220
M4 x 0.7 P2 TNMQ4.015 5P 52 1 17 29 5 4 7 3 3 10,760
M4 x 0.7 P2 TNMQ4.011 1.5P 52 n 17 29 5 4 7 3 3 10,760
M5 x 0.8 P3  TNMR5.0K5 5P 60 13 22 33 5.5 4.5 7 3 3 10,990
M5 x 0.8 P3 TNMR5.0K1 1.5P 60 13 22 33 5.5 4.5 7 3 3 10,990
M6 x 1 P2 TNMQ6.0M5 5P 62 15 26 33 6 4.5 7 3 3 11,820
M6 x 1 P2 TNMQ6.OM1  1.5P 62 15 26 33 6 4.5 7 3 3 11,820
M8 x 1.25 P3  TNMR8.ON5 5P 70 19 - 36 6.2 5 8 3 6 16,800
M8 x 1.25 P3 TNMR8.0N1 1.5P 70 19 - 36 6.2 5 8 3 6 16,800
M10 x 1.5 P3  TNMRO1005 5P 75 23 - 38 7 5.5 8 4 6 21,790
M10 x 1.5 P3  TNMRO1001  1.5P 75 23 - 38 7 5.5 8 4 6 21,790
M12 x 1.75 P3  TNMRO12P5 5P 82 26 - 42 8.5 6.5 9 4 6 30,740
M12 x 1.75 P3 TNMRO12P1 1.5P 82 26 - 42 8.5 6.5 9 4 6 30,740

*»=5% QEE(+FT UHE) m Think threads with

YAMAWA

YAMAWA caTALoG 121



)
&)

o= | g 2| =
32 El
Zo| | o |83 838 | spm= |amml

Ds | K 2K

—
)
~
>S5
o
/)

W EE T4 20|12 EYE £ gi= 22 0|
WIS QI3 71 43 ME HRILICE,
HT
SHCEH
T HetAZ & TEAZ
Low carbon steels Highcarbon steels
(m/min)
- TYPE & ] B " TYPE 2 ]
Ds K Ds. K
==x! ] - - = T ] —————
L, P L, K w4 k) K
- gn - - L S - L ﬁ’n . le —€S -
L
T TYPE : 3 ] | TYPE 1 4 B
K
Ds K DS
o o -
Hx K 4
k K
¢ Zs ) 0
) L L ’
LS-HT E M3 MHC=EH SHiAOI%
=7:1A
== = = L 2 n s Ds K 2k SA
O|EILIALE
M3 x 0.5 P1 TNFP3.0G507 5P 70 9 18 46 4 3.2 6 3 1
M3 x 0.5 P1 TNFP3.0G510 5P 100 9 18 40 4 3.2 6 3 2 32,360
M3 x 0.5 P1 TNFP3.0G512 5P 120 9 18 40 4 3.2 6 3 2 55,420
M3 x 0.5 P1 TNFP3.0G515 5P 150 9 18 40 4 3.2 6 3 2
M3 x 0.5 P1 TNFP3.0G107 1.5P 70 9 18 46 4 3.2 6 3 1
M3 x 0.5 P1 TNFP3.0G110 1.5P 100 9 18 40 4 3.2 6 3 2
M3 x 0.5 P1 TNFP3.0G112 1.5P 120 9 18 40 4 3.2 6 8 2
M3 x 0.5 P1 TNFP3.0G115 1.5P 150 9 18 40 4 3.2 6 3 2
M3 x 0.5 P3 TNFR3.0G510 5P 100 9 18 40 4 3.2 6 3 2
M3 x 0.5 P3 TNFR3.0G515 5P 150 9 18 40 4 3.2 6 3 2
M3 x 0.5 P3 TNFR3.0G110 1.5P 100 9 18 40 4 3.2 6 3 2
M3 x 0.5 P3 TNFR3.0G115 1.5P 150 9 18 40 4 3.2 6 3 2
M4 x 0.7 P2 TNFQ4.01507 5P 70 1 21 43 5 7 3 1
M4 x 0.7 P2 TNFQ4.01510 5P 100 " 21 40 5 7 3 2 29,390

P YAMAWA

122 vamawa caTALOG



m

A

03
N .“U
o
—lo

S

n fs Ds K Pk

= = L 2 n s Ds K {3

—
~

O|E{LIALE

M4 x 0.7 P2  TNFQ40512 5P 120 1 21 40 5 4 7 3 2 49,820
M4 x 0.7 P2  TNFQ40I515 5P 150 1M 21 40 5 4 7 3 2 54,920
M4 x 0.7 P2  TNFQ4.0107  1.5P 70 n 21 40 5 4 7 3 1

M4 x 0.7 P2  TNFQ4O110  15P 100 1M 21 40 5 4 7 3 2

M4 x 0.7 P2  TNFQ40M12  15P 120 11 21 40 5 4 7 3 2

M4 x 0.7 P2  TNFQ4OM5  15P 150 1M 21 40 5 4 7 3 2

M4 x 0.7 P3  TNFR4.01510 5P 100 11 21 40 5 4 7 3 2

M4 x 0.7 P3  TNFR4.0I515 5P 150 11 21 40 5 4 7 3 2

M4 x 0.7 P3  TNFR4OM0  15P 100 11 21 40 5 4 7 3 2

M4 x 0.7 P3  TNFR4OM5  15P 150 1m 21 40 5 4 7 3 2

M5 x 0.8 P2  TNFQ50K507 5P 70 14 25 40 55 45 7 3 1 T
M5 x 0.8 P2  TNFQ5.0K510 5P 100 13 25 40 55 45 7 3 2 A=
M5 x 0.8 P2  TNFQ5.0K512 5P 120 13 25 40 55 45 7 3 2

M5 x 0.8 P2 TNFQ5.0K515 5P 150 13 25 40 55 4.5 7 3 2

M5 x 0.8 P2  TNFQ5.0K107  1.5P 70 14 25 40 55 45 7 3 1

M5 x 0.8 P2  TNFQ50K110  15P 100 13 25 40 55 45 7 3 2

M5 x 0.8 P2  TNFQ50K112 15P 120 13 25 40 55 45 7 3 2 43,670
M5 x 0.8 P2  TNFQ50K115  15P 150 13 25 40 55 45 7 3 2

M5 x 0.8 P3  TNFR50K510 5P 100 13 25 40 55 45 7 3 2

M5 x 0.8 P3  TNFR50K515 5P 150 13 25 40 55 45 7 3 2

M5 x 0.8 P3  TNFRG.OK110  15P 100 13 25 40 55 45 7 3 2

M5 x 0.8 P3  TNFRG.OK115 15P 150 13 25 40 55 45 7 3 2

M6 x 1 P2  TNFQ6.OM510 5P 100 15 30 40 6 45 7 3 2

M6 x 1 P2  TNFQBOM512 5P 120 15 30 40 6 4.5 7 3 2

M6 x 1 P2 TNFQ6.OM515 5P 150 15 30 40 6 45 7 3 2

M6 x 1 P2  TNFQ6OM520 5P 200 15 30 40 6 4.5 7 3 2

M6 x 1 P2  TNFQBOMM0  15P 100 15 30 40 6 45 7 3 2

M6 x 1 P2  TNFQBOMN12 15P 120 15 30 40 6 4.5 7 3 2

M6 x 1 P2  TNFQBOMM5 15P 150 15 30 40 6 45 7 3 2

M6 x 1 P2 TNFQEOMI20 15P 200 15 30 40 6 4.5 7 3 2

M6 x 1 P3  TNFRGOM510 5P 100 15 30 40 6 45 7 3 2

M6 x 1 P3  TNFR6OMS515 5P 150 15 30 40 6 4.5 7 3 2

M6 x 1 P3  TNFREOMI10  15P 100 15 30 40 6 45 7 3 2

M6 x 1 P3  TNFR6OMI15 15P 150 15 30 40 6 4.5 7 3 2

M8 x 1.25 P2 TNMQ8ON510 5P 100 19 - 50 6.2 5 8 4 3

M8 x 1.25 P2 TNMQSON512 5P 120 19 - 50 6.2 5 8 4 3 45,620
M8 x 1.25 P2 TNMQ8ON515 5P 150 19 - 50 6.2 5 8 4 3 46,380
M8 x 1.25 P2 TNMQS8ON520 5P 200 19 - 50 6.2 5 8 4 3

M8 x 1.25 P2  TNMQSON1I0 15P 100 19 - 50 6.2 5 8 4 3

M8 x 1.25 P2  TNMQSON12 15P 120 19 - 50 6.2 5 8 4 3

M8 x 1.25 P2  TNMQSON15 15P 150 19 - 50 6.2 5 8 4 3

M8 x 1.25 P2  TNMQ8ONI20 15P 200 19 - 50 6.2 5 8 4 3

M8 x 1.25 P3  TNMRSON5I0 5P 100 19 - 50 6.2 5 8 4 3

M8 x 1.25 P3  TNMR8ON515 5P 150 19 - 50 6.2 5 8 4 3

M8 x 1.25 P3  TNMR8ON520 5P 200 19 - 50 6.2 5 8 4 3

M8 x 1.25 P3  TNMR8ON10 15P 100 19 - 50 6.2 5 8 4 3

M8 x 1.25 P3  TNMRSONN5 15P 150 19 - 50 6.2 5 8 4 3

M8 x 1.25 P3  TNMR8ONI20 15P 200 19 - 50 6.2 5 8 4 3

M10 x 1.5 P2 TNMQOI00510 5P 100 23 - 50 7 5.5 8 4 3

M10 x 1.5 P2  TNMQOI00512 5P 120 23 - 50 7 5.5 8 4 3

*»=E% REE (ST YUE) m Think threads with

YAMAWA caTALOG 123



R e e T A
L ? n s | Ds K 2k
OJE{LIAE

M10 x 1.5 P2 TNMQO100515 5P 150 23 - 50 7 5.5 8 4 3 55,720
M10 x 1.5 P2 TNMQO100520 5P 200 23 - 50 7 55 8 4 3
M10 x 1.5 P2 TNMQO100525 5P 250 23 - 50 7 5.5 8 4 3
M10 x 1.5 P2  TNMQO100110 1.5P 100 23 - 50 7 55 8 4 3
M10 x 1.5 P2  TNMQO100112 15P 120 23 - 50 7 5.5 8 4 3
M10 x 1.5 P2  TNMQO100115 15P 150 23 - 50 7 55 8 4 3
M10 x 1.5 P2 TNMQOI00120 15P 200 23 - 50 7 5.5 8 4 3
M10 x 1.5 P2 TNMQOI00125 15P 250 23 - 50 7 55 8 4 3
M10 x 1.5 P3  TNMRO100510 5P 100 23 - 50 7 5.5 8 4 3
M10 x 1.5 P3  TNMRO100515 5P 150 23 - 50 7 5.5 8 4 3
HT M10 x 1.5 P3  TNMRO100520 5P 200 23 - 50 7 5.5 8 4 3
#=d M10 x 1.5 P3  TNMROI0OTI0 15P 100 23 - 50 7 5.5 8 4 3
M10 x 1.5 P3  TNMRO10O15 15P 150 23 - 50 7 5.5 8 4 3
M10 x 1.5 P3  TNMRO100120 15P 200 23 - 50 7 5.5 8 4 3
M10 x 1.5 P4 TNMS0100510 5P 100 23 - 50 7 5.5 8 4 3
M10 x 1.5 P4 TNMS0100515 5P 150 23 - 50 7 5.5 8 4 3
M10 x 1.5 P4  TNMSO100110 15P 100 23 - 50 7 5.5 8 4 3
M10 x 1.5 P4  TNMSO0100115 15P 150 23 - 50 7 5.5 8 4 3
M10 x 1.25 P2 TNMQOION510 5P 100 23 - 50 7 5.5 8 4 3
M10 x 1.25 P2 TNMQOION512 5P 120 23 - 50 7 5.5 8 4 3

M10 x 1.25 P2 TNMQOION515 5P 150 23 - 50 7 5.5 8 4 3 57,540
M10 x 1.25 P2 TNMQOION520 5P 200 23 - 50 7 5.5 8 4 3
M10 x 1.25 P2 TNMQOION110 1.5P 100 23 - 50 7 5.5 8 4 3
M10 x 1.25 P2 TNMQOIONT2 15P 120 23 - 50 7 5.5 8 4 3
M10 x 1.25 P2 TNMQOION115 15P 150 23 - 50 7 5.5 8 4 3
M10 x 1.25 P2 TNMQOION120 15P 200 23 - 50 7 5.5 8 4 3
M10 x 1.25 P3  TNMROION510 5P 100 23 - 50 7 5.5 8 4 3
M10 x 1.25 P3  TNMROION515 5P 150 23 - 50 7 5.5 8 4 3
M10 x 1.25 P3  TNMROIONTO 15P 100 23 - 50 7 5.5 8 4 3
M10 x 1.25 P3  TNMROIONT5 15P 150 23 - 50 7 5.5 8 4 3
M10 x 1.25 P4 TNMSOION510 5P 100 23 - 50 7 5.5 8 4 3
M10 x 1.25 P4 TNMSOION515 5P 150 23 - 50 7 5.5 8 4 3
M10 x 1.25 P4  TNMSOIONT0 15P 100 23 - 50 7 5.5 8 4 3
M10 x 1.25 P4  TNMSOIONT5 15P 150 23 - 50 7 5.5 8 4 3
M12 x 1.75 P2 TNMQO12P510 5P 100 26 - 50 85 65 9 4 3
M12 x 1.75 P2  TNMQO12P512 5P 120 26 - 50 85 65 9 4 3
M12 x 1.75 P2 TNMQO12P515 5P 150 26 - 50 85 65 9 4 3

M12 x 1.75 P2  TNMQOI2P520 5P 200 26 - 50 85 65 9 4 3 138,380
M12 x 1.75 P2 TNMQOI2P525 5P 250 26 - 50 85 65 9 4 3
M12 x 1.75 P2  TNMQOI2P110 1.5P 100 26 - 50 85 65 9 4 3
M12 x 1.75 P2  TNMQOI2P112  15P 120 26 - 50 85 65 9 4 3
M12 x 1.75 P2  TNMQOI2P115 15P 150 26 - 50 85 65 9 4 3
M12 x 1.75 P2 TNMQO12P120 15P 200 26 - 50 85 65 9 4 3
M12 x 1.75 P2  TNMQO12P125 15P 250 26 - 50 85 65 9 4 3
M12 x 1.75 P3  TNMROI2P515 5P 150 26 - 50 85 65 9 4 3
M12 x 1.75 P3  TNMRO12P520 5P 200 26 - 50 85 65 9 4 3
M12 x 1.75 P3  TNMROI2P15  15P 150 26 - 50 85 65 9 4 3
M12 x 1.75 P3  TNMRO12P120 15P 200 26 - 50 85 65 9 4 3
M12 x 1.75 P4  TNMSO12P515 5P 150 26 - 50 85 65 9 4 3
M12 x 1.75 P4 TNMSO12P520 5P 200 26 - 50 85 65 9 4 3

m Think threads with *=5F REB(+F WE)

YAMAWA

124 vAmAWA caTALOG



R NN N AN Y

< e e T

111
IE

T —

RS

N+RZ

N-RZ A9 EY
+
RS HES4E 8 Y

*

7

I

on

O Qlel| 0 2§10] At gt ER7t ASLC



#3200 | 838 | \dids | e o

2
&)

oA | g el
Zol | ol

OFELELEES

—
)
~
>S5
o
/)

Ds | K 2k

m ALY, BAFZ, BEZ)2 LA 7130

- 7|=0i| wat, 8F 7127t L0 &L T

N+RZ “M6 (EE8H
“M6 (ZEHIQ).
N-RZ M7 UZH
(m/min) (m/min)
TYPE : 1 N
Ds %’g
Iy
Y/ Is K
L
[ TYPE :2 ] [ TYPE :3 N
Ds K Ds K
= - — — [T - T —
Lk, )
) 2 K ) 2 e K
L L
[ TYPE :4 ] [ TYPE :5 ]
Ds K DS K
i = - | — -
g gk -g -gk K
A 2 K 2, 2
L L
[ TYPE :6 ] [ TYPE :7 ]
Ds K Ds £
T F — =) - - B
Y Y K
s ) £ £ K
L Is
L

P YAMAWA

126 vAmAwA caTALOG



ChAR=
20| 2

m

43Zo| | 437 AP%S% *P-fﬁ"a’ﬁ'o'

A

0
o
2
—lo

S

L ? n s | Ds K 2k
N+RZ AEE EH zees
OJE{LIALE

M1 x 0.25 G4  NRZP41.0BP 4P 36 45 - 24 3 25 5 4 1

M1 x 0.25 G4 NRZP41.0BB 2P 36 45 - 24 3 25 5 4 1

M1 x 0.25 G5 NRZP51.0BP 4P 36 45 - 24 3 25 5 4 1 *

M1 x 0.25 G5 NRZP51.0BB 2P 36 45 - 24 3 25 5 4 1 #

M1.2 x 025 G4 NRZP41.2BP 4P 36 45 - 24 3 25 5 4 1

M1.2 x 0.25 G4 NRZP41.2BB 2P 36 45 - 24 3 25 5 4 1

M12 x 0.25 G5 NRZP51.2BP 4P 36 45 - 24 3 25 5 4 1 x

M1.2 x 025 G5 NRZP51.2BB 2P 36 45 - 24 3 25 5 4 1 #

M1.4 x 0.3 G4  NRZP41.4CP 4P 36 54 - 24 3 25 5 4 1 333820

M1.4 x 0.3 G4 NRZP41.4CB 2P 36 54 - 24 3 25 5 4 1

M1.4 x 0.3 G5 NRZP51.4CP 4P 36 54 - 24 3 25 5 4 1

M1.4 x 0.3 G5 NRZP51.4CB 2P 36 54 - 24 3 25 5 4 1 RZ/RS

M16 x 0.35 G4 NRZP416DP 4P 36 6.3 - 24 3 25 5 4 2 &

M1.6 x 0.35 G4 NRZP41.6DB 2P 36 6.3 - 24 3 25 5 4 2

M16 x 0.35 G5 NRZP51.6DP 4P 36 6.3 - 24 3 25 5 4 2

M1.6 x 0.35 G5 NRZP51.6DB 2P 36 6.3 - 24 3 25 5 4 2

M1.7 x 0.35 G4 NRZP41.7DP 4P 36 6.3 - 24 3 25 5 4 2 31120

M1.7 x 0.35 G4 NRzZP41.7DB 2P 36 6.3 - 24 3 25 5 4 2

M17 x 0.35 G5 NRZP51.7DP 4P 36 6.3 - 24 3 25 5 4 2

M17 x 0.35 G5 NRZP51.7DB 2P 36 6.3 - 24 3 25 5 4 2

M17 x 0.35 G6 NRZP61.7DP 4P 36 6.3 - 24 3 25 5 4 2

M17 x 0.35 G6 NRZP61.7DB 2P 36 6.3 - 24 3 25 5 4 2

M1.8 x 0.35 G4 NRZP41.8DP 4P 42 6.3 - 27 3 25 5 4 2 x

M1.8 x 0.35 G4 NRZP41.8DB 2P 42 6.3 - 27 3 25 5 4 2 #

M1.8 x 0.35 G5 NRZP51.8DP 4P 42 63 - 27 3 25 5 4 2 x

M1.8 x 0.35 G5 NRZP51.8DB 2P 42 63 - 27 3 25 5 4 2 ><

M2 x 0.4 G4  NRZP42.0EP 4P 42 72 - 27 3 25 5 4 3

M2 x 0.4 G4 NRZP42.0EB 2P 42 72 - 27 3 25 5 4 3

M2 x 0.4 G5 NRZP52.0EP 4P 42 72 - 27 3 25 5 4 3

M2 x 0.4 G5 NRZP52.0EB 2P 42 72 - 27 3 25 5 4 3

M2 x 0.4 G6 NRZP62.OEP 4P 42 72 - 27 3 25 5 4 3

M2 x 0.4 G6 NRZP62.0OEB 2P 42 72 - 27 3 25 5 4 3

M2.2 x 0.45 G5 NRZP52.2FP 4P 42 81 - 27 3 25 5 4 3 *

M2.2 x 0.45 G5 NRZP52.2FB 2P 42 81 - 27 3 25 5 4 3 o

M2.3 x 0.4 G4  NRZP42.3EP 4P 42 72 - 27 3 25 5 4 3 x

M2.3 x 0.4 G4 NRZP42.3EB 2P 42 72 - 27 3 25 5 4 3 &

M2.3 x 0.4 G5 NRZP52.3EP 4P 42 72 - 27 3 25 5 4 3 x

M2.3 x 0.4 G5 NRZP52.3EB 2P 42 72 - 27 3 25 5 4 3 ><

M2.3 x 0.4 G6 NRZP62.3EP 4P 42 72 - 27 3 25 5 4 3 *

M2.3 x 0.4 G6 NRZP62.3EB 2P 42 7.2 - 27 3 25 5 4 3 #

M2.5 x 0.45 G5 NRZP525FP 4P 46 81 14 29 3 25 5 4 4

M2.5 x 0.45 G5 NRZP525FB 2P 46 81 14 29 3 25 5 4 4

M2.5 x 0.45 G6 NRZP625FP 4P 46 81 14 29 3 25 5 4 4

M25 x 0.45 G6 NRZP62.5FB 2P 46 81 14 29 3 25 5 4 4

M2.6 x 0.45 G5 NRZP52.6FP 4P 46 81 14 29 3 25 5 4 4

M2.6 x 0.45 G5 NRZP526FB 2P 46 81 14 29 3 25 5 4 4

M2.6 x 0.45 G6 NRZP62.6FP 4P 46 81 14 29 3 25 5 4 4

M2.6 x 0.45 G6 NRZP62.6FB 2P 46 81 14 29 3 25 5 4 4

M3 x 0.5 G5 NRZP53.0GP 4P 46 9 14 26 4 32 6 4 4 20,710

*=5F RES(HF MME) m Think threads with

YAMAWA caTALoG 127



2
&)

= | g 2| =
321 E]
Zo| | o | 83| 838 | spm= |amml

Ds | K 2K

OFELELEES

—
)
~
>S5
o
/)

N+RZ AEEEH

= L 4 n s Ds K 2k =
2P 46 9 14 26 4 3.2 6 4 4

M3 x 0.5 G5 NRZP53.0GB

M3 x 0.5 G6 NRZP63.0GP 4P 46 9 14 26 4 32 6 4 4
M3 x 0.5 G6 NRZP63.0GB 2P 46 9 14 26 4 32 6 4 4
M3 x 0.5 G7 NRZP73.0GP 4P 46 9 14 26 4 32 6 4 4
M3 x 0.5 G7 NRZP73.0GB 2P 46 9 14 26 4 32 6 4 4
M3 x 0.5 G8 NRZP83.0GP 4P 46 9 14 26 4 32 6 4 4 &
M3 x 0.5 G8 NRZP83.0GB 2P 46 9 14 26 4 32 6 4 4 *
M3.5x 0.6 G5 NRZP53.5HP 4P 52 1 16 29 5 4 7 4 4
M3.5 x 0.6 G5 NRZP535HB 2P 52 11 16 29 5 4 7 4 4
M3.5x 0.6 G6 NRZP63.5HP 4P 52 1 16 29 5 4 7 4 4
M3.5 x 0.6 G6 NRZP635HB 2P 52 11 16 29 5 4 7 4 4
M35 x 0.6 G7 NRZP73.5HP 4P 52 1 16 29 5 4 7 4 4 =
M3.5 x 0.6 G7 NRZP73.5HB 2P 52 1M1 16 29 5 4 7 4 4 x
RZ/R;EH M4 x 0.7 G5 NRZP54.0P 4P 52 11 17 29 5 4 7 4 4
M4 x 0.7 G5 NRZP54.0B 2P 52 1 17 29 5 4 7 4 4
M4 x 0.7 G6  NRZPB4.OIP 4P 52 1 17 29 5 4 7 4 4 22,740
M4 x 0.7 G6  NRZP64.0IB 2P 52 1 17 29 5 4 7 4 4
M4 x 0.7 G7  NRZP74.0P 4P 52 1 17 29 5 4 7 4 4
M4 x 0.7 G7 NRZP740B 2P 52 1 17 29 5 4 7 4 4
M4 x 0.7 G8 NRZP84.OIP 4P 52 11 17 29 5 4 7 4 4 &
M4 x 0.7 G8 NRZP84.0B 2P 52 1 17 29 5 4 7 4 4 #
M5 x 0.8 G5 NRZP55.0KP 4P 60 13 22 33 55 45 7 4 4 %
M5 x 0.8 G5 NRZP55.0KB 2P 60 13 22 33 55 45 7 4 4 *
M5 x 0.8 G6 NRZPG5.0KP 4P 60 13 22 33 55 45 7 4 4 23,730
M5 x 0.8 G6 NRZPB5.0KB 2P 60 13 22 33 55 45 7 4 4
M5 x 0.8 G7 NRZP75.0KP 4P 60 13 22 33 55 45 7 4 4
M5 x 0.8 G7 NRZP75.0KB 2P 60 13 22 33 55 45 7 4 4
M5 x 0.8 G8 NRZP85.0KP 4P 60 13 22 33 55 45 7 4 4 =
M5 x 0.8 G8 NRZPS85.0KB 2P 60 13 22 33 55 45 7 4 4 *
M6 x 1 G5 NRZP56.0MP 4P 62 15 26 33 6 45 7 4 4 &
M6 x 1 G5 NRZP56.0MB 2P 62 15 26 33 6 45 7 4 4 x
M6 x 1 G6 NRZPG6.OMP 4P 62 15 26 33 6 45 7 4 4
M6 x 1 G6 NRZP66.OMB 2P 62 15 26 33 6 45 7 4 4
M6 x 1 G7 NRZP76.0MP 4P 62 15 26 33 6 45 7 4 4 25,910
M6 x 1 G7 NRZP76.0MB 2P 62 15 26 33 6 45 7 4 4
M6 x 1 G8 NRZPS6.OMP 4P 62 15 26 33 6 45 7 4 4 X
M6 x 1 G8 NRZP86.OMB 2P 62 15 26 33 6 45 7 4 4 #
2% 53
N-RZ AER EEH =31
O|E{LIALE
M2 x 0.25 G4 NRZM42.0BP 4P 42 45 - 27 3 25 5 4 3 B
M2 x 0.25 G4 NRZM42.0BB 2P 42 45 - 27 3 25 5 4 3 X
M2 x 0.25 G5 NRZM52.0BP 4P 42 45 - 27 3 25 5 4 3 &
M2 x 0.25 G5 NRZM52.0BB 2P 42 45 - 27 3 25 5 4 3 S

P YAMAWA

128 vAmAwA caTALOG



v | G | G |23 | 233 | i i
L ? n s | Ds K 2k
A=
N-RZ AEIE ==Y :;013-
52 | sac
M2.5 x 0.35 NRZM52.5DP S
M2.5 x 0.35 G5 NRZM525DB 2P 46 63 14 29 3 25 5 4 5 x
M2.6 x 0.35 G5 NRZM52.6DP 4P 46 63 14 29 3 25 5 4 5 %
M2.6 x 0.35 G5 NRZM52.6DB 2P 46 63 14 29 3 25 5 4 5 x
M3 X 0.35 G5 NRZM530DP 4P 46 65 14 26 4 32 6 4 5 o
M3 x 0.35 G5 NRZM530DB 2P 46 65 14 26 4 32 6 4 5 x
M4 x 0.5 G5 NRZM54.0GP 4P 52 9 17 29 5 4 7 4 5 o
M4 x 0.5 G5 NRZM54.0GB 2P 52 9 17 29 5 4 7 4 5 x
M4 x 0.5 G6 NRZMB4.OGP 4P 52 9 17 29 5 4 7 4 5 o
M4 x 0.5 G6 NRZMB4.OGB 2P 52 9 17 29 5 4 7 4 5 x
M4 x 0.5 G7 NRZM74.0GB 2P 52 9 17 29 5 4 7 4 5 B
M5 x 0.8 G6  NRZPG5.0KP 4P 60 13 22 33 55 45 7 4 4 23,730
M5 x 0.5 G6 NRZMB5.0GP 4P 60 9 22 33 55 45 7 4 5 RS
M5 x 0.5 G6 NRZMB5.0GB 2P 60 9 22 33 55 45 7 4 5 x ;HZ’RS
M6 X 0.75 G6 NRZM6B.OJP 4P 62 15 26 33 6 45 7 4 4 X
M6 X 0.75 G6 NRZM66.0JB 2P 62 15 26 33 6 45 7 4 4 x
M6 X 0.75 G7 NRZM76.0JP 4P 62 15 26 33 6 45 7 4 4 X
M6 x 0.75 G7 NRZM76.0JB 2P 62 15 26 33 6 45 7 4 4 &
M6 x 0.5 G6 NRZMBG.OGP 4P 62 9 26 33 6 45 7 4 5 23
M6 x 0.5 G6 NRZMBG.OGB 2P 62 9 26 33 6 45 7 4 5 *
M7 x 1 G7 NRZM77.0MP 4P 70 19 - 36 62 5 8 4 6 3
M7 x 1 G7 NRZIM77.0MB 2P 70 19 - 36 62 5 8 4 6 *
M7 x 0.75 G7 NRZM77.0P 4P 70 19 - 36 62 5 8 4 6 oS
M7 x 0.75 G7 NRZM77.0B 2P 70 19 - 36 62 5 8 4 6 *
M8 x 1.25 G7 NRZM780NP 4P 70 19 - 36 62 5 8 6 6 36,070
M8 x 1.25 G7 NRZM780NB 2P 70 19 - 36 62 5 8 6 6
M8 x 1.25 G8 NRZM8SONP 4P 70 19 - 36 62 5 8 6 6 A
M8 x 1.25 G8 NRZM8SONB 2P 70 19 - 36 62 5 8 6 6 X
M8 x 1 G7 NRZM780MP 4P 70 19 - 36 62 5 8 6 6 i
M8 x 1 G7 NRZM780MB 2P 70 19 - 36 62 5 8 6 6 x
M8 X 0.75 G7 NRZM780JP 4P 70 19 - 36 62 5 8 6 6 R
M8 X 0.75 G7 NRZM780JB 2P 70 19 - 36 62 5 8 6 6 x
M10 x 1.5 G7 NRZM70100P 4P 75 23 - 38 7 55 8 8 6 46,210 X
M10 x 1.5 G7 NRZM70100B 2P 75 23 - 38 7 55 8 8 6 X
M10 x 1.5 G8 NRZMSOI00P 4P 75 23 - 38 7 55 8 8 6 X
M10 x 1.5 G8 NRZMSO100B 2P 75 23 - 38 7 55 8 8 6 X
M10 x 125  G7 NRZM7010NP 4P 75 23 - 38 7 55 8 8 6 X
M10 x 125 ~ G7 NRZM7010NB 2P 75 23 - 38 7 55 8 8 6 #
M10 x 125  G8 NRZMSOIONP 4P 75 23 - 38 7 55 8 8 6 3
M10 x 125  G8 NRZMSOIONB 2P 75 23 - 38 7 55 8 8 6 x
M10 % 1 G7 NRZM7010MP 4P 75 23 - 38 7 55 8 8 6 3
M10 x 1 G7 NRZM7010MB 2P 75 23 - 38 7 55 8 8 6 x
M12 x 1.75  G8 NRZMSO12PP 4P 82 26 - 42 85 65 9 8 6 75,990 *
M12 x 1.75 G8 NRZMS8012PB 2P 82 26 - 42 85 65 9 8 6 x
M12 x 1.75 G9 NRZMQO12PP 4P 82 26 - 42 85 65 9 8 6 G
M12 x 1.75 G9 NRZM9OI2PB 2P 82 26 - 42 85 65 9 8 6 x
M12 x 1.5 G8 NRZMSO120P 4P 82 26 - 42 85 65 9 8 6 2
M12 x 1.5 G8 NRZMS0120B 2P 82 26 - 42 85 65 9 8 6 X
M12 x 1.5 G9 NRZM90120P 4P 82 26 - 42 85 65 9 8 6 i
M12 x 1.5 G9 NRZM9O120B 2P 82 26 - 42 85 65 9 8 6 x
M12 x 125  G8 NRZMSOI2NP 4P 82 26 - 42 85 65 9 8 6 X

Think threads with

P YAMAWA

YAMAWA caTALOG 129



OFELELEES

RZ/RS

Z2EH
=u

130

N-RZ

Afo]
M12 x
M12 x
M12 x
M12 x 1
M12 x
M14 x
M14 x
M14 x
M14 x
M14 x
M14 x
M14 x
M14 x
M16 x
M16 x
M16 x
M16 x
M16 x
M16 x
M16 x
M16 x 1
M18 x 1.5
M20 x 1.5
M20 x 1.5
M20 x 1.5
M20 x 1.5

o o

a o

—_

NO.4-40UNC
NO.6-32UNC

5/16-18UNC
5/16-18UNC
3/8-24UNF
3/8-24UNF
7/16-14UNC
7/16-14UNC
7/16-20UNF
7/16-20UNF
1/2-13UNC
1/2-13UNC
1/2-20UNF
1/2-20UNF

G8
G9
G9
G7
G7
G9
G9
G10
G10
G9
G9
G8
G8
G9
G9
G10
G10
G9
G9
G8
G8
G10
G9
G9
G10
G10

G5
G6
G7
G7
G7
G7
G8
G8
G8
G8
G8
G8
G8
G8

AHg 29

1.25
1.25

1.25

4EIE

NRZM8012NB
NRZM9012NP
NRZM9012NB
NRZM7012MP
NRZM7012MB
NRZM9014QP
NRZM9014QB
NRZMO0014QP
NRZMO0014QB
NRZM90140P
NRZM90140B
NRZM8014MP
NRZM8014MB
NRZM9016QP
NRZM9016QB
NRZMO0016QP
NRZMO0016QB
NRZM90160P
NRZM90160B
NRZM8016MP
NRZM8016MB
NRZMOO180P
NRZM90200P
NRZM90200B
NRZMO00200P
NRZM00200B

NRZM5UN4HB
NRZM6UNGJB
NRZM7U050P
NRZM7U050B
NRZM7UO6MP
NRZM7UO6MB
NRZM8UO7QP
NRZM8UO07QB
NRZM8UO7NP
NRZM8UO7NB
NRZM8UO8RP
NRZM8UOSRB
NRZM8UO8NP
NRZM8UOSNB

2AUZ4 1 M2.60[6} = QS

M3~M7=4, M8=3, M100[&=4
M6 05| A5 2P9| 4 MIE{= A5t

Think threads with

YAMAWA

YAMAWA CATALOG

2P 82 26

4P 82 26 -
2P 82 26 o
4P 82 26 -
2P 82 26 -
4P 88 26 -
2P 88 26 -
4P 88 26 -
2P 88 26 -
4P 88 26 -
2P 88 26 -
4p 88 26 -
2P 88 26 -
4P 95 26 -
2P 95 26 -
4P 95 26 -
2P 95 26 -
4P 95 26 -
2P 95 26 -
4P 95 26 -
2P 95 26 o
4P 100 33 -
4P 105 33 -
2P 105 33 -
4P 105 33 -
2P 105 33 -

|Lotol LIAMS
2P 46 9 14
2P 52 i 17
4P 70 19 -
2P 70 19 =
4P 75 23 -
2P 75 23 -
4P 82 26 -
2P 82 26 -
4P 82 26 -
2P 82 26 -
4P 88 26 -
2P 88 26 -
4p 88 26 -
2P 88 26 -
UFLILH.

2
&)

LEAPS
Zo|

PLEF:]

A3
AR E

E]
Apzfs o]

—

Ds

2k

42
42
42
42
45
45
45
45
45
45
45
45
48
48
48
48
48
48
48
48
51
50
50
50
50

25
27
36
36
38
38
42
42
42
42
45
45
45
45

8.5
8.5
8.5
8.5
10.5
10.5
10.5
10.5
10.5
10.5
10.5
10.5
12.5
12.5
12.5
12.5
12.5
12.5
12.5
12.5
14
15
15
15
15

6.2
6.2

8.5
8.5
8.5
8.5
10.5
10.5
10.5
10.5

6.5
6.5
6.5
6.5

8

0o 0O 0 0 00 00

10
10
10
10
10
10
10
1
12
12
12
12

3.2

5.5
5.5
6.5
6.5
6.5
6.5

o 0

© © © © W O W O N O

i Y
g Y

0 0 00 0 0 0 00 00 0 0 00 00 0 0 0 00 0 0 0 00 00 0 0 00 o0

0 00 0 0 0 0 0 W O O O O b b

N N N N O O o o 0o o0 0o o 00 0 0 0 o0 o 0o 0 0o 0o o oo

o O O O O O O O O O o o b b

n fs Ds K 2k SA
= 42 85 65 9 8 6 *

X



OFELELEES

L ? n s Ds K 2k

N+RS
N-RS

g [ B2
HES4E =X

WHIEES(20E T8,
LA 720l 23t &
NS

- 7|0l nf2t

20|5 CIOIFHAE &S S)2

HeLIC)

HE 7127t LHFION ASLIC

X

<

X

=11
- N+RS “M6 (258
I| 71370t =M Efd £ N-RS “M6 (EEH|2])
20| AT ) M7~ UEH
Wrought aluminum
(m/min) (m/min) (m/min)
[ TyPE ;1
Ds K
= — —
Iy
Y/ 4s K
L
[ TYPE :2 ] TYPE :3
Ds K Ds
s - - == - T -
i Vi
Y 2. L2k, K ’ ‘ K
L L
T TYPE : 4 n TYPE 5
Ds K Ds
e | o
£ Iy Y/ Iy
Z 2 K 0, 2
L L
[ TYPE :6 ] T TYPE 7
Ds K Ds
£ £ K Y4 I
4s s
L L

¢

K
K
K
K

Think threads with

YAMAWA

YAMAWA CATALOG

RZ/RS

Z2EH
=u

131



| | 229 || 4 T
@ % EEH *I Elx B8 | ol | zop | B3N] 838 | upnz azmaol
L ? n | 8s | Ds | K | &
2 25 53
N+RS HIES4E8 EH Eele
= = L 2 &n s Ds K 2k

O|E{LIALE
M1 x 0.25 G4  NRSP41.0BP 4P 36 45 - 24 3 25 5 4 1
M1 x 0.25 G4  NRSP41.0BB 2P 36 45 - 24 3 25 5 4 1
M1 x 0.25 G5 NRSP51.0BP 4P 36 45 - 24 3 25 5 4 1 *
M1 x 0.25 G5 NRSP510BB 2P 36 45 - 24 3 25 5 4 1 &
M1.2 x 0.25 G4 NRSP412BP 4P 36 45 - 24 3 25 5 4 1 37,660
M1.2 x 025 G4 NRSP412BB 2P 36 45 - 24 3 25 5 4 1
M12 x 025 G5 NRSP512BP 4P 36 45 - 24 3 25 5 4 1
M1.2 x 025 G5 NRSP512BB 2P 36 45 - 24 3 25 5 4 1
M1.4 x 0.3 G4  NRSP414CP 4P 36 5.4 - 24 3 25 5 4 1 33,820
M1.4 x 0.3 G4  NRSP41.4CB 2P 36 5.4 - 24 3 25 5 4 1
M1.4 x 0.3 G5 NRSP51.4CP 4P 36 5.4 - 24 3 25 5 4 1
RZ/RS M1.4 x 0.3 G5 NRSP51.4CB 2P 36 54 - 24 3 25 5 4 1
= M1.6 X 0.35 G4 NRSP41.6DP 4P 36 6.3 - 24 3 25 5 4 2 27,530
M16 x 0.35 G4 NRSP416DB 2P 36 6.3 - 24 3 25 5 4 2
M16 x 0.35 G5 NRSP51.6DP 4P 36 6.3 - 24 3 25 5 4 2
M16 x 0.35 G5 NRSP51.6DB 2P 36 6.3 - 24 3 25 5 4 2
M1.7 x 0.35 G4 NRSP417DP 4P 36 6.3 - 24 3 25 5 4 2 31,120
M17 x 0.35 G4 NRSP417DB 2P 36 6.3 - 24 3 25 5 4 2
M17 x 0.35 G5 NRSP51.7DP 4P 36 6.3 - 24 3 25 5 4 2
M17 x 0.35 G5 NRSP51.7DB 2P 36 6.3 - 24 3 25 5 4 2
M17 x 0.35 G6 NRSP617DP 4P 36 6.3 - 24 3 25 5 4 2
M17 x 0.35 G6 NRSP61.7DB 2P 36 6.3 - 24 3 25 5 4 2
M18 x 0.35 G4 NRSP41.8DP 4P 42 63 - 27 3 25 5 4 2 *
M18 x 0.35 G4 NRSP41.8DB 2P 42 63 - 27 3 25 5 4 2 x
M1.8 x 0.35 G5 NRSP51.8DP 4P 42 63 - 27 3 25 5 4 2 *
M1.8 x 0.35 G5 NRSP51.8DB 2P 42 63 - 27 3 25 5 4 2 &
M2 x 0.4 G4  NRSP420EP 4P 2 72 - 27 3 25 5 4 3 25,560
M2 x 0.4 G4  NRSP42.0EB 2P 2 72 - 27 3 25 5 4 3
M2 x 0.4 G5 NRSP520EP 4P 2 72 - 27 3 25 5 4 3
M2 x 0.4 G5 NRSP520EB 2P 42 72 - 27 3 25 5 4 3
M2 x 0.4 G6  NRSP62OEP 4P 2 72 - 27 3 25 5 4 3
M2 x 0.4 G6  NRSP620OEB 2P 2 72 - 27 3 25 5 4 3
M2.3 x 0.4 G4  NRSP423EP 4P 2 72 - 27 3 25 5 4 3
M2.3 x 0.4 G4  NRSP42.3EB 2P 42 72 - 27 3 25 5 4 3
M2.3 x 0.4 G5 NRSP52.3EP 4P 42 7.2 - 27 3 25 5 4 3
M2.3 x 0.4 G5 NRSP52.3EB 2P 2 72 - 27 3 25 5 4 3
M2.3 x 0.4 G6  NRSP62.3EP 4P 2 72 - 27 3 25 5 4 3 *
M2.3 x 0.4 G6  NRSP62.3EB 2P 2 72 - 27 3 25 5 4 3 H
M2.5 x 0.45 G5 NRSP525FP 4P 46 81 14 29 3 25 5 4 4 27,130
M2.5 x 0.45 G5 NRSP525FB 2P 46 81 14 29 3 25 5 4 4
M2.5 x 0.45 G6 NRSP625FP 4P 46 81 14 29 3 25 5 4 4
M25 x 0.45 G6 NRSP625FB 2P 46 81 14 29 3 25 5 4 4
M2.6 x 0.45 G5 NRSP526FP 4P 46 81 14 29 3 25 5 4 4 23,210
M2.6 x 0.45 G5 NRSP526FB 2P 46 81 14 29 3 25 5 4 4
M2.6 x 0.45 G6 NRSP626FP 4P 46 81 14 29 3 25 5 4 4
M2.6 x 0.45 G6 NRSP626FB 2P 46 81 14 29 3 25 5 4 4
M3 x 0.5 G5 NRSP53.0GP 4P 46 9 14 26 4 32 6 4 4 20,710
M3 x 0.5 G5 NRSP53.0GB 2P 46 9 14 26 4 32 6 4 4

P YAMAWA

132 vAmawa caTALOG



ChAP=
20| 2

3 M3
AP E | A2 o]

2k

m

A

0
N .“U
o
—lo

S

I—
o
<
S
o
%]
)
(%2
X

N+RS HIESLE8 EH

= = L 2 n £s Ds K [{3
M3 x 0.5 G6 4P 46 9 14 26 4 3.2 6 4 4

NRSP63.0GP

M3 x 0.5 G6  NRSP63.0GB 2P 46 9 14 26 4 32 6 4 4
M3 x 0.5 G7 NRSP730GP 4P 46 9 14 26 4 32 6 4 4
M3 x 0.5 G7 NRSP730GB 2P 46 9 14 26 4 32 6 4 4
M3 x 0.5 G8 NRSP83.0GP 4P 46 9 14 26 4 32 6 4 4 x
M3 x 0.5 G8 NRSP83.0GB 2P 46 9 14 26 4 32 6 4 4 o5
M3.5 x 0.6 G5 NRSP535HP 4P 52 1 16 29 5 7 4 4 24,860
M3.5 x 0.6 G5 NRSP535HB 2P 52 1 16 29 5 4 7 4 4
M35 x 0.6 G6 NRSP635HP 4P 52 1 16 29 5 4 7 4 4
M35 x 0.6 G6 NRSP635HB 2P 52 1 16 29 5 4 7 4 4
M35 x 0.6 G7 NRSP735HP 4P 52 1 16 29 5 4 7 4 4 #
M4 x 0.7 G5  NRSP54.0IP 4p 52 1 17 29 5 4 7 4 4
M4 x 0.7 G5  NRSP54.0IB 2P 52 1 17 29 5 4 7 4 4 RZ/RS
M4 x 0.7 G6  NRSP64.0IP ap 52 1 17 29 5 4 7 4 4 22,740 SO
M4 x 0.7 G6  NRSP64.0IB 2P 52 1 17 29 5 4 7 4 4
M4 x 0.7 G7  NRSP74.0IP 4p 52 1 17 29 5 4 7 4 4
M4 x 0.7 G7  NRSP74.01B 2P 52 1 17 29 5 4 7 4 4
M4 x 0.7 G8  NRSP84.0IP 4p 52 1 17 29 5 4 7 4 4 X
M4 x 0.7 G8  NRSP84.0IB 2P 52 1 17 29 5 4 7 4 4 *
M5 x 0.8 G5 NRSP55.0KP 4P 60 13 22 33 55 45 7 4 4 B
M5 x 0.8 G5 NRSP55.0KB 2P 60 13 22 33 55 45 7 4 4 x
M5 x 0.8 G6  NRSP65.0KP 4P 60 13 22 33 55 45 7 4 4 23,730
M5 x 0.8 G6  NRSP65.0KB 2P 60 13 22 33 55 45 7 4 4
M5 x 0.8 G7  NRSP75.0KP 4P 60 183 22 33 55 45 7 4 4
M5 x 0.8 G7 NRSP75.0KB 2P 60 13 22 33 55 45 7 4 4
M5 x 0.8 G8 NRSP85.0KB 2P 60 13 22 33 55 45 7 4 4 2
M6 x 1 G5 NRSP56.0MP 4P 62 15 26 33 6 45 7 4 4 #
M6 x 1 G5 NRSP560MB 2P 62 15 26 33 6 45 7 4 4 &
M6 x 1 G6 NRSP66.OMP 4P 62 15 26 33 6 45 7 4 4
M6 x 1 G6 NRSP66.OMB 2P 62 15 26 33 6 45 7 4 4
M6 x 1 G7 NRSP76.0MP 4P 62 15 26 33 6 45 7 4 4 25,910
M6 x 1 G7 NRSP760MB 2P 62 15 26 33 6 45 7 4 4
M6 x 1 G8 NRSP86OMP 4P 62 15 26 33 6 45 7 4 4 #
M6 x 1 G8 NRSP86.OMB 2P 62 15 26 33 6 45 7 4 4 =
N-RS H|HIZAL =&f a8ss
B2Oo/|o =2d-d =71
O|E{LIALE
M2 x 0.25 G4 NRSM42.0BP 4P 42 45 - 27 3 25 5 4 3 2
M2 x 0.25 G4 NRSM420BB 2P 42 45 - 27 3 25 5 4 3 X
M2 x 0.25 G5 NRSM52.0BP 4P 42 45 - 27 3 25 5 4 3 B
M2 x 0.25 G5 NRSM52.0BB 2P 42 45 - 27 3 25 5 4 3 X
M2.5 x 0.35 G4 NRSM425DP 4P 46 63 14 29 3 25 5 4 5 g
M2.5 x 0.35 G4 NRSM425DB 2P 46 63 14 29 3 25 5 4 5 *
M25 x 0.35 G5 NRSM525DP 4P 46 63 14 29 3 25 5 4 5 =
M2.5 x 0.35 G5 NRSM525DB 2P 46 63 14 29 3 25 5 4 5 x
M2.6 x 0.35 G5 NRSM526DP 4P 46 63 14 29 3 25 5 4 5 5
M2.6 x 0.35 G5 NRSM526DB 2P 46 63 14 29 3 25 5 4 5 *

*=53 RE5(+F YU5) ng Think threads with

YAMAWA caTALOG 133



L L n | & | Ds K {4
Az sz
=1
M2.6 x 0.35 G6 NRSM62.6DP 4P 46 63 14 29 25 5 4 5 *
M2.6 x 0.35 G6 NRSM62.6DB 2P 46 63 14 29 3 25 5 4 5 x
M3 x 0.35 G5 NRSM53.0DP 4P 46 65 14 26 4 32 6 4 5 *
M3 x 0.35 G5 NRSM53.0DB 2P 46 65 14 26 4 32 6 4 5 %
M3 x 0.35 G6 NRSM63.0DP 4P 46 65 14 26 4 32 6 4 5 %
M3 x 0.35 G6 NRSMG3.0DB 2P 46 65 14 26 4 32 6 4 5 *
M3.5 x 0.35 G5 NRSM535DP 4P 52 65 16 29 5 7 4 5 £
M3.5 x 0.35 G5 NRSM535DB 2P 52 65 16 29 5 4 7 4 5 *
M3.5 x 0.35 G6 NRSM63.5DP 4P 52 65 16 29 5 4 7 4 5 %
M3.5 x 0.35 G6 NRSM635DB 2P 52 65 16 29 5 4 7 4 5 *
M4 x 0.5 G6 NRSM64.0GP 4P 52 9 17 29 5 4 7 4 5 x
M4 x 0.5 G6 NRSM64.0GB 2P 52 9 17 29 5 4 7 4 5 *
RZ/RS M4 x 0.5 G7 NRSM74.0GP 4P 52 9 17 29 5 4 7 4 5 *
& M4 x 0.5 G7 NRSM740GB 2P 52 9 17 20 5 4 7 4 5 %
M5 x 0.5 G6 NRSMB5.0GP 4P 60 9 22 33 55 45 7 4 5 S
M5 x 0.5 G6 NRSMB5.0GB 2P 60 9 22 33 55 45 7 4 5 x
M5 x 0.5 G7 NRSM750GP 4P 60 9 22 33 55 45 7 4 5 S
M5 x 0.5 G7 NRSM750GB 2P 60 9 22 33 55 45 7 4 5 x
M6 x 0.75 G6 NRSM6E6.0JP 4P 62 15 26 33 6 45 7 4 4 *
M6 x 0.75 G6 NRSM66.0JB 2P 62 15 26 33 6 45 7 4 4 *
M6 x 0.75 G7 NRSM76.0JP 4P 62 15 26 33 6 45 7 4 4 S
M6 x 0.75 G7 NRSM76.0JB 2P 62 15 26 33 6 45 7 4 4 *
M6 x 0.5 G6 NRSM66.0GP 4P 62 9 26 33 6 45 7 4 5 x
M6 x 0.5 G6 NRSM66.0GB 2P 62 9 26 33 6 45 7 4 5 *
M7 x 1 G6 NRSM67.0MP 4P 70 19 - 36 62 5 8 4 6 x
M7 x 1 G6 NRSM67.0MB 2P 70 19 - 36 62 5 8 4 6 *
M7 x 1 G7 NRSM77.0MP 4P 70 19 - 36 62 5 8 4 6 x
M7 x 1 G7 NRSM77.0MB 2P 70 19 - 36 62 5 8 4 6 *
M7 x 0.75 G7 NRSM77.0JP 4P 70 19 - 36 62 5 8 4 6 x
M7 x 0.75 G7 NRSM77.0JB 2P 70 19 - 36 62 5 8 4 6 *
M8 x 1.25 G7 NRSM780NP 4P 70 19 - 36 62 5 8 6 6 36,070
M8 x 1.25 G7 NRSM780NB 2P 70 19 - 36 62 5 8 6 6
M8 x 1.25 G8 NRSM8SONP 4P 70 19 - 36 62 5 8 6 6
M8 x 1.25 G8 NRSM8S.ONB 2P 70 19 - 36 62 5 8 6 6
M8 x 1 G7 NRSM780MP 4P 70 19 - 36 62 5 8 6 6 *
M8 x 1 G7 NRSM780MB 2P 70 19 - 36 62 5 8 6 6 x
M8 x 0.75 G7 NRSM78.0JP 4P 70 19 - 36 62 5 8 6 6 S
M8 x 0.75 G7 NRSM780JB 2P 70 19 - 3 62 5 8 6 6 *
M10 x 1.5 G7 NRSM70100P 4P 75 23 - 38 7 55 8 6 6 46,210
M10 % 1.5 G7 NRSM70100B 2P 75 23 - 38 7 55 8 6 6
M10 x 1.5 G8 NRSM8O100P 4P 75 23 - 38 7 55 8 6 6 x
M10 % 1.5 G8 NRSMSO0100B 2P 75 23 - 38 7 55 8 6 6 *
M10 x 1.25 G7 NRSM7010NP 4P 75 23 - 38 7 55 8 6 6 %
M10 x 1.25 G7 NRSM7010NB 2P 75 23 - 38 7 55 8 6 6 *
M10 x 1.25 G8 NRSM8OIONP 4P 75 23 - 38 7 55 8 6 6 %
M10 x 1.25 G8 NRSMSOIONB 2P 75 23 - 38 7 55 8 6 6 *
M10 x 1 G7 NRSM7010MP 4P 75 23 - 38 7 55 8 6 6 x
M10 x 1 G7 NRSM7010MB 2P 75 23 - 38 7 55 8 6 6 x
M12 x 1.75 G8 NRSM8O12PP 4P 82 26 - 42 85 65 9 6 6 75,990 *
M12 x 1.75 G8 NRSM8O12PB 2P 82 26 - 42 85 65 9 6 6 x

P YAMAWA

134 vAmAwA caTALOG



M12 x 1.75
M12 x 1.75
M12 x 1.5
M12 x 15
M12 x 15
M12 x 15
M12 x 1.25
M12 x 1.25
M12 x 1.25
M12 x 1.25
M12
M12
M14
M14
M14 x
M14 x
M14 x
M14 x
M14
M14
M16
M16
M16 x
M16 x
M16 x
M16 x
M16 x
M16 x 1

M18 x 1.5
M18 x 1.5
M20 x 2.5
M20 x 2.5
M20 x 1.5
M20 x 1.5
M20 x 1.5
M20 x 1.5

Y

[N ]

X X X X
2 22 N NNN-S 222NN
a o

Y

No.0-80UNF
No.0-80UNF
No.1-72UNF

No.1-72UNF

No.2-56UNC
No.2-56UNC
No.2-56UNC
No.2-56UNC
No.2-56UNC
No.2-56UNC
No.2-56UNC
No.2-56UNC
No.3-48UNC

_ExX oEm (A =
*=E% REE (T YLME)

G10
G10
Go9
G9
G8
G8
G9
G9
G10
G10
G9
Go9
G8
G8
G9
G9
G
GN
G9
G9
G10
G10

G5
G5
G5
G5
G4
G4
G5
G5
G6
G6
G7
G7
G4

NRSM9012PP
NRSM9012PB
NRSM80120P
NRSM80120B
NRSM90120P
NRSM90120B
NRSM8012NP
NRSM8012NB
NRSM9012NP
NRSM9012NB
NRSM7012MP
NRSM7012MB
NRSM9O014QP
NRSM9014QB
NRSM0014QP
NRSMO0014QB
NRSM90140P
NRSM90140B
NRSM8014MP
NRSM8014MB
NRSM9016QP
NRSM9016QB
NRSMO0016QP
NRSM0016QB
NRSM90160P
NRSM90160B
NRSM8016MP
NRSM8016MB
NRSM90180P
NRSM90180B
NRSM1020RP
NRSM1020RB
NRSM90200P
NRSM90200B
NRSM00200P
NRSM00200B

NRSM5UNOBP
NRSM5UNOBB
NRSM5UN1CP
NRSM5UN1CB
NRSM4UNZ2EP
NRSM4UNZ2EB
NRSM5UN2EP
NRSM5UN2EB
NRSMGUNZ2EP
NRSMGUN2EB
NRSM7UNZ2EP
NRSM7UN2EB
NRSM4UNSFP

4p
2P
ap
2P
ap
2P
ap
2P
ap
2P
ap
2P
ap
2P
ap
2P
4p
2P
4p
2P
4p
2P
ap
2P
ap
2P
ap
2P
ap
2P
ap
2P
ap
2P
ap
2P

ap
2P
ap
2P
ap
2P
4p
2P
4p
2P
4p
2P
ap

82
82
82
82
82
82
82
82
82
82
82
82
88
88
88
88
88
88
88
88
95
95
95
95
95
95
95
95
100
100
105
105
105
105
105
105

36
36
42
42
42
42
42
42
42
42
42
42
46

33 -
33 -

FLITHO| LAMS

6.3 -
6.3 -
7.2 -
7.2 -
8.1 -
8.1 -
8.1 -
8.1 -
8.1 -
8.1 -
8.1 -
8.1 -
8.1 14

A
03

ChAR=
20|

/,g;::
At

*P—f‘:' 210

2k

24
24
27
27
27
27
27
27
27
27
27
27
29

10.5
10.5
10.5
10.5
10.5
10.5
10.5
10.5
12.5
12.5
12.5
12.5
12.5
12.5
12.5
12.5

W W W W wwwwwwwwow

0o 00 0 0 00 00 0

25
25
25
25
25
25
25
25
25
245
25
25
25

© © © © © O O ©O© © ©o ©

S Y S O Y
g o g g a0 a0 B~ B WO W W W WWWW=2 2 2 A A A

g o oo g g o o g o g o ag

O 0O O O O O O 0O 0O 0O 0O OO 0O OO 0O OO 0O OO 0 OO 0 OO o0 OO o0 OO o0 o0 o0 o o0 o0 o0 oo o0 O

A A DDA DDA DDEDOWOW®

N N N N N N O O o o o o o0 o o0 o o0 0o o0 00 00 0o 00 o0 00 o0 00 o0 00 o0 00 o0 00 o 0o o

B W W W W W W WWDNDNDNDDNDN

THHE It

Think threads with

YAMAWA

YAMAWA CATALOG

RZ/RS

Z2EH
=5

135



EE A = A [ =29 B =
@ =] u“ * E — A L8 7Elo|| w3 Zo| | M3 Aﬁ;’_ *P—t{"'l
L L n | & | Ds K {4
N-RS H|HZ2AL =EEH A 53
BEOoO—o 2H- =01
= =z AbIZ | L

No.3-48UNC NRSM4UN3FB 2P 46 8.1 X
No.3-48UNC G5 NRSM5UN3FP 4P 46 8. 14 29 3 25 5 4 4 *
No.3-48UNC G5 NRSM5UN3FB 2P 46 8.1 14 29 3 25 5 4 4 *
No.4-40UNC G5 NRSM5UN4HP 4p 46 9 14 25 4 3.2 6 4 4 ES
No.4-40UNC G5 NRSM5UN4HB 2P 46 9 14 25 4 32 6 4 4 *
No.4-40UNC G6 NRSMBUN4HP 4P 46 9 14 25 4 32 6 4 4 *
N0.4-40UNC  G6 NRSMBUN4HB 2P 46 9 14 25 4 32 6 4 4 %
No.4-40UNC G7 NRSM7UN4HP 4P 46 9 14 25 4 32 6 4 4 *
No.4-40UNC ~ G7 NRSM7UN4HB 2P 46 9 14 25 4 32 6 4 4 S
No.4-48UNF G5 NRSM5UN4FP 4P 46 9 14 25 4 32 6 4 4 *
No.4-48UNF ~ G5 NRSM5UN4FB 2P 46 9 14 25 4 32 6 4 4 S
No.4-48UNF G6 NRSMGUN4FP 4P 46 9 14 25 4 32 6 4 4 *
RZ/RS No.4-48UNF G6 NRSM6UN4FB 2P 46 9 14 25 4 3.2 6 4 4 ES
= No.5-40UNC G5 NRSM5UNSHP 4P 52 1 16 28 5 4 7 4 4 x
No.5-44UNF G6 NRSMGBUN5GB 2P 52 M 16 28 5 4 7 4 4 *
No.6-32UNC G5 NRSM5UNGJP 4P 52 1 17 27 5 4 7 4 4 X
No.6-32UNC G5 NRSM5UN6JB 2P 52 M 17 27 5 4 7 4 4 *
No.6-32UNC ~ G6 NRSM6UN6JP 4P 52 11 17 27 5 4 7 4 4 %
No.6-32UNC G6 NRSMGUN6JB 2P 52 1 17 27 5 4 7 4 4 *
No.6-32UNC ~ G7 NRSM7UN6JP 4P 52 11 17 27 5 4 7 4 4 %
No.6-32UNC ~ G7 NRSM7UN6JB 2P 52 1 17 27 5 4 7 4 4 *
No.6-40UNF G5 NRSM5UNGHP 4P 52 M 17 27 5 4 7 4 4 *
No.6-40UNF G5 NRSM5UNGHB 2P 52 1 17 27 5 4 7 4 4 x
No.8-32UNC G6 NRSMBUNSJP 4P 60 13 22 31 55 45 7 4 4 *
No.8-32UNC ~ G6 NRSM6UN8JB 2P 60 13 22 31 55 45 7 4 4 *
No.8-32UNC G7 NRSM7UN8JP 4P 60 13 22 31 55 45 7 4 4 *
No.8-32UNC ~ G7 NRSM7UN8JB 2P 60 13 22 31 55 45 7 4 4 =
No.8-32UNC G8 NRSM8UN8SJP 4P 60 13 22 31 55 45 7 4 4 *
No.8-36UNF ~ G5 NRSM5UNSIP 4P 60 13 22 31 55 45 7 4 4 =
No.8-36UNF G5 NRSM5UNSIB 2P 60 13 22 31 55 45 7 4 4 *
No.8-36UNF G6  NRSMBUNSIB 2P 60 13 22 31 55 45 7 4 4 *
N0.10-24UNC =~ G6 NRSMBUNAMP 4P 60 13 22 32 55 45 7 4 4 x
No0.10-24UNC =~ G6 NRSMBUNAMB 2P 60 13 22 32 55 45 7 4 4 *
No0.10-24UNC G7 NRSM7UNAMP 4P 60 13 22 32 5.5 4.5 7 4 4 X
No0.10-24UNC  G7 NRSM7UNAMB 2P 60 13 22 32 55 45 7 4 4 *
No.10-32UNF =~ G6 NRSMBUNAJP 4P 60 13 22 32 55 45 7 4 4 x
No0.10-32UNF = G6 NRSM6UNAJB 2P 60 13 22 32 55 45 7 4 4 *
No.10-32UNF ~ G7 NRSM7UNAJP 4P 60 13 22 32 55 45 7 4 4 x
No.10-32UNF  G7 NRSM7UNAJB 2P 60 13 22 32 55 45 7 4 4 x
1/4-20UNC G6 NRSMGUO4NP 4P 62 15 26 33 6 45 7 4 4 *
1/4-20UNC G6 NRSMBUO4NB 2P 62 15 26 33 6 45 7 4 4 X
1/4-20UNC G7 NRSM7U04NP 4P 62 15 26 33 6 45 7 4 4 *
1/4-20UNC G7 NRSM7UOANB 2P 62 15 26 33 6 45 7 4 4 ES
1/4-20UNC G8 NRSM8UO4ANP 4P 62 15 26 33 6 45 7 4 4 *
1/4-20UNC G8 NRSMBUOANB 2P 62 15 26 33 6 45 7 4 4 ES
1/4-28UNF G6 NRSMBUO4KP 4P 62 15 26 33 6 45 7 4 4 *
1/4-28UNF G6 NRSMBUO4KB 2P 62 15 26 33 6 45 7 4 4 *
1/4-28UNF G7 NRSM7U04KB 2P 62 15 26 33 6 45 7 4 4 X
QUZ4: O|E| LIAL: M2.6 0[5t = 31%, M3 oA+ =1
SFLITIO] LIAL : No.4 0I5t = 918, No.5 0l = 1
M6 0[5t2] A8 2P2 Ty ﬂF—i HHStL AELICE

P YAMAWA

136 vAMAWA caTALOG



L 4 h | ¥ | Ds K fk
R I v . LTS L LN e
el =
WA HIE 349 LA 7HS0 MEret 38 & el
ASET

e

o] 7tSmet =M BN &

HERAZ BEAY A A = 2oty
Low carbon steels Medium carbon steels Stainless steels Copper Wrought aluminum

ANIsA=F= Ul =S

Aluminum alloy castings Zinc alloy castings

1020410208 10204 102081020

(m/min) (m/min) (m/min) (m/min) (m/min)

102041020

(m/min) (m/min) RZ/RS

Z2EH
=u

T TvPE 1 N T TYPE 2 N
Ds K Ds K
= — — 1 _ _
p ‘ & K / 2. L K
L L
T TYPE 3 N T TYPE 4 N
Ds K Ds K
] — H - + — = - _ _
Iy K Y
¢y, L Z, o K
L
HE sz
Enail)
OJE{LIALE
M1 x 0.25 G4 RVP41.0BP 4P 36 45 - 24 3 25 5 4 1
M1 x 0.25 G4 RVP41.0BB 2P 36 45 - 24 3 25 5 4 1
M1 x 0.25 G5 RVP51.0BP 4P 36 45 - 24 3 25 5 4 1 *
M1 x 0.25 G5 RVP51.0BB 2P 36 45 - 24 3 25 5 4 1 g
M1.2 x 025 G4 RVP41.2BP 4P 36 45 - 24 3 25 5 4 1
M12 x 025 G4 RVP41.2BB 2P 36 45 - 24 3 25 5 4 1
M12 x 025 G5 RVP51.2BP 4P 36 45 - 24 3 25 5 4 1 *
M12 x 025 G5 RVP51.2BB 2P 36 45 - 24 3 25 5 4 1 &
M1.4 x 0.3 G4 RVP4A1.4CP 4P 36 54 - 24 3 25 5 4 1
M1.4 x 0.3 G4 RVP41.4CB 2P 36 54 - 24 3 25 5 4 1
M1.4 x 0.3 G5 RVP51.4CP 4P 36 54 - 24 3 25 5 4 1
M1.4 x 0.3 G5 RVP51.4CB 2P 36 54 - 24 3 25 5 4 1
M16 x 035 G4 RVP41.6DP 4P 36 63 - 24 3 25 5 4 2
M1.6 x 0.35 G4  RVP41.6DB 2P 36 6.3 = 24 8 2.5 5 4 2
M16 x 035 G5 RVP51.6DP 4P 36 63 - 24 3 25 5 4 2
M16 x 035 G5 RVP51.6DB 2P 36 63 - 24 3 25 5 4 2
M16 x 035 G6 RVPB1.6DB 2P 36 63 - 24 3 25 5 4 2 *
*=E REE(+F YUE) m vnAkthMreaAdstR

YAMAWA caTALOG 137



RZ/RS

Z2EH
=u

138

22 | A 2ol

E]
)

2K

THE Ik

M1.7 x
M1.7 x
M1.7 x
M1.7 x
M1.7 x
M1.7 x
M2 x
M2 x
M2 x
M2 x
M2 x
M2 x
M2.3
M2.3 x
M2.3 x
M2.3
M2.5 x
M2.5 x
M2.5 x
M2.5 x
M2.6
M2.6 x
M2.6 x
M2.6 x
M3 x
M3 x
M3 x
M3 x
M3 x
M3 x
M3 x
M4 x
M4 x
M4 x
M4 x
M4 x
M4 x
M4 x
M4 x
M5 x
M5 x
M5 x
M5 x
M5 x
M5 x
M5 x
M5 x
M6 x
M6 x

0.35
0.35
0.35
0.35
0.35
0.35
0.4
0.4
0.4
0.4
0.4
0.4
0.4
0.4
0.4
0.4
0.45
0.45
0.45
0.45
0.45
0.45
0.45
0.45
0.5
0.5
0.5
0.5
0.5
0.5
0.5
0.7
0.7
0.7
0.7
0.7
0.7
0.7
0.7
0.8
0.8
0.8
0.8
0.8
0.8
0.8
0.8
1
1

P YAMAWA

YAMAWA CATALOG

RVP41.7DP
RVP41.7DB
RVP51.7DP
RVP51.7DB
RVP61.7DP
RVP61.7DB
RVP42.0EP
RVP42.0EB
RVP52.0EP
RVP52.0EB
RVP62.0EP
RVP62.0EB
RVP42.3EP
RVP42.3EB
RVP52.3EP
RVP52.3EB
RVP52.5FP
RVP52.5FB
RVP62.5FP
RVP62.5FB
RVP52.6FP
RVP52.6FB
RVP62.6FP
RVP62.6FB
RVP53.0GP
RVP53.0GB
RVP63.0GP
RVP63.0GB
RVP73.0GP
RVP73.0GB
RVP83.0GP
RVP54.0IP
RVP54.0IB
RVP64.0IP
RVP64.0IB
RVP74.0IP
RVP74.0IB
RvP84.0IP
RVP84.0I1B
RVPb55.0KP
RVP55.0kB
RVPE5.0KP
RVP65.0KB
RVP75.0KP
RVP75.0KB
RVP85.0KP
RVP85.0KB
RVP76.0MP
RVP76.0MB

4p
2P
4p
2P
4p
2P
4p
2P
4p
2P
4p
2P
4p
2P
4p
2P
4p
2P
4p
2P
4p
2P
4p
2P
4p
2P
4p
2P
4p
2P
4p
4p
2P
4p
2P
4p
2P
4p
2P
4p
2P
4p
2P
4p
2P
4p
2P
4p
2P

14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
17
17
17
17
17
17
17
17
22
22
22
22
22
22
22
22
26
26

o OOy ool A AR BR AN DWW WW®WWWWWWWWWWWWWWw W W W W w
SR RS S SIS SO B IS

R e o o T T U NG N U N U
S 1S, WS RS IS BN S WS, BN S, BES BN Sy

~N N N YN N N YN Y YN YN Y Y Y YN Y YN N0 00000000 0 OO O oo o oo oo oo oo o1 oo oo o oo o oot

N S N Y N N N N Y N N Y e Y N S N Y N N N N Y N Y N Y N N N N N Y N N N N N N N N

A DA A DM PSSP SAEMSAEMSMAEDDMEEMSEDSSDEDESESEPMSADEDSESEPSEPDEDSE DS OOOOOOOOOCOCWOLODNNDDNDNDDNDDND



ITRD

® It & MAS

(eI — - —— - |
oo b S S 1111

YMYIYA

LINE UP

ITRD

np& S MAE

»

*

7

HEF

]

on

O Qlel| 0 2§10] At Hgot=s 7t ASLICE



ra
0

Y35y | =olef Zo|

Ds | &n

® o2 HHE

ITRD

uE= E A =

W)
(¢
—

NS

ATZ, SAIRol 2 B S,

ol ®H7t 7H55HAH = AELIC

=
49l S4 T/t 202 ZE30) e, BT Lok B,

ITRD
LR

W 713 Al 1 (ALIO|EH el 32)

7ta=A

= - A | SP M12x1.75 3 # 0l 15mm

Jdb & A& T | S50C Ab € J1 H | MCBT40 AHY

At & 3 | ITRDDc8.5 2 A e H| 24 EARW slM 2044

g M & T | 450min” 2 Lt AF & T | HOIXI OK(E2Z ALZHOl F)
00l & & T | 3mm/min(AR10.3mm)

T HAHE o) IH
W

1IIII‘BJS

=2T
LHIS B 22 20| HISE B2 2L Ol HHE

JHEAM™ AN THEM, A SHE SE0171 HE D, =30 &ol IHHO| L2 HEL

OEhd ITRDE LMY H(EQAE 2T 3 5° 0l&4)S MAHGH= Ol 01 & XL

W 713 At 2 GHERO|LL ZQIERO| HR)

7tE8Z=7 ITRD Dc-8.5

B 7 & HT M12x15 b3 A 0l 12mm

J 3 & IH | SCM440 At & J1 H | MCAHZE

3 ™ & T | 460min” B A 2 H| 24 E2ARWM SIA 2001

0l & & T | 3mm/min(AR0.3mm)

e HAE 2ol T

HAHH

) - . ] -~ &
Z=0|) SHEEHO|L} FEQIE Bt 22 X|=0| B2 J120| ZI0{EI4-2 BHo| HET| 3|01X|7| 4|2 K] BiQ| IHO| Lhalist| £ict.

ET =

JMEZ MA =F0i| A30| Lt B THHO| LS M= 7188 M0 IHHE H SO MHSHHM ZHAHA 7HS5HAIR.

P YAMAWA

140 vAmAwa caTALOG



sy | w@m | M3% | =0k 2ol
Dc | L | Ds | In
WA 7IsE RIS 2
ECRES HA Jhsst 8 5| H2 o Gr3
= 12 2 SHsE OlsAE s
() sP PO HT s i) (mm)
6.0 M8 - M10 M8 M10 550~650
7.0 M10 - M12 M10 M12 450~550 2+4 0.2-0.4
85 | M2 MI4-MI6|  M12 M12-M14 |  400~500
x ATHOJZ B (E9IAE 2t 35°014)0] Mol AZIQILICE 2122 HO[X|o| T7H8 Al 1, (ATOIZ! o] H)E &z RetepiLlct

| X7 =kt

Fol) nfsl

Al
4
e 4

Ho| o, o oh BER

T

AFUCE

7t
T2l So= HWHSHA| Hnfstod,
FlojLt2 £20| RA=ZF HHsHAL.

fEN2 Tt 3HH HAH 77t

=5t}

O = =

[
HMA Thset Bofl 5
Metsta, Mcol| 37 3
TH| SARSHO], T Je|
HAH STE M8 FAL.

=
=

®

EOEROIL HEBS

IHEOI Lkl

AA

[=1=)

A o= xHg Doy
+8H HARE S5 350t

G732| AH9| 0|E0 2 MESHH|
7t35 F=MK.

* G730 SR CH HOIRISl RS BmelEAIR
Z0|) J1BES Ol 22]7} LiBiA

B HO| LIZHSA| KRS BED, IHHS
ASOE H7{elo] FUAIR. 53], POLIHTS
Safep| 7t Tater ThHo| 2ofEH
A7 279 HA0= ofofalLct

0| 20{e
A3 7E

-

Lo K—

o AN

IHE 243502 1M

R B PO Ofkst A2(7}
LIDE, 0132 BHIFHAIR. 7
OFZ0| FH0| 10| 1 EH0| ZA4{=(of
2lo] 2ot 7t2S Feet i
oI E 2 UBLIL
OFEIBE 1O 2 0|=5}04

AN

7S )

7t30| U, XS = #o|
T ZE HAs FHA L.

S tEELICE

20| mat o= ALIAE 7S

ot= XIS HHESH] ol =24

T rto
B
o
0m
02

1>

[e]]
PN

it}
=

& AOIEMME

HASHE

Think threads with

YAMAWA

YAMAWA CATALOG

Z-pro

S

ATIFO

SL

S

PO

EQIEH

HT

24EH
=

SHCEH
="

RZ/RS

ZEH
=0

ITRD

TR RS
PTIFFIPS
-
“to]A
CD

=

Jl=Xit=

141



ra
0

Y35y | =olef Zo|

® me © mMHE

W)
(¢
—

Ds | &n

ITRD Ot H|H E

[ TYPE: 1
Ds
=0 |-

&n

Z7:562
I ES = Dc L Ds 2n
szaC vee | EED

O[E|LIALS
6 x 8 x 60 ITZ6.00ZPWSI 6 60 8 30 1
7x8x70 ITZ7.00ZPWSI 7 70 8 35 1
8.5x 10 x 75 1T28.50ZPWSJ 8.5 75 10 40 1

| BN

ITRD @ 7|7li= MCLENC, WIHA 52| $EHO R ABSHIAIR. S2> HAIRIOIME ALSE 4+ it

HeRE ® M1 o] 210j= ATjo|IOR 15D O[3}, EIEHO|L} HEHS 1DOSIRILIC

® 20| 52 7|A S2US AIBSHIAIR, 28N HASHE S23| ZTHIAL.

® ITRDE= HHE HE|HA| IHAE e HHE 4 QOLt SiFA| IHAE e HHZ 0| S|HsLE 0|S3101 HfE 4 SALIC,

® 930 RS HAETJ} £2 AL S HEBLICH Y20|E S| A= HHE HO| SIHBI{LE 0158101 A2t 4 gLt

[M21% U %210 A H N

-
G73 G83
(RETHI SOI2XI 2=CH (RETHI S0RICH
————— > wa)) N T
U . — Bl g — OIS
‘ =3H
RE i = RH M
Q - ? Q SR ‘
i d i o d
LELFAIOI 404 I | o
LEAFAFO §10{ E40) 0| EEI0| 17| 2o q | 0 B |
DL AU 42, A8 W Al 0] i I“ i e
o HEE 2 ! !
ﬂfi'ifi;i*f;“ SIESIALE OISHH HRILL |
S EEO e IKE T4 HI9). |
x4 g}
\_ ) U# y

ZF9|) IRE ALK LIARMO| REK QUS = UABLICH M2t 2 MFE2 MA = LA F2E ES5h= 3771 oteutt

A2 Mol 9|
& 10| 930| YCD2 Hi, B0 S ABSHINIR ® 7210 X e, 2L0IL ZS20| $EE Bl
DGR,
A=l 0|5 olond XS HALXIHO 2HIAL
¢ IEE YIS0l ASEE H38 SALASS MSole 2 & IJISTHE J12 S0 SX0IX| =2 HHs| DHEHIAR
22 2 002 BN S0i= BUYZES HS6H DA Mot OHPLH 2 W 272 AKR6HI TRIAIS.
@ SIGHE SR Ol 22 [HE 4 QIOLI OHNBLE ASHEMR 24 S 122301 U0 21Ol 21201 A=

*=EF REE (5 YUE) O=HM=AM2E
m Think threads with

142 vAmAwA caTALOG



PT/PF/PS

@ 22 (To| =)

TYMYINYA T

LINE UP

PT 2 HIO|HLIANS SHE 21 LIAIS
LS-PT S- 43 A8 HIOIHLIALE HER 21 LAt
SP-PT 28 H|O|HLIAE ATHO| 2 ~Z1 LIAIS
LS-SP-PT &- 43 S HIOIHLIALE AIO| Y 71 LA
INT-S-PT 28 HIOHLIALS QIERE B2 LAY
PS 28 FALIAE HEH
LS-PS S- 43 UE GHULIALE HEH
SP-PS o8 FELIALS AO|HH
PF 28 FALIAE HEH
LS-PF S- 43 UE THULIALE HEH
SP-PF T8 FELIALS AO|HH
LS-SP-PF - 43 28 FELIAIE AmO|EH
NPT 0|= 28 HIO|HLIALS HER 21 LAt
SP-NPT 0|= 28 HIO|IHLIALS ALO|2E -ZI LIAIY
INT-NPT 0|= 28 HIOIHLIALS QIE T -Z1 LIATE
NPTF 0|= E2t0|2 FEE HIO|HLIALE HER

g S22 216l 0l 1GI0] AlE HEoHE B9/t U



JH0IE

qd

K0
xl
il
K0

A

3

= =
a e|olo
P oo - .
o | T B
et go
=l
H —
=
& » [N — . °1°|°
L 2 e
SHT
2 -
>
o, o|lo|o
AN ‘
wn
g o|o|o0
b g - ¢
n
& . . ole|o
P%Qo
@ o
3.
3i
o0 =
=
W%U [ | . ©|0]|0
» | T e
: -
=
o0 -
x| ., [ — o|lolo
O I *
= -
[ |
e e | g o|olo
g 3 3 ¢
=
. eo|olo
= | O | OHU 20 | 20
o RN
20 | %0 [ 80 | =g | 2 | =0 | =0 | =0 | B0 | = b on | [0 | Il o =
PPl Pl i e e e e e R R R S I TR G o | o [ @ o@D a
i i O o T T = O T o I e I <R A
=Ko [ | zl A0 0 ETEmT_M_mHuw_M
- - P I ofl o
0 = .| - |= o | Bl & i | i
9 aE e W |x3z\%|33)3]2 o
m| =5 WD ERHE AR
LU o5 |w|Wiwims|y
=|TH Tt 5|3 |2/ w|2|a
oll OF o5 (=
o3 s|2|2|8|8 Q
Sl o T T |T|T|LR|IQ|olo|lQ3l|Q | a|la|g|2|Q
S I M R N R
e o |w|w|w X
wn N | ™| | 0

PTIPFIPS
ey

Think threads with

DX YAMAWA

YAMAWA CATALOG

144



_gp-pT| LS-SP-S- Z-PRO Y ™ L SU-SP-S- ; e
LS-SP-PT| ~=" o7 A0 Re SU-PT | SU-S-PT | SU-SP-PT 5t INT-PT | INT-S-PT
HSS HSS HSS HSS HSS  Coating | HSS ~ OX HSS  OX HSS  0X HSS  OX HSS  0X HSS  OX HSS  OX HSS  0OX
Z2H|0|H
| LEAKS = 22 HIOIH LI 2 242 HIOIT LIS
Exég HEFAZIR 2 HIOIH LIS AHIQIZIAZE AFSIalAztE OlE e
PTIPFIPS
T
* * L 4 * * * * * * * * * *
o o o © o o o o o o o o}
¢} o ¢} 0 |4| © o ¢} o ¢}
¢} o ¢} O |o| © o ¢}
¢} O |o| © o o
e| © o ¢} o ¢} o ¢}
o ¢} o o}
| O
¢ O

P YAMAWA

YAMAWA cATALOG 145



PTIPF/PS

ey

146

NExH
HEJIS Ls-NT-pr | NSNS fe-pT | Fos-PT | CT-PT | CT-sPT NPT S-NPT | SP-NPT
EATHA
HD“ I‘I EI HSS (0):¢ HSS [0)4 HSS NI HSS NI HF HF HSS HSS HSS
ZSH 0HLIE
=S = AfjolalAnE B HOIH LIS =88 0I= B2 HOIH LIS 2t

H=E

E—

t
|
LI JLI0 LI LN DD (L
O1E LEA
SUI0I LA
HE LAt
THEE LIAH
ZHE LI} * * * * * *
Ol= 28 LIt * * *
OILICIH LERH
AMCH2IE LAY
“S25C @) O ©)
$25C~S45C o ©) ©)
S45C” O o (@]
SCM O (@]
25735HRC
35745HRC
45755HRC
55763HRC
SuS AHI ©) o
SKD
SC O O
FC ©) o ©) ©)
FCD @) O @) O
Cu
Bs
BsC ©) ©)
PB
AL &
AC.ADC 220|
Mg 01
ZDC 0
LI ES

m Think threads with

YAMAWA

YAMAWA CATALOG



{;Jw Lo aImE N Yy :§¢g¢;}

I gie | e:2ms
JIHINS - H/E350H8 B

Ls-NPT | BSSESST | INT-NT | INT-S-NPT | NPTF | LS-NPTF Rp PS SP-PS & PF SP-PF | Ls-Ps

HSS HSS HSS oX HSS 0X HSS HSS HSS HSS HSS HSS HSS HSS HSS

—a BN
s T azdEliz 3zHONLIE
e | el ol B o= = QlHIR 2-9Hte

U Uliulil

| eSS

PT/PFIPS

R

* * * * 4 * *
* * * * * *
€} o O o O o O o O o

(€] ©} (€] ©} (€] ©} (€] ©} (€] ©} (€]
o O o O o O o O o O o
o o O

(€] ©}

o O

P YAMAWA

YAMAWA cATALOG 147



p el JIHILB-H/Z57HE B ‘
=915 -SP- H _sp- Z-PRO Z-PRO o L
HEJ1= LS-SP-PS LS-PF LS-SP-PF PS LH PF LH AUSP Rp AUSP G SU-PF SU-SP-PF
EHIHII
Eﬁm EEJ HSS HSS HSS HSS HSS HSS  Catng | HSS Cofng | HSS  OX | HSS  OX

oHE T [ MU E
A AL

c

uiiull u Uil U

ma
14
0%
02
0

i

PTIPF/IPS DIEd LEA}
#sed SLITHOI LHAF
QI LEAt
THES LI
B LM * * IS IS . * . . IS
0I= 28 Lt
DILIOHH LE}
ATHIE LH
“$25C HERAZ o o) o) o) O ol © |o| © o o
$25C~S45C ZEAY o o o o o (¢l © |o| © o) o)
545C" DEAY o) 0 o) o) O |o| © |o| © o
SCM s ol © |o| © o
25"35HRC TEL
35745HRC TEZ
45"55HRC TEZ
55"63HRC 2L
sUs AHlRIRIAZ ol O lel © o o
SKD =72
sC =%
FC z=H
FCD 2ol =H
Cu el
Bs o=
BsC s 52
PB HE
AL 22| ATH
AC.ADC a2 g2 52 e O || O
Mg 0Hs 22 =2
Zne RS ¢ O || O
Eler gtz
Les
SALAE AHoHY
ZAAE QAN

P YAMAWA

148 YAmMAWA cATALOG



amey | OETE 2 o:masy
age 9T
QeEEE R e:dsl

IANS - H/EEHE Y

FC-PS CT-PS FC-PF CT-PF NPS NPSF

HSS NI HF HSS NI HF HSS HSS

=28 D=xE=20l2

T2 T LIS Z28 ZULlE FSTULA
OlHI OlHI
2o 2o

PT/PFIPS

R

* * L 4 *
* *
o O
(€] o
o O
€ o o ©
O o o O
(€] ©}

P YAMAWA

vamawa cataLoc 149



= [ 5
2o|

2 wamz | s |l

29 | Ds | K 2k

2
0z
doMN
2k

—
)

B HIO|m LIALE 3HE & 2 LIAFE

ALEZ]

m
=
T
o

—

8 BE S H&0 A0IM, LIRS LIZES
SHOE 5t= ME2 LAt U0 Ar8dt=
=)

HIOIH LIALE HERLIC

o] 7t3Het 3

Medium carbon steels High carbun steels Alloy steels

(m/min) (m/min) (m/min)

T TYPE ;1 7 T TYPE :2 7
PTIPFIPS Dy K D L
e N 1» B _
] *E[ - - 2 =
Y Dk Iy K
] K Z
L L

Z31:16

()X == AL 3= Al SZCA— L ? 2 Ds K 2k = A
f _|_'_ = <] T gl
== s= 7|X|A ( ) ( ) ( ) ( ) ( ) ( ) =T YPE nl’DHx 7

HE HIO|H LIAE

PT 1/16-28 I TH2TO1K-8 2.5P 7.723 55 19 13 8 6 9 4 1 48,050
PT 1/8-28 I TH2T02K 2.5P 9.728 55 19 13 4 2 33,100
PT 1/4-19 I TH2TO4- 2.5P 13.157 62 28 21 i 9 12 4 2 47,450
PT 3/8-19 I TH2TO06- 2.5P 16.662 65 28 21 14 1 14 4 2 78,320
PT1/2-14 I TH2T08Q 2.5P 20.955 80 35 25 18 14 17 4 2 124,910
PT 5/8-14 I TH2T10Q 2.5P 22.91 82 35 25 19 15 18 4 2 &
PT 3/4-14 I TH2T12Q 2.5P 26.441 85 35 25 23 17 20 4 2 201,180
PT 7/8-14 Il TH2T14Q 2.5P 30.201 90 40 28 24 19 22 4 2 =
PT1-1 I TH2T16U 2.5P 33.249 95 45 32 26 21 24 5 2 394,130
PT11/8-1 I TH2T18U 2.5P 37.897 100 45 32 28 21 24 5 2 =
PT11/4-1 I TH2T20U 2.5P 41.910 105 45 32 32 26 30 5 2 797,090
PT11/2-1 I TH2T24U 2.5P 47.803 110 45 32 38 29 32 6 2 1,118,640
PT13/4-1 I TH2T28U 2.5P 53.746 115 45 32 42 32 35 6 2 *
PT2-1 I TH2T32U 2.5P 59.614 120 50 35 46 35 38 6 2 1,771,190
PT 21/4-1 I TH2T36U 2.5P 65.710 145 65 50 50 38 42 6 2 x
PT 21/2-1 I TH2T40U 2.5P 75.184 145 65 50 55 11 44 8 2 e
PT3-11 I TH2T48U 2.5P 87.884 155 65 52 65 50 52 8 2 x
PT 31/2-1 Il TH2T56U 2.5P 100.330 165 68 52 70 54 58 8 2 e
PT4-1 I TH2T64U 2.5P 113.030 170 70 55 75 58 62 10 2 *

P YAMAWA

150 vamAwA caTALOG



Medium carbon steels

(m/min)

I—

High carbon steels

(m/min)

Alloy steels

(m/min)

TYPE : 1
Ds
S i él
4y Iy
Y

PT 1/16-28
PT 1/8-28
PT 1/8-28
PT 1/8-28
PT 1/4-19
PT 1/4-19
PT 1/4-19
PT 3/8-19
PT 3/8-19
PT 3/8-19
PT 3/8-19
PT1/2-14
PT 1/2-14
PT 3/4-14
PT 3/4-14
PT1-1
PT1-1
PT11/4-1
PT 11/2-1
PT 2-11

L10TO1K-8
L10TO2K
L15T02K
L20TO2K
L10TO4-
L15T04-
L20TO4-
L10TO6-
L12T06-
L15TO6-
L20TO6-
L15T08Q
L20T08Q
L15T12Q
L20T12Q
L15T16U
L20T16U
L20T20U
L20T24U
L20T32U

2
&)

VR T
20|

/g,!q

FE]
AR E |t ol

—

2k

Ds

HA0| 0L, LIAHEO)

UEEE

2 5t ME2 LA -0l AL8dt=E
& H|O|m LIAHS HERRILICE

R

Z3:16

2| F9| L 2 %) Ds K K | =
oty | 38| B2 | oy | 8y | [Tree]_wore

#E HIO|H LIAE

2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P
2.5P

7.723
9.728
9.728
9.728
13.157
13.157
13.157
16.662
16.662
16.662
16.662
20.955
20.955
26.441
26.441
33.249
33.249
41.910
47.803
59.614

100
100
150
200
100
150
200
100
120
150
200
150
200
150
200
150
200
200
200
200

19
19
19
19
28
28
28
28
28
28
28
35
35
35
35
45
45
45
45
50

13
13
13
13
21
21
21
21
21
21
21
25
25
25
25
32
32
32
32
35

6 9 4 1
6 9 4 2
6 9 4 2
6 9 4 2
9 12 4 2
9 12 4 2
9 12 4 2
1l 14 4 2
1" 14 4 2
1" 14 4 2
1 14 4 2
14 17 4 2
14 17 4 2
17 20 4 2
17 20 4 2
21 24 5 2
21 24 5 2
26 30 5 2
29 32 6 2
35 38 6 2

>:<.

65,520
116,020
>:<.
87,220
117,750

117,200

194,310
>:<.

232,480

514,100

734, 410

P YAMAWA

YAMAWA CATALOG

PT/PFIPS

2

151



L | 71 A E]
sy | B TR | e | s el ao
L 2 9 | Ds | K 2k

& H|OIm LIALE ALIO|EHY ZI LIAKY

5
m

8 BE SO Z&0 A0IM, LIALR S| LIZYES
FRXOZ st MIZ 2l LIA A0 A=
rul 1=)

b

—

HIOITH LIAHE ALIOIZ2RILICE

Medium carbon steels High carbon steels Alloy steels

(m/min) (m/min) (m/min)

[ TyPE ;1 ] [ TYPE :2 ]
PTIPFIPS K K
B2 Ds = Ds
O rre
44 2 K 49 | 4 K
Y Y
L L

E3:16

== 9| A2 L ? 2 Ds K K | =
[==1 b | S 9 3]
- - 2113 | (mm) | (mm) | (mm) | (om) | (mm) | (mm) | S5 TPEL A

2 HIO|H LIAE

PT1/16-28 I SH2TOIK-8 25P 7723 55 19 13 31 59,520
PT 1/8-28 I SH2TO2K  25P 9728 55 19 13 8 3 2 48,710
PT 1/4-19 I SH2TO4-  25P 13157 62 28 21 M 9 12 3 2 70,950
PT 3/8-19 I SH2TOs-  25P 16662 65 28 21 14 1M 15 3 2 101800
PT 1/2-14 I SH2TOBQ  25P 20955 80 35 25 18 14 17 4 2 162,310
PT 3/4-14 I SH2TI2Q  25P 26441 85 35 25 23 17 20 4 2 311570
PT1-11 | SHTIBU  25P 33240 95 45 % 26 21 24 4 2 749000
PT11/4-11 I  SH2T20U  25P 41910 105 45 32 32 26 30 4 2 1086, 890
PT11/2-11 Il SH2T24U  25P 47803 110 45 32 38 29 32 4 2 1661, 110
PT 2 -11 I SH2T32U  25P 59614 120 50 35 46 35 38 4 2 2632120°

P YAMAWA

152 YAMAWA CATALOG



LI | 71E M3 E]
Yo | Sm° | #25 | yHew b
2

g | Ds K 2k

2
&)

—
o

LS-SP-PT
Z M3 2L H|o|H LIS
A0 21 LIAKH

NCRE

W 248 23 32 TS0 A, LIAMRS LHEES
FEXOE ot MIZ 2l LI A0 AH8sH=
28 HIOIL LIAHE & 43 AnjO|2RULICY.

Zt

o] 7tSMet =8 EfE

e DERAZ
Medium carbon steels High carbon steels Alloy steels

(m/min) (m/min) (m/min)

TYPE ;1 7]
__ Ds K PT/PFIPS
=
-gg | ﬁk K
Y
L
Z31:16

= 29| L ? 2 Ds K k |=
= b | S 9 3]
Aol= S dE3E 7|&X[£ | (mm) | (mm) | (mm) | (mm) [ (mm) | (mm) £+ |TYPE Bt

#E HIO|H LIAE

PT 1/8-28 I SH2TO2KL10 25P 9728 100 19 13 6 3 1 130,310
PT 1/8-28 I SH2TO2KL12 25P 9728 120 19 13 6 3 E
PT 1/8-28 I SH2TO2KL15 25P 9728 150 19 13 8 6 3 1 204,280
PT 1/4-19 I SH2TO4-L10 25P 13157 100 28 21 1 9 12 3 1 141,050
PT 1/4-19 I SH2TO4-L12 25P 13157 120 28 21 N 9 12 3 1 *
PT 1/4-19 I SH2TO4-L15 25P 13157 150 28 21 1 9 12 3 1 207550
PT 3/8-19 Il SH2TO6-L12 25P 16662 120 28 21 14 11 14 3 1 *
PT 3/8-19 Il SH2TO6-L15 2.5P 16662 150 28 21 14 1 14 3 1 342,100
PT 1/2-14 Il SH2TO8QL1S 2.5P 20955 150 35 25 18 14 17 4 1 409,350
PT 3/4-14 Il SH2T12QLI5  2.5P  26.441 150 35 25 23 17 20 4 1 657,420
PT1-1 Il SH2T16ULI5 2.5P  33.249 150 45 32 26 21 24 4 1 916,470
PT 1-11 Il SH2T16UL20 2.5P 33249 200 45 32 26 21 24 4 1 E

*»=53 QEE(+F UE) m Think threads with

YAMAWA

YAMAWA cATALOG 153



m | |G| e | s e
L 2 29 | Ds | K Lk
INT-S-P1
i I o [
g HIO|m] LIALE QUEE & W2 LIAFE
NS W23 AR HISYOR, LIS ZHBE 144 2702

- M7stl 2o ESE BHAI = W2 LI BCE,
5| AHQIZIAZOILL EE S2|EHZ § B2 M2
LAF 7150l Z{ghet LTt

1| 7tSRHet =M EHE £

AHYAZ
Stainless steels

(m/min)

[ TYPE :1 7 [ TYPE :2 ]
PTIFFIPS D, D :
jnlt=1-7]
kS N i B ~ ) B L
EI )
4 £ 4q I
4 )
L L

=716

9| A9 L 2 g Ds K K | =
* | i (5o | oy | oy B o] eow

HE HIO|H LIAME

Al
=

NES Su ME I

PT 1/16-28 I TISTOTK-8 3p 7723 55 165 10.5 3 1

PT 1/8-28 I TISTO2K 3p 9728 55 165 10.5 5 2 69,080
PT 1/4-19 I TISTO4- 3p 13157 62 195 125 1 9 12 5 2 100,440
PT 3/8-19 I TISTOB- 3 16662 65 21 14 14 1 14 5 2 164,450
PT 1/2-14 I TISTO8Q 3 20955 8 27 17 18 14 17 5 2 263,010
PT 3/4-14 I TISTO12Q 3P 26441 8 29 19 23 17 20 5 2 445790
PT1-1 I TISTO16U 3P 33249 95 35 22 26 21 24 5 2 830,700
PT11/4-11 I TISTO20U 3p 41910 105 375 245 32 26 30 5 2 1,206,080
PT11/2-1 I TIST024U 3P 47803 110 385 255 38 29 32 7 2 1690290
PT2-M I TISTO32U 3P 59614 120 425 275 46 35 38 7 2 2681130

P YAMAWA

154 vAmAWA cATALOG



)
&)

K Lk

l_
)
O
n

W 2E 23 32 &0 ACM, LIAFRS LiEES
FEHOE ol MIZQ LIAHEZ M85t 28 B
LIAFE HEHRILICE 713 PS YLIALE PT $LIAIRIS
=0 AL

HErAY
Low carbon steels

] T TYPE :2 ]
Ds K Ds K
Y 4 K Y
. k J . . k PT/PFIPS

E7:16

2lZe| L 2 Ds K % | =
sz | o) | om) | (om) | (om) | (om) |EF[TYPE] EHOHEH

#E HO|H LIALE

Afo|= S8

0

PS 1/16-28 I TH2POIK-8  3.5P 7.723 55 19 6 4 1
PS 1/8-28 [ TH2PO2K ~ 3.5P 9.728 55 19 6 4 2 27,480
PS1/8-28 I TH2PO2K1 ~ 1.5P 9.728 55 19 6 4 2 *
PS1/4-19 I TH2P004-  3.5P 13.157 62 28 11 9 12 4 2 40,840
PS 1/4-19 Il TH2PO04-1  15P 13.157 62 28 11 9 2 4 2 *
PS 3/8-19 I TH2PO06-  3.5P  16.662 65 28 14 11 14 4 2 67,990
PS 3/8-19 Il TH2PO06-1  1.5P 16.662 65 28 14 11 14 4 2 *
PS1/2-14 I TH2PO8Q  3.5P  20.955 80 35 18 14 17 4 2 109,370
PS1/2-14 I TH2PO8Q1  1.5P 20.955 80 35 18 14 7 4 2 *
PS 5/8-14 I TH2P10Q  3.5P 22.91 82 35 19 15 18 4 2

PS 3/4-14 I TH2P12Q  3.5P  26.441 85 35 23 17 20 4 2 180,210
PS 3/4-14 I TH2P12Q1  1.5P 26.441 85 35 23 17 20 4 2 *
PS7/8-14 I TH2P14Q  3.5P 30.201 90 40 24 19 22 4 2 *
PS1-1 I TH2P16U  3.5P  33.249 95 45 26 21 24 5 2 311,910
PS1-11 I TH2P16U1  15P  33.249 95 45 26 21 24 5 2 *
PS11/8-1 I TH2P18U  35P  37.897 100 45 28 21 24 5 2

PS11/4-1 I TH2P20U  3.5P 41.910 105 45 32 26 30 5 2

PS11/4-1 l TH2P20U1  15P 41.910 105 45 32 26 30 5 2 *
PS11/2-1 l TH2P24U  35P  47.803 1m0 45 38 29 32 6 2

PS11/2-1 I TH2P24U1  15P 47.803 1m0 45 38 29 32 6 2 *
PS13/4-11 I TH2P28U  3.5P 53746 N5 45 42 32 3 6 2 *
PS 2-11 I TH2P32U  35P 59614 120 50 46 35 38 6 2

PS 21/4-11 I TH2P36U  3.5P 65.710 145 65 50 38 42 6 2 *
PS21/2-1 I TH2P40U  3.5P 75184 145 65 55 a1 4 8 2 *
PS 3-11 I TH2P48U  3.5P  87.884 155 65 65 50 52 8 2 *
PS 31/2-1 I TH2P56U  3.5P  100.330 165 68 70 54 58 8 2 *
PS 4- I TH2P64U  3.5P  113.030 170 70 75 58 62 10 2 *

*»=5% REE(+F UtHE) m Think threads with

YAMAWA

YAMAWA CATALOG 155



I FE] FE]
3 EA
2ol | #3 | wzm= |azmaol

L 2 | Ds | K 2k

3

AMSEE W 28 2F S2 &0 ACA, LIASRS LiEES
FEHOE ot MIZ2 LA 0| Ar8dt=

U8 YALIAE S-Y3BULICH

7tSE PS YLIAE PT SLIAIRLS| S0 AFSEILICE.

HERAZ
Low carbon steels

(m/min) (m/min) (m/min)

TyPE ;1 7]
FTIFEEQ 5. K
T —=F
Y
L Lk, K

EF:16

BER L ? Ds K h = 1

HE HHLIAE

1z

Ao|= S8 HE IE

PS 1/8-28 I L1I0PO2K  3.5P 9728 100 19 6 9 4 1
PS 1/8-28 I L15P02K  3.5P 9728 150 19 6 4 1
PS 1/8-28 I L20PO2K  3.5P 9728 200 19 6 4 1 ®
PS 1/4-19 I L10PO4-  35P 13157 100 28 1 9 12 4 1
PS 1/4-19 I L15P04-  35P 13157 150 28 M 9 12 4 1
PS 1/4-19 I L20P04-  3.5P 13157 200 28 11 9 12 4 1 -
PS 3/8-19 I L10POS-  35P 16662 100 28 14 1 14 4 1
PS 3/8-19 I L15P06-  35P 16662 150 28 14 1 14 4 1
PS 3/8-19 I L20PO6-  3.5P 16662 200 28 14 1N 14 4 1 ®
PS 1/2-14 I L15P08Q  35P 20955 150 35 18 14 17 4 1
PS 1/2-14 I L20P08Q  3.5P 20955 200 35 18 14 17 4 1 *
PS 3/4-14 I L15P12Q  35P 26441 150 35 23 17 20 4 1
PS 3/4-14 I L20P12Q  35P 26441 200 35 23 17 20 4 1 *
PS1-11 I L15P1I6U  3.5P 33249 150 45 26 21 24 5 1
PS1-11 I L20P16U  35P 33249 200 45 26 21 24 5 1 *
PS 11/4-11 I L20P20U  35P 41910 200 45 32 26 30 5 1 X
PS 11/2-11 I L20P24U  3.5P  47.803 200 45 38 29 32 6 1 ®

P YAMAWA

156 vAMmAwA caTALOG



# | U | #2792 | dies | aeim o
L 2 | Ds | K | €&

W 28 22 50| A0 U0, LI LiNS Sp
F2HOR ot REO| LIAF A0 Atgote o
BZ WAL ATO|ZHLICY, SL_

7HBE PS YLIARS PT £LIAQLO| SHE 20| MG EILICE gy

o] 7tSMet =8 EE £ oleg

HEAZ = TEAY HT
Low carbon steels Medium carbon steels High carbon steels

5700 5100 510
I T RZ/RS

ZEH
=0

_ 3 ITRD
TYPE : 1 TSRS
K PTIPFIPS

Ds R

D
z s K fols
CD

=

716 JIEXi=

2| A9 L 4 Ds K &K
sS2 f < = q]

HE HHLIAE

:

PS 1/8-28 Il SH2P02K 2.5P 9.728 55 19 8 6 9 3 1 45,960
PS 1/4-19 Il SH2P04- 2.5P 13.157 62 28 " 9 12 <) 1 66,790
PS 3/8-19 Il SH2P06- 2.5P 16.662 65 28 14 i 14 <) 1 110,960
PS1/2-14 Il SH2P08Q 2.5P 20.955 80 35 18 14 17 4 1 178,770
PS 3/4-14 Il SH2P12Q 2.5P 26.441 85 35 23 17 20 4 1 302,130
PS1-1 Il SH2P16U 2.5P 33.249 95 45 26 21 24 4 1 572,870
PS11/4-1 Il SH2P20U 2.5P 41.910 105 45 32 26 30 4 1 *
PS11/2-1 Il SH2P24U 2.5P 47.803 110 45 38 29 32 4 1 &
PS2-1 Il SH2P32U 2.5P 59.614 120 50 46 35 38 4 1 ®

*»=5% REE(+F UHE) m Think threads with

YAMAWA

YAMAWA caTALOG 157



PTIPFIPS

ey

158

NE) KE]
3 xA = =
2o | 8253 | pzm= | wam )

2k

ra
0

F‘
)
&
A

=
FEHOZ o= MIE2| LI A8t
U8 JULIAE HERALICH

7t&E PF YLIALE PF LIAtRIO] S R0| AFSELIC

W 8 BE 50| W0z JN By
.i

HERAZ e
Low carbon steels Medium carbon steels

IEAZ
High carbon steels

7 " TYPE :2 N
Ds K Ds K
1 ) _ _ _ )
) )
Y/ . Yk K 4 . bx K
ET:16
28 WAL
PF 1/16-28 I TH2FOIK-8  3.5P 7723 55 19 6 4 1 *
PF 1/8-28 Il TH2F02K 3.5P 9.728 55 19 6 4 2 27,480
PF 1/8-28 I TH2FO2KT ~ 1.5P 9.728 55 19 8 6 9 4 2 *
PF 1/4-19 I TH2FO4-  3.5P 13.157 62 28 11 9 12 4 2 39,810
PF 1/4-19 I TH2FO4-1  15P 13.157 62 28 11 9 2 4 2 *
PF 3/8-19 I TH2FO6-  3.5P 16.662 65 28 14 11 14 4 2 66,260
PF 3/8-19 I TH2FO6-1  1.5P 16.662 65 28 14 17 14 4 2 *
PF 1/2-14 I TH2FO8Q  3.5P 20.955 80 35 18 14 17 4 2 109,370
PF 1/2-14 Il TH2FO8BQ1  1.5P 20.955 80 35 18 14 7 4 2 *
PF 5/8-14 I TH2F10Q  3.5P 22.9M 82 35 19 15 18 4 2 e
PF 3/4-14 I TH2F12Q  3.5P 26.441 85 35 23 17 20 4 2 180,210
PF 3/4-14 I TH2F12Q1  1.5P 26.441 85 35 23 17 20 4 2 =
PF 7/8-14 I TH2F14Q  3.5P 30.201 90 40 24 19 22 4 2 *
PF1-11 I TH2F16U  3.5P  33.249 95 45 26 21 24 4 2 339,030
PF1-11 I TH2F16U1  1.5P 33.249 95 45 26 21 24 4 2 *
PF11/8-1 I TH2F18U  3.5P 37.897 100 45 28 21 24 4 2 =
PF11/4-1 I TH2F20U  3.5P 41910 105 45 32 26 30 4 2
PF11/4-1 I TH2F20U1  1.5P 41910 105 45 32 26 30 4 2 e
PF11/2-1 I TH2F24U  3.5P 47803 110 45 38 29 32 6 2
PF11/2-1 Il TH2F24U1  15P 47803 110 45 38 29 32 6 2 e
PF13/4-11 I TH2F28U  3.5P 53746 115 45 42 32 35 6 2 *
PF 13/4-11 Il TH2F28U1  15P 53746 115 45 42 32 35 6 2 e
PF2 -1 I TH2F32U  3.5P 59.614 120 50 46 35 38 6 2
PF2 -1 Il TH2F32U1  15P 59.614 120 50 46 35 38 6 2 ~
PF 21/2-1 I TH2F40U ~ 3.5P 75184 145 65 55 41 44 8 2 *
PF 3 -1 I TH2F48U  3.5P 87884 155 65 65 50 52 8 2 =
PF3-1 Il TH2F48U1  1.5P 87884 155 65 65 50 52 8 2 #
PF 31/2-11 I TH2F56U  35P 100330 165 68 70 54 58 8 2 g
PF4 -1 I TH2F64U  35P 113030 170 70 75 58 62 10 2 #
X YAMAWA
YAMAWA CATALOG



)
&)

Lk

—
)
@
~

£- 43 28 WY LIS WE Y

O THao =2d3
FEHOZ 5t= MF2| LIAL MIZoll A3t
2HE U LIANE 8 43 M RYLICE
7I8E&l= PF YLIAE PF =LIAIRtO|
SHEEI0) AFSEILICE

HERAZ
Low carbon steels

(m/min)

AL
=]

(m/min) (m/min)

TYPE ;1 N
PT/PFIPS
Ds K ﬂ_rézﬂ.l
—_ I o _
| | .
Y Y
L L2k, K

E7:16

2|Z9| L 2 Ds K 2k =

e WAHLIAE

Ato|= S8

PF 1/8-28 I L10F02K 3.5P 9.728 100 19 6 4 1 72,050
PF 1/8-28 I L15F02K 3.5P 9.728 150 19 6 4 1 129,210
PF 1/8-28 I L20FO2K  3.5P 9.728 200 19 6 4 1 ®
PF 1/4-19 I L10F04- 35P 13157 100 28 11 9 12 4 1 97,500
PF 1/4-19 I L15F04- 35P  13.157 150 28 1 9 12 4 1 132,080
PF 1/4-19 I L20F04- 35P 13157 200 28 1 9 12 4 1 A
PF 3/8-19 I L10F06- 35P  16.662 100 28 14 11 14 4 1 125,360
PF 3/8-19 I L15F06- 35P  16.662 150 28 14 1 14 4 1 220,910
PF 3/8-19 I L20F06- 35P  16.662 200 28 14 n 14 4 1 ®
PF 1/2-14 I L15F08Q 35P  20.955 150 35 18 14 77 4 1 266,370
PF 1/2-14 I L20FO8Q  3.5P  20.955 200 35 18 14 17 4 1 ®
PF 3/4-14 I L15F12Q 35P  26.441 150 35 23 17 200 4 1 425980
PF 3/4-14 I L20F12Q 35P  26.441 200 35 23 17 20 4 1 ®
PF1-11 I L15F16U 35P 33249 150 45 26 21 24 4 1 616,930
PF1-1 I L20F16U 35P 33249 200 45 26 21 24 4 1 ®
PF 11/4-11 I L20F20U  3.5P 41.910 200 45 32 26 30 4 1 A
PF 11/2-11 I L20F24U  35P  47.803 200 45 38 29 32 6 1 ®
PF2-1 I L20F32U  3.5P 59.614 200 50 46 35 38 6 1 &

*=53 QEE(+FT UHE) m Think threads with

YAMAWA

YAMAWA cATALOG 159



FE] FE]

T YV I —
= il I o D

20|

L 2 | Ds | K 2k

BE A LIS Anjoj2H

Z-pro

S W 28 HE 50| BA0R J|J|N 2y RSO ol
HZ2| LIAF MISI0) AHSSHE B2 T8 LIS LIS SRiLiCt,

7tSE PF 2LIAL PF =LIALRIS] SES R0 AFSELICE

soien Il 7HERS A M BT 4

HEAZ SELZ A

HT Low carbon steels Medium carbon steels High carbon steels

R/ /RS (m/min) (m/min) (m/min)

T8 TS TyPE ;1

TpEH Ds

IS 27 :16

Q|9 L 2 Ds K 2K A
JIEH (mm) | (o) | (nm) | (mm) | EFTYPELEOEEA

#E WHLIAE

oln
0z
1z

PF 1/8-28 I SH2FO2K  2.5P 9.728 55 19 8 6 9 3 1 45,960
PF 1/4-19 I SH2F04- 2.5P 13.157 62 28 1 9 2 3 1 66,790
PF 3/8-19 I SH2F06- 25P  16.662 65 28 14 1 14 3 1 110,960
PF 1/2-14 I SH2FO8Q  2.5P  20.955 80 35 18 14 17 4 178,770
PF 3/4-14 I SH2F12Q  2.5P  26.441 85 35 23 17 20 4 1 302130
PF 1-11 I SH2FI6U  2.5P  33.249 95 45 26 21 24 4 1 572,870
PF 11/4-11 I SH2F20U  25P  41.910 105 45 32 26 30 4 1 917,690"
PF11/2-11 I SH2F24U  25P  47.803 10 45 38 29 32 4 1 1267840
PF2-1 I SH2F32U  25P 59614 120 50 46 35 38 4 1 *

P YAMAWA

160 vavawa catALOG



)
&)

Lk

—
)
@
~

SP-PF

S-43 U8 Y LIS A0 EE

W U2 HE SO HA0Z J|AN HEUS FTEXOZ 3=
MIZ2| LIAF MO AFSHE 28 T LIALE L BYLICE
7tEE PF YLIAL PF =LIAIRIO| SIS R0 ASELICE

HERAZ
Low carbon steels

(m/min) (m/min) (m/min)

TYPE ;1 n
PT/PFIPS
Ds K e
—_ I T _
| |
YA I
L > K

E7:16

2/Z9| L 2 Ds K 2k A
I.

#HE WAHLIAE

Afo|= S8

0

PF 1/8-28 Il SH2FO2KL10  2.5P 9.728 100 19 8 6 31 X
PF 1/8-28 Il SH2FO2KL12  2.5P 9.728 120 19 6 31 S
PF 1/8-28 Il SH2FO2KL15  2.5P 9.728 150 19 6 301 X
PF 1/4-19 Il SH2FO4-L10 25P  13.157 100 28 n 9 12 3 1 &
PF 1/4-19 Il SH2FO4-L12 25P  13.157 120 28 11 9 2 3 1 x
PF 1/4-19 Il SH2FO4-L15 25P 13157 150 28 n 9 12 3 1 *
PF 3/8-19 Il SH2FO6-L12 25P  16.662 120 28 14 n 14 3 1 X
PF 3/8-19 Il SH2FO6-L15 2.5P  16.662 150 28 14 11 14 3 1 X
PF 1/2-14 Il SH2FO8QL15S 2.5P  20.955 150 35 18 14 17 4 1 X
PF 3/4-14 Il SH2F12QL15  25P  26.441 150 35 23 17 20 4 1 =
PF1-1 I SH2FI6UL15  25P  33.249 150 45 26 21 24 4 1 X
PF1-1 Il SH2F16UL20 2.5P 33249 200 45 26 21 24 4 1 X

*=53 QEE(+FT UHE) m Think threads with

YAMAWA cATALOG 161



= [ JE e El
w | U TG | e | s et
L ? 29 | Ds | K | £

N P I oo b e o

A

W 2E 23 52 &0 ACA, LIRS HEYES
FEHOE ol MIZ2 LIAHEE0 At 8dt=s
0528 H|O|mf LIALE HERRLICE

o] 7tSMet &8 B S

TERAZE

B
Medium carbon steels High carbon steels Alloy steels

(m/min) (m/min) (m/min)

TYPE ;1 7 T TYPE :2 ]
PTIFFIPS Ds K = £
- -1
49 | 4 K 2y | | 2 K
Y/ Y
L L
Z1:1G6

x =5 = g = 28| L ? ? Ds K K =
= 3 | g 5
AoI= o= JE 3 . Z1EXl%= | (mm) | (mm) | (mm) | (mm) [ (mm) | (mm) S+ |TYPE|  EIOHET}

0|= 2E EIO|H LIALE

1/16-27 NPT ANSIG  TNPTOIL 3P 7770 54 17 12 4 1 53,030
1/8-27 NPT ANSIG TNPTO2L 3P  10.117 55 19 12.05 4 2 50,130
1/4-18 NPT ANSIG TNPTO40 3P 13426 62 28 1745 1 9 12 4 2 70,710
3/8-18 NPT ANSIG TNPTOBO 3P 16866 65 28 1765 14 1 14 4 2 117,750
1/2-14 NPT ANSIG TNPTOSQ 3P 20980 80 35 2285 18 14 17 4 2 208,910
3/4-14 NPT ANSIG TNPT12Q 3P 26325 85 35 2295 23 17 20 4 2 373,350
1-111/2NPT  ANSIG TNPT16T 3P 32934 95 45 274 26 21 24 5 2 639490
11/4-111/2 NPT ANSIG TNPT20T 3P 41689 105 45 281 32 26 30 5 2 &
11/2-111/2 NPT ANSIG TNPT24T 3P 47760 110 45 284 38 29 32 6 2 *
2-1112NPT  ANSIG TNPT32T 3P 59797 120 50 28 46 35 38 6 2 =
21/2-8 NPT ANSIG TNPT40X 3P 72273 145 65 408 55 41 44 8 2 ®
3-8 NPT ANSIG TNPT48X 3P 88184 155 65 4295 65 50 52 8 2 E

P YAMAWA

162 vAMAWA caTALOG



LI | 71E M3 E]
Yo | Sm° | #25 | yHew b
2

g | Ds K 2k

2
&)

—
o

W 2E 23 52 &0 ACA, LIRS HEES
FFEOZ Sh= MIZ2l LIAL MIZ0H AtEst=
0= 28 H|O|m LIALE L LI,

HEAZ
Low carbon steels Medium carbon steels High carbon steels

(m/min) (m/min) (m/min)

TyPE ;1 7 [ TYPE :2 7
__ Ds K D K PT/PFIPS
N = = 1 ) N ~ B il Eysy=
T ) =
£y I K 49 T 4« K
Y Y
L L
Z3:16

= =) = 5 = R L 2 4 Ds K k=
=4 3 I < |
Atol= SH CEES = ZIEXl%= | (mm) | (mm) | (mm) | (mm) | (mm) [ (mm) S+ |TYPE|  BOHET}

0|= 2t& E|o|H LIALE

*

116-27 NPT~ ANSIG  SNPTOIL  25P 7770 54 17 12 8 6 9 3 1 93,470
1/8-27 NPT ANSIG SNPTO2L 255 10177 55 19 1205 8 6 9 3 2 88400
1/4-18 NPT ANSIG SNPTO40 2.5P 13426 62 28 17.45 11 9 12 3 2 128260
3/8-18 NPT ANSIG SNPTOBO 2.5P 16866 65 28 1765 14 11 14 3 2 209,880
1/2-14 NPT ANSIG SNPTO8Q 2.5P 20.980 80 35 2285 18 14 17 4 2 344210
3/4-14 NPT ANSIG SNPT12Q  2.5P 26.325 8 35 2295 23 17 20 4 2 582660
1-111/2NPT  ANSIG SNPTI6T 25P 32934 95 45 274 26 21 24 4 2 1703,260

*=53 QEE(+FT UHE) m Think threads with

YAMAWA

YAMAWA cATALOG 163



PTIPF/PS

ey

164

B R mna |22, |
Zol | g | 9FHB | gamz |aszol

2k

ra
0zt

I—
<
<

«
O
[%2)
7<

INT-NPT

0|= & HIOIm LIALE UEI-E 21 LIAIY

AI.O E PN
B 23 AZ HISEORE LIAKIS ZHHHE 14
UAHOE MGt BA EIE BAATI= B E
£5| AHQIZAZOILL IF S2EHZ S
DX WS O| LIAF 7H20] XSkt EHOIL|CY

o] 7tSRHet =M EHE £

AR A
Stainless steels

(m/min)

[ TYPE :1 7 [ TYPE :2 ]
- Ds K L Ds K
izgr_ Sk K 4q ; A K
Y Y
L L
Z1:1G6

== = 2A9| L 4 1] Ds K 2k =

0|= & Ef|o|H LiALE

1-111/2 NPT ANSIG  TINPT16T 3P 32.934 95 45 27.4 26 21 24
11/4-111/2NPT  ANSIG  TINPT20T 3P 41.689 105 45 281 32 26 30
11/2-111/2NPT  ANSIG  TINPT24T 3P 47.760 110 45 28.4 38 29 32
2 -111/2 NPT ANSIG  TINPT32T 3P 59.797 120 50 28 46 35 38

1/16-27 NPT ANSIG  TINPTOIL 3P 7770 54 17 12 8 6 9 ®
1/8-27 NPT ANSIG  TINPTO2L 3P 10117 55 19  12.05 X
1/4-18 NPT ANSIG TINPTO40 3P  13.426 62 28 1745 11 9 12 *
3/8-18 NPT ANSIG TINPTOBO 3P  16.866 65 28 1765 14 11 14 H
1/2-14 NPT ANSIG TINPTOS8Q 3P 20980 80 35 2285 18 14 17 ®
3/4-14 NPT ANSIG TINPT12Q 3P 26325 85 35 2295 23 17 20 5

N N o0 oo oo o1 O W
N N NN NN NDNDNDND -

P YAMAWA

YAMAWA CATALOG



LI | 71E M3 E]
Yo | Sm° | #25 | yHew b
2

g | Ds K 2k

2
&)

—
o

NPTF

0= E2t0l2 RE 8 IOl LIAL 8 HE &

NCaE

vss il

o] 759t =8 EHESE

e

8 25 59 HA0 A0IM, LIARS LHZES
FHEOZ ot MZ2l LIAHEF0| AtEst=
0= E2t0|4 24 HIOIH LIALE HEYULIC

Medium carbon steels High carbon steels Alloy steels

(m/min) (m/min) (m/min)

TyPE ;1 7 [ TYPE :2 7
L Ds K D K PTIFFIPS
N = — T ) N - i i e
== ) ===
'eg Sk K 4y ] Ok K
Y Y
L L
Z1:1G6

= =) = 5 = R L 2 4 Ds K k=
=4 3 I < |
Atol= SH CEES = ZIEXl%= | (mm) | (mm) | (mm) | (mm) | (mm) [ (mm) S+ |TYPE|  BOHET}

0= E2t0| ¥ REE H|O|m LIALE

1/16-27 NPTE  ANSIG  TNTFOIL 3P 7770 54 17 12 8 6 9 4 1 62,430
1/8-27 NPTF ANSIG TNTFO2L 3P 10117 55 19 12.05 4 2 58,990
1/4-18 NPTF ANSIG TNTFO40 3P 13426 62 28 1745 1 9 12 4 2 88,400
3/8-18 NPTF  ANSIG TNTFOBO 3P 165866 65 28 1765 14 11 14 4 2 216,620
1/2-14 NPTF ANSIG TNTFO8Q 3P 20980 80 35 2285 18 14 17 4 2 346,670
3/4-1ANPTF  ANSIG TNTF12Q 3P 26325 85 35 2295 23 17 20 4 2 587,540
1-111/2NPTF  ANSIG TNTF16T 3P 32934 95 45 274 26 21 24 5 2 1,091,840
11/4-111/2NPTF ANSIG  TNTF20T 3P 41689 105 45 281 32 26 30 5 2 &
11/2-111/2NPTF ANSIG TNTF24T 3P 47760 110 45 284 38 29 32 6 2 X
2-111/2NPTF ANSIG TNTF32T 3P 59797 120 50 28 46 35 38 6 2 =

*=53 QEE(+FT UHE) m Think threads with

YAMAWA

YAMAWA cATALOG 165



Think threads with

YAMAWA

o L
, f’ f
o8 i L}
7
-
P L
e '
T
2 |
; E
!L g

By e




CHO|A

LINE UP

D HSS £2|ELH0|A
DLH S2|E CHO|A — ZHAF
D PT EIOITH IO| X LIARME £2|E THojA
D PF T Mo AYEE £2|E CHOJA
D NPT 0|= H|O|I{ LO| = LIAME &2|E CHO|A
DNPTF  Ol= Ec}0)* H|O|H 0| = LIAKME £2|E CHO|A




< =H

&d|E oA

E I
o=

L EEEE
CloiAS| BEE FUEE BUNL £21e cho

® SI}7| 20| OpEE Ho) W 22|C C0jA D BH
[E®]0| EILIC}. Bup| S0 0j2
o2 7H3 WS At
SeAELICL

RD-DA AREl (@-53 &%) RD-DA Of0teo| &ZL|Ch

@ 718 7|2H0| El=(HH)2 £2|ECHOJA D OH (V18 7[EH) ZFA TH0IA Z3ICH0IA D
SO RHAH A| SHHO| QA

SIS AWES MAMSLIC
* £2|C CIOJA D= SIFIOREASE 4 QAL

@ &2|= CHO|AO| 22 LIAF ZF0| E2RSLICt
ZZAITHOACH HISHCHO|A 2RAQ| FRUET b E|USLIC

@ ZZA CI0|A E]2 ZHE S2I0F2ZEM, TR 00~ S3ISCH0/2 D
U7t =2 £LIAL 7SS ’é'g SHSLILCE
M 7S4[0l
J2EZ DIl M6x1 (20)]
I R
H M % 2 6m/min
ol s | =
I W | 2= M
= & = § | siEsaic +22|2 CIO|AD| +L A, TE=pto| £200) 50| 2{ch

EXZ
Think threads with HME
X YAMAWA

168 YAMAwWA cATALOG



[ TYPE : 1

M1 x 0.25
M1 x 0.25
M1 x 0.2
M1.2 x 0.25
M1.2 x 0.25
M1.2 x 0.2
M1.4 x 0.3
M1.4 x 0.3
M1.4 x 0.2
M1.6 x 0.35
M1.6 x 0.35
M1.6 x 0.2
M1.7 x 0.35
M1.7 x 0.35
M1.7 x 0.2
M1.8 x 0.35
M1.8 x 0.35
M1.8 x 0.2
M2 x 0.4
M2 x 0.4
M2 x 0.4
M2 x 0.25
M2 x 0.25
M2.2 x 0.45
M2.2 x 0.45
M2.2 x 0.25
M2.2 x 0.25
M2.3 x 0.4
M2.3 x 0.4
M2.3 x 0.25
M2.5 x 0.45
M2.5 x 0.45
M2.5 x 0.35
M2.6 x 0.45
M2.6 x 0.45
M2.6 x 0.35
M3 x 0.5
M3 x 0.5
M3 x 0.5
3M0.6
3M0.6

Wi

TYD1.0BDNEBC
TYE1.0BDNEBC
TYE1.0ADNEBC
TYD1.2BDNEBC
TYE1.2BDNEBC
TYE1.2ADNEBC
TYD1.4CDNEBC
TYE1.4CDNEBC
TYE1.4ADNEBC
TYD1.6DDNEBC
TYE1.6DDNEBC
TYE1.6ADNEBC
TYD1.7DDNEBC
TYE1.7DDNEBC
TYE1.7ADNEBC
TYD1.8DDNEBC
TYE1.8DDNEBC
TYE1.8ADNEBC
TYD2.0EDNEBC
TYE2.0EDNEBC
TYG2.0EDNEBC
TYD2.0BDNEBC
TYE2.0BDNEBC
TYD2.2FDNEBC
TYE2.2FDNEBC
TYD2.2BDNEBC
TYD2.2BDNEBC
TYD2.3EDNEBC
TYE2.3EDNEBC
TYE2.3BDNEBC
TYE2.5FDNEBC
TYG2.5FDNEBC
TYE2.5DDNEBC
TYE2.6FDNEBC
TYG2.6FDNEBC
TYE2.6DDNEBC
TYD3.0GDNEBC
TYE3.0GDNEBC
TYG3.0GDNEBC
TYE3.0HDNEBC
TYG3.0HDNEBC

D T A

[ TYPE :2

O[E{LIAE

16
20
20
16
20
20
16
20
20
16
20
20
16
20
20
16
20
20
16
20
25
16
20
16
20
16
16
16
20
20
20
25
20
20
25
20
16
20
25
20
25

© N © N 00 N O N N O N N N O o0 N 0N 00O N O N N 0N N O NN O N N O NN O N N oo

<l

W W W W W WwWwwWwwwwowwwowowowowowowowowowowowowowowowowowowowowowowowowowowowow

o

=3:30

Y U G U U G U U U U U U UG G U U GG G P U G G U U U U U (I

120,450

120,450

>:<.

120,450

183,340

BS

99,700

210,630 %

156,030
210,630

99,700
210,630%
99,700

>:<.

240,370
99,700

240,370

76,060

122,090 %

Think threads with

YAMAWA

YAMAWA CATALOG

=
T

clolA

169



CtojA

M3 x 0.35 I TYE3.0DDNEBC 20 7 3 1 105,770
m M3 x 0.35 Il TYG3.0DDNEBC 25 9 3 1 ¥
M3.5 x 0.6 Il TYE3.5HDNEBC 20 7 3 1 77,340
M3.5 x 0.6 Il TYG3.5HDNEBC 25 9 3 1 ¥
M3.5 x 0.5 Il TYE3.5GDNEBC 20 7 3 1 X
M3.5 x 0.35 Il TYE3.5DDNEBC 20 7 3 1 170,750
M4 x 0.7 Il TYE4.0IDNEBC 20 7 3 1 76,060
M4 x 0.7 Il TYG4.0IDNEBC 25 9 3 1
M4 x 0.7 Il TYJ4.0IDNEBC 38 13 4 1 %
4M0.75 Il TYE4.0JDNEBC 20 7 3 1 122,230
4M0.75 Il TYG4.0JDNEBC 25 9 3 1 *
M4 x 0.5 Il TYE4.0GDNEBC 20 7 3 1 99,180
M4 x 05 Il TYG4.0GDNEBC 25 9 3 1 *
M4 x 0.35 I TYE4.0DDNEBC 20 7 3 1 167,430 *
M4.5 x 0.75 Il TYE4.5JDNEBC 20 7 4 1 134’920‘2(
M4.5 x 0.5 Il TYE4.5GDNEBC 20 7 4 1 164,280.%
M5 x 0.8 Il TYE5.0KDNEBC 20 7 4 1 76,060
M5 x 0.8 Il TYG5.0KDNEBC 25 9 3 1
D M5 x 0.8 Il TYJ5.0KDNEBC 38 13 4 1 *
ClolA 5M0.9 Il TYE5.0LDNEBC 20 7 4 1 122’230'%
5M0.9 Il TYG5.0LDNEBC 25 9 3 1 ¥
M5 x 0.75 Il TYE5.0JDNEBC 20 7 4 1 195’970‘%
M5 x 0.5 Il TYE5.0GDNEBC 20 7 4 1 99,180
M5 x 0.5 Il TYG5.0GDNEBC 25 9 3 1
M5.5 x 0.9 Il TYES.5LDNEBC 20 7 4 1 138,960.%
M5.5 x 0.5 Il TYE5.5GDNEBC 20 7 4 1 164,280X
M6 x 1 Il TYE6.0MDNEBC 20 7 4 1 76,060
M6 x 1 Il TYG6.0MDNEBC 25 9 4 1
M6 x 1 Il TYJ6.0MDNEBC 38 13 4 1
M6 x 0.75 Il TYEG6.0JDNEBC 20 7 4 1 111,270
M6 x 0.75 Il TYG6.0JDNEBC 25 9 4 1
M6 x 0.75 Il TYJ6.0JDNEBC 38 13 4 1 ¥
M6 x 0.5 Il TYE6.0GDNEBC 20 7 4 1 170,750
M6 x 0.5 Il TYG6.0GDNEBC 25 9 4 1
M7 x 1 Il TYG7.0MDNEBC 25 9 4 1
M7 x 0.75 I TYG7.0JDNEBC 25 9 4 1
M7 x 0.5 Il TYG7.0GDNEBC 25 9 4 1 264,480
M8 x 1.25 Il TYG8.ONDNEBC 25 9 4 1 96,080
M8 x 1.25 Il TYJ8.ONDNEBC 38 13 4 1
M8 x 1.25 Il TYM8.0NDNEBC 50 16 4 1
M8 x 1 Il TYG8.0MDNEBC 25 9 4 1 105,590
M8 x 1 Il TYJ8.0MDNEBC 38 13 4 1
M8 x 0.75 Il TYG8.0JDNEBC 25 9 4 1 127,430
M8 x 0.5 I TYG8.0GDNEBC 25 9 4 1 260,560
M9 x 1.25 Il TYG9O.ONDNEBC 25 9 5 1 106,750§<
M9 x 1 Il TYG9.0MDNEBC 25 9 5 1 203,390
M9 x 0.75 Il TYG9.0JDNEBC 25 9 5 1 225,500

D 22 =clojAa

< =H

P YAMAWA

170 YAMAWA cATALOG



Q13 SH
D T
D Z£:Z|ECLClojA
| 25 9 1

M9 x 0.5 [ TYG9.0GDNEBC 5 264,480
M10 x 1.5 Il TYGO100DNEBC 25 9 5 1 96,080
M10 x 15 Il TYJO100ODNEBC 38 13 4 1

M10 x 15 Il TYMO100DNEBC 50 16 4 1

M10 x 1.25 Il TYGO10NDNEBC 25 9 5 1 93,160
M10 x 1.25 Il TYJO10ONDNEBC 38 13 4 1

M10 x 1.25 Il TYMO10NDNEBC 50 16 4 1 *
M10 x 1 Il TYGO10MDNEBC 25 9 5 1 120,120
M10 x 1 Il TYJO10MDNEBC 38 13 4 1

M10 x 0.75 Il TYGO10JDNEBC 25 9 5 1

M10 x 0.75 Il TYJO10JDNEBC 38 13 4 1

M10 x 0.5 Il TYGO10GDNEBC 25 9 5 1 227,490
M11 x 1.5 Il TYJO110DNEBC 38 13 4 1 235,010%
M11 x 1.25 Il TYJOTINDNEBC 38 13 4 1 245,530%
M11 x 1 Il TYJOTIMDNEBC 38 13 4 1 323,410
M11 x 0.75 Il TYJO11JDNEBC 38 13 4 1 425,670
M11 x 0.5 Il TYJO11GDNEBC 38 13 4 1 487,840%
M12 x 1.75 Il TYJO12PDNEBC 38 13 4 1 137,670
M12 x 175 Il TYMO12PDNEBC 50 16 4 1 D
M12 x 1.5 Il TYJO120DNEBC 38 13 4 1 137,130 ClolA
M12 x 15 Il TYMO120DNEBC 50 16 4 1 *
M12 x 1.25 Il TYJO12NDNEBC 38 13 4 1 137,130
M12 x 125 Il TYMO12NDNEBC 50 16 4 1 %
M12 x 1 Il TYJO12MDNEBC 38 13 4 1 188,160
M12 x 1 Il TYMO12MDNEBC 50 16 4 1 *
M12 x 0.75 Il TYJO12JDNEBC 38 13 4 1 425,670
M12 x 0.5 Il TYJO12GDNEBC 38 13 4 1 448,690
M13 x 1.5 Il TYJO130DNEBC 38 13 5 1 258,200%
M13 x 1.25 Il TYJO13NDNEBC 38 13 5 1 x
M13 x 1 Il TYJO13MDNEBC 38 13 5 1 %
M13 x 0.75 Il TYJO13JDNEBC 38 13 5 1 340,370%
M13 x 05 Il TYJO13GDNEBC 38 13 5 1 *
M14 x 2 Il TYJO14QDNEBC 38 13 5 1 137,670
M14 x 2 Il TYMO14QDNEBC 50 16 4 1

M14 x 1.5 Il TYJO140DNEBC 38 13 5 1 137,130
M14 x 15 Il TYMO140DNEBC 50 16 4 1 x
M14 x 1.25 Il TYJO14NDNEBC 38 13 5 1 266,560
M14 x 1 Il TYJO14MDNEBC 38 13 5 1 177,870
M14 x 0.75 Il TYJO14JDNEBC 38 13 5 1 X
M14 x 05 I TYJO14GDNEBC 38 13 5 1 #
M15 x 2 Il TYJO15QDNEBC 38 13 5 1 *
M15 x 15 Il TYJO150DNEBC 38 13 5 1 *
M15 x 1.25 Il TYJO15NDNEBC 38 13 5 1 *
M15 x 1 I TYJO15MDNEBC 38 13 5 1 323,410
M15 x 0.75 Il TYJO15JDNEBC 38 13 5 1 x
M15 x 0.5 Il TYJO15GDNEBC 38 13 5 1 *
M16 x 2 Il TYJO16QDNEBC 38 13 5 1 149,980
M16 x 2 Il TYMO16QDNEBC 50 16 4 1

M16 x 1.5 Il TYJO160DNEBC 38 13 5 1 137,780
M16 x 15 Il TYMO160DNEBC 50 16 4 1

%=EX QEZ (AR MAZ ’
* RES(TF YUE) m Think threads with

YamAwA caTaLoc 171



ClojA

D T
D &Z|ECloa
M16 x 1.25 [ TYJO16NDNEBC 38 13 5 1 263,140*
M16 x 1 I TYJO16MDNEBC 38 13 5 1 177,870
M16 x 1 [ TYMO16MDNEBC 50 16 4 1
M16 x 075 [ TYJO16JDNEBC 38 13 5 1 *
M16 x 0.5 [ TYJO16GDNEBC 38 13 5 1 *
M17 x 2 [ TYMO17QDNEBC 50 16 5 1 *
M17 x 15 [ TYMO170DNEBC 50 16 5 1 G
M17 x 1 [ TYMO17MDNEBC 50 16 5 1 577,370
M17 x 0.5 [ TYMO17GDNEBC 50 16 5 1 %
M18 x 2.5 [ TYMO18RDNEBC 50 16 5 1 229,980
MI18 x 2 [ TYMO18QDNEBC 50 16 5 1 S
M18 x 1.5 [ TYMO180DNEBC 50 16 5 1 230,340
M18 x 1 I TYMO18MDNEBC 50 16 5 1 350,510
M18 x 0.5 [ TYMO18GDNEBC 50 16 5 1 *
MI19 x 15 I TYMO190DNEBC 50 16 5 1 B
MI19 x 1 Il TYMO19MDNEBC 50 16 5 1 #
M20 x 2.5 [ TYMO20RDNEBC 50 16 5 1 229,980
M20 x 2 I TYMO20QDNEBC 50 16 5 1 390,910
D M20 x 1.5 [ TYMO200DNEBC 50 16 5 1 217,150
Clojx M20 x 1.25 I TYMO20NDNEBC 50 16 5 1 *
M20 x 1 [ TYMO20MDNEBC 50 16 5 1 283,940
M20 x 0.5 I TYMO20GDNEBC 50 16 5 1 x
M21 x 15 [ TYMO210DNEBC 50 16 5 1 e
M21 X 1 I TYMO21MDNEBC 50 16 5 1 *
M22 x 2.5 [ TYMO22RDNEBC 50 16 6 1 229,980
M22 x 2 [ TYMO022QDNEBC 50 16 6 1 390,910
M22 x 15 I TYMO220DNEBC 50 16 6 1
M22 x 1.25 [ TYMO22NDNEBC 50 16 6 1 *
M22 X 1 I TYMO22MDNEBC 50 16 6 1
M22 x 0.5 [ TYMO22GDNEBC 50 16 6 1 *
M23 x 15 I TYMO230DNEBC 50 16 6 1 B
M23 x 1 I TYMO23MDNEBC 50 16 6 1 *
M24 x 3 I TYMO24SDNEBC 50 16 6 1 229,980
M24 x 2 [ TYMO24QDNEBC 50 16 6 1
M24 x 15 I TYMO240DNEBC 50 16 6 1
M24 x 1.25 I TYMO24NDNEBC 50 16 6 1 *
M24 % 1 I TYMO24MDNEBC 50 16 6 1
M25 x 3 I TYMO25SDNEBC 50 16 6 1 *
M25 x 2 [ TYMO25QDNEBC 50 16 6 1 *
M25 x 15 I TYMO250DNEBC 50 16 6 1
M25 x 1.25 [ TYMO25NDNEBC 50 16 6 1 &
M25 x 1 I TYMO25MDNEBC 50 16 6 1 x
M26 x 2 [ TYRO26QDNEBC 63 20 6 2 e
M26 x 1.5 I TYRO260DNEBC 63 20 6 2 1,030,290
M26 x 1 I TYRO26MDNEBC 63 20 6 2 e
M27 x 3 [ TYR027SDNEBC 63 20 6 2 980,790
M27 x 2 [ TYRO27QDNEBC 63 20 6 2 B
M27 x 1.5 [ TYR0270DNEBC 63 20 6 2 1,030,290
M27 X 1 I TYRO27MDNEBC 63 20 6 2 B

P YAMAWA

172 vAmMAWA cATALOG



oA =
D T
A
D &2|ECIo]A
- - D T N
| 63 20 2 *

M28 x 2 [ TYRO28QDNEBC 6
M28 x 1.5 1 TYRO280DNEBC 63 20 6 9 %
M28 x 1 I TYR028MDNEBC 63 20 6 2 P
M30 x 3.5 I TYRO30TDNEBC 63 20 6 2 980,790
M30 x 35 1 TYUO30TDNEBC 75 25 6 2 X
M30 x 3 I TYRO30SDNEBC 63 20 6 2 X
M30 x 3 I TYUO30SDNEBC 75 25 6 2 %
M30 x 2 I TYRO30QDNEBC 63 20 6 2 x
M30 x 2 1 TYUO30QDNEBC 75 25 6 9 X
M30 x 1.5 I TYRO300DNEBC 63 20 6 2 1,030,290
M30 x 1.5 I TYUO300ODNEBC 75 25 6 9 %
M30 x 1 I TYRO30MDNEBC 63 20 6 9 x
M30 x 1 1 TYUO30MDNEBC 75 25 6 9 X
M30 x 05 1 TYUO30GDNEBC 75 25 6 9 %
M32 x 3 I TYRO32SDNEBC 63 20 6 9 X
M32 x 3 I TYUO032SDNEBC 75 25 6 2 X
M32 x 2 I TYRO32QDNEBC 63 20 6 2 x
M32 x 2 I TYUO32QDNEBC 75 25 6 9 X
M32 x 15 I TYRO320DNEBC 63 20 6 2 x 5
M32 x 15 I TYUO320DNEBC 75 25 6 9 X ol
M32 x 1 I TYRO32MDNEBC 63 20 6 9 %
M32 x 1 1 TYUO32MDNEBC 75 25 6 9 X
M32 x 05 1 TYUO32GDNEBC 75 25 6 2 X
M33 x 3.5 I TYRO33TDNEBC 63 20 6 2 x
M33 x 35 1 TYUO33TDNEBC 75 25 6 2 X
M33 x 3 I TYRO33SDNEBC 63 20 6 2 x
M33 x 3 I TYUO33SDNEBC 75 25 6 9 X
M33 x 2 I TYRO33QDNEBC 63 20 6 2 x
M33 x 2 I TYUO33QDNEBC 75 25 6 9 X
M33 x 15 1 TYRO330DNEBC 63 20 6 9 x
M33 x 15 I TYUO330DNEBC 75 25 6 2 %
M33 x 1 I TYRO33MDNEBC 63 20 6 2 X
M33 x 1 I TYUO33MDNEBC 75 25 6 9 x
M34 x 3 I TYUO34SDNEBC 75 25 6 2 X
M34 x 2 I TYUO34QDNEBC 75 25 6 9 x
M34 x 15 1 TYUO340DNEBC 75 25 6 9 X
M34 x 1 I TYUO34MDNEBC 75 25 6 2 x
M35 x 3 1 TYUO35SDNEBC 75 25 6 9 x
M35 x 2 1 TYUO35QDNEBC 75 25 6 2 X
M35 x 1.5 I TYUO350DNEBC 75 25 6 9 X
M35 x 1.25 1 TYUO35NDNEBC 75 25 6 2 X
M35 x 1 I TYUO35MDNEBC 75 25 6 2 X
M36 x 4 I TYUO36UDNEBC 75 25 6 2 X
M36 x 3 I TYUO36SDNEBC 75 25 6 2 x
M36 x 2 1 TYUO36QDNEBC 75 25 6 2 X
M36 x 1.5 I TYUO360DNEBC 75 25 6 2 x
M36 x 1 1 TYUO36MDNEBC 75 25 6 9 x
M36 x 0.5 I TYUO36GDNEBC 75 25 6 2 X
M37 x 1.5 I TYUO370DNEBC 75 25 6 2 %

*REREETT ULE) ng Think threads with

YAMAWA caTALOG 173



< =H

D &£Z|ECloa

No.0-80UNF I TYDUNOBDNEBC 16 21 5’970~>:<

5 3 1
No.0-80UNF I TYEUNOBDNEBC 20 7 3 1 ¢
No.1-64UNC I TYEUNIDDNEBC 20 7 3 1 215,970*
No.1-72UNF I TYEUNICDNEBC 20 7 3 1 215.970%
No.2-56UNC I TYDUN2EDNEBC 16 5 3 1 x
No.2-56UNC Il TYEUN2EDNEBC 20 7 3 1 169,660*
No.2-64UNF I TYEUN2DDNEBC 20 7 3 1 169,660™
No.3-48UNC I TYEUN3FDNEBC 20 7 3 1 169,660*
No.3-56UNF I TYEUN3EDNEBC 20 7 3 1 169,660
No.4-40UNC I TYEUN4HDNEBC 20 7 3 1 184,400
No.4-48UNF I TYEUN4FDNEBC 20 7 3 1 184, 400%
QuUImlo| LiALE
No.5-40UNC Il TYEUNSHDNEBC 20 7 3 1 150,740
No.5-44UNF I TYEUN5GDNEBC 20 7 3 1 150,740%
No.6-32UNC |l TYEUNGJDNEBC 20 7 3 1 150,740
No.6-40UNF I TYEUNGHDNEBC 20 7 3 1 150,740%
D No.8-32UNC I TYEUNSJDNEBC 20 7 3 1 150,740
Elolx No.8-36UNF Il TYEUNSIDNEBC 20 7 3 1 150,740%
No.10-24UNC I TYEUNAMDNEBC 20 7 4 1 150,740"
No.10-32UNF I TYEUNAJDNEBC 20 7 4 1 150,740
No.12-24UNC I TYEUNCMDNEBC 20 7 4 1 150,740%
No.12-28UNF Il TYEUNCKDNEBC 20 7 4 1 150,740
1/4-20UNC I TYEUOANDNEBC 20 7 4 1 150,740
1/4-20UNC I TYGUOANDNEBC 25 9 4 1 ¢
1/4-28UNF I TYEUO4KDNEBC 20 7 4 1 150,740
1/4-28UNF I TYGUOAKDNEBC 25 9 4 1
1/4-32UNEF I TYGUO4JDNEBC 25 9 4 1 221,210
1/4-36UNS I TYGUOAIDNEBC 25 9 4 1 287,870
5/16-18UNC I TYGUOSODNEBC 25 9 4 1 182,370
5/16-18UNC I TYJUOSODNEBC 38 13 4 1 X
5/16-24UNF I TYGUOSMDNEBC 25 9 4 1 182,370
5/16-24UNF I TYJUOSMDNEBC 38 13 4 1 X
5/16-32UNEF |l TYGUOSJDNEBC 25 9 4 1 263,400%
3/8-16UNC I TYGUOBPDNEBC 25 5 1 182,370
3/8-16UNC I TYJUOGPDNEBC 38 13 4 1 3
3/8-24UNF I TYGUOBMDNEBC 25 9 5 1 182,370
3/8-24UNF I TYJUOBMDNEBC 38 13 4 1
3/8-32UNEF I TYGUOBJDNEBC 25 9 5 1 259,390%
7/16-14UNC I TYJUO7QDNEBC 38 13 4 1 289,740%
7/16-20UNF I TYJUO7NDNEBC 38 13 4 1 289740
7/16-24UNS I TYJUO7MDNEBC 38 13 4 1 x
7/16-28UNEF I TYJUO7KDNEBC 38 13 4 1 x
1/2-13UNC I TYJUOSRDNEBC 38 13 4 1 264,480
1/2-13UNC I TYMUOSRDNEBC 50 16 4 1 x
1/2-20UNF I TYJUOSNDNEBC 38 13 4 1 264,480
1/2-20UNF I TYMUOSNDNEBC 50 16 4 1 x
1/2-28UNEF I TYJUOSKDNEBC 38 13 4 1 3

P YAMAWA

174 YamAwA caTALOG



<l Sl

D &zZ|EClojA

SLIT}O| LIALE

9/16-12UNC Il TYJUO9SDNEBC 38 13 5 1 323,410
9/16-18UNF Il TYJUO9ODNEBC 38 13 5 1 323,410
9/16-20UN Il TYJUOONDNEBC 38 13 5 1 *
9/16-24UNEF Il TYJUOOMDNEBC 38 13 5 1 *
5/8-1MUNC 1l TYJUT0UDNEBC 38 13 5 1

5/8-11UNC 1l TYMUTOUDNEBC 50 16 4 1 412’950§<’
5/8-18UNF Il TYJU100DNEBC 38 13 5 1 X
5/8-18UNF Il TYMUT0ODNEBC 50 16 4 1 412'950§~<‘
5/8-24UNEF I TYJU1OMDNEBC 38 13 5 1 X
3/4-10UNC 1l TYMU12VDNEBC 50 16 5 1 412,950>:<‘
3/4-16UNF 1l TYMU12PDNEBC 50 16 5 1 412,950
3/4-20UNEF Il TYMU12NDNEBC 50 16 5 1 *
7/8-9UNC Il TYMU14WDNEBC 50 16 6 1 412'950>2<~
7/8-14UNF Il TYMU14QDNEBC 50 16 6 1 412,950
1-8UNC Il TYMU16XDNEBC 50 16 6 1 412'950>:<~
1-12UNF Il TYMU16SDNEBC 50 16 6 1 412’950-2><-
1-14UNS Il TYMU16QDNEBC 50 16 6 1 *
1-20UNEF [ TYMU16NDNEBC 50 16 6 1 % BM
11/8-7UNC Il TYRU18YDNEBC 63 20 6 2 X
11/8-8UN Il TYRU18XDNEBC 63 20 6 2 X
11/8-12UNF I TYRU18SDNEBC 63 20 6 2 X
11/4-7UNC Il TYRU20YDNEBC 63 20 6 2 x
11/4-8UN I TYRU20XDNEBC 63 20 6 2 X
11/4-12UNF Il TYRU20SDNEBC 63 20 6 2 x
13/8-6UNC I TYUU22ZDNEBC 75 25 6 2 X
13/8-12UNF Il TYUU22SDNEBC 75 25 6 2 X
11/2-6UNC Il TYUU24ZDNEBC 75 25 6 2 *
11/2-8UN I TYUU24XDNEBC 75 25 6 2 X
11/2-12UNF Il TYUU24SDNEBC 75 25 6 2 *
15/8-12UN I TYUU26SDNEBC 75 25 8 2 X
13/4-5UNC Il TYUU280ODNEBC 75 25 8 2 *
13/4-12UN Il TYUU28SDNEBC 75 25 8 2 =
2-12UN Il TYUU32SDNEBC 75 25 8 2 *

%=EX OEZ(AX =
*»=EF RES(HF MUT) m Think threads with

YAMAWA cATALOG 175



D &zZ|ErlojA

Afo|= S8

1116W60
3/32W48
1/8W40
5/32W32
3/16W24
3/16W24
7/32W24
1/4W20
1/4W20
1/4W20
5/16W18
5/16W18
3/8W16
3/8W16
3/8W16
7/16W14
:roB 7/16W14
1/2W12
1/2W12
9/16W12
5/8W11
5/8W11
3/4W10
7/8W9
1W8
11/8W7
11/4W7
13/8W6
11/2W6

3/32SM56
1/8SM40
1/8SM44
9/64SM40
11/64SM40
3/16SM28
3/16SM32
7/32SM32
15/64SM28
1/4SM24
1/4SM40

P YAMAWA

176 YAMAWA cATALOG

TYEWO1-DNEBC
TYEWTHFDNEBC
TYEWO2HDNEBC
TYEW2HJDNEBC
TYEWO3MDNEBC
TYGWO3MDNEBC
TYEW3HMDNEBC
TYEWO4NDNEBC
TYGWO4NDNEBC
TYJWO4NDNEBC
TYGWO50DNEBC
TYJWO50DNEBC
TYGWOGPDNEBC
TYJWOGPDNEBC
TYMWOGPDNEBC
TYJWO7QDNEBC
TYMWO7QDNEBC
TYJWO8SDNEBC
TYMWO8SDNEBC
TYJWO9SDNEBC
TYJW10UDNEBC
TYMW10UDNEBC
TYMW12VDNEBC
TYMW14WDNEBC
TYMW16XDNEBC
TYRW18YDNEBC
TYRW20YDNEBC
TYUW22ZDNEBC
TYUW24ZDNEBC

TYESOGEDNEBC
TYESO8HDNEBC
TYESO8GDNEBC
TYESO9HDNEBC
TYESTTHDNEBC
TYES12KDNEBC
TYES12JDNEBC
TYES14JDNEBC
TYES15KDNEBC
TYES16MDNEBC
TYES16HDNEBC

(mm) (mm)

FIELLIALE

20
20
20
20
20
25
20
20
25
38
25
38
25
38
50
38
50
38
50
38
38
50
50
50
50
63
63
75
75

0y LA

20
20
20
20
20
20
20
20
20
20
20

© N N O N N N NV

N N DN = a2 a a a a a a a a a4 = -
g 00 O O O O O 0O W W O W O W o W © w ©o w

N N N N N NN NN NN

4
0

O 0O O O o 0o ah a0~ DM DDA DMDdMOOSADdDDAEDdDDADEDdDOWDOWOWWW

A A DDA DDA D OWOWWW

<

=H

N N NN = =3 a2 a 4 a a a a A a A A A A a a aa aa a aa a

U QU VU U (UL (U O U i




<l Sl

DLH

£2|= CHo]A - ZHLIAL ¢ 'S

HEHAZ Et sI=xz

gsr=
Low carbon steels Brass castings

OFE\—O}WIH OI'I:”EQ}_\XE
Wrought aluminum |l Aluminum alloy castings

— TYPE : 2

o T
o
D
(STIEN
U ' O

— TYPE : 1 D =50 =

273
DIE{LIALE
M1 x 0.25 Il GYE1.0BDNEBC 20 7 3 1
M1.4 x 0.3 Il GYE1.4CDNEBC 20 7 3 1
M1.6 x 0.35 Il GYE1.6DDNEBC 20 7 3 1
M1.7 x 0.35 Il GYE1.7DDNEBC 20 7 3 1
M2 x 0.4 Il GYE2.0EDNEBC 20 7 3 1
M2.3x 0.4 Il GYE2.3EDNEBC 20 7 3 1
M2.5 x 0.45 Il GYE2.5FDNEBC 20 7 3 1
M2.6 x 0.45 Il GYE2.6FDNEBC 20 7 3 1
M3 x 0.5 Il GYE3.0GDNEBC 20 7 3 1 190,050
M3 x 0.5 Il GYG3.0DNEBC 25 9 3 1
M3 x 0.35 Il GYE3.0HDNEBC 20 7 3 1
M3.5 x 0.6 Il GYE3.5HDNEBC 20 7 3 1
M3.5 x 0.35 Il GYE3.5DDNEBC 20 7 3 1
M4 x 0.7 Il GYE4.0IDNEBC 20 7 3 1
M4 x 0.7 Il GYG4.0IDNEBC 25 9 3 1
M4 x 0.5 Il GYE4.0GDNEBC 20 7 3 1
M5 x 0.8 Il GYES5.0KDNEBC 20 7 4 1
M5 x 0.8 Il GYG5.0KDNEBC 25 9 3 1
M5 x 0.5 Il GYE5.0GDNEBC 20 7 4 1
M6 x 1 Il GYE6.0MDNEBC 20 7 4 1
M6 x 1 Il GYG6.0MDNEBC 25 9 4 1
M6 x 1 Il GYJ6.0MDNEBC 38 13 4 1
M6 x 0.75 Il GYE6.0JDNEBC 20 7 4 1
M6 x 0.5 Il GYE6.0GDNEBC 20 4 1

*=53 QEE(+FT UHE) m Think threads with

YAMAWA

YAMAWA caTALoG 177



< =H

== = D T
| 25 9

M7 x 1 | GYG7.0MDNEBC 4 1
M7 x 0.75 I GYG7.0JDNEBC 25 9 4 1
M7 x 0.5 I GYG7.0GDNEBC 25 9 4 1
M8 x 1.25 I GYG8.0NDNEBC 25 9 4 1
M8 x 1.25 I GYJ8.ONDNEBC 38 13 4 1
M8 x 1 I GYG8.0MDNEBC 25 9 4 1
M8 x 1 I GYJ8.0MDNEBC 38 13 4 1
M8 x 0.75 I GYG8.0JDNEBC 25 9 4 1
M8 x 0.5 I GYG8.0GDNEBC 25 9 4 1
M9 x 1.25 I GYG9.0NDNEBC 25 9 5 1
M9 x 1 I GYG9.0MDNEBC 25 9 5 1
M9 x 0.75 I GYG9.0JDNEBC 25 9 5 1
M9 x 0.5 I GYG9.0GDNEBC 25 9 5 1
M10 x 1.5 I GYGO100DNEBC 25 9 5 1 240,110
M10 x 1.5 I GYJO100DNEBC 38 13 4 1
M10 x 1.25 I GYGO10NDNEBC 25 9 5 1
M10 x 1.25 I GYJO10NDNEBC 38 13 4 1
D M10 x 1 I GYGO10MDNEBC 25 9 B 1
Ctoj M10 x 1 Il GYJO10MDNEBC 38 13 4 1
M10 x 0.75 I GYGO10JDNEBC 25 5 1
M10 x 0.5 I GYGO10GDNEBC 25 9 5 1
M11 x 1.5 I GYJO11DDNEBC 38 13 4 1
M11 x 1.25 I GYJO1INDNEBC 38 13 4 1
M11 x 1 I GYJO1MMDNEBC 38 13 4 1
M11 x 0.5 I GYJO11GDNEBC 38 13 4 1
M12 x 1.75 I GYJO12PDNEBC 38 13 4 1 322,740
M12 x 1.5 I GYJO120DNEBC 38 13 4 1
M12 x 1.25 I GYJO12NDNEBC 38 13 4 1
M12 x 1 I GYJO12MDNEBC 38 13 4 1
M12 x 0.75 I GYJO12JDNEBC 38 13 4 1
M12 x 0.5 I GYJO12GDNEBC 38 13 4 1
M14 x 2 I GYJO14QDNEBC 38 13 5 1
M14 x 0.5 I GYJO140DNEBC 38 13 5 1
M14 x 0.25 I GYJO14NDNEBC 38 13 5 1
M14 x 1 I GYJO14MDNEBC 38 13 5 1
M15 x 1.5 I GYJO150DNEBC 38 13 5 1
M15 x 1 I GYJO15MDNEBC 38 13 5 1
M16 x 2 I GYJO16QDNEBC 38 13 B 1
M16 x 2 I GYMO16QDNEBC 50 16 4 1
M16 x 1.5 I GYJO160DNEBC 38 13 5 1
M16 x 1.5 I GYMO160DNEBC 50 16 4 1
M16 x 1 I GYJO16MDNEBC 38 13 5 1
M16 x 1 I GYMO16MDNEBC 50 16 4 1
M17 x 1 I GYMO17MDNEBC 50 16 5 1
M18 x 2.5 I GYMO18RDNEBC 50 16 5 1
M18 x 2 I GYMO18QDNEBC 50 16 5 1
M18 x 1.5 I GYMO180DNEBC 50 16 5 1
M18 x 1 I GYMO18MDNEBC 50 16 B 1

P YAMAWA

178 vamAwa caTALOG



Lot
il

sz | B em
D | & | T

DPT
B0l mO|= LiAME &2|E CHojA o & m

B D PTE= Z0IR =7t SE PT 2 H|O|H
IHO| & A= X2|S fIeh 2 0eh 21 CHOJARLICY,

o] 759t =8 EHESE

HEAZ SEHLY gESF= 2lEesF=

Low carbon steels [l Medium carbon steels Cast Irons Brass Brass castings Wrought aluminum i Aluminum alloy castings

2.5~9§ 2.5~ VAN 2.5~5] 2.5~5 ] 2.5~5] 2.5~5

(m/min) (m/min) (m/min) (m/min) (m/min) (m/min) (m/min)

or2=oto T

—TYPE : 1 T —
S
2 ﬂ?‘
D
| Clo|A
—TYPE :2 - . — TYPE : 3 T -
D _.4- R
7 D 7
-] ' '
| }
o °

=7:3G
PT LIALS
PT 1/16-28 TYJPTOTONEBC 38 13 6 4 1
PT 1/8-28 TYJPTO20NEBC 38 13 6 4 1 193,180
PT 1/4-19 TYJPTO40NEBC 38 18 8.5 5 2 193,180
PT 3/8-19 TYMPTOG0ONEBC 50 22 10 5 2 306,790
PT 1/2-14 TYMPTO8ONEBC 50 22 12 6 2 309,100
PT 5/8-14 TYRPT100NEBC 63 24 12 6 3
PT 3/4-14 TYRPT120NEBC 63 24 12.5 6 3 844,680
PT 7/8-14 TYUPT140NEBC 75 30 12.5 6 3
PT 1-1 TYUPT160NEBC 75 30 15 6 3 1,508,260
PT 11/4-1 TYUPT200NEBC 75 30 15 6 3
PT 11/2-1 TYUPT240NEBC 75 30 15 6 3
PT 2-1 TYYPT320NEBC 105 36 17.5 8 3

*=53 QEE(+FT UHE) m Think threads with

YAMAWA

YAMAWA cATALOG 179



Cto|A

180

D PF

o] 715Met =8 S

HEAZ
Low carbon steels

=y

Medium carbon steels Cast Irons

— TYPE

1 D =50

Afo|= H4E IE

F 1/16-28 TYGPFO10NEBC
PF 1/8-28 TYGPFO20NEBC
PF 1/8-28 TYJPFO20NEBC
PF 1/4-19 TYJPFO40NEBC
PF 3/8-19 TYJPFOGONEBC
PF 3/8-19 TYMPFOGONEBC
PF 1/2-14 TYMPFO8ONEBC
PF 5/8-14 TYMPF100NEBC
PF 3/4-14 TYMPF120NEBC
PF 3/4-14 TYRPF120NEBC
PF 1-1 TYUPF160NEBC
PF 11/4-1 TYUPF200NEBC
PF 11/2-1 TYUPF240NEBC
PF 2-11 TYYPF320NEBC

P YAMAWA

YAMAWA CATALOG

Tl mto|= AZEE &2|E Cjo|A

< =H

D T
W 20IR Y7 S E PF R AHES
£2|E 2}2L CHo|ALICY,
yExE EHE e
Brass castings Aluminum alloy castings
— —TYPE :2 Dz 63 —
k ‘D J T
o
O
=T:36
25 9 4 1
25 9 5 1 193,900
38 13 4 1 193,900
38 13 5 1 193,900
38 13 6 1
50 16 5 1 321,320
50 16 5 1 321,320
50 16 6 1
50 16 6 1
63 20 6 2 882,790
75 25 6 2 1,569,640
75 25 8 2
75 25 8 2
105 30 8 2



Lot
™

sz | B em
D | & | T

D NPT
0|= E|OIm mf0]= LIAMYE &2|= CHojA ¢ N m

[ | D NPT= O|= /% H|O|m mo|Z AHES 2ot
ISHAH CHO|A R, B0IR FLT S EIUELICE

O 7t3Ret F8 L&
slExg

HEetaZ SEHLY gSTE 2sg=F2
Low carbon steels [l Medium carbon steels Cast Irons Brass Brass castings Wrought aluminum i Aluminum alloy castings

2.5~9§ 2.5~ VAN 2.5~5] 2.5~5 ] 2.5~5] 2.5~5

(m/min) (m/min) (m/min) (m/min) (m/min) (m/min) (m/min)

or2=oto T

—TYPE : 1 T —
S
2 ﬂ?‘
D
| Clo|A
— TYPE : 2 T = — TYPE : 3 T .
D _.4- R
7 D 7
-] ' '
| }
o °

=7:3G
NPT LIAtE
1/16-27 NPT TYJNTO10ONEBC 38 13 5 4 1
1/8-27 NPT TYJNTO20NEBC 38 13 5 4 1 343,440
1/4-18 NPT TYJNTO40NEBC 38 18 8 5 2 343,440
3/8-18 NPT TYMNTO60NEBC 50 22 8 5 2 569,980
1/2-14 NPT TYMNTO8ONEBC 50 22 10 6 2 569,980
3/4-14 NPT TYRNT120NEBC 63 24 10 6 3
1-111/2 NPT TYUNT160NEBC 75 30 13 6 3
11/4-111/2 NPT TYUNT200NEBC 75 30 13.5 6 3

*=53 QEE(+FT UHE) m Think threads with

YamawA caTALoG 181



IIE XY

R

S
>

Sl

D NPTF
m Ol= S2}0]& H|Oli m{O]X= LIAMME ¢ N

£d|E oA

ALEZ]

B D NPTFE 20IR HEIE7} SHLE 744 U 558
0= 214 2m| 1% HIO|H Iio|Z AHEE st
AN CIO|ALICY,

TEAZE
Low carbon steels

Ll=gsx2
Aluminum alloy castings

T
S
ﬁa?‘?_
D
ClojA |
— TYPE : 2 ; T - — TYPE : 3 T =
7 D 7
) ’ ‘
| }
° °

=7:36
NPTF LIALE

1/16-27 NPTF TYJNFOTONEBC 38 13 6 4 1

1/8-27 NPTF TYJNFO20NEBC 38 13 6 4 1 379,230
1/4-18 NPTF TYJNFO40NEBC 38 18 10 5 2 379,230
3/8-18 NPTF TYMNFO60NEBC 50 22 10 5 2 644,740
1/2-14 NPTF TYMNFO8ONEBC 50 22 12 6 2 644,740
3/4-14 NPTF TYRNF120NEBC 63 24 12 6 3 1,822,430
1-111/2 NPTF TYUNF160NEBC 75 30 15 6 3 3,265,640
11/4-111/2 NPTF TYUNF200NEBC 75 30 15.5 6 3

P YAMAWA

182 vAmAwa caTALOG



CD

OR= ==

LINE UP

CcD-S o EQIAE 5 A% 60° MEIES
CD-SV TE-OFEQAE B A 60° MEEE
CD-SL S- 43 % EQAE S AH60° MEIEE
CD-SLV -3 F5- F EQAE & AH 60" MEIES
CESB Z EQIAE £ JISBY 60° HIE{ £

[




=2ny

Dc

3

I
o
rx
0
e
o

O
7]
—

W BT T TR0 Kt
ofst HISTY & A ME| 7 QLY.

HErAZ DERAR EEg E=]] k] oy =
Low carbon steels High carbon steels Alloy steels Cast steels Cast irons Ductile cast irons
[y 19:15](10-20
Tvee 7 T TYPE 12 .
X Ds X Ds
RS —) D] =
£ |
L L
CD
HEp=2)
chol : olx|
75
0.3x60°x 3 CY0.3 0.3 3 35 0.3 1 x
0.4 x60°x 3 CY0.4 0.4 3 35 0.4 1 X
0.5 x 60° x 3.5 CY0.5 0.5 35 35 0.5 2 27,240
0.6 x60°x 3.5 CY0.6 0.6 3.5 35 0.6 2
0.7 x 60° x 35 cY0.7 0.7 35 35 0.7 2 x
0.8x60° x 3.5 Cyo.8 0.8 35 35 0.8 2 18,730
0.9 x 60° x 4 CY0.9 0.9 4 35 0.9 2 X
1x60°x3 CY1.0 1 4 35 1 2 14,750
12x60°x5 cY1.2 1.2 5 40 12 2
1.5x60° x5 CY15 15 5 40 15 2 11,150
2x60°x6 CY2.0 2 6 45 2 2 12,710
2.5%x60° x 7.7 CcY2.5 25 7.7 50 2.5 2 15,720
3x60°x7.7 CY3.0 3 7.7 55 3 2 15,720
3x60°x8 CY3.0-8 3 8 55 3 2 16,910
4 x 60° x 10 CY4.0 4 10 65 45 2 31,980
5 x 60° x 11 CY5.0 5 1 78 5.5 2 34,840
6 x 60° x 16 CY6.0-16 6 16 920 6.5 2
6 x 60° x18 CY6.0 6 18 920 6.5 2 115,730
1/8 x 60° x 7.7 CYU08 18 7.7 55 3 2 x

Think threads with
X YAMAWA
YAMAWA CATALOG

184



rx
o
e
o

@ MIEtC =

Dc | Ds
CD-SL e ———
- M3 O EQIAE B AY 60° MEET m

Z-pro

©

—
o

A W H|T T KR gt Sp
£ 43 o HISY & A ME| SZLICL, o
SL

AT | e

I 7KERS A BEAE .

HErRAZ
Low carbon steels

e DR
Medium carbon steels @8 High carbon steels

10~25110~25

(m / min) (m / min)

=l
==

=z S Ay =H HT
Alloy steels Cast steels Cast irons Ductile cast irons

1020 010=251R -2 [V RIR A |5 2=y
W B e L RZIRS

ZEH
=0

B B ITRD
TYPE : 1 T8 HAS

4D, PTIPFIPS

a2
007 — j%L - =

it D
4 \[9 Clo|A

' CD

ME=R

10~25

(m / min)

Jl=Xit=

27:51

1x60° x4 CDL1.0 1 4 100 1 1 70,150
1% 60° x 4 CDM1.0 1 4 150 1 1 105,030
1.5x60°x5 CDL1.5 15 5 100 1.5 1 52,910
1.5x60°x5 CDM1.5 15 5 150 1.5 1 86,140
2x60°x6 CDL2.0 2 6 100 2 1 58,350
2x60°x6 CDM2.0 2 6 150 2 1 88,400
25%x60"x8 CDL2.5 25 8 100 25 1 70,150
2.5x60°x 8 CDM2.5 2.5 8 150 2.5 1 105,980
3x60°x8 CDL3.0 3 8 100 3 1 70,150
3x60°x8 CDM3.0 3 8 150 3 1 105,980
3x60°x8 CDN3.0 3 8 200 3 1 x
4 x 60° x 10 CDL4.0 4 10 100 45 1 80,300
4 x60°x10 CDM4.0 4 10 150 45 1 116,160
4 x60°x 10 CDN4.0 4 10 200 45 1 s
5x 60° x 12 CDL5.0 5 12 100 55 1 101,600
5x 60° x 12 CDM5.0 5 12 150 5.5 1 156,040
5x 60" x 12 CDN5.0 5 12 200 5.5 1 *

*=53 QEE(+FT UHE) m Think threads with

YAMAWA

YAMAWA cATALOG 185



rx
(=]
ne
o

@ ﬂ EI-EEEJ cuxy | 4a3

Dc | Ds L
CD-S (i)
o = RS ° =l
m o EQIAE E B 60° ME| =2
Z-pro
Sp NYEH B CD-S(I1 )= TN SHCst 20| Zgrst
S T JISEHY 2 ME = EZYLIC
SL
AT it
- I 7HERS £ BLaE
YEHAZ e TErA L z2 =3 ol =y
*W:T LowIcarbon steels [l Medium carbon steels H\gh:arbon steels Alloy steels Cast steels Cast irons Ductile cast irons
RZ/RS (m / min) (m / min) (m / min) (m / min) (m / min) (m / min) (m / min)
ITRD
T npiE TvpPe 1 ]

2HEE Pt Ds 1200/;\
)
g I

L

Y g N/

L
CD
MEI=Z
JlEk= .
= .
Ot
1x60°x6 C21.0 2.5 6 45 1.5 Cg
1.5x60°x 8 C21.5 4 8 50 2 Cg
2x60°x10 C22.0 5 10 55 3 Cg 37,660
2.5%x60° x12 C22.5 6.5 12 60 3.5 Cg 55,360
3x60°x14 C23.0 8 14 65 4 Cg 75,620
4x60°x18 C24.0 10 18 76 4.7 Cg 149,750
5x 60° x 22 C25.0 12 22 88 6.5 Cg 208,580
6 x60° x 25 C26.0 15 25 100 7.7 Cg 301,290

P YAMAWA

186 vavawa cataLoG



cuNy | 43z | um e @
Dc | Ds L ?

A ——
otet

Z-pro

W 90°2| HIE} 7% 71B0| k5t Sp
Of HISH B A 3 ME[STRILICY, s
S| HISO| ot7| TH2 O HI Trrst S
TE0) ZEBILICY, Al

PO

ZolES

HEAZ BEAY TEAY EE

= =t oy xu HT
Low carbon steels [l Medium carbon steels 8 High carbon steels Alloy steels

Cast steels Cast irons Ductile cast irons

15<01[10~15/[10~20
WAL JL /e RZ/RS

ZEH
=0

B B ITRD
TYPE : 1 T Wi

/‘\ D PT/IPFPS
= e
AN

. o _
De v= D
\/6’ Clol~

CD

ME=R

10~25

(m / min)

&

Jl=Xit=

0.5x90° x 3.5 CY0.5Q 0.5 35 35 0.5 1 x
0.6 x 90° x 3.5 CY0.6Q 0.6 35 35 0.6 1 *
0.8x90°x 35 cY0.8Q 0.8 35 35 0.8 1 x
1% 90" x 4 CY1.0Q 1 4 35 1 1
12x90°x 5 cY1.2Q 1.2 5 40 1.2 1 *
15x90°x 5 CY1.5Q 15 5 40 15 1
2x90°x6 CY2.0Q 2 6 45 2 1
25%x90°x 7.7 CY2.5Q 2.5 7.7 50 25 1
3x90°x7.7 CY3.0Q 3 7.7 55 3 1
4 x90°x 10 CY4.0Q 4 10 65 45 1
5x90°x 1 CY5.0Q 5 1 78 5.5 1
6x90°x 16 CY6.0Q-16 6 16 90 6.5 1 *
6x90°x 18 CY6.0Q 6 18 90 6.5 1 x

*=53 QEE(+FT UHE) m Think threads with

YAMAWA

YAMAWA caTALOG 187



ZHISE S AY90° YHER

AIFEE]

o

M 90 *O| ME| 73 7H3
Z HIST S A 3 ME

c2xy

rx
0z

e
o

Dc

—

o

=)
=
L=

St A
=

=
210
=gl

ol
AR

|Ct.

rir

BT 2 TEot Hlw A DA M0 MEFLIC
Heta AHIQIZIAZ gs=sTE LS EAATH Lse=2F2
Low carbon steels Stainless steels Brass castings Wrought aluminum - Jll Aluminum alloy castings
(r.n / min) (m / min) (m / min)
[ TYPE 1
Ds
Dc ] -
2 6
L
CD
HIEFER
=7:51
Ato|= o= Dc Ds L 2
0.5x90°x 35 CY0.52 0.5 35 35 0.5 1 x
0.6 x90°x 3.5 CY0.67 0.6 35 35 0.6 1 X
0.7 x90° x 3.5 CY0.7Z 0.7 3.5 35 0.7 1
0.8x90°x35 CY0.8Z 0.8 35 35 0.8 1
0.9x90°x 4 CY0.92 0.9 4 35 0.9 1 x
1x90°x 4 CY1.0Z 1 4 35 1 1
1.2x90°x 5 CcY1.2Z 1.2 5 40 1.2 1 X
1.5x90°x 5 CY1.5Z 1.5 5 40 15 1
2x90°x6 CY2.0Z 2 6 45 2 1
25x90°x 7.7 CY2.52 2.5 7.7 50 2.5 1
3x90°x7.7 CY3.0Z 3 7.7 55 3 1
4 x90°x 10 CY4.0Z 4 10 65 45 1
5x90°x 1 CY5.0Z 5 " 78 5.5 1
6 x90° x 16 CY6.0Z-16 6 16 90 6.5 1
6x90°x18 CY6.0Z 6 18 90 6.5 1

P YAMAWA

188 vamawa caTALOG



cusy | 433

Dc | Ds

Vv -

Y- O EQAE E AH 60° MEEY

rx
o
e
o

—
)

W LHOEZ, LESAH0| Sofit, S43E
o HISE B A MIE 71 STRLICE

| 7tSxHet 38 S

-lEl'A?l‘ J_I_E}ijol' SF_‘JI' X?F $§ Eg $?§
Low carbon steels High carbon steels AIIuy steels Cast steels Cast irons Ductile cast irons
(m / min) (m / min) (m / min) (m / min) (m / min) (m / min) (m / min)
" TYPE @1 N
/‘\ Ds
D] -t
g S
L CD
==
=75
ARO|= =

1x60° x4 VCY1.0 *
15 x 60° x 5 VCY15 15 5 40 15 1 &
5 x 60° x 6 VCY2.0 2 6 45 2 1 x
2.5x60°x 7.7 VCY2.5 25 7.7 50 25 1 &
3x60°x7.7 VCY3.0 3 7.7 55 3 1 x
4 x 60° % 10 VCY4.0 4 10 65 45 1 o
5x60°x1 VCY5.0 5 1 78 5.5 1 *
6 x 60° x 18 VCY6.0 6 18 EN) 65 1 &

*=53 QEE(+FT UHE) m Think threads with

YAMAWA

yAMAWA caTALoG 189



CD

MEt=

190

HErAZ
Low carbon steels

(m / min) (m / min)

(m / min)

AfO|=
Dc x 8 xDs

1x60°x 4
1x60°x 4
15x60°x5
1.5x60°x 5
2x60°x 6
2x60°x 6
25x60°x8
25x60°x8
3x60°x8
3x60°x8
4 x60°x 10
4 x 60°x 10
5x 60" x 12
5x 60" x 12

P YAMAWA

YAMAWA CATALOG

3 AE-AEQAE Z AY

Alloy steels

10~25

(m / min)

VCDL1.5
VCDM1.5
VCDL2.0
VCDM2.0
VCDL2.5
VCDM2.5
VCDL3.0
VCDM3.0
VCDL4.0
VCDM4.0
VCDL5.0
VCDM5.0

ST

Cast steels

15~30

(m / min)

Dc Ds L e
1 4 100 1 1

1
15
15

2

2
25
2.5

3

a o b b W

160° MEEH

cExg | 433

A
0z
e
o)

Dc | Ds

—
o

W HIT T TR0 Kt
£ 43 O HISY & AY MEIEE
LHOFE LISAHA0] HolLt 54 AS
sttt

]
=

Cast irons

10~1

(m / min

]5

sy

Ductile cast irons

10~20

(m / min)

W 0 W O O O o g b

e Y
N N O O

=7:51

150 1 1
100 15 1
150 15 1
100 2 1
150 2 1
100 25 1
150 2.5 1
100 3 1
150 3 1
100 4.5 1
150 4.5 1
100 5.5 1
150 5.5 1

P



Technical Information

/= A=

B 20| iy
o] = HAt
o] HlO|E2} - TAE

e =) 7|F
ey et 37 4

B EE3

DJE] LEAFRE LIAF #[OI

9t 200|0i| 2Hfod

QLA 53 U T ST

10. 2 240l etod

1. QiLiALe] E30f St B o8] Ajo|x 27| 43
12, LAH 7% 27| B

13. LIAbOF2Y 72 i B - 2 88

10, LA A 5 B (24 722 THO)
15. 2LiAF A7) 5 B (B2 ClolA 8)
16. 2| ™ AEIX 2

17. 7 Boi| hetod

18. 218 LIALS B 0l CHstof

19. MC- %212 HE{of chotod

20. 7|4 BCi | T80l chotod

21. LbAF BTl 1Dt LI

22. ey 2t Chy

23, HE{| =20 il

24. ME{Y 712 AL ZAHE

25. LA} AZE

26. LiARS] 71 AF 84

27. LI 7|5 E2tE

28.LiAL K8 37 7 CHZE

20. A et|E

30. Q1%].0[2] EHIE

31 TA| A E

32. M EMZ B S8

33. B Ci0|A WA 22

34. ME| E2 / HEY S B 22

35. |-0|A '6=IAI- 2=

36,012/ QXIS WLlo|A Yy ==
0|2 B Efel Bt

© 0N O A~®N =



g0
1H
I+
i

(Ds)

Tl

B

Nl
Ik
<r

VTRV TRTRTRT i Yy |

e LTI T I i i iiiiiiiiyg

| }'E
A NAMAMAMAMAAA
J

LIME Z01(2)

HE (L)

HHr

Ul
fill

F s
Et
g

o0

JIEXIE

| 2ot of| X

22

Ao] ofQu, LEAMO| ol

<+

Tiko %0

(k) &
Taper tap

) &
Bottoming tap

8k

Think threads with

DX YAMAWA

YAMAWA CATALOG

192



Ay
=

f

ks
100
e
=<

=l

~
S

220l 2

, 4) Al LEARA] o0f T2ty 2

LA+

.
=2
=

fLICE ChSat 2ol #el

S|
=

M2 OiR ZR

JIEX=

1
il
il il
R o
i =
= <I
T
s R
rF il il al
il Pl e ww| THU
Ul al ol
%. =]
il J
wi il =) &
S = = w {00
T = < ol all
<l <I =i =] A
l I I |
3l a1
| |
T o0
wl =T
L J
20
w0
o
o1
il

il
Ll

I
53
o0
ofl

.__M_
oo
ofl

E =
==

AEH(0l

o0

Hol 3717t S7tetof| w2t

|8 +=

JEILICt

KO0

Think threads with

X YAMAWA

193

YAMAWA CATALOG



3. §2| ol

'

~C
Ok
(=)
3 .
2 =
Bl © R
py © ~ E
2 i
2 OF
& S
5 [}
z I+
& MH
HI an
I =
il Pl
0 - <l
al =
3
| 5 5
| 5
{0 5
53 g
i 2 =
ofll 8
T o 3 B
B0 ™ 8
o OF g 3
5 B ‘ E | v
7 9l 8 _
I =
_ — < o) —
A I =
W& 5 mwT T
fil= o u ¥ : $
A = A S o
. 5 0 =
&3 Y— = <o MEﬂ
o S Xds M
= or Ib . =
=3 c - =
H S @k A
ol © o Ik o ol
- E mIT WP I
e
= o ol ol A A
N 20 2 Ul X
N Fo = o ™Rl g3
OF = g U
oy - w0 = W < ol M-
T L o oo ¥y
m.__ 13 g Ik OB X oup
e = — gl K
< = O T<Waw
- 7l S D R
[ | H WMy o<

JIEXIE

Think threads with

DX YAMAWA

YAMAWA CATALOG

194



4, B8 £X2| 7|=E

W EjE £

m

e = "ol S7, ARRO| M, Mz, I 7137 R, ofell £ g, 24 /A Sl ALE Z=0i| 2foH 22 &|H,

MeHoi| Zxofsot BiLICt,
1=, T 7KBHe| 1] A0| 2 22, 73 L0t HE 22, HARS SE0| AR 42U F20|= T 428
50| MFBILICE W T AR0| LI 220t gl A 4 H2 BB AJSFSH= 20| oFHBiLICt

=2l m/min

HEtAZ $S400 S10C~S25C 8~15 10~20 8~15 6~10 —
ES ey $25C~S45C 6~12 8~14 7~12 5~9 —
OEAZE S45C~S58C 5~10 8~12 5~10 5~8 —
2=z SCM - SNCM 5~10 7~10 5~10 5~8 —
XE 20~45HRC 3~5 4~7 — 3~6 —
AHIYAZ Sus 3~8 4~9 6~15 3~7 —
372 SKD 5~8 6~10 — 5~9 —
=2t sc 6~10 8~13 — 6~10 —
=& FC - - — 12~17 15~25
4 sHZH FCD 5~10 5~10 — 5~8 12~20
= Cu 8~12 8~13 25~35 7~11 15~33
2E.25 &5 Bs - B 11~22 13~25 25~35 10~20 23~

S &S = s * BsC 3~33 JIEXIR
UE=EEE =5 PB - PBC 8~15 10~18 25~35 8~15 18~33
220l &H ATH Al 15~25 20~25 25~35 15~20 23~40
A2[E &2 T= AC - ADC 11~22 12~24 15~25 10~20 15~25
OIJHlE g2 =2 MC 7~15 10~20 — 7~15 12~20
e gE == ZDC 7~15 10~20 15~25 7~15 12~20
At 2T HIOIZS2H0IE - Tz 11~17 12~18 — 10~15 15~25
SIAY 21 AstHIE - L2 11~17 12~18 — 10~15 15~25
ElEt=st2 Ti-6Al-4Vetc 6~9 6~9 — — —
D= OHARIZ0] T2 AATIZ0] 3~6 3~6 — — —

A
W 724
S| A
FHZ £ (Vo) Ol 2|F=(n)
m-Dc-n . 1000 - Ve .
c= ———— (m/min) n=————>(min")
1000 m - Dc

n : B9l 31XHmin™) Ve : BiZE=E(m/min)

T ¥FE3.14 Dc: & 21&(mm)

Dc : & 2&(mm) m: ¥FE3.14

P YAMAWA

YAMAWA caTALOG 195



Z-pro

SH

ATjo|2iey

EH

=

o

[=}

L=
D
Clo|A
LD
M=)
JIEXE

1 2 3 4 5 6 7 8 9 10 11 12 14 15 16 17 18 20 22 24 25 26 27 28 30 (mm)

ol 23

P YAMAWA

196 vavawa catALOG



W ZALZ g Y E23
EfTOl UOIA HAF EES = FHO|| ARIFS0{Z AI-0A Aol S7tehol| a2t Z7tsta, AR 220| 2E DA SESM
7tEt 3 A EE3E= AoiILCE O = e dst 2 LIEHH AREE0| I ATHO|M LIS Al&o|| Hot EE3E= FXt
HAL|CE
BEiY EE3 2RICH
Che J22 SHE B Ao &, ol M HAESH EES ZME HO{FLICE
— HE XA
£ . HSS P2 M8X1.25 LIRS : p6.8 52
EHZ =5 6.1m/min HAMQ . ELASHHEMR JS2E5 153
A : ss0c AEIIH: 258t
BHEEY: 1omms2e =H)|: 2MY EET HIAH
== 2ol E
SHEEH (P2) S (1)
TEY MU0 M) 2 ST Hl X
AOLGHH, ZAFAZH0] 2L
A (2)
ABETTIMTHH 25 S0HE HEH
M2 HOl UHGHH RIEstD, IEXIE
=
EHE AIZh2 M(1) R0 BLH
A(1.54h(3)
B2 ARETIATHH 25 SHUS HEH
SME2 HOl YHGHA Zdstd, O 20l E(2)
BECHZCH B A7 S(2) HE B
ATMOI 2 E (P2, 25¢h
e 28 (B 43 5)oZ sttt
/MMM\\ grel IHO| FBHEM 2 HHE0IH, MBEE £E1
HAESTE $IE B0 T
ILOIE E(p2, 54h)
s AMOIE 1t HIHE AOZ T LHHM
EI0I LEAFOI 2IEGHKT 2400, &I0H o8t EZE0I
M1, S22 EHE MEoHH,
BAES2T= IR N
BN EE3=H B3R, ol AR M 24 AN ZFL A, HAlR 5l Fo| Fat 50| w2 HstetL|C.

T T

Think threads with

YAMAWA

YAMAWA CATALOG

197



JIEXIE

198

6. 28 E=23

==
B3R

o=

|EZ
[=

of hE B E=3 H| W

HE B (HT) 20| & (SP) ZRIE

& (PO)| EN ES 39| H|WE LIEFAL|CY,

- H&E XA

(N-cm)

1500

©HSS P2 M10X1.5
©10m/min

. 850C

1 20mm 7Y

. p85EE

. XA
E—v—gge

sdoig g E
47| oHHE E2

=
O

C =

> o E

44 0% J% Ik
>~

= IE

1z
100z 0

AR JIS2E 163

=V
HAH

~
\l:i

=
o M

0%

1000

| UIMHM 0B

HT () SP(2.5%) PO(54h)

SHC EH 1100
AMOIE & : 70~75

HTOIE B4 60~65

E HollM ALIAL IS & FR EE E239| (HE2 HAL IS0

o) Bl E2 3= A 7t R
= ALAFIE KRIC2E LIS 25U
) JII I~s 9I7I71Iﬂ§é> (2

I UL I =S4E EE2A=

(2) 73 LA AL (OF2f 7E

FX|X|ot

XE-ZelE- 7= 20| 5)

LHHOZ LIAMLC| £0I|E 7|FE £1H2] 756% ol JFsta, = XIES ot AU

S ZefigiL|ct ot of Ji52] AR Hhof ofsH DHE X{eto| S715t7|

ApAioiRt 2 By E2 27} Erslo] ol Tia

TR0l RALIAS] Rz ZOI7} LOTHAE By E2IE HELIL,
(3) BN B (BETHBRI F50 24 S)
(4) AFGSH= Bo| BRI A2

(A=t M2|-2st X2 TiIN-TICN 28 &

P YAMAWA

YAMAWA CATALOG

ALIAL 7k

o Z20] H[sH 2t @9l0| 2o}

B2 2 ~ 3H{YLICE

LE AT AT B EMILZ A} K4 5)
L 7tS g X7 g2 AHIQIZ|ALL 2| 8 22| '3

=2 2[9|Z E23TF AHFLICE

(X|2h LIS =0l2 E XIS




6. B8 E=3

EHABAIZIZLZ 0| 713 M= Y ZEE 71EL2 f5 LA 20| 1.5D, Of2fl £ XIS YLIAL & 0] 75 %
& =
o

=
| #F Y EfH EEIS LIF A2 Poh= AS HEsIL USLICE

i BETE K
=) v
= BIO| i E=3 A=A (N/mm?)
A X B NEA Z 750~850
ZEMAZESITTE 1150~1350
T=KfX Dc X P2/1000 Scre =8e
AHIYAZ 1100~1300
T : HE EEE(N-mi( S A=A HTH 250~350
Dc: §49] 9/F J|ZEX|-{mm —
P - ]?JIl (<r3nm) A0I=sLOIAAE 380~530
Kf : HEHE(Nmm?) (REZ TH &%) = =310t T 750~1050

JIEX=

P YAMAWA

vamAwa caTaLoc 199



7. DIE|LIALZE LIAFAIOIX]

-7 JIS LIAL SEOHl S SH= LIAL HO|X| SAE9{%| 2EAIE 2oIFLICE
EESE, HALAIOIX| = MEfetLc,.
W LEALRE fLEAL 8 St A[O]X]

Z-pro 912 JI 114+ 10 000mm el +xrc'°ﬂz+ *LrArgzzrzmmm =

SP

ESIEE

SL

A0 ZEY

LI R& St AF Skt
LI HI0IXI SXH S 221 HIOIXI St
ESE

PO

Ex2 =

HT

SHEH
M=

RZ/RS

ZEH
=

ITRD

I HAE

PT/PFPS

D

clolA

LD

MEp=

0l M10X 1.5, 6g =LAk 25 ==LEAE

JIEX=

g

100 - LA R2ZE Al0IX|Q| LiZ Skt

r
3

s . Lo h T 91 Zxtet Holx|el Be| hictel
&t ang . SHE H i H R SIALS MZEA| QEX|20F KO Z=C}
- Bt B SN 2 e cese

L) W [ go‘r : E‘y :

L HOIXI slo:o2l sl i3l

: Lt Lt b

o U NIV

z gz gz

A R T

S0l = 0 0 o 0l

X 10X noa

P YAMAWA

200 vavawacaTALOG



7. OIELALR} LIAIA| O[]

W LA} =LEAL 8 St A[O]X]

P NP GP_ 1P W
2.3 g3 5 zug
=oe U= = S
i g 33 TR
A A 5 8 & 7 -
s = S0 n Ao Z-pro
A om o= :
iy == :
a3 gl
A A SP
: I Atjole
[ e ea =i e iz 2xt =
[ w200 2% Y S0 MoK S Amjo|eey
| R
PO
Zoley
0 : M10X1.5,76H &L 25 ZLEA HT
g
QALIALS] Skt ALEAL S Bt A 0[X|2|
Bt G| 27 9IX|S HOfFLICH RZ/RS
(LIS 2 XIE2 BY KRB0 LA 210 e
Alo|x|e| f& K22 tHE QEHLLICH [TRD
- ILpA RERE AR 217l BH Pedat T AP
AoIxle| Be| Lhlet RS M2tA| R XIS
BOIFLICL PT/PFPS
Clo|A
L
MEF=R
JiEx=
-
w
o
“

/

LHZIIZEXI2: 8.376mm

- A BFE LIALBHE AH[O|X|

JIS B 0251-2008 OIE LEAF B HOIXI

JISB0251-1975 OIH HE LEAH S HIOIXI JIS B 0252-1996 OIH MIS LEAH S HIOIX] "2 4"
JIS B 0253-1985 & HIOIH LA HIOIX] JIS B 0254-1985 22 EeH LEAH AH0IXI
JIS B 0255-1975 E&f HS LI 2 &tz H0IXI JIS B 0256-1975 S& MI= LIAF &t HI0IX

P YAMAWA

YAMAWA caTALOG 201



x
X=

©

@ %= Z0|
UHIHOZ LA St
0| 2AIZ FE23] ofelistn

M12X1.752| Z

[M12X1.75]
BH REZE K
THREE K%

20/0]

ood
o
nps!

2 Of2Het 20| Skt
J=Z Qlsio] B Sa32

£oto]

AESE LIALS| SAt

:10.863 ~ 11.063mm (2
:10.863 ~ 11.113mm (2

EE

o

5% FY LARNE 3K Y
FoL 7HE HZoln UBLIC

SAE"UE T2 WAE
x

CEECIN

=

X+0.200 mm)
XF0.250 mm)

2HA 6HC|

AL B &=

MEHEILICE LIAL 715 S Ao 2 st H

1) &7
fi(fine) BY 5| ZY 017t =2 HYU LA
(middle) 2¢ JIH, 17, 2E S0l AFRTE 2B LAt
. HM 2}, HAZ S BT S0 27| A2 SHM AL E LN E=
#(coarse) HH 7O =0 LEAF EAL, 21 3HS! S0f| EHETH 20| LhAt TS 01 0124201 Q= Likt
2) gk Zole 12
s at= 20/ 2 20| SHE K|%
JaxE e %z 2ol 2.24Pd "0l
N HE0| g 210 2.24Pd°? 014, 6.7Pd°*0I5t
L 21tz 210 6.7Pd "’ X1t

ALIAL -=LEARS] B 7|
ALIAL SAH S 2

I A0 MEH 7| FE

(L

arx 21
pE20 | N .
25 g
Hi(fine) 2 4H 5H 6H
th(middle) S+ 5H 6H 7H
#H(coarse) H& - 7H 8H
4) LIA} S SHAL| MEH 7| &=
- o g
arx 21
g g
#a(fine) B (3h4h) 4h (5h4h) - - -
fi(middle) £2t (5h6h) 6h (7h6h) (5g6g) 6g (7g6g)
#H(coarse) HE! - - - - 8g (998g)

Think threads with
X YAMAWA
YAMAWA CATALOG

202

R0
R

<+

BRI UEE0|X[2E,

2lA 7HO| AFR ZXH= 6HO|| H[8H 25 % (50um) T FHEILICE
| M7 el Sof Efo] R RLICt

A
A

p: MK



M1 0.25 0.6 0.6 1.7 1.7 M10 1.5 5 5 156 15
M1 0.2 0.5 0.5 1.4 1.4 M10 1.25 4 4 12 12
M1.1 0.25 0.6 0.6 1.7 1.7 M10 1 3 3 9 9
M1.1 0.2 0.5 0.5 1.4 1.4 M10 0.75 2.4 2.4 7.1 7.1
M1.2 0.25 0.6 0.6 1.7 1.7 M11 1.5 5 5 15 15
M1.2 0.2 0.5 0.5 1.4 1.4 M11 1 3 3 9 9
M1.4 0.3 0.7 0.7 2 2 M11 0.75 2.4 2.4 7.1 7.1
M1.4 0.2 0.5 0.5 1.4 1.4 M12 1.75 6 6 18 18
M1.6 0.35 0.8 0.8 2.6 2.6 M12 1.5 5.6 5.6 16 16
M1.6 0.2 0.5 0.5 1.5 1.5 M12 1.25 4.5 4.5 13 13
M1.8 0.35 0.8 0.8 2.6 2.6 M12 1 3.8 3.8 11 11
M1.8 0.2 0.5 0.5 15 15 M14 2 8 8 24 24
M2 0.4 1 1 3 3 M14 1.5 5.6 5.6 16 16
M2 0.25 0.6 0.6 1.9 1.9 M14 1 3.8 3.8 1 1
M2.2 0.45 1.3 1.3 3.8 3.8 M15 1.5 5.6 5.6 16 16
M2.2 0.25 0.6 0.6 1.9 1.9 M15 1 3.8 3.8 11 1
M2.5 0.45 1.3 1.3 3.8 3.8 M16 2 8 8 24 24
M2.5 0.35 0.8 0.8 2.6 2.6 M16 1.5 5.6 5.6 16 16
M3 0.5 1.5 1.5 4.5 4.5 M16 1 3.8 3.8 11 11
M3 0.35 1 1 3 3 M17 1.5 5.6 5.6 16 16 JIEX=E
M3.5 0.6 1.7 1.7 5 5 M17 1 3.8 3.8 Il 11
M3.5 0.35 1 1 3 3 M18 2.5 10 10 30 30
M4 0.7 2 2 6 6 M18 2 8 8 24 24
M4 0.5 1.5 1.5 4.5 4.5 M18 1.5 5.6 5.6 16 16
M4.5 0.75 2.2 2.2 6.7 6.7 M18 1 3.8 3.8 Il 1
M4.5 0.5 1.5 1.5 4.5 4.5 M20 2.5 10 10 30 30
M5 0.8 2.5 2.5 7.5 7.5 M20 2 8 8 24 24
M5 0.5 1.5 1.5 4.5 4.5 M20 1.5 5.6 5.6 16 16
M5.5 0.5 1.5 15 4.5 4.5 M20 1 3.8 3.8 m 1
M6 1 3 3 9 9 M22 2.5 10 10 30 30
M6 0.75 2.4 2.4 7.1 7.1 M22 2 8 8 24 24
M7 1 3 3 9 9 M22 1.5 5.6 5.6 16 16
M7 0.75 2.4 2.4 7.1 7.1 M22 1 3.8 3.8 11 1
M8 1.25 4 4 12 12 M24 3 12 12 36 36
M8 1 3 3 9 9 M24 2 8.5 8.5 25 25
M8 0.75 2.4 2.4 7.1 7.1 M24 1.5 6.3 6.3 19 19
M9 1.25 4 4 12 12 M24 1 4 4 12 12
M9 1 3 3 9 9

M9 0.75 2.4 2.4 7.1 7.1

P YAMAWA

YAMAWA caTALoG 203



JIEXIE

0. ILIAIS| 5T 2 ¥ 53

1.0f0ltP 5 B

ofbfel P 2 X = TAS (St= 37 3Y &2l 4)0ll Z510] HE|0f AELICE K= X1 M1~M52 (U, W= 2 21X])2| P & &2
723 3K S22 Xl X S2t O|X|= T2 Eot ZO|=|0f ASLICE ot R E At 2 frE2l A3 SAH2IX[of w2t

O =

of2ff 22 A~C2| 3 7HX| RYQ= L= = AUELICH
(1) ARY2 |2E 7|& X+=25E 10ume| 2IXIE 7|22 2|0 15ume| SAHE 22| ¢t A4S S5 P1(+ 10 ~ + 25um) =311,
O|= CtA|Of| P2 (+ 25~40um ), P3 (+ 40 ~ + 55um)2t 3X} HHE Mot JYELICE
(2) BEI1t CEIRI2 SE2| SAtRIKIZ L= X0l 20umE &2t 24 F 280 Tt 518 2XI5HH, B EII2 SXHS 20um,
C EIl2 SKIE 40umZ Skt Y = Fota ASLHCh

SE2 25 P1, P2, P3 .. J2|10 £ RYO2E|0] Q7| WhiZ0l|, AFS Z=240]| SE3=0] (EHE = USLICY.

m X|==2t O|X|of| 23t P 5 B9 R2Zd 3 E

N 1mmO0l& 24mm (7/8) 0I5t 24mm(7/8) X1t 30mm(17/4) 0I5t 30mm(11/4) 20t 52mm(2) 0I5t

0.6mm(404H) 015} AB
0.6mm(40&H) =1+ 1.75mm(144H) Ol6t BEIY BEIY BEIY
1.75mm(142H) X0 2mm(112) 016+ BEIY BEIY CEr
2mm(11ED) XD 5mm(54h) 016t B Ered C EY CEt
um um um

3 A Bt h B Et A CE

SXt=15um SK=20um Sht=40um
r 100
- 80 140
-85 P4
- P7
pP5 120
[ & - 100 P6
P4 P3
55 - 80 P5
P3 40
I 40 - 60 P4
P2 P2
F25 L 20 40 P3
P1
10 P1 20 P2

\ LuZ JIEKS

Ed

0
fot
o
~
P
+
1
10
fot

¥
~
P
=
1>

2.JISe|
1= '—W B LIAMRS| F = $ JISOH|A = 1S02857 2=0] 240l 71Z2] 18, 2 5, 3 22| 0| FEM0i| &= ASLICH
=, 28, 38 B LR o= 530 2t faZd SAVICE, 242 SE.‘OHA'IE K|t O|X|= SXPLCHE YAlez

E|01 °'*L|Ef Olofl Chal JIS =A2] =2 22 3719| FL? S50| L=t sl SXH 22 Skt IX|7t Hefsh=

LYAOZE|0 ACH, Skh= CHS HIO|X|2H 20| ALIAL SKIS| R % = FOJELICE WE0l| X|== XSt TIX|off w2} SHa2tE 4

UAELICH [2kA ofotet P & 2+ JIS2 52| Bl d4lo[2tn o =QUEL|Ct ot 2Ale| S22 712218, 2 8, 3 8
TS| I8l 2241, SalA 2, F2HA 322 E|of ASLICE

Think threads with

YAMAWA

204 vavAWA cATALOG



Lm
A 5H LIS REE St E 100pm AL (S 20pm)
100 — —
70 SXto.2t
50 (—
5H t
0.7t
30 —
0.5t
0.3t
10
0.1t
A v
5H LIS REd SXtH S Hol Red

ENEE \
CEEDIEES

3. ¥o| S5 YLt S22l R2E A S HluE
DJE| S5 LiAO] U0{M, Ofutet P 3 B HE0| 3 IS £441 8 2 3 % JIS 210 # 3 2 (M1.4 0[5t S2 1)2
E W LA (M1.4 0[5} 5H)2| R Skt gefntel 2,
g BoiELIC

723 3G T JIS2 5 ALALEL IS
J2|noftet P g EE S58l f2E SAt

P=
( IXl =0.6)
JIEX=

Xlz=xI X

M1 X0.25

M1.1X0.25

M1.2X0.25

M1.4X0.3
M1.6X0.35 =
OHDIP 3 P S30 92Z Bkt 3
M1.8035 e
OHOFSL ATHOIZ! B0l BZE 53
ad PO |
M2 x04 OIIH EOIE 20| B S3
o HT |
M2.2X0.45
JIS 2H9l (1S0) B0l Q&% 2Xt ey
M2.5X0.45 M1.40l5t: S21/M1.601&: 552
2UIS2 2 UL 9B Bt B
M3 X0.5
[o]3 0| ©O85H AHAH
3506 JIS (1S0) LIl 95 2kt el

M1.4 0I5t : E5 5H/M1.6 01& : S5 6H

P YAMAWA

YAMAWA cATALOG 205



9. gL S HE S5

P=

(0.6< IlXl=1.75)

Z-pro
SP M4 Xx0.7

ES U=

SL M 4.5X0.75
ES G
PO M5 x08
HOIEH
HT
. M6 X1
RZ/RS
/%EH M7 X1
ITRD
IAEHHE M8 x1.25
PT/PFPS
g M9 X1.25
D
Cloja M10 X1.5 [ : :
e _ _ _ _ oo : _ T — — T S
HE=E M1 X15 1 ’ ’
JIETE

M12 X1.75

=

=
(1.75< Il =5)

19‘0 290 2‘}0 22‘0 2£‘30 24‘10 25‘50 2?0 27‘0 2‘80 2?0 3?0
L L L L L L L L L L L

() um

M16X2

M18X2.5
M20X2.5
M22x2.5

M24 X3

P YAMAWA

206 YAMAWA CATALOG



Pz P5
PS : P3 i ]
(o< Xl =5) |---enns 4444444 . e . B
: : : ] P4
‘u 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 160 170 180 190 200 210 220 230 240 250 260 270 280 290 300
(TRTT FETTURTIY FURRATNANE FRURARRARE IRRTURVAY FRRRURVRTI RRTUINENE IRURNINUNE FRURURTTY RRRURRAT) FRRRURVATE INUVAIUATE INURAUURY RRRURVAT) CRRRURVATI ENUTATNUTE FUUTAIUUTE NURRURNAN CRRRURRARI FRRTAUUTE IUTAIVUTE FOUUA] L Ll
[ NSEYFPIESTEN ()um
NESIY| : : : : : : : : :
M27 X3 JiIs2E
................................................ =552 :
JIs2 3
M30X3.5 :
- 6H
==

4. BE S5 L AIO|=
E URIR0 R HIEYUE Hol 52,2 32 J|=HOE 7 JIS2 3 ALIAE THEsHs 2oz &
E|

o o
B 71AIe] g e, o] 7522 M 3 O ot So= vifli= 7|E2| JIS2 & B0l = T3t 22 O|R0l|A BIEA| 2HEsHA

(1) ZAFERY BolME 22 Qoo met = Weko] 20| HE| AZo| e |S 7IEL251H HQIE |2 X O Z oitf FASH|
OjE1, ATO|H |2 = Yoo 2 STl HARE | &A= ASLIC
(2) JIS2 & ®el f= X5 3 71 JIS2 & YLIAL 32! LIAF 221 A0|XI2] F = X|5=2f 2HA(0IA B HAt HO| HaX o= Ot &
BR0i| 2| A|0| X|OtRE 3ff HHEIL|CH Bl 0| ZoRELICt giLct.

(3) Il 71522 MEO|Lt HHOH|M I| 71520| +=5k= ZR0ll= 02| 2 +5025 2 |o| 2RELIC.

(4) ENE = 2ALIAO =22 HAISt=E ER, =323F 2 7ol 2Lt

(5) Il 71522 MEZ =il ZE0| 210 |2l 027t Mot A= J7hstt of 2 |o| 2QEL(Ch

O[3 oM ZQIE &, Amo|2 &, 245 8= E Hof %101*1 = O T|o|X|ollA AHHMELICEL P2 HEE kS, O B0 BF A

K20l O 28PN EfEO| MM HE LIAKRS FEE P 5 Fe S0M 2ot 2 S52= ZFHLICh W2tM 9| (1)2] olg=

St K|t st ZQIE Hat ATo|E B0 A= AT SSO| CHELICH 53] ZQIE #, Aol o] BEF0] A0M= 2

AfO|=Q| EAOM BE SE2= Hotal JAELICE 2B A0|== 9| (3) ~ (5)2] 0lf 2 EE SEECHES2 A2 LoHH LHo=
129 22 2 2210| S5 ot ASLICH E3F 22 TH0M = 4= ARO[ JIS (ISO)2| LLHAL S5 6HOl= HE &

UELICL

JIEX=

[=| x - o o E*?#:um
UNC 2B UNF 2B BSW — G —
Nr. 1-64 +28~+12 Nr. 0- 80 +26~+11 V46 X60 +28~+13 V% -28 +43~+21
Nr. 2-56 +30~+13 Nr. 1-72 +28~+12 Y4 X48 +32~+15 V4 -19 +50~+25
Nr. 3-48 +32~+14 Nr. 2- 64 +29~+12 % %19 +35~+15 % -19 +50~+25
Nr. 4-40 +34~+16 Nr. 3- 56 +31~+13 %%, X32 +40~+18 V5 -14 +57~+28
Nr. 5-40 +35~+16 Nr. 4- 48 +32~+14 Y6 X24 +44~421 5% -14 +57~+28
Nr. 6-32 +38~+18 Nr. 5- 44 +34~+15 V4 X20 +46~+23 Y, -14 +57~+28
Nr. 8-32 +39~+18 Nr. 6- 40 +36~+16 %6 X18 +49~+23 1 -1 +72~+36
Nr.10- 24 +42~+20 Nr. 8- 36 +38~+17 ¥% X16 +51~+25 14 -1 +72~+36
Nr.12-24 +43~+20 Nr.10- 32 +40~+18 Y6 X14 +56~+28 15 -1 +72~+36
Vi -20 +46~+22 Nr.12- 28 +42~+19 V5 Xx12 +61~+30
%6 -18 +49~+23 Vi -28 +43~+19 Y6 X12 +61~+30
% -16 +53~+25 %6 -24 +46~+20 % X1 +63~+30
e -14 +56~+27 % -24 +48~+20 %, X10 +69~+33
V5 -13 +58~+28 s - 20 +51~+22 % X 9 +69~+33
Y6 -12 +60~+29 V5 -20 +52~+23 1 X 8 +74~+36
5% -1 +63~+30 Y% -18 +54~+23 114X 7 +79~+38
¥ -10 +66~+31 5% -18 +56~+23 14X 7 +79~+38
% -9 +70~+33 ¥ -16 +60~+25 134X 6 +83~+41
1 -8 +73~+35 Vs -14 +64~+27 114X 6 +84~+40
1 - 12 +67~+29 19X 5 +90~+45
19X 5 +92~+46
174X 45 +95~+48
2 X 45 +96~+48

P YAMAWA

YAMAWA caTALoG 207



EPTE P, P3 e

GH3 GH4 GHb5

b

" o&zlIzns

P3 P4

P3 P4

GH2 GH3 GH4 GH5_ GHB

W

RN INE2EN  P3 P4 R
 GH2 GH3 GH4 GHb5 GHE GHY/

GrHo T GH5 |GHB |G/

Py M

GH3 [ GHER IGH

Ps__ P4

Think threads with

YAMAWA

208 vavawa caTALOG




10. = &0l CHoH0]

a4 7ts Lo et

ot "L 7188 S
ge| AFSEH =S @

N

it
10
o
~N

o2
o
|y
==
n
A
52
||'

-
=

HEIHES AN Q0] ot LA HES 9|

ot

0% oX
4
H

BHmBiEel 1, K27 HAP L

sl - =

o2
ot
o

441 0

| 2| whZoll, B4 7h30] HIs 1% 7+=50| 7Hs3
2HH ~ 20HH7EX| HEAIZ 4= AELIC

%

splel,
(B @ A8 49 R9F)

re
4
ol
rlo

OEfZl E237} AL 74Z0]| ble 2 ~ 3 8 Act.
O oz 7 x|2
TAsHorgiLICt.
O LAt LA

(fofOret £ B,
O MZEC| £EF HSE0MS-HHO=HIEE AURYUE

ZARHo| O3l TiN, TICN = HIZID JBLICH 58] 712 HARE LQsIX| of= 2 A S He
O EHO| IHZ MEB= LHOHRAR QINE 2kE DERo| SKHE8 JHAME EX MEE O £2 &

SKH10 22 310|A S| HIEE A

S30l| CHSIO] = =ie ANSIGH 20l =3t G 22 #R%tn fad

ol8l| £ EfL Y= Cl=7| m=of *I’“OI AU AISE PS4 UZR 2 ~ 3532 MES UZD B
O AISS0| CHEI]  orel 7 8O ARt Mg 24, 5521 1 02 Al=E M 4M0| QELICH

Z2|= el REO0| E01S 7| iR 4

OomrlEd=d
O HIEXPTt CHEF MX|Q| 5 %HEZ, M 7138

2917} Zo1N0| B T2

il ovVlsT

otz 7 XISECH A

of oty

dELICE

A IIZROIME 2 481 UK EA0| 471 232

of M)

FUELICE

0

UELICE

o ZAZ 12.7umE EH[Alo2
FXT1 OlA| |

OF2f 7Y XIS0fl [HE "RALPAL Sad 2t "SEE HIE))
7|01 962 010l Cifst ALH| 3425 0|0 B S "9H bIZ,002km BHLIC,

o2l 71 X|S2| xtolof| k2t TRfLtAL ety 'RITSHE HIE,2 o2 O2le| $2l HAELICH
o 7130l M= "9k B8, 2 1E{slo] EEsofRlLICt.

{0ilAf Of2 T XSS 2| DY UM A4 THFO| ZABtL(CE

B 710l 5185l el
4 9lo0], Bio| 0} / A4S OfHoHs 2 2 4 YBLICL

ol Zel= ReEes 2g o

"QILICE |2 o] 7tE Mz 2| Cifel, 2F9 F
USLICEL Z 7158 ©iof| v[sl CiS2t 22 SZ0| ASLICH

O O O O M
=
Ire
=2

Elodo oy my Jm
rot
ot
wor
oH
ruT5
1
[e]3
=
50
3
T
=2
=
ul
re
N
0
Al
iy}
o
1
0
N
2
[
ot
1o
0|I
E§
]
]
=2
A
S
n
~
2
o
>
=
in)

At 227t 2QEL|ct
O LA EHHS| H(burr) 7t EAL 7FS8 0= 7HS3E W=D 37| 2o afeol| w2t o2 7ol 7 M7t Zeh|ct

H H2(7} (0= Tt £l 20| 230K QUELICE ot +F HEES 9
i

Eekn YBLICE 1| 12 Kol 5
It
A s J|E RO

LEHOZ D= Y 4 UBLICE

gt C}

2 4 ABLICE

O A8 HARO MEo| foll 8%

o= 2o

2910f| =I5k

F HFAH

mjo

22| 20/t =2

Fetor2h 1 XS0l

SH0C ZAF LI UHE Sy 220l S LLIAHE g4
M24x3 M25x2
BH (2 =) LLIALLHZ Kt 6H (2 Z) LLH LHE B%
(¢20.752 p21.252 22.835 p23.210
[S50C ZHAT 2 D) ST L ST (22005 22 HLHIO] TR
M24><3 s _ M25x2
OFLHJ'LH?:‘ o NG L i i | 012 O.:H_J'M' H& : 22 . 723mm
OESHIS : 103.1% Al ILHHAZ SAENG
= ' F Sl wEHIg 105 . 2%
[S50C EAt LG Sl (2=20/5 2O AHIE)
i
O*LMI-Lqu :j[(ijr |l Ot22] LEAFLHE 23 . 067mm :..J
IS 92.4% i A oL LA L Bt B2 g
= ' vl i=hiS 0 89 . 3% e
[S50C Zi4f 24 }A}B) i (2205 2t ALHUIG)
M24x3 ;_,. M25x2
ORH 712 XIZ 1¢21.352 e 1] OFeH =3 XIS 924 . 240mm
SILIAF LHZ ZXING i - h22] LA LZ : 23 . 462mm
oy 8105% | . SHLEAFLHB SAENG
- ' R EHIS: 71 0%

Think threads with

YAMAWA

YAMAWA CATALOG

JIEX=

209




JIEXIE

210

10. = B0l CHoto]

(EHo| Al &

xH)
oI 75 M=E Efl St BT HoR

EV‘E LI ALO =
n CHOPHAE 15~25 £ 24815 5~62
u=0)s 2 2205 &S = A28 0% 565
OILHTH, FOITH, =T, 25~35 Tee e
AE] o~
Oft 3 ol 2 Hoph== 15729
QIITH, I TH, =XTH 25~35
= 2OITH, =ETH 25~35
== QIETH, 21 TH 25~35
- o1, B BAY, AHOIHA Y 6~15 | = A2M2E56s
< £ ASN 2E 16~178
J:U'l)%rjor, E I}é} jor 15~25 =TSO 4SS

X JIS BHAI ME JIE

AT L STE B0 I, MRH| M

CE, WEY ST, 0k H8 2 ZARSEQ ALS R0 loH TR0, HEA0 =I6H0F &tLICE

(2 "ol Y=o CHdHo)

W Of0t>t = B G & ofl CHSH

OG 22 ANSI & GH 2, 2+ 0.0005inch (12.7um)oll Z5104 CHR0]| w2t A|EA|O 2 M E|0f QIALICE

OG =0l Chet 518%t= O 552 G 2 M0l 12.78 Foto, A1 Xf2|E 28 o (um)ollA ot JLELICH
OG Z otz2hel s18xt= O3 SSELH B B of2lie] G Zof| Chst 518Xt (AMES A7[0| EZLICHRLICE

OtfztM Bkt= 2 7(0]] w2 12umet 13um7Zt AELICE

m2 3 lhiel BE 2 9 6 9l A8 3% Yol ulaE

M1.4x0.3
M1.6x0.35
M1.7x0.35
M1.8%0.35

M2x0.4
M2.5x0.45
M2.6x0.45

M3x0.5

M3.5x0.6

M4x0.7

M5x0.8

M6x1
M8x1.25
M10x1.5
M12x1.75

13

25
EAESNES

IUILIOW LIAFE R GS 5

OGS &

2 O|L{ofx| LAl 2
4H5 LLIALRE OJL|OJA] LEA

EH

8

38 51

R
I:IO
=
=

<

64 76

18

GS2

of At SAH 3

HH

23
GS3

23

28

GS4

140 152 165

178

33

»

191
(+) um

S0.6x0.15
$0.7x0.176
S0.8x0.2
S0.9x0.225

GS4

m Think threads with

YAMAWA CATALOG




11. LA 50 %= B 28 A= 37] 23

1) LA =22 WS W2 =5 FHt R= 7E|§°| 2A|
2112 ALIA =30t HEft R& XIS2| 2HAIS LIEH 1 QLY.
* £3 == maySoin) xjztoz *I-Io|-x|l:|l_|- QB X2 Ax|ZH(RY Hreh oz XB17| 99

= 51 = R XEQ &=

<181 oo 3um

4

yy r

Y

Y _.'
QB AT /2 , '

( pm) Y \‘
- - \’ *
~. Rd
Sy gy

t(== FM) =3um2l B [H29] HRMMOZEH [H20] i A0IX 20| AEELCE
QEd LA 2t x 2 (LI EE) =3um x 2 x 2= 12um (FEE 2H A0IX &)

2) E8 Ho| S 4 24

1. £E OrF2| YL HE='6H'ERE, HAK= "GP-6H" "NP-6H"0|A A |Sh= 22 7FYSICY.
= FHL "EFE 2 "8 ~ 16um"3AIE HE|=|= A Z oIt 0] =3 S| Hih= 21 1)2] HAlM RE XIEQE SHitsiH
"32 ~ 64um"2| T} LIEHATE,
3. B2 LA B2 £20] Max 2H(64um)oll EHZHE T "GP-6H"7} & (S2t)st= M=0|H, =20| Min 24(32um)ol| =ZHE 1=
'NP- 6H '7} 22| ("X])st= F=}EC
4. =37 ALIAL F=E HARSHE A0IX|= CHEat 20| FMAItT
T2 EE AOIX|: GP-6H + 64 =27 2t&l A|O|X| : NP-6H + 32

5.0t T2 %2 A0[X|9} 28l AO[K|S J|EOR Axio| £aH U HE S s AR Lizic, JIEX=

™6 x 122 H M M- ZEJZ (22 £/ : 8 ~ 16umY Z),

T T
6H 2ILE 6H LI | |
- | | 4150 |
GP-6H . | | | |
r+7 +17 : : ‘ :
NP-6H ! ! !
L | I
TSHULH l |
B : +64 | :
GP-6H+64 ! ! !
r ; +71 481 ; }
NP-6H+32 | | . |
B : | 82 4192 |
HIok zat & 1 P5.5 l l
B } +90 } +110 . }
Hier = & | | G12 [
: : +140 #+152 :
0 50 100 150 200 250
QEI|Z114:5.350mm (um
Méx1 RzdIIEKI% . 5.350mm
6H LI SXt D0~+150um (3Xt: 150 um)
GP-6H BT L47~417um NP-6H T +150~+160um
TS ULIAF SXE D +64~+182um (SXt: 118um)
GP-6H+64 8= D471~+81um NP-6H+32 T : +182~+192um
HIoH &AM HH(P5.5) D 490~+110um
HIoHE 8 BHG12) D +140~+152,um

P YAMAWA

YAMAWA caTALOG 211



12. LA 1 371 &

W O[E{LIALE
_ — T ewwzo)
e
X0.25 (0.785) (0.729) 0.75 X0.75 6.378 6.188
M1 X0.2 (0.821) (0.783) 0.80 M7 X05 6.599 6.459
M1.1X0.25 (0.885) (0.829) 0.85 M8 X1.25 6.912 6.647
M1.1X0.2 (0.921) (0.883) 0.90 M8 X1 7.153 6.917
M1.2X0.25 (0.985) (0.929) 0.95 M 8X0.75 7.378 7.188
M1.2X0.2 (1.021) (0.983) 1.00 M 8X05 7.599 7.459
M1.4X0.3 (1.142) (1.075) 1.10 M 9x1.25 7.912 7.647
M1.4X0.2 (1.221) (1.183) 1.20 M 9x1 8.153 7.917
M1.6X0.35 1.321 1.221 1.25 M 9X0.75 8.378 8.188
M1.6X0.2 (1.421) (1.383) 1.40 M10X 1.5 8.676 8.376
3 M1.7X0.35 1.421 1.321 1.35 M10X1.25 8.912 8.647
M1.7X0.2 1.521 1.483 1.50 M10X1 9.153 8.917
M1.8X0.35 1.521 1.421 1.45 M10X0.75 9.378 9.188
M1.8X0.2 (1.621) (1.583) 1.60 % M10X0.5 9.599 9.459
M2 X0.4 1.679 1.567 1.60 M11X1.5 9.676 9.376
M2 X0.25 (1.785) (1.729) 1.75 M11 X1 10.153 9.917
M2.2X0.45 1.838 1.713 1.75 M11X0.75 10.378 10.188
M2.2X0.25 (1.985) (1.929) 1.95 % M11X0.5 10.599 10.459
M2.3X0.4 1.979 1.867 1.90 M12X1.75 10.441 10.106
% M2.3X0.25 2.085 2.029 2.05 M12X1.5 10.676 10.376
M2.5X0.45 2.138 2.013 2.1 M12x1.25 10.912 10.647
JiextE M2.5X0.35 2.221 2.121 2.2 Mi2x1 11.153 10.917
3% M2.6X0.45 2.238 2.113 2.2 % M12X0.5 11.599 11.459
3% M2.6X0.35 2.321 2.221 2.3 M14X2 12.210 11.835
M3 X0.5 2.599 2.459 25 M14X1.5 12.676 12.376
M3 X0.35 2.721 2.621 2.7 M14 X1 13.153 12.917
M3.5X0.6 3.010 2.850 2.9 M15X1.5 13.676 13.376
M3.5X0.35 3.221 3.121 3.2 M15x1 14.153 13.917
M4 x0.7 3.422 3.242 33 M16X2 14.210 13.835
M4 X0.5 3.599 3.459 35 M16X1.5 14.676 14.376
M4.5X0.75 3.878 3.688 3.8 M16X1 15.153 14.917
M4.5X0.5 4.099 3.959 4.0 MA7X1.5 15.676 15.376
M5 X0.8 4.334 4.134 4.2 M17 X1 16.153 15.917
M5 X0.5 4599 4.459 45 M18X2.5 15.744 15.294
M5.5x0.5 5.099 4.959 5.0 M18X2 16.210 15.835
M6 X1 5.153 4917 5.0 M18X1.5 16.676 16.376
M6 X0.75 5.378 5.188 5.3 M18x1 17.153 16.917
M6 X0.5 5.599 5.459 55 M20X 2.5 17.744 17.294
M7 XA 6.153 5.917 6.0
D1 JIS6H (2 2) HZS LIEREILICL () 210 2K1 B LHFS 5H(232), M= LIH= 4H-6H12)S JITHoHD ASLICH

OF|
KIS0 % EAISH 1% \SOHH AEIASULH

P YAMAWA

212 YAMAWA CATALOG



2 mm
_ OMW cesE TN CEI S
v ] i
M20 X 2 18.210 17.835 18.0 M38X1.5 36.676 36.376 36.5
M20X 1.5 18.676 18.376 18.5 M39 X 4 35.270 34.670 35.0
M20 % 1 19.153 18.917 19.0 M39 X3 36.252 35.752 36.0
M22X2.5 19.744 19.294 19.5 M39 %2 37.210 36.835 37.0
M22 X 2 20.210 19.835 20.0 M39X1.5 37.676 37.376 37.5
M22X1.5 20.676 20.376 20.5 M40X 3 37.252 36.752 37.0
M22 X1 21.153 20.917 21.0 M40 % 2 38.210 37.835 38.0
M24 X3 21.252 20.752 21.0 M40X1.5 38.676 38.376 38.5
M24 X 2 22.210 21.835 22.0 M42X 4.5 37.799 37.129 37.5
M24X1.5 22.676 22.376 225 M42 X 4 38.270 37.670 38.0
M24 X1 23.153 22.917 23.0 M42 X3 39.252 38.752 39.0
M25 X 2 23.210 22.835 23.0 M42 X 2 40.210 39.835 40.0
M25X1.5 23.676 23.376 23.5 M42X1.5 40.676 40.376 40.5
M25 X 1 24.153 23.917 24.0 M45X 4.5 40.799 40.129 40.5
M26%1.5 24.676 24.376 24.5 M45 X 4 41.270 40.670 41.0
M27 X3 24.252 23.752 24.0 M45 % 3 42252 41,752 42.0
M27 X 2 25.210 24.835 25.0 M45 % 2 43.210 42.835 43.0
M27 X 1.5 25.676 25.376 2515 M45X1.5 43.676 43.376 435
M27 X1 26.153 25.917 26.0 M48 X5 43.297 42,587 43.0
M28 X 2 26.210 25.835 26.0 M48 X 4 44.270 43.670 44.0
M28X1.5 26.676 26.376 26.5 M48 X3 45.252 44.752 45.0
M28 X 1 27.153 26.917 27.0 M48 X 2 46.210 45.835 46.0
M30X 3.5 26.771 26.211 26.5 M48X1.5 46.676 46.376 46.5
M30X%3 27.252 26.752 27.0 M50% 3 47.252 46.752 47.0
M30X 2 28.210 27.835 28.0 M50 % 2 48.210 47.835 48.0
M30X 1.5 28.676 28.376 28.5 M50X 1.5 48.676 48.376 485
M30X 1 29.153 28.917 29.0
M32X 2 30.210 29.835 30.0
M32X1.5 30.676 30.376 30.5
M33X3.5 29.771 29.211 29.5
M33%3 30.252 29.752 30.0
M33 %2 31.210 30.835 31.0
M33% 1.5 31.676 31.376 31.5
M35X%1.5 33.676 33.376 33.5
M36 X 4 32.270 31.670 32.0
M36 X3 33.252 32.752 33.0
M36 X 2 34.210 33.835 34.0
M36X1.5 34.676 34.376 34.5
*D1:JIS6H (2 S) QLI LHZS LIEFELICH

P YAMAWA

YAMAWA CATALOG

JIEX=

213



JIEXIE

214

12, LIAL 23 37|

B FL|THO| LIALE

It
4

E9
SLie ©) S Se 0 SEIGE)
Max. Max. Min.
No. 0 - 80UNF 1.305 1.182 1.25 5/8 - 11UNC 13.868 13.386 13.6
No. 1 - 64UNC 1.582 1.425 1.55 5/8 - 18UNF 14.681 14.351 14.5
No. 1 - 72UNF 1.612 1.474 1.55 5/8 - 24UNEF 14.986 14.732 14.8
No. 2 - 56UNC 1.871 1.695 1.80 3/4 - 10UNC 16.840 16.307 16.6
No.2 - 64UNF 1.912 1.756 1.85 3/4 - 16UNF 17.678 17.323 17.5
No. 3 - 48UNC 2.146 1.941 2.1 3/4 - 20UNEF 17.957 17.679 17.8
No. 3 - 56UNF 2.197 2.025 21 7/8 - 9UNC 19.761 19.177 19.6
No. 4 - 40UNC 2.385 2.157 2.3 7/8 - 14UNF 20.675 20.270 20.5
No. 4 - 48UNF 2.458 2.271 2.4 7/8 - 20UNEF 21.132 20.854 21.0
No.5 - 40UNC 2.697 2.487 2.6 1 - 8UNC 22.606 21.971 22.3
No. 5 - 44UNF 2.740 2.551 2.7 1 - 12UNF 23.571 23.114 23.3
No. 6 - 32UNC 2.895 2.642 2.8 1 - 14UNS 23.825 23.445 23.6
No. 6 - 40UNF 3.022 2.820 2.9 1 - 20UNEF 24.307 24.029 241
No. 8 - 32UNC 3.530 3.302 3.4 11/8-7UNC 25.349 24.638 25.0
No. 8 - 36UNF 3.606 3.404 3.5 1 1/8 - 8UN 25.781 25.146 25.5
No.10 - 24UNC 3.962 3.683 3.9 1 1/8-12UNF 26.746 26.289 26.5
No.10 - 32UNF 4.165 3.963 4.1 1 1/8-18UNEF 27.381 27.051 27.2
No.12 - 24UNC 4.597 4.344 4.5 1 1/4- 7TUNC 28.524 27.813 28.2
No.12 - 28UNF 4.724 4.496 4.6 1 1/4 - 8UN 28.956 28.321 28.5
No.12 - 32UNEF 4.826 4.623 4.7 1 1/4-12UNF 29.921 29.464 29.6
1/4 - 20UNC 5.257 4.979 5.1 1 1/4-18UNEF 30.556 30.226 30.3
1/4 - 28UNF 5.588 5.360 5.5 1 3/8 - BUNC 31.115 30.353 30.8
1/4 - 32UNEF 5.689 5.487 5.6 1 3/8- 8UN 32.131 31.496 31.8
5/t - 18UNC 6.731 6.401 6.6 1 3/8-12UNF 33.096 32.639 32.8
S/ - 24UNF 7.035 6.782 6.9 1 3/8-18UNEF 33.731 33.401 33.5
5/t - 32UNEF 7.264 7.087 71 11/2- 6UNC 34.290 33.528 34.0
3/8 - 16UNC 8.153 7.798 8.0 11/2- 8UN 35.306 34.671 35.0
3/8 - 24UNF 8.636 8.382 8.5 1 1/2-12UNF 36.271 35.814 36.0
3/8 - 32UNEF 8.864 8.662 8.7 1 1/2-18UNEF 36.906 36.576 36.7
7/t - 14UNC 9.550 9.144 9.4 1 5/8 - 8UN 38.481 37.846 38.1
7/t - 20UNF 10.033 9.729 9.9 1 5/8-12UN 39.446 38.989 39.1
7/ - 28UNEF 10.337 10.135 10.2 1 5/8-18UNEF 40.081 39.751 39.8
1/2 - 13UNC 11.023 10.592 10.9 1 3/4- 5UNC 39.827 38.964 39.5
1/2 - 20UNF 11.607 11.329 11.5 1 3/4 - 8UN 41.656 41.021 41.3
1/2 - 28UNEF 11.938 11.710 11.8 1 3/4-12UN 42.621 42.164 42.3
9/t - 12UNC 12.446 11.989 12.2 2 - 41/2UNC 45.593 44.679 45.2
9/t - 18UNF 13.081 12.751 12.9 2 - 8UN 48.006 47.371 47.8
9/t - 24UNEF 13.385 13.132 13.2 2 - 12UN 48.971 48.514 48.6
- D1: 2B LI LHBS LIEFILICE UNC, UNF= JIS, UNEF, UN, UNSQ| 2B 2LEAL LHZ D12 ANSIB1.10M ik ASLICH

P YAMAWA

YAMAWA CATALOG



WIMETY O[E{LIAE

cro).
114 e cuz@y 114 S caz@
Max. Min. Max. Min.
M 2 X04 2.16 2.10 2.13 M14X2 14.83 14.49 14.7
M 2.5X0.45 2.68 2.6 2.6 M14X1.5 14.62 14.37 14.5
M 2.6X0.45 2.78 2.7 2.7 M14X1.25 14.52 14.31 14.4
M 3 X0.5 3.20 3.12 3.15 M16X2 16.83 16.49 16.7
M 4 X0.7 4.30 417 4.2 M16X1.5 16.62 16.37 16.5
M 5 X0.8 5.33 5.16 52 M18X2.5 19.04 18.58 18.9
M6 X1 6.42 6.25 6.3 M18X1.5 18.62 18.37 18.5
M 8 X1.25 8.52 8.31 8.4 M20X2.5 21.04 20.58 20.9
M10 X1.5 10.62 10.37 10.5 M20X1.5 20.62 20.37 20.5
M10 X1.25 10.52 10.31 10.4 M22X2.5 23.04 22.58 22.9
M10X1 10.42 10.25 10.3 M22X1.5 22.62 22.37 225
M12X1.75 12.73 12.43 12.6 M24 X3 25.25 24.70 25.1
M12X1.5 12.62 12.37 12,5 M24X1.5 24.62 24.37 245
M12X1.25 12.52 12.31 12.4
0l HE= QME T HIE Mo Xt=0 J1Eet 24Ul
W 22 E|o|m LIAKRc,PT) £19] : mm
Q2 LIAHEOl 2101 (£14)9 20l (A1)
LI LHE LI LHE
Rc 1/ - 28 6.1 6.2 6.244 6.384
Rc 1/8 - 28 8.1 8.2 8.249 8.388
Rc 1/4 - 19 10.7 11.0 10.962 11.174
Rc 3/8 - 19 14.2 14.5 14.448 14.658 A
Rc 12 - 14 17.6 18.0 17.979 18.263 el s
Rc 3/4 - 14 23.0 23.5 23.378 23.663
Rc 1 - 11 29.0 29.5 29.459 29.822
Rc 11/4-11 37.5 38.0 37.976 38.339
Rc 11/2-11 43.4 44.0 43.869 44,232
Rc 2 - 11 54.9 55.5 55.412 55.844
B2 E At LIAE £420- W 0|4 LIALE £490:
" §LH L (D) ot
Max. Min.
KXW 1/8 - 40 (2.591) (2.362) 2.55 1/8 sm44 2.605 2.485 2.5
XW 3/ - 24 (3.744) (3.406) 3.70 9/64 SM40 2.948 2.818 29
W 14 - 20 5.204 4.914 5.1 174 SM40 3.742 3.612 3.7
W 5/ - 18 6.670 6.340 6.6
W 3/8 - 16 8.113 7.733 8.0
W 7/ - 14 9.508 9.048 9.4
W 12 - 12 10.830 10.310 10.7
W 9% - 12 12.418 11.898 12.3
W 5/8 - 11 13.817 13.257 13.7
W 3/4 - 10 16.778 16.178 16.6
W 7/8 - 9 19.691 19.031 19.5
w 1 - 8 22.514 21.814 22.3

"D1:JIS2 & LI HES LIEFILICE
- E LHAE JISOIM AT DS LICH
- XIZR0 x HAI 242 BSWOH J1E8F 24 LICE

P YAMAWA

YAMAWA CATALOG 215



JIEXIE

216

12. LIAF 1S

37| &

W2 Tl LA

ORp, PS =9 mm OG, PF CH) mm
1/ - 6.632 6.490 G /6 - 6.843 6.561
Rp 1/8 - 28 8.637 8.495 8.5 G /8 - 28 8.848 8.566 8.7
Rp 1/4 - 19 11.549 11.341 11.4 G 14 -19 11.890 11.445 11.7
Rp 3/8 - 19 15.054 14.846 14.9 G 38 - 19 15.395 14.950 15.2
Rp 1/2 - 14 18.773 18.489 18.6 G 12 - 14 19.172 18.631 19.0
Rp 3/4 - 14 24.259 23.975 24.0 G 5/8 - 14 21.128 20.587 21.0
Rp 1 - 11 30.472 30.110 30.2 G 34 - 14 24.658 24117 245
Rp 1 1/a-11 39.133 38.771 38.8 G /s - 14 28.418 27.877 28.2
Rp 11/2-11 45.026 44,664 447 G 1 - 11 30.931 30.291 30.6
Rp 2 - 11 56.837 56.475 56.5 G 11/8-11 35.579 34.939 352
G 11411 39.592 38.952 39.2
G 11/-11 45.485 44.845 45.0
G 13/2-11 51.428 50.788 51.0
G 2 - 11 57.296 56.656 57.0
W O|= 22 LEA} = mm

[\
6 - 27 5.94 0.234 6.15 0.242 6.35 0.250
1/8 - 27 8.33 0.328 8.43 0.332 8.74 0.344
1/4 - 18 10.72 0.422 11.13 0.438 11.13 0.438
3/8 - 18 14.27 0.562 14.27 0.562 14.68 0.578
12 - 14 17.48 0.688 17.86 0.703 18.26 0.719
3/4 - 14 22.63 0.891 23.01 0.906 23.42 0.922
1 - 1112 28.58 1.125 28.98 1.141 29.36 1.156
11/4-111/2 37.31 1.469 37.69 1.484 38.10 1.500
11/2-11 172 43.26 1.703 43.66 1.719 44.45 1.750
2 - 1112 556.17 2172 55.58 2.188 56.36 2.219
21/2-8 65.48 2.578 66.27 2.609 67.46 2.656
- Ol= 2+& LA ANSI / ASME B1.20.1-1983 PIPE THREADS, GENERAL PURPOSE (INCH)Q| F&f Otz & =& XA M 24l

P YAMAWA

YAMAWA CATALOG



12 LAr 8 371 &

W 0|= =2t0[d 218 LAt

1/ - 27 5.94 0.234 6.15 0.242 6.25 0.246
/8 - 27 8.33 0.328 8.43 0.332 8.61 0.339
1/4 - 18 10.72 0.422 11.13 0.438 11.13 0.438
3/8 - 18 14.27 0.562 14.27 0.562 14.68 0.578
12 - 14 17.48 0.688 17.86 0.703 17.86 0.703
3/4 - 14 22.63 0.891 23.01 0.906 23.42 0.922
1 - 1112 28.58 1.125 28.98 1141 29.36 1.156
11/4-111/2 37.31 1.469 37.69 1.484
11/2-11 172 43.26 1.703 43.66 1.719
2 - 1112 55.17 2172 55.58 2.188
21/2-8 65.48 2.578 66.27 2.609

- 0l= S210| & 242 LEAF ANSI B1.20.3-1976 Dryseal Pipe Threads (Inch)Ql &} Ote 2 =2 XZ (M 23]

W LHAL OF2l 1 X| B2l 5= HIZ LE A 3 LA A1of F0|2f BHHH Ol 24|

&=
= 0c o
o= HIZ (%) .
i* Units area & per row Of| tA} E}
Q&9 J|EK|+ - FHEA 9 bi ‘ I
ox(EzEE 0D % NP 3 2y %
= =B 5 JEN
et o 1 wavavivavaumii
9
OIEALEAY, RUTFOILEAL 0.5413P VANAVAVAVAVAN
QELH LEAF 0.5664P \NIWAVAVAVAVAVAVANIV A
2EZFAHRe, Rp, G, PT, PS, PF)  0.6403P .
P= TIXI
LEAFAMO] 5= 019 EXBIT{O] 2= 9 =T 20Tk LEAL OFH D XIZ2 SIS 5 BN 242 B A3t HEHE S2USHID & 2 ASULH

P YAMAWA

YAMAWA caTALOG 217



JIEXIE

218

13. LA OF 18 HB = - = B8

W O|E LIAHE SISp—-

A 2% 1z A A 2m ez

Max. Min, Max. Min.
M1 X0.25 G4 0.92 0.89 M 3.5X0.6 M10X1 9.59 9.48
M1.2X0.25 G4 1.11 1.09 M 3.5X0.35 G5 3.37 3.32 M12X1.75 G 8 11.23 11.09
M1.4X0.3 G4 1.30 1.26 M 4 X0.7 G6 3.72 3.65 M12X1.5 G 8 11.34 11.22
M1.6X0.35 G4 1.47 1.43 M 4 X0.5 G6 3.83 3.76 M12X1.25 G 9 11.50 11.36
M1.7X0.35 G4 1.57 1.52 M 5 X0.8 G6 4.67 4.59 M12X1 G7 11.58 11.47
M1.8X0.35 G4 1.67 1.62 M 5 X0.5 G6 4.83 4.76 M14X2 G10 13.14 12.98
M2 X0.4 G4 1.84 1.79 M6 X1 G7 5.59 5.49 M14X1.5 G 9 13.35 13.22
M2 X0.25 G4 1.91 1.89 M 6 X0.75 G6 5.69 5.61 M14X1 G 8 13.59 13.48
M2.2X0.45 G5 2.04 1.98 M7 X1 G7 6.59 6.48 M16X2 G10 15.14 14.97
M2.3X0.4 G4 2.14 2.09 M 7 X0.75 G7 6.70 6.62 M16X1.5 G 9 15.34 15.22
M2.5X0.45 G5 2.34 2.27 M 8 X1.25 G7 7.49 7.36 M16X1 G 8 15.59 15.48
M2.5X0.35 G5 2.38 2.34 M8 X1 G7 7.59 7.48 M18X2.5 G11 16.93 16.73
M2.6X0.45 G5 2.44 2.37 M 8 X0.75 G7 7.70 7.62 M18X1.5 G10 17.35 17.23
M3 X0.5 G5 2.82 2.75 M10 X1.5 G7 9.34 9.22 M20X2.5 G11 18.92 18.72
M3 X0.35 G5 2.87 2.82 M10 X1.25 G7 9.49 9.35 M20X1.5 G10 19.35 19.22

- EHoR) 7Y 2F2 L] 7k3Te ME, Z, det A= S0l Qfsh nZ 20| T TH27| Wh20f 912] £5 HUst 234 S2{A010|HA £X|S A=SHIAI2.
o 9 BO| £X|= MAHO| 2 MR 2 LIAL K= XIS (D)oll CidH 0.5D ~ 2D LiAL 7+ Z20]0] 2L

B 7L|If0| LIALE

{ES

No.0 - 80UNF G5 1.45 1.39 No. 5 - 44UNF G5 2.99 2.90 1/4 - 28UNF G7 6.00 5.91
No.1 - 64UNC G5 1.76 1.68 No. 6 - 32UNC G5 3.22 3.1 S/ - 18UNC G7 7.38 7.23
No.1 - 72UNF G5 1.77 1.70 No. 6 - 40UNF G5 3.29 3.19 S/ - 24UNF G7 7.53 7.42
No.2 - 56UNC G4 2.04 1.96 No. 8 - 32UNC G6 3.89 3.78 3/8 - 16UNC G7 8.89 8.72
No.2 - 64UNF G4 2.06 1.98 No. 8 - 36UNF G5 3.91 3.81 3/8 - 24UNF G7 9.10 8.99
No.3 - 48UNC G4 2.35 2.25 No.10 - 24UNC G6 4.44 4.30 7/t - 14UNC G8 10.40 10.20
No.3 - 56UNF G4 2.37 2.29 No.10 - 32UNF G6 4.53 4.44 7/ - 20UNF G8 10.62 10.48
No.4 - 40UNC G5 2.64 2.54 No.12 - 24UNC G6 5.07 4.96 1/2 - 13UNC G8 11.92 11.70
No.4 - 48UNF G5 2.68 2.59 No.12 - 28UNF G6 5.13 5.03 1/2 - 20UNF G8 12.20 12.06
No.5 - 40UNC G5 2.97 2.87 1/4 - 20UNC G7 5.86 5.73

- E Yo 7Y HF2 0| 71312 ME, e, det A= S0l Qfsh nZ 20| T THE7| whi20f 912 £5 HUSHH 34 E2{A-010|HA £X|S A=SHAI2.
o 9 BO| K= MAHO| 2 MR E LIAL K| XIS (D)oil CidH 0.5D ~ 2D LiA 713 Z0]2] 2Lt

1

P YAMAWA

YAMAWA CATALOG



14, LIAL A7 21 E T2 (B4 7138 CHo|2)

® 0[] LtALS] 9|2 318 3 X|4 o 2kt cop
)\L}}}.QJ?il

w0 [ us ] _

-- | _omax [ gmin [ 75 | omax | gmin | 7 |

v 0.25 | 1.000 | 0.933 0.985 | 0.940 2 115962 (15682 | 0.280 |15.950 |15.740 | 0.210

0.2 | 1.000 | 0.944 0.056 0.980 | 0.930 0.050 M16 75 |15.968 15.732 | 0.236 |15.960 |15.790 | 0.170

v | 025 | 1.100 | 1033 0067 | 1.100 | 1.033 | 0.067 1 [15.974 |15.794 | 0.180 |15.960 |15.810 | 0.150

0.2 | 1.100 | 1.044 | 0.056 | 1.100 | 1.044 | 0.056 7 75 |16.968 |16.732 | 0.236 |16.968 |16.732 | 0.236

M1p | 025 | 1200 1.133 | 0.067 | 1.185 | 1.140 | 0.045 T [16.974 [16.794 | 0.180 |16.974 |16.794 | 0.180

0.2 | 1.200 | 1.144 | 0.056 | 1.180 | 1.130 | 0.050 25 |17.958 [17.623 | 0.335 |17.950 |17.710 | 0.240

M1a | 03 | 1400 | 1325 0.075 | 1.380 | 1.320 | 0.060 Vs 2 17.962 |17.682 | 0.280 |17.950 [17.650 | 0.300

0.2 | 1.400 | 1.344 | 0.056  1.380 | 1.330 | 0.050 15 [17.968 [17.732 | 0.236 |17.950 [17.780 | 0.170

\16 | 035 | 1581 | 1.496 | 0.085 | 1.581 | 1.496 | 0.085 1 17.974 [17.794 | 0.180 |17.960 |17.810 | 0.150

0.2 | 1583 | 1527 | 0.056 | 1583 | 1.527 | 0.056 25 |19.958 19.623 | 0.335 |19.950 19.710 | 0.240

\mg | 035 | 1781 1696 | 0085 1781 1696 0085 Vo0 2 119.962 |19.682 | 0.280 |19.950 [19.650 | 0.300

0.2 | 1.783| 1.727 | 0.056 | 1.783 | 1.727 | 0.066 75 [19.968 |19.732 | 0.236 |19.950 [19.780 | 0.170

Mo 0.4 | 1.981| 1.886 | 0.095 1980 | 1.890 | 0.090 7 [19.974 [19.794 | 0.180 |19.960 |19.810 | 0.150

0.25 | 1.982 | 1.915 | 0.067 | 1.980 | 1.930 | 0.050 25 |21.958 [21.623 | 0.335 |21.950 21.710 | 0.240

Moo | 045 | 2.180 | 2.080 | 0.100 | 2.180 | 2.080 | 0.100 \i2o 2 21962 [21.682 | 0.280 |21.950 |21.650 | 0.300

0.25 | 2.182 | 2.115 | 0.067 | 2.182 | 2.115 | 0.067 75 [21.068 [21.732 | 0.236 |21.950 [21.780 | 0.170

Vo5 | 045 | 2.480 | 2.380 | 0.100 | 2480 | 2380 | 0.100 T 121974 [21.794 | 0.180 21.960 21.810 | 0.150

0.35 | 2.481| 2.396 | 0.085 | 2.481  2.396  0.085 3 123.952 23577 | 0.375 |23.940 |23.680 | 0.260

3 05 | 2080  2.874 | 0.106 | 2.980 | 2.874 | 0.106 \iod 2 123.962 |23.682 | 0.280 |23.940 |23.640 | 0.300

0.35 | 2.981 | 2.896 0085 2980 | 2.880 | 0.100 15 |23.968 23.732 | 0.236 |23.950 [23.780 | 0.170

Mas | 06 | 3479 | 3.354| 0.125 | 3.470 | 3360  0.110 T 123.974 [23.794 | 0.180 |23.960 23.810 | 0.150

0.35 | 3.481 | 3.396 0085  3.480 | 3.380 | 0.100 2 124.962 |24.682 | 0.280 |24.940 |24.640 | 0.300

\a 07 | 3.978 | 3.838 | 0.140  3.978 | 3.838 | 0.140 M25 15 |24.968 24.732 | 0.236 |24.950 [24.780 | 0.170

05 | 3.980 | 3.874  0.106  3.970 | 3.860 | 0.110 1 124.974 [24.794 | 0.180 |24.960 24.810 | 0.150

Va5 | 075 | 4478 | 4338 | 0.140 | 4470 | 4340 | 0.130 M26 | 1.5 25968 |25.732 | 0.236 |25.950 25.780 | 0.170

05 | 4.480 | 4.374 | 0.106 | 4.470 | 4.360 | 0.110 3 126.952 |26.577 | 0.375 |26.940 |26.680 | 0.260

M5 0.8 | 4976 | 4.826  0.150  4.976 | 4.826 | 0.150 o 2 126.962 |26.682 | 0.280 |26.962 [26.682 | 0.280

05 | 4980  4.874 | 0.106 | 4970  4.860 | 0.110 15 126,968 [26.732 | 0.236 |26.950 |26.780 | 0.170

M55 | 05 | 5480 | 5374 0.106  5.470 | 5.360 | 0.110 T 126.974 [26.794 | 0.180 |26.974 (26,794 | 0.180
o 1 | 5974 | 5794  0.180 5970 5820 | 0.150 2 127.962 [27.682 | 0.280 |27.940 |27.640 | 0.300 e

075 | 5978 | 5838 | 0.140 | 5970 | 5.850 | 0.120 M28 | 1.5 [27.968 [27.732 | 0.236 |27.950 27.780 | 0.170

" T | 6974 | 6.794 | 0.180 | 6.970 | 6.820 | 0.150 1 27.974 [27.794 | 0.180 |27.960 27.810 | 0.150

075 | 6978 | 6.838 | 0.140 | 6.970 | 6.850 | 0.120 35 20.947 (29502 | 0.425 |29.940 [29.660 | 0.280

125 | 7.972 | 7.760 | 0.212 | 7.960 | 7.790 | 0.170 3 120.952 29577 | 0.376 |29.952 (29.577 | 0.375

M8 1 | 7974 | 7.794 | 0.180 | 7.970 | 7.830 | 0.140 M30 2 120.962 |29.682 | 0.280 |29.940 |29.640 | 0.300

075 | 7.978 | 7.838 | 0.140 | 7.970 | 7.830 | 0.140 15 |29.968 29.732 | 0.236 |29.950 [29.780 | 0.170

125 | 8.972 | 8.760 | 0.212 | 8.960 | 8.790 | 0.170 T 129.974 [29.794 | 0.180 |29.960 29.810 | 0.150

M9 1 | 8974 | 8794 | 0.180 | 8.970 | 8.830 | 0.140 2 131.962 |31.682 | 0.280 |31.940 |31.640 | 0.300

075 | 8.978 | 8.838 | 0.140 | 8970 | 8.830 | 0.140 MS2 137,068 131,732 | 0.236 |31.950 (31,780 | 0.170

15 | 9.968 | 9.732 | 0.236 | 9.960 | 9.770 | 0.190 35 132.947 32502 | 0.425 132.940 [32.660 | 0.280

725 | 9.972 | 9.760 | 0.212 | 9.960 | 9.870 | 0.150 3 132,050 32577 | 0.375 |32.952 |32.577 | 0.375

Y 1 | 9.974 | 9.794 | 0.180 | 9.970 | 9.820 | 0.150 ks 2 132.962 32.682 | 0.280 |32.967 32.682 | 0.280

075 | 9.978 | 9.838 | 0.140 | 9.978 | 9.838 | 0.140 15 132.968 (32,732 | 0.236 |32.950 (32.780 | 0.170

1.5 [10.968 [10.732 | 0.236 [10.968 [10.732 | 0.236 M35 15 |34.968 |34.732 | 0.236 [34.950 |34.780 | 0.170

M1 1 [10.974 [10.794 | 0.180 [10.970 110.820 | 0.150 4 135.040 35.465 | 0.475 135.930 (35.630 | 0.300

075 |10.978 [10.838 | 0.140 |10.978 |10.838 | 0.140 3 135950 35577 | 0.375 135.952 (35577 | 0.375

1.75 |11.966 |11.701 | 0.265 |11.950 |11.760 | 0.190 M36 5 35962 |35.682 | 0.280 |35.940 |35.640 | 0.300

15 11.968 111.732 | 0.236 [11.960 [11.790 | 0.170 1.5 35.968 |35.732 | 0.236 |35.950 |35.780 | 0.170

MI2 525 111.972 [11.760 | 0.212 |11.972 [11.760 | 0.212 M38 | 15 (37.968 37.732 | 0.236 |37.950 [37.780 | 0.170

T [11.974 [11.794 | 0.180 [17.960 [11.810 | 0.150 4 138040 |38.465 | 0.475 138.930 [38.630 | 0.300

2 113.962 [13.682 0280 13.950 [13.740 | 0.210 3 138050 38.577 | 0.375 |38.952 [38.577 | 0.375

M14 15 113.968 (13.732 | 0.236 13.960 [13.790 | 0.170 HED 2 138.062 38.682 | 0.280 |38.962 (38.682 | 0.280

1 [13.974 [13.794 | 0.180 |13.960 |13.810 | 0.150 75 |38.068 138.732 | 0.236 |38.968 [38.732 | 0.236

15 |14.968 [14.732 | 0.236 14.960 |14.790 | 0.170 3 139.050 39577 | 0.375 139.952 [39.577 | 0.375

M5 T [14.974 [14.794 | 0.180 |14.960 |14.810 | 0.150 M40 5 139.967 (39.682 | 0.280 39.940 139.640 | 0.300

75 |39.968 139.732 | 0.236 |39.950 [39.780 | 0.170

ISO : 2+ 9| SahA 6g (M1.6 Ol 6h (M1.4 018}

FUs:23

- 130 JIS B 0209-2_ % 2 3 JIS B 0209-3_ H 10{l4

- 7 JIS: JISB0209-1982 B4 A 1_ 44 1 2F 4_0|E| Lt LiAte)
1 B2 K| O ZKF (2 3 ALEAIR) X IS B 0211-1982 HAl _
BEEH A 0H MS LA 618 B KI5 2 SKH(2 2 SLIALE)

P YAMAWA

YAMAWA cATALOG 219



JIEXIE

220

P YAMAWA

YAMAWA CATALOG

@ S LA 2|1 518 SHA| K[ 2 SKE
=HOl mm (2A Ll-Al-) =9 mm
NI
No0-80UNF 1.511 1.431 0.080
45 [41.937 |41.437 | 0.500 |41.930 |41.610 | 0.320 No.1-64UNC 1.838 1.743 0.095
4 |41.940 [41.465 | 0.475 [41.940 |41.465 | 0.475 No.1-72UNF 1.838 1757 0.087
M42 3 [41.952 [41.577 | 0.375 |41.952 |41.577 | 0.375 No.2-56UNC 2.169 2.066 0.103
2 [41.962 [41.682 | 0.280 |41.940 |41.640 | 0.300 No.2-64UNF 2.169 2.073 0.096
1.5 [41.968 |41.732 | 0.236 [41.950 [41.780 | 0.170 No.3-48UNC 2.496 2.383 0.113
45 |44.937 |44.437 | 0.500 [44.930 [44.670 | 0.320 No.3-56UNF 2.496 2.393 0.103
4 [44.940 [44.465 | 0.475 |44.940 |44.465 | 0.475 No.4-40UNC 2.824 2.695 0.129
M45 3 [44.952 [44.577 | 0.375 |44.952 |44.577 | 0.375 No.4-48UNF 2.827 2713 0.114
2 |44.962 [44.682 | 0.280 |44.940 |44.640 | 0.300 No.5-40UNC 3.154 3.026 0.128
1.5 |44.968 [44.732 | 0.236 |44.950 |44.780 | 0.170 No.5-44UNF 3.157 3.036 0.121
5 47.929 [47.399 | 0.530 [47.930 |47.590 | 0.340 No.6-32UNC 3.484 3.333 0.151
4 |47.940 [47.465 | 0.475 [47.940 |47.465 | 0.475 No.6-40UNF 3.484 3.356 0.128
M48 3 |47.952 [47.577 | 0.375 |47.952 |47.577 | 0.375 No.8-32UNC 4142 3.991 0.151
2 |47.962 [47.682 | 0.280 [47.940 |47.640 | 0.300 No.8-36UNF 4145 4.006 0.139
1.5 147.968 [47.732 | 0.236 |47.950 |47.780 | 0.170 No.10-24UNC 4.800 4618 0.182
No.10-32UNF 4.803 4,651 0.152
No.12-24UNC 5.461 5.279 0.182
No.12-28UNF 5.461 5.296 0.165
1/4-20UNC 6.322 6.117 0.205
1/4-28UNF 6.324 6.160 0.164
5/1-18UNC 7.907 7.687 0.220
5/1-24UNF 7.909 7.727 0.182
3/g-16UNC 9.491 9.254 0.237
3/g-24UNF 9.497 9.315 0.182
7/5-14UNC 11.076 10.816 0.260
7/6-20UNF 11.079 10.874 0.205
1/2-13UNC 12.661 12.386 0.275
1/2-20UNF 12.666 12.462 0.204
9/16-12UNC 14.246 13.958 0.288
9/16-18UNF 14.251 14.031 0.220
5/8-11TUNC 15.834 15.528 0.306
5/8-18UNF 15.839 15.619 0.220
3/4-10UNC 19.004 18.677 0.327
3/4-16UNF 19.011 18.774 0.237
7/8-9UNC 22176 21.824 0.352
7/8-14UNF 22184 21.923 0.261
1-8UNC 25.349 24.969 0.380
1-12UNF 25.354 25.065 0.289
11/8-7UNC 28.519 28103 0.416
11/g-12UNF 28.529 28.240 0.289
11/4-7UNC 31.694 31.278 0.416
11/4-12UNF 31.704 31.415 0.289
13/8-6UNC 34.864 34.402 0.462
13/8-12UNF 34.876 34.588 0.288
11/2-6UNC 38.039 37.577 0.462
11/2-12UNF 38.051 37.763 0.288
13/4-5UNC 44,381 43.861 0.520
2-41/2UNC 50.726 50.168 0.558

- JISB0210_H 42 JISBO

212_ H 40IM



@ 0|4 LIALS| LIAL 2| 32| 18 THA| K|~ 3 St
(25 LA
1/ SM80 1.588 1.518 0.070
5/t SM64 1.984 1.904 0.080
3/%» SM56 2.381 2.286 0.095
3/n SM100 2.381 2.306 0.075
/8 SM40 3.175 3.045 0.130
/8 SM44 3.175 3.055 0.120
1/ SM48 3.175 3.065 0.110
94 SM40 3.572 3.442 0.130
/s SM40 4.366 4.236 0.130
3/ SM24 4762 4.602 0.160
3/ SM28 4762 4.602 0.160
3/5 SM32 4,762 4.602 0.160
7fn  SM32 5.556 5.396 0.160
/e SM28 5.953 5.773 0.180
/4 SM24 6.350 6.170 0.180
/4 SM40 6.350 6.220 0.130
- JIS B 0226-1963_ ¥ 2- [2001 HIXI]
@ 28 H|O|H LiAF (R, PT) o @S HHLIAL (G, PF)
EIOIHO] 22 (5 12)
R 1/ 7.9 75 G /s 7723 7.509
R /8 9.9 95 G s 9.728 9.514
R /4 13.4 12.8 G a 13.157 12.907
R 3/s 16.9 16.3 G 3/8 16.662 16.412
R 12 21.3 20.5 G /2 20.955 20.671
R 3/4 26.8 25.9 G 5/8 22.911 22.627
R 1 337 327 G 3/ 26.441 26.157
R 1-1/4 42.3 41.2 G 7/s 30.201 29.917
R 1:1/2 48.2 47.1 G 1 33.249 32.889
R 2 60.1 58.7 G 114 41.910 41,550
G 112 47.803 47.443
G 2 59.614 59.254

P YAMAWA

YAMAWA CATALOG

JIEX=

m



JIEXIE

222

15. LI AXH 2|E & (S CH0|A 8

2 mm
” B AT 2

Max Min
M3x0.5 2.64 2.62
M4x0.7 3.54 3.52
M5x0.8 4.40 4.38
M6x1 5.30 5.28
M8x1.25 710 7.07

O RS-D O|E{ =LIALE HE A% % F £491: mm
fie AR AT 2
Min Max Min

M1x0.25 0.808 0.785 M2.3x0.4 1.998 1.968
M1.1x0.25 0.918 0.891 M2.3x0.25 2.096 2.071
M1.2x0.25 1.007 0.984 M2.5x0.45 2.162 2.126
M1.4x0.3 1.168 1.142 M2.5x0.35 2.228 2.196
M1.6x0.35 1.332 1.300 M2.6%0.45 2.262 2.226
M1.7x0.35 1.432 1.401 M2.6x0.35 2.318 2.278
M1.8x0.35 1.530 1.498 M3x0.5 2.627 2.589
M2x0.4 1.699 1.669 M3x0.35 2.718 2.677
M2x0.25 1.796 1771 M4x0.5 3.607 3.561
M2.2x0.45 1.863 1.827 M5x0.5 4.606 4.560

=2 mm
Tlx Y AL 2E
Max Min
S0.5%0.125 0.410 0.396
S0.6%0.15 0.494 0.479
S0.7x0.175 0.575 0.559
S0.8x0.2 0.658 0.640
S0.9x0.225 0.741 0.720

Think threads with

YAMAWA

YAMAWA CATALOG



Boll= 248 HH XM2|2| SM42 12{ste] 212fe| 0f w2t X2 #H X2|S HASH AL
ot Zo| Rol| Bl 2 EH X2[2 504 2010]| Chsl AHELICY.

@ HHAZ
O0] H2|2] 0|52 1938 A O|= LEED AND NORTHRUP At HZ2| HOMOEZZ AEE|0] UU7| KhZ20| HOMO X2[2t
CHEARME 2|1 JASLICHDE 7| N, £57| M2t =ghL|ct

T 7|20l 37E 500 °C ~ 550 °C=Z 2511 0|2 &= LH0f|A0f 0.098MPa (1kgf / cm2) x| fHo= 22
*§7|§ S25HH 30 & ~ 60 20i|A ST EH (HSS)ofl &2 E (Blue Black)2| 43 tsHe (Fe304)2| L|2{0| Hdk|=
7-|O||_||:|.

Oo|={et ¥d E maf2 CISEZ, 020|718 RA|2| 7|E22 Hot (Y Z2H) 2 S+2| 01 Mets HAlsk= 282 ‘HIH

YR, ALIALS| EH HEY| LSO 2 217t QO EESHO| X2(0)| 2f8 HSS S+2| TR 83 AT O|F0X|H, S+ %=

CSH AT AR 5= ASLIC

Ool={¢et m|9f2 =S £0l= SE2 X2t H2| AlZHo] 42 ZH m|20| FIHS MAf, 7 BH IR = HE0 X|H, MEE9|
XMoHE S| eAIELCE PAs SAERL ZA|0) oftt X222 MEISL, HSS S712| Met X2|E Al =8E 21

ASLIL.

Oofntet 8- E | Al2|= S0|IME AH|QI2A SUXERS 2 Sit 20| 82| #12 DIMTHE I3l Lt x{2|S31H 2 22 E o

= ACH, S| OHFE XMEo| HO{X|7| Eol| A8 Al I| 7t M= o 2 2atE U2(eLICh

OXZ: 1t g5 S ZF Aot 20| Hlu™ HEO| Gust Mz 8= = st K22t Zot X2|E ZElsto] Al

-|-

mlo oto

0!
0

o

0

HES A2 0|5 M2|E AAeiA = HS ¢ USLICH
® A3} mjat S| 2 K2 Azt ® Aot FRYK|o|
(m) A
A JlExiE
1500 [— B su-sP/M8x1.25/P2
6
MJIETHE: SUS304 (165~171HB)
SHEAB! ¢6.8mm
EHZZO0l: 12mm (Z8l12E)
e 1000 HAMEL: 7. 2m/min
HAQ B 84 BAR
A‘_f
% @ LK1 CNCEHRMHAI
o} s
c X
M 2 - 500 [—
0 I L L > 0 DT YE MDY HE
80 60 RN C) (SUAR)
el A2t

P YAMAWA

YAMAWA CATALOG 223



JIEXIE

224

16. ©ol & DAL

@ T3 YA

OO0| XM2|= HSS 32| EHO| 2 (N)2F Bt (C)E HEAAH, 37 AL SR 24t SFetA|A HEst ZolES MMAI7|=
ZOE ATL|0F (NH3)2t HIEHS (CH30H) f [ARlERA (CO2)2| 26l 7tA0 2|5t X2| Bt ut ot ACH(NaCN), it ACt
(NaCNO), ERILIEE (Na2CO03) S0l [E EE 2ot X2| B 5l 0|2 Rat X2| 2hHo| USLICE

Oz|2 & Zat H2| HHE A2t Z3 S0 25 ZSOEL, 7tA Hoh K2| WHHO = Metk| 1 QUSLICH

OX2| 2E= 500 °C ~ 550 °C2| H|of|A 2 ZA S X2| A7Hof| 2 CHE X2| B2t A2| 20|12 HE + JUSLICE
OZ7 EHO| ZAE= 1000 ~ 1300HV X HSS 272| E{2| Z= o 850HV (65.5HRC)2| 2} 1.5 il 7} THeksx| | &,
LHOF= M o] ahatol| Zul7 Q0= A /o], 2+ BHe| DZHES 23l O] 7t5 M=Z2te| XI5t=2{0] 2HokX| 11 81t UiX|of OFA Mgt ZHA =
QI3 37 52| g4o| O|FO{FLICY.

O3 BEH Zo| 2 T2 Q1Mo X5t 20| AUX[TH HAOA = SXFAQ1 K| EHo)| 2Jsh H| A #dd &l 2=t lMds
HE £ UTE 2ot JAELICE

O 9l FHS HIROI0 54 T, SigRYol B

sol S478 S8R Olis Cho| SHAS, 72| 813, BH94K| St 20| bl o 24|

r
ne
_|

BHZE=| 10, FEot LHOFE 4] eFef0| R7&= I 7+ Mz TR0 2 20HE WeeL(C
OXZT 1 Etazt gl ghgZ 2 ZE Mot 20| H| WX BHIMSI ] wHst iz 80 2= LIXITS 2ot 2ot X2t A}
ME|E Aefsto] ZRte| S A2l 0|5 ME|2 =S P JYSLIC
® Eet [EXZ|9f Zo[t B ® 23 IENZ|2 21}
(HV)
A EHZ % 24
3000 8 I FC-OhM8x1.25
1300 13 —o— A M2
B Hal TIHETHE : FC250
C el JHXIA : ¢6.8mm
1200 sono BFZZ0I : 12mm (22172)
HAEL D 12m/min
1100 [-® AR 23YH EAR (314 HHE 20 bH)

1000 |- ®
1000 —

H10X T2 HH
1> Mt 0 2

900 |- \

——o
\.
800 |-
! ! ! ! ! ! > 0
RE 0.01 0.02 0.08 0.04 005 () oo Y2 mEE HE
HEHOZEEQ| 20| (FC-0AHY)

Think threads with

YAMAWA

YAMAWA CATALOG



A2, S| 14 ALEO|LL, o] chSdto] S+2| BH HEI SEHo|| 2ot ZE [EO| SO{Lt JASFLICH SAHEUS ot
SAD (CVD)t 221H FAY (PVD)o| U=, BolM= S21X S2H0| B0l AFBE| 1 AELICE

OXZTIZ (1 x10-3 ~ 10-4torr) E7| LolIM T2t 2 (Ti S)2 718, SLAIA L7H0l| 2f3f 0|22} & UXIE SHAT =
YHYLICE

OX{2| 27} 500 °C O[3t= H7| miZ0l|, HSS 4t S+01 X2 (3l
F20| O HS AreiLCt

pN|
=
OYAh= HSS & £ B0l =2 T 8l RSt Lint2EE 2

HHOILE B2 Xst7t 72l §17| TZ0i|l HSS EAf 712

rir

Of=2 F-ofl 29t (1 ~ 4um) X2t MIFS Tolidta ASLICE

)% E|EHE(TICN) ‘ Zi3t ElEHs 20IE(TiAIN) Zi3t 3E (CrN) ‘
2 EE(HV) 2000~2400 3000~3500 2300~2700 1800~2200
LHOt=2 & £2 RES HRES HE
Hexd £2 £2 £3 HRES
g £2 HE HRES HeES
Utteke £2 HE H2ES z=
DID2E 4 (Slippery) £3 HRES £3 HRES
e S22 J4|01(H3]M) 2
AL Do (ZM) EIQHOI%% [HT’ =) HtolS3! (HIHIZ) El|
B A AHIYAZ 5 .
As=xE G xx = JEn=
= AHIYAZ
=2 Il I8 M= Eet
=H
=3, 83
A1 EMO B} (ILES ES EE)2 4 ZF9 TEHUMO &0 oty #=ALICL HH 559 DEE HSS it 3729 HT 9 850HV (65.5HRC) 2t
ot M2l WE2 2= (1000 ~ 1300HV)0l HIoH IHR THEHGHD LHOR A, SHIE Y, O Hat 24 Sil 2 S0 /A&
® TiN 2EX 2| H1} @ TiCN ZEX2|o| &1}
EHEEA EHEEA
1500 |— & 1 F-SLP2 MBX 1 60000 — 4 1 N-RS G7P P2 M6X 1
MISTHE : S45C (213~222HB) LIISTHE : ADC12
SHEE : p5mm 45000 |— THAA ¢ 5.54mm
EH 1000 — w21 e EH w2 e
g EHEZ00 : 14mm(ESFY o EHEZ0I : 14mm(£E 1Y)
= =
E EAEE  30m/min i 30000 |— BAMET  15m/min
TUQ  2SHENQ TUQ L ABH HMQ
500 |
AT - oNC EHBHA! 15000 — AFEIIH - oNC B4
0 0

10
il

T
n
Som

TE HZE TiCN ZEHE

Think threads with
X YAMAWA
YAMAWA CATALOG

225



JIEXIE

226

17. £ "ol Chotol

HE of, AtS2SINC 7| A2t MAl'd S| HELZ ZhAote| 1 AFLICE Of2{gh ACHof| SEA| eFitst S HIE
"E*.:.Oﬂ Rmo 20 U= £ HS HEHELICH MICHE ARZSHAIH 2HE HSS Fof| H|sH 50 HH 0|42 Li2d0] B7teto| UEE

=& H°I RS2 E8 AT 9 ZALE|of Y, Biof| 7HE RMelsioh Tete|= 0| 2IXtel S AH F1HI0| =9t 50| ILE SO=
0|2204Z! ULTRA-FINE-GRAIN-CARBIDE ATHE AFR5HT QI&LICH

@ ofotet =FHMol £EF

(1) 7S] £7T Az YOI &2 QMO A40] 0T LITAO| FOfLiLICE,

(2) EFERHT Bl 52 QINTH20] L{OKD 0] HO{LF 21 $B2 S 4 UBLIC

(3) FAHS HIZBH BA0| SS8 22 Hl012(0f OFEEl THUEC| LIS 712 8 4 ILICt
(4) A 210 C2pAds LAY BT FHSBILICE,

@ AE4e| ROl

(1) AL 71| - T1S0| 2 Kge= sty | &Lt

S M Eeot Ut =S2=EE2 3ol = 832 LA ThaE|7| LI

(2) EX 3! {X| =7 - of2f Y0 AX| RO S RS UX| (FE SO 28l TS| +12). 2IEl0|HS] 70| 2 QFHSHA|
E|H 2|E0|LA7F EEALE, X YO UALISIH EfEA| BHAES S e X[HO|Lt IhEC 2 A5 | ESLCt.

(3) LEALOF2H 1Y - Y2l 20| 0Lt AEHO| M2 ENE 2 Zel S20| 28310 ThEE|7| &iCt. of2f 8 XIZ2| =4l
A|Cet miBHOFetTt, (BAFE lbtztA 2R X[TE|7| O, 2tel = of2f 8 0|2t EfE Z20jof 2| S35| M 9t Bef 4t
QU &0l Rolgt BRIt ASLIC.

(4) BAR - R RS T2 O US AE (BHQZRE ZY 20z LTSI BA E23THAHX|7| ME ThEo = UHSH=
BT UL 53| =210[e] A= F2IE K5t JAFLICE

(5) IIARH - ZHOIME 53] =2 QG AHESILL ASLICHEE, OFAl= HICHZ HSS M= 0] HsH l0] EO{ZLIC,. T2
AN = 11 HR(0f| SFYE|O] AR ASLICH

pSPNES

2= 15~25 C2101, BR, 284% E224 25 115, 138
AR =1 =1
XK OAFSOH XA 10~20 24O AKRMO Toeo 18512, W28 1=
—= TO [ T =2 oTT, ToOTT
IHH=E 10~20 +B2HR
Uz 20~40 a8, *84% E484 18 4~62
EARM I9= RLRS
= HO ARMO =283 285 562
= 15~30 ST, TS oTT A2 1213
To O o
== 20~30 81, 28481
=RiE]
RIES 15~30 38R, 2281
=l 15~25 SEQU MRERR E484 2 563
AEl AR2M =13
HOPIES o3 1o~20 | BEQUHSEAR TEEWIEE
. A 15~25 F84R, MK 288 W2ZE 3%
===
=P NS 15~25 +848R, MK
ZE1Z 15~30 C 210l OIof
AX 0] HOl HA} AFZ A JIZOR LIEHA Z0IH, AFZGHE JIHIQ) 521, ARl THE!, SAF Xi4 &

EH
=
al] E[}EHHEQ S‘%‘QEEASQ%%&Q% It AsULL

Think threads with

YAMAWA

YAMAWA CATALOG



JEE0%

5000 |~

4000 |~

3000 |~

2000 [~

1000 [~

I;lt HSS xHEol 7:IEQ|. o|)k-|
EEst=
— EE g
—192
—1 90
- Al
=
&
— 88 9|
0t
79 =)
= &
—| 86
—{ 84
P50 UF-A UFB SKH51 SKH58
(SKH9)  (AISI M7)
*ga=s HSS
Ar22e| Alz|et 3 CHH| &

0.7

0.6

0.5

0.4

0.3

0.2

0.1

17. 28 il tHstod

& - M5x0.8P42

1 3Lf
)ZiEj‘()\E

L g4 2mm

S e

TIAHH | Foas0

HSS &

| |
10.000 20.000

| |
40.000 50.000

[
o -

0.000

i
1

JIEX=

SdtAE ADC12 FC250 FC250 FC250
JHEE ISAEE NHEEE IHskHEE UESIHEE
FHIA S P16 EHH 6.7 UBI1H ¢5.0 24511 ¢6.7 2131 8.7 BIY
L s
EHE Z0I 4mm 18mm 10mm 16mm 18mm
JIHI HET| &7 4% MEJ| NEPSI=Y] He))
=l i 6.3m/min 8.5m/min 8m/min 6m/min 5.7m/min
MR ==30]) 2y =24 =24 >4
X3 H 10.000 75.400 53.000 18.860 38.500
ssx HSS & 200 1.000 1.000 300 500
23 50 75.4 53 62.9 77
X HSS B JIZ0| YBK2S AFZEHE YLLK $Z S OS2 OHLIXIZ HESE XAGHIM AIZEIE BN £ Z0IS 28 4 ASLIL
St Ol CIOIEE 28110 = 2QUSEE 2H HEZ H01d A 3 2L

Think threads with

YAMAWA

YAMAWA CATALOG

227



JIEXIE

278

18. #E LIAIE & 140] Lol
1. JIS 28 LIAIE H

1982 H0j| ISO2F LK|A|F|7] I8l 2t LIA 72 (JIS B0202,0203)2] LIZ0| HA =l o 2| JIS B 4445 22 TS LIAIR ©
5! JISB4446 2+ H|O|H LIAIE O Z 1982 Ho|| ™= AUSLICE.

ORE LAt 22 LR ISO 71 0f| 543201 1966 H0i| i E[RA2LE, 1982 H2| JHEH0i| M= 1ISO #2412t S #22| =Kol 1966
H Zalol BE A0| BELQ| FEM0|| AYEIRASLICE =X FEMO| 77 2 248 LiAks 28 K51/ 8 ~ 67HK|= ST,
LtAte| 7|7t CHELIC 1 CHSS Of2 Of| LIERH AELICE H=20 1998 H IHHO|I M= =8| £45M = HHYX] §4&LIC
OZE LIALE B2l ISO A2 &t X|4= S LA HRET} 7| E] JISO| #EE|0RU= At Ch=7| Wi20f, 2+ LiAF 722t
ORSZEX| 2, 248 LIARS J19] JIS A2 ISO 42| e X|a= B LIAKRS| Fe7t B FE 24|01 7|Z2] 20| BEAM0f 778 =|0f
UELICE

OLARS "=, G % Rp= ISO 141 SYSHX|2H Re= ISO 7201 17780] §17| WhZ0l £45A42| PT & E|0|m #2| 2 gt
SO =0 JSLICE LIS FEJt HETh Hiet 20| S| M0l & BN E SS22 AFgE 4= USLICH LAt F=et
B LIAMRS| F = o| 2HAS Of2H D 2Iof| LIEHN 1 QAELICE S 2A| R4MQ LIMRL| M H| WS CHE H|0|X|0f] LIEfLH
UELICE

OHle| 42 1987 H0f| iy, F&M "ol = EOo| Hat 2h2t 248 Wl LIALE PR B 5! 248 H|O|H LIALE PT & Ef|0|H &,
2 HO|H LIAIE PS & Wl O 2 FEX|O{FLIC,

@ 7|SC|iEH

= = b JIs (IS0) JSEEN
QU LEAL Rc PT
HIOIH LIk Fegy
- JIS B 02031982 R PT
HIOIH LEAF SrLIAr - oS
| pA = P
2LEAE _ _
G PF. AS
2LEAL -
T84 [ FA} TSH| FA} JIS B 0202—1982 — PF. B
AL G. AS PF. AS
. 6. B2 PF. B2
a o= -1 =
@ LIAFS! ROl R X3t el 2t
TR} IS B 0202 HEHAULLAE B usB 4445
Ml1-11 ZHEH|0IHLE: Jis B 0203 T2 T LA B yis B 4446
Jis JIS 24 Jis JiS HE4
oy )\ %
maH| |2 HOHHU t .
HIOITHLEAFE BALIAE HIOITHLEAFE TS
G : PF PR : : -

Rc Rp PT PS

EH
=

um
(+) 400

300 £

gmaw; JIEXI2(31.770mm)

/

s00f | e

— 0
—100 £

200 180" HEEYH

—300
y

(=) —400E %

X HIOIH LIS AFS SHhs = 2etol 518 QXS 28 getol 51 Xtz it o gts LIEHLIT JIZ KIZH0] QXI9F LELFATO] OFEIE T [IHIHO2 TR E|0] QSLICH

2fLEAL LEAE

Think threads with

YAMAWA

YAMAWA CATALOG



18. £& LIALE & 40 CHEHO]

@ ZEH|O|HH| LIAMRS H H|wE

Rc PT S-PT
2 JI=39 X 2 JI=39 X 2 JIZ32 /Xl
y - | r

P =25.4/n

n= &k

hd

o1
HIOIm
16 < hd9l 5t SIS

JIEX=
Hel:mm
____ =aien ) LI B
A LIS 201
£
Ve 7.723 | 28 14 10.1 — — — — 0.291 0~+30 0.291 +15
1z 9.728 28 15 10.1 19 13 16.5 10.5 0.291 0~+30 0.291 +15
Vi 13.157 19 19 15 28 21 19.5 12.5 0.428 0~+40 0.428 +20
14 16.662 19 21 15.4 28 21 21 14 0.428 0~+40 0.428 +20
iZ) 20.955 14 26 20.5 35 25 27 17 0.581 0~+50 0.581 +25
Y4 26.441 14 28 21.8 35 25 29 19 0.581 0~+50 0.581 +25
1 33.249 11 33 26 45 32 35 22 0.740 0~+60 0.740 +30
1V 41.910 11 36 28.3 45 32 375 245 0.740 0~+60 0.740 +30
15 47.803 11 37 28.3 45 32 38.5 255 0.740 0~+60 0.740 +30
2 59.614 11 41 32.7 50 35 42.5 27.5 0.740 0~+60 0.740 +30
2V 75.184 11 45 37.1 — — — — 0.740 0~+60 0.740 +30
3 87.884 11 48 40.2 — — - — 0.740 0~+70 0.740 +35
4 113.030 11 53 46.2 — — — — 0.740 0~+70 0.740 +35

A1 J1Z0 HIONH LA E4OH 1E f LIRS PTQF & LEAFE S-PT= 1 JHQI LEAF F 201 THGHH 2 JHOl E&01 2

& UXIEH 2H = GHLIY Y&OZ T ASULCH
X o A 25 4AmmE JIEOR

P YAMAWA

YAMAWA CATALOG 229



18. £& LIALE & 240 CHHO

@ 2E WHLIALE JO| LIRS E H|WE

ZHISO(G) LIAHRel =

P ESNES

(mm)
Ve 28 |0.9071 7.723 | 32 7142 | 43 | 21 | 22 6.561 — — —
% 28 |0.9071 9.728 | 32 9.147 | 43 | 21 | 22 8.566 9.728 65| 9147 | 40 | 20 | 20 | 8566 | 40
V4 19 |1.3368| 13.157 | 37 12.301 | 50 | 25 | 25 | 11.445 13.157 90 | 12.301 | 50 | 25 | 25 |11.445| 50
%% 19 |1.3368| 16.662 | 37 15.806 | 50 | 25 | 25 | 14.950 16.662 90 | 15.806 | 50 | 25 | 25 |14.950| 50
iz 14 | 1.8143| 20.955 | 43 19.793 | 57 | 28 | 29 | 18.631 20.955 |115| 19.793 | 55 | 25 | 30 |18.631| 55
% 14 |1.8143| 22911 | 43 | 21.749 | 57 | 28 | 29 | 20.587 22911 |115| 21.749 | 55 | 25 | 30 |20.587| 55
7 14 | 1.8143| 26.441 | 43 | 25279 | 57 | 28 | 29 | 24.117 26.441 |115| 25279 | 55 | 25 | 30 |24.117| 55
4 14 | 1.8143| 30.201 | 43 | 29.039 | 57 | 28 | 29 | 27.877 30.201 | 115| 29.039 | 55 | 25 | 30 |27.877| 55
1 11 |2.3091 | 33.249 | 54 | 31.770 | 72 | 36 | 36 | 30.291 f; 33249 |145| 31.770 | 60 | 30 | 30 |30.291 | 60
1% 11 |2.3091 | 37.897 | 54 | 36.418 | 72 | 36 | 36 | 34.939 6of 37.897 |145| 36.418 | 60 | 30 | 30 |34.939 |60
1Y 11 |2.3091 | 41.910 | 54 | 40431 | 72 | 36 | 36 | 38.952 élr 41.910 | 145| 40431 | 65 | 30 | 35 |38.952| 65
1V 11 |2.3091 | 47.803 | 54 | 46.324 | 72 | 36 | 36 | 44.845 = 47.803 | 145 | 46.324 | 65 | 30 | 35 |44.845| 65
1% 11 | 2.3091| 53.746 | 54 | 52.267 | 72 | 36 | 36 | 50.788 53.746 | 145 | 52.267 | 65 | 30 | 35 |50.788| 65
2 11 |2.3091| 59.614 | 54 | 58135 | 72 | 36 | 36 | 56.656 59.614 | 150 | 58.135 | 75 | 35 | 40 |56.656 | 75

2V, 11 2.3091 65.710 | 65 64.231 | 87 | 43 | 44 | 62.752
2V 11 2.3091 75.184 | 65 73.705 | 87 | 43 | 44 | 72.226
2Y%, 11 2.3091 81.534 | 65 80.055 | 87 | 43 | 44 | 78.576
3 11 2.3091 87.884 | 65 86.405 | 87 | 43 | 44 | 84.926

X A2 25.4mmE JIE
. 3 11 2.3091 | 100.330 | 65 98.851 | 87 | 43 44 | 97.372 N
JIEX=E 2 UT: A

=3
4 11 2.3091 | 113.030 | 65 | 111.551 | 87 | 43 | 44 |110.072 LT: 5t 618

@ ZE HO|HLIALE FARO| LIRS HE Hlu

24 1SO(Rp) LIRS B 2S£ U(PS) 25 LIHRQ

—_

Xl QA %, (SIor
(mm)
(mm)
Vie 28 |09071| 7.723 | 43| 7142 | 14 | 43| 29 | 6.561 — — —
Y 28 |0.9071| 9728 | 43| 9147 | 14 | 43| 29 | 8566 9.728 [+10| 50| 9.147| 30| 50| 20 | 8.566 |+10| 50
Vi 19 |1.3368| 13.157 | 63| 12301 | 21 | 63| 42 | 11.445 13157 |+ 5| 75|12.301| 50| 75| 25 |11.445 |+ 5| 75
% 19 |1.3368| 16662 | 63| 15806 | 21 | 63 | 42 | 14.950 16.662 |+ 5| 75|15.806| 50| 75| 25 |14.950 |+ 5| 75
12 14 |1.8143| 20955 | 86| 19.793 | 29 | 86| 57 | 18.631 20.955 | -25|115 | 19.793 | 85|115| 30 |18.631 |-25[115
Y4 14 |1.8143| 26441 | 86| 25279 | 29 | 86| 57 | 24.417| T | 26.441 |-25|115| 25279 | 85|115| 30 |24.117 |-25[115
1 11 |2.3001| 33249 | 109| 31770 | 37 | 109 | 72 | 30291| f | 33.249 |-50|150 | 31.70 | 120| 150| 30 |30.291 l-50/150
14 11 |2.3091| 41910 | 109 | 40.431 | 37 | 109 | 72 | 38.952 élr 41.910 | -50|150 | 40.431 | 115|150 | 35 |38.952 |-50/150
114 11 |2.3091| 47.803 | 109 | 46324 | 37 | 109 | 72 | 44.845 = | 47.803 |-50|150 | 46.324 | 115 150| 35 | 44.845 500150
2 11 |2.3091 | 59.614 | 109| 58135 | 37 | 109 | 72 | 56.656 59.614 | -45|145 | 58.135 | 105|145| 40 |56.656 |-45[145
25 11 |2.3091 | 75.184 | 130 | 73.705 | 43 | 130 | 87 | 72.226
3 11 |2.3091 | 87.884 | 130 | 86.405 | 43 | 130 | 87 | 84.926 X L 25.4mmE JIE
4 11 |2.3091 | 113.030 | 130 | 111.551 | 43 | 130 | 87 |110.072 E;,Zf’reygf“
col sig3s Kt

P YAMAWA

230 YAMAWA cATALOG



18. £& LIAIE & 40 CHEHO

2.0/= 2ELIAE H

0|= 2 LAt L2of 2 LAl HoH 77+ 1 SEeLICE. o212t

—

CHol M= ChEat 2Lt

Opt

7 (B2)2 LIEH= 7|=9f eLIAtRE LIATS] Z=Etof|

@ 0|= 2ELIAS| 7 3 ALiArRL =LA =8t

-+ S QLEAF ABEl= S=LEAE 2=LEAE ABEl= 2LEAL
| =X OlHIR I NPT
0I= B YU 22 HI0IH LA NPT NPT NPT
NPSC
0= & N 2 IYS 248 B ALIA NPSC NPT - -
0= HZ S22 IS 22 HIOIM LEt NPTR NPTR NPTR NPTR
0= BE SELEA
(ANSI/ASME B1.20.1)
JIHE ZEE 0= HE 1IE 8 &8 T LAt NPSM NPSM NPSM NPSM
AN ZEE 0= &= &2 HES =2 Be LIt NPSL NPSL NPSL NPSL
IIHE ZEe 0= BE SAR 242 TeH | NPSH NPSH NPSH NPSH
NPTF NPTF,NPSF,NPSI
Ol= HZ 521012 2& HIOIM LEAt NPTF NPTF ’ ’
PTF-SAE-SHORT PTF-SAE-SHORT
D NPTF .
SAE Short E2+014 2= HIOIH LI PTF-SAE-SHORT NPTF PTF-SAE-SHORT NPS| JIEX=
0l= H= S0 2= LEAt
(ANSI B1.20.3) N
DIZ BE (HMTRE) S0/ S B3 QLI NPSF NPTF - -
DI= B £7t Co10/% 28 T8 ot At NPSI NPTF - -
PTF-SAE-SHORT

X H A IIBE OIS 0l CHEt LISl 12 S LIEFHLICH

8 LI

rir
s
08

fl2| of2{et LIAE2
(1) LEARLES] ZH= 60 °/ILICH.
(2) Bl LIAIS| EIO|H= 1/16011M 2= Z|2Fe] LIARMRILICE
(3) &St At0| £0| HE HEHOE HEH = 0.866025PILICY.
(4) Ol= &&= Lt 2 LIAfRL 0= BE =210| & 2HE LIAS| Xtol=
- LEAR&HEYOIL} = Hisf ZE =O0[7F CHELICE
- 2 LIAIS| Bt 20|17t SF0f| w2t CHELICH
- EEO|IM= 0= BE =210 & 2E LiAks R LIAHEYLICE
212f LEAo] CHEH ANSI B94.90H #HE|0] U= O|= 28 LAt 2 4 SR #EE[0] A2, ZHZof Bl THSE LIAIRLS| 24A|2t
LIAPRO| F == CHE HIO|X| S HESHIAIL.

P YAMAWA

YAMAWA caTALOG 231



JIEXIE

232

18.

e

g LIAIE

0]l CHotHOo

O O|= 28 LIALE Hel 257
RS T | A2 Ground Thread NPSC,NPSM V-1
CEI0I e T3 LIS & NPSF Ground Thread HSS NPSF Ve
2 HIOIH LHtE & NPT Ground Thread HSS NPT Vig~2
Ect0ld 28 HIOIH LIS & NPTF Ground Thread HSS NPTF Vie2
i =
@ 0| 248 LIALE Q| LIARS| "=
O HALIAE & (NPS) G2
y
¢ & -—t-
Ead Ead
=1
= =
all @
88 s
= =
3| <
® ®
ol ol
R0 g0
o
OF OF
E*%?J ‘mm
=
NPS 1/ - 27 10.241 10.216 0.025 9.527 9.515 0.012 M—0.653
NPS 1/4 - 18 13.606 13.582 0.024 12.542 12.530 0.012 M—1.019
NPS 3/g - 18 17.045 17.021 0.024 15.981 15.969 0.012 M—1.019
NPS 1/o - 14 21.226 21.202 0.024 19.840 19.828 0.012 M—1.334
NPS 3/4 - 14 26.560 26.536 0.024 25.186 25.162 0.024 M—1.334
NPS 1 - 111/2 33.215 33.178 0.037 31.526 31.502 0.024 M—1.644
X 0] Xl&s A= QB MO K01 TH2H L2 & USLICH
O HIO|I LIALE & (NPT) G&
= Fe (XI0H)
g Fo (812
°
p=25.4/n
n=23kx
H = 0.866025P oy
Fr (D)
Fr(Xl2)
Zuz 2ol

Think threads with

YAMAWA

YAMAWA CATALOG

HIOIH




18. £& LIAIE & 40 CHEHO

Htum

R

e wss e
i

NPT 1/ - 27 68 32 78 37 80 32 92 37
NPT 1/g - 27 68 32 78 37 80 32 92 37
NPT 1/4 - 18 92 48 106 56 101 48 116 56
NPT 3/ - 18 92 48 106 56 101 48 116 56
NPT 1/2 - 14 106 61 122 7 118 61 136 71
NPT 8/4 - 14 106 61 122 71 118 61 136 7
NPT 1 - 1112 120 74 138 85 134 74 154 85
NPT 1 1/2-111/2 120 74 138 85 134 74 154 85
NPT 1 1/2-111/2 120 74 138 85 134 74 154 85
NPT 2 - 111/2 120 74 138 85 134 74 154 85
NPT 21/2-8 147 105 169 122 173 105 199 122
NPT 3 - 8 147 105 169 122 173 105 199 122

@ 0|= =2t0|A 28 LIALE Jof LiAMR S| F:
O HHLIALE B (NPSF) G

Al
=

It

AF

i

og

~ 30°
Z ¢ 4
= JIEXI=E
. = P2 2
4 = 1 et
s A <
[= =| = 74
=|
| &
Y a) o Fr(2I0H)
Fr(42) Al
Fr(ﬁ[ﬂ]
=2 mm
533
ES =
| S
NPSF 1/ - 27 7.665 7.641 0.024 7.053 7.041 0.012 M—0.638 0.101 0.086
NPSF 1/g - 27 10.012 9.988 0.024 9.400 9.388 0.012 M—0.638 0.101 0.086
NPSF 1/4 - 18 13.332 13.308 0.024 12.354 12.342 0.012 M—1.004 0.127 0.109
NPSF 3/ - 18 16.771 16.747 0.024 15.793 15.781 0.012 M—1.004 0.127 0.109
NPSF 1/2 - 14 20.929 20.905 0.024 19.601 19.589 0.012 M—1.354 0.127 0.109
NPSF 3/ - 14 26.276 26.251 0.025 24.947 24.936 0.011 M—1.354 0.127 0.109

X0l K= &5 RRE M2 A0 T2k 22t £ ASULCH

P YAMAWA

YAMAWA cATALOG 233



18.

re

& LIALE | 40 CHSHOY

O HIO|H LIAE & (NPTF) G&

-
i
=
g

O30 sHAE (BIE)

O30/ oHAIE (BF)

— =
Kl =
KU
— =
=
I
Fri&=)
Fr (£I0H)

p =25.4/n

n= i

H = 0.866025P

Fe(£ICH)

Fo(£4)

HIOIH

NPTF 1/ - 27 110 89 127 103 86 101
NPTF /g - 27 110 89 127 103 86 101
NPTF  1/4 - 18 132 110 152 127 109 125
NPTF 3/g - 18 132 110 152 127 109 125
NPTF 1/2 - 14 131 109 151 126 108 124
NPTF 3/4 - 14 131 109 151 126 108 124
NPTF 1 - 1112 176 133 203 154 132 152
NPTF 1 1/4-11 1/2 176 133 203 154 132 152
JIExt= NPTF 1 1/2-11 1/2 176 133 203 154 132 152
NPTF 2 - 1112 176 133 203 154 132 152

P YAMAWA

234 YAmAWA cATALOG




19. MC-Z2I& 7{E{0fl CHSLO]

Ot =, TVt S B2 XF0| CHE AL 7t & 4= AFLICH

Ol RLIALZ, Zt LIAtS| & YHLIALE 715 & 4= UAELIC

OFo| 0|M87| whZol| Tof| 2fgt E21=0] 2| giELICt

Ont0] 22 7|A oM = 2 X F2| ALIMNE 7tS & =+ ASLIEL

OX|4= B (AT AO|= o= 2 AMO|Z)E Z2OM0Y|M 2| & 4= U7 | W20 2ot= Y=o ALIME 7S E = UAE
2 H|O|H LIALS| | 7180l M S7HI[YAT A 2110] EHSIX| 87| ol LIZZ 0| Z2 H|O|H LIAE IIS & &

UASLIC.

LI B2

JIEX=

LIS B2

bl

HZE:7I2He= M HiEY0| 2 Ch2 AS HEFLICL J2{Lt 7|7 0fnt 20| %8 = TS0| &2 o 28 HERLICh

— S

P YAMAWA

YAMAWA CATALOG 235



19. MC-&2|Z FE{0| CHOH

@ H2ZE 2, ATPTH, = 7Y S TRLIAL, 2| H| WOl H| W

LR |
22 H|o|m| EHOZo| MAIO| AL MM Lt MAz|OZ

I'IJ

=0 HE0| 715 LI 2 JEi= =S = ASLICL
HA 20|E T2 LEILEE AF 2110] EtL|CY,

@ 22Z 7132l 832 #
3% SEOE HoMOo= ALINE 7t5517 | 20| AE 2fQl0| LMsEK| gb=C}

® 712 Zo| 02 37 xFo| M

MC- 22I2 7EI2 LSS 7138 29, YHHEOR 71T LA XIS2| % 70 % Of6te] KISS AFSEILICL THstist 2
XIS2 A= 20| ZAIPI0IA] B R2ISHRIS LIS 381 B70j 2|=7H 87| Thof ZHIOR olef 7 Lirel Hyoz
2HYE|7| OfBBLICL B4 K4 BE H12 HHSHIAL.

[ _I\~|

e e e OHSS9| 22
HAD s " HuaE et laas
IATH (il 1€ 01&E fz (mm /1) IAHH i 1E2 01 fz (mm /1)
2x8 2 50250 0.020.1 2x8Y 25745 0.020.05
B 50200 0.020.1 A 2040 0.020.05
EER 307180 0.020.1 EER 1530 0.020.05
37y 307150 0.020.1 z2u 1015 0.020.04
ABI A 30200 0.030.1 ABIAZS 1015 0.030.05
JIEXI=
e 50150 0.030.15 e 30°50 0.030.08
= 50°300 0.030.15 SR 5090 0.030.05
ssu3 50180 0.030.15 ss83 40°80 0.030.05
@ 0|55 Z79 0lasE
0l& £r= F2 I 7t5 M= 0| SHOf =t XX 2, F=fz:-Z-n-(Dc-d)/Dc (mm/min)
713 AlZt = OFR 2| L3 Sof| 21 ggk2 01X]7| mEo)| e
ot 2ALICEL 12 018 S HuX IA g = U= z g2
" n o EH0 gHA
olE 2ot ate =R 1'2e 0l&2E UL sk S0 b
=H0| LS| LIAt M=ol s & 5 AUSLICH Dc: QLI B EIZ(=LbAIl X1 E1)
e XE-l*ﬂl-g:éOI % IR
MC- 22|12 HEIS ALST 290| B4t 20l itzoz R
LIAMARS| 0| 77EK|E B 1Ol XME[SHES 7|AIS FSER|Tt,
AHEO| 7|E2 LHZO|IM (OF2H 7#9) 7|&E 1t 3+ 7| Z0IUE = i i ! § . oL
QIALICH MC- 812|Z FHEf{= Z7lo| = B A AIZ|X| |/ ‘ \
UZEE|0 USLICH (EEC| Re, Rp= H|2]) THEo] otz 1Y o= s

XE2 ot SLLICE.

P YAMAWA

236 YAMAWA CATALOG



-EX. D[E| LIAS| B2

[LHZ (O

241210

FHIE) VIE]

KR=H— (H/8+H/4)+H/24+TD2/4—(D'1—D1)/2

=(D1—D"1)/2+2H/3+TD2/4
=(D1—D1) /2-+0.577P+TD2/4

19. MC-&2|Z FE{0f| THH0]

-EX. O[E LIAS| H2

[EFIIE]
ST So

Tool KR=Dc/2—d/2+H/24+TD2/4
=(Dc—d)/2+H/24+TD2/4
=(Dc—d)/2+0.036P TD2/4

J|=ME

Dc 7= E ALIAIClQ =& K|
D1 7k E YL L 71E K
D1 7= T L (OFH ) K=
d D SO R R

H . 0.866025P

P S X

TD2

D713 B LIS Rz Skt
TD2/4 : 7t& 29| 4= CiH|

(A SKtO| FZHoflA 2] A,

I|AfRHOY| 2l TD2 / 4 ~ TD2 / 32| HlollA &
D 7|E Akt i 2l F 9| Xlo|

H/24

@ I| 7t3 M=zof|e] HZ-0lE
x

o] 7t TH=0i|o| HZO|Lt O[F2, B AIESIo ”AL 85 HHESHAISH | 2{5H0]
S L 0153 HAIBIH MAS| S 8l 2|=E8 |AIsk= 0| SRELIC.
2|EE XI7|X| 42H LIAMMO| OHE Fot 41 RS A2 &+ YUSLICH

JIEX=

Think threads with
D YAMAWA
YAMAWA CATALOG

237



20. 714- =00 - ¥l ZEoil CHsto

717e| 0717 % E5

2 S71%} (EIX|E) 05

MHE ST} 0SS S0 BRI U A HOf=l7| Th0f, A3t 2| (i)
0152 U2 4 irt

AR BT SUBH 2| (TIX])0] Al LA ALZEO| B0| HEE|DR bl Yodt
0152 &g 4 Ut
710{ol%
7]0jo] TEHOR ARG BT SUt 2| (WX HO| HLE|O 2 B I st
ols2 2 4 otk
JIETk=
HIS7| (2] 01)
sjH40tolsYS 47* 7|0l A 4 QUR|E, | - A Rofote Tls

87| m2of|, st 2|= (T|X]) 052 BHX| g4=Lt.

oot,
T

0Kl

20|

OB

212 TR0l Of3} 0|52 THHXIDL, H{5o| 0[S = e of

THK| &0l X[ 0] &|= BVt BiCh

m2| (45) 0l

22 TR0 of3l 0|S2S THHKIZ, 2/xi0| 0]

TOEX|H, 0l X122 0|5 Eli= BVt RiC.

m Think threads with

238 vaMAWA cATALOG

flo
ne
rr
A
ro
2
]
]
=

I
OF




20. 7|A4-20- &2 Z20i CHSHo]

EHO| X|7| QEEAlo| ZASk

FOY M=)

HIM-H I (R =) 2t

-

71A12| 0I—-— N E=H 2= (TR
QXS E010 ZHYLIC.

r= B0 HHE  s=LFARMOI AT t= 0K =

Eccentric LIAF &2l
(o = gls

- —J HADo

EAY0| T 718 5= =X, A7 =40

o oo

7| W20l TA| 718t 015717 7 |AIet 1 EHE

X}
O|85}0] A8 HRIIUCL
& &, 'eFH S71 015 X1 4,01, Of Efol SHFHEICE

—L— O

t Con-eccentric LEAF 2l X
(OF S LEAF 22l )

JIEX=

TSt ORRIT} LA} 2 HO| FAYEL Mot x| Q&S
7hzlct,

OFE! (LEAE 2 B 81E)

2 HO|QD, RHE A7} ALtAL| HESH | wHZ0f
0% HHAT L BHNE AP | R 7tsd2 =L

P YAMAWA

YAMAWA cATALOG 239



=

at HIFtL

10!

-
—

o

tCH2l

e |

2

21. YLIAL

=
58
= il :
2 3 5 8
= a0 = =
0 5 ol
- i)
= 2 :
- =}
= al RE
X_u ] =} p—
= o &I - =
] —
T o z - -
50 ra = ES] =
I+ &l =) %0
s o Ki 2 N
= H K
m TRIE
~ K il I
Wv S m th_ FT E=]
= 50 _ -\ B - a1 o oA <l
T ﬁﬂﬂnuu — = = L 7
- |2 o ||| : |
& =5 20 & 2
0 w,ﬁ 0 0 0 b
il Bl = o
0 A ol 80 L UES
“ nr|L = ol 5 ™ A.T A i r m_}M
s s e - a B8l Z s
- ol S = i 2 o Isgl
m s = = i - = - 100
0l 57 = > H M HOmr S
SE o 2 8 o ooyt
=2 B 2 0 Szpsiet
1 oot wl ol ar = wz._ M= m
Eg = ] ol — W SR E
i =d ar = = 123x3
= == = - 2 < =
< o E) = = AiZis 9=
= a0 30 = i00 s _m._m Fy0=2
AU a 20 o = g Hea=i
z & = Bl &0 ar < a1 o0 2K
2 . == KT B Bl ool
&0 a0 o o HEg =l
rF °x <xr <ECR=S
- 2= o Ho S0 25y on
T ~
S g il al S somi@ols
~ == o3 a1 =% = 1
~ %0 20 I 3F S mﬁ =
o Ki mn f W 5 ou_ 3
=
a1 Ui 57 i ol 0 all
&0 m0 {0l M Ell 50 o8 o o
rr 5B | =0 = = a
ul &l &0 HO ol Y o =2 s
~ . RM ol ic uE =
5 <r = ol 1
A R M B =
o e =2 = o@suy ol
=3 —
w o = 5 |2 @ysam @
- LT mE<iEm g
- = = RE 5o xr

JIEXIE

Think threads with

DX YAMAWA

YAMAWA CATALOG

240



21, YLIAL ZITHO| QI HIFHLIE

Eicl

3.01% (1818 2I5) 22 AEHHIM BE—» = 2510| =i
FXieh R p & SHH 2HLHALY
HIIHOIXI
SIo T2 (17 SISk
HOIX H=E MO0 HE EM,
HOIZ T3S 020 HOe
== ' AHO| DFE D QULH
A
EH

I H2IBE BA L d3RENA 0I5 21 Al A+B'E 01RE.

,\ FXIS XD St LEAL
MoEHALIZS LLEG &E 25
I XDFEHH, HOIE THIAHX
| SISE Y HOIEEH)H HE HXIAHOIXI
H TR A M, SH DHIH2 20| HH
Al AN A0 OF2DQILH
£ JHZ0IHOl QLI SHTH Q1 (H2])
0I5 Z&S MEGHH ZXoH0kSHTE @ EH Ak ALEH
* (2F 7] 01571729 J1H + D® SO 2ot @ Ot Y M=t
* XE0| DY TS MHGHH ZESHL ® X% EHO| MEH
A3 =

JIEX=

ra ue

©

T om

P YAMAWA

YAMAWA cATALOG 241



CHY

22 B8 Ex

R0 i}
il o
at 7o W oo
I
3 2Emle al
- ~ o
Z W oo [ R I I OF
4 oo = = o060 |y o =
= .AJ = T = . o ® ™~ &
20 = o 0 = G b J I
S moH S oo g o X Moo a5
g0 5 Wow oA A = 5 =
N O kF b7 =
u = @5 @ B = W o B wE 3R
= | Ny ol ws * = =8 oy = 5y
2| f ok L OF O i w o = m M S o 3 =
=3 | = = KMol N LH Homoe o e oL
51 /0 oF L0 o oom o 4ir 51 Al R oz o0 fT T
R TH 80 &1 T3 & T = @ a1 o = G &l Bl
= I o S S oS ] OF =~ nr <k OF T ORU i ==
@] [} ce O O e 6 06 0 o [ I ) e o
i z
kg -
il ool W o
Waw @
= KU
a0 El g = Iy
2 % mw RO
[ 3 N J o o
3
>
= 20 = H
0 L =
4l w0 Al N “.Oo = ol
= | & s 28 T i
- RH RO KF kiU o " Uk
¥ ] g = pal = =
i U o X1 i) K0
ol = (] (] ) 5 X s O
OF ™ = &=
= = _ w M o @ I 5
= uo T 2 g = 0 = o R
= —, 30 L) = . < = = R
- 3 K — o | = =
mo| — ®RO " = = bR KH TR M T W
W " o Ao T oW = a1 I - SR m=x W 3 o
= | W o . = 0 S N K fun i) ] =0 = = o= 5 =
a | = = o B0 0 E o m = LH == 0 S ST
Sl B0 oF e Th rk k- LT} g0 ™ m_. HAﬁ_ w0 Ok MJ_' o o=
T | RUH 0 = = Bl & 4w W oml % S1 = 00T I a0
I = T = s S o S S| i UM al mr ok <k au T ow _—
° ° o e o e ° o e o o) ° ° o o PP
0 o
<r
LH 20 s = %0 = 3
RO B0 = %0 =l 3 =
= o i ok <0
w T | T )
O | Ll = ri =1 &l 20
00 | ol | IH = = = [
| | Tk xr il
& | =
w=|=

JIEXIE

Think threads with

DX YAMAWA

YAMAWA CATALOG

242



21. EiE E2iE T

® THE0 R0l @ Iz 2= AT
TR R0
Z-pro
@ EH 9%, SHH, ® X /%1, ST, SP
8 S =0 S S(H|X0 Aol
SL
ES R
© 03 = XIZS Jhsst 3t T
® 0124 = It Zst PO
ZoIEH
© YIIZABIL @ 1IXIAS Jisstst I | O R 271201 Mol 2 L_‘LTH
RZ/IRS
=5
O WKl 0125171
[TRD
IR S
PTIPFFS
@ EEE =EH M2 k=12
@ =0/ 552 4F
D
MCECRIEHES CholA
AL AL ZE LA
@ BA ECE LRl CD
=
JIEX=
@ =AIQ0| mEH 7|, HEAI7|O| HEs}
@ JIEH 2P Q0 = 29 9|
©® =2 EIHHIIHSO0ZH QRO AL
@ 2S4S 2 424 HAQZ \IZ06D)|
© ST ¥ R o] MHst
@ X T HEHE TN
©® Zdt Hal S0/ 4| O QU A0IZQ| A @ PO B0l A8 (52 B) 0 13t 12 02uUEY
(TAITHON QI6H 4041
OBApg 220= Ot il e O ZUPIZ INNE | @ = 40| HEy ® A= 2100] Hxst
@ 4550 )R 2t AH
OLut Iz otz O 0 =2 =)
@)= WSH} ©® = H4S e
@ i 014 XT|S WRIBITEH _ _
@ 2 SH0IS B HUTE 23 AN 27HS 2007]/
@ TAT 0| O1AFEL= Z|E0)

P YAMAWA

YAMAWA cATALOG 243



23. MEI=Z0]| CHSHO

m @ HIE| =210| HXl

A
A

]
1)
o

@B ME =9 28

JIEN= ®
=]

o

[

xXs

\
n
SN

N

fox M s~ B

N
)

S
N

[SESER|

i

A0 et SH0IL HY, T Jis2 2HO 012 St £ I3 Be SQZEH 60 ° LI 8 222 E25H| 2ot 120 ° 2MJIS oH0F UL

[ ]
pu)
02k
=
m
Miot
10
ot
ol

=
m
kot
5
H1
=
=
m

HH = 2T 0F 8 280 AT M

m
3

IHAEOl =40l HRLE UL

<

T @D

SN
=i}

%
A

R
V7 % \G:
72 D ).
0012 B RE MIE 22 MO SXIE HIwH OHX A2 & USLICE E5HB & M 20| G2 (182 THO| SEO|LHHE, BH HAD|, gk S (12)0] L2 E 2|6t ASLICH

P YAMAWA

244 vAvAwa caTALOG



ks

24, MEY

AHIHAZ
SUS304
iz 30~40 22-30 20~25 10~15 70~100
(m/min)
43 CIRSES B CIRSES UEE §|Ha 015 [IPSES U CIFSES 015
(mm) (min-1) (mm/rev) (min-1) (mm/rev) (min-1) (mm/rev) (min-1) (mm/rev) (min-1) (mm/rev)
3 3700 0.04~0.08 2750 0.04~0.08 2400 0.04~0.08 1350 0.04~0.08 9000 0.10~0.22
4 2800 0.05~0.10 2050 0.05~0.10 1800 0.05~0.10 1000 0.05~0.10 6750 0.12~0.26
6 1850 0.06~0.12 1400 0.06~0.12 1200 0.06~0.12 850 0.06~0.12 4500 0.15~0.30
8 1400 0.08~0.15 1050 0.08~0.15 900 0.08~0.15 500 0.08~0.15 3400 0.18~0.35
10 1100 0.10~0.18 850 0.10~0.18 700 0.10~0.18 400 0.10~0.18 2700 0.21~0.40
12 950 0.12~0.22 700 0.12~0.22 600 0.12~0.22 350 0.12~0.22 2250 0.25~0.45
16 700 0.16~0.26 500 0.16~0.26 450 0.16~0.26 250 0.16~0.26 1700 0.32~0.50
20 550 0.20~0.35 400 0.20~0.35 350 0.20~0.35 200 0.20~0.35 1350 0.40~0.60

HSS+TiCN (PE-Q-V PE-90")

e

o ARy AZE
(30~35HRC) SUS304
A
o 38-48 28-38 26-33 18-17 13-20 84~120
4l Z 5|8 015 [IPSES 015 [IPSES B 5|8 015 [IpSES 015 [IbSES 0152
(mm) (min-") (mm/rev) (min-") (mm/rev) (min-") (mm/rev) (min-") (mm/rev) (min-") (mm/rev) (min-") (mm/rev)
3 4550 | 0.04~0.08| 3500 | 0.04~0.08 | 3150 |0.04~0.08 | 1800 |0.03~0.06| 1750 | 0.04~0.08 | 10800 | 0.10~0.22
3400 | 0.05~0.10 | 2650 |0.05~0.10| 2350 |0.05~0.10| 1200 |0.04~0.08| 1300 | 0.05~0.10 8100 | 0.12~0.26
2300 | 0.06~0.12| 1750 |0.06~0.12 | 1550 | 0.06~0.12 800 | 0.05~0.10 900 | 0.06~0.12 5400 | 0.15~0.30
1700 | 0.08~0.15| 1300 |0.08-0.15| 1150 | 0.08~0.15 600 | 0.06~0.12 650 | 0.08~0.15 4050 | 0.18~0.35
10 1350 | 0.10~0.18 | 1050 | 0.10~0.18 950 | 0.10~0.18 500 | 0.08~0.15 500 | 0.10~0.18 3250 | 0.21~0.40 JIEX=
12 1150 | 0.12~0.22 900 | 0.12~0.22 800 | 0.12~0.22 400 | 0.10~0.18 450 | 0.12~0.22 2700 | 0.25-~0.45
16 850 | 0.16~0.26 650 | 0.16~0.26 600 | 0.16~0.26 300 | 0.12~0.22 350 | 0.16~0.26 2050 | 0.32~0.50
20 700 | 0.20~0.35 500 | 0.20~0.35 450 | 0.20~0.35 250 | 0.16~0.26 250 | 0.20~0.35 1600 | 0.40~0.60
XL +TiAeN (C-PE-Q-V PE-90°)

bl ABIZ A
(30~35HRC) Sl
pSPNE
(Er'.;‘m;") 87~102 65~78 60~70 32~40 35~45 120~160
5 | aEs | oz | aFs [ oz | amd [ 0 [ aEs [ oz [ d¥: [ oz | aEs [ o
(mm) (min-") (mm/rev) (min-") (mm/rev) (min-") (mm/rev) (min-") (mm/rev) (min-") (mm/rev) (min-") (mm/rev)
3 10050 0.04~0.08 7600 0.04~0.08 6900 0.04~0.08 3800 0.04~0.08 4250 0.04~0.08 | 14850 0.10~0.22
4 7500 0.05~0.10 5700 0.05~0.10 5150 0.05~0.10 2850 0.05~0.10 3200 0.05~0.10 | 11150 0.12~0.26
6 5000 0.06~0.12 3800 0.06~0.12 3450 0.06~0.12 1900 0.06~0.12 2100 0.06~0.12 7450 0.15~0.30
8 3750 0.08~0.15 2850 0.08~0.15 2600 0.08~0.15 1450 0.08~0.14 1800 0.08~0.15 5550 0.18~0.35
10 3000 0.10~0.18 2300 0.10~0.18 2050 0.10~0.18 1150 0.10~0.16 1250 0.10~0.18 4450 0.21~0.40
12 2500 0.12~0.22 1900 0.12~0.22 1700 0.12~0.22 950 0.10~0.18 1050 0.12~0.22 3700 0.25~0.45
16 1900 0.16~0.26 1400 0.16~0.26 1300 0.16~0.26 700 0.12~0.22 800 0.16~0.26 2800 0.32~0.50
1.0 24 BHE= 224 BMRE E AE}S 29 ¢ULL
2. AR JEE A= O1SEE 20 % 016t 2L,
3. 8 HIE AIZ6l= B 0ISEE 20 % 0I6tE FFHAL.

Think threads with
D YAMAWA
YAMAWA CATALOG

245



JIEXIE

246

24 AHZ 7t BA X

@ HSS HIE| 2 715 =2
HAL & Ve [m/min], 18] &

[P

™
FH

HE ol

A& Ve [m/min] (Cone diameter at the larger end)

=

H

Ff [mm /rev]e| 7|&

(CD THEO| HSSY E3<)

HEtAZ 15~30 1~ 3 0.02~0.07
EbA-20 15~30 3~ 4 0.04~0.12
EER 10~25 4~ 6 0.06~0.17
AHIZAZ 5-12 6~ 8 0.10~0.20
B 8~15 8~10 0.14~0.23

10~12 0.18~0.26

@ =Z HEIEE JES=A9| 7|&F

B4 S5 Ve [m/ min], 12] MY 0[E=Hf [mm / rev]e| 7|ZH (CD MZO| 23

Ve [m/min] (Cone diameter at the larger end)

pa b

3
HEtAZ 30~50 1 0.01 ~0.03
EbL28 30~50 2 0.01 ~0.035
=g 20~40 3 0.015~0.05
AHIZAZ 15~25 4 0.02 ~0.06
EX=) 30~50 5 0.03 ~0.07

6 0.04 ~0.07

@ NC-SD-V AEHE E2I 7t8x219| 7|1&E

HA &L Ve [m/ min], 12| MY 0|&2Hf [mm /rev]e| 7|&

SHAMSELEVC [m/min] (B2
HetaZ 25~40 3 0.03~0.06
[EEay 25-32 4 0.05~0.10
g=d 15-25 6 0.08~0.15
g=372 7-12 8 0.10~0.18
AHIYAZ 7~12 10 0.15~0.20
B 20-35 12 0.15~0.25
2llE 60~90 16 0.15~0.30

20 0.20~0.30
25 0.20~0.30

@ Jt2E d3 8=

79| 7|1%

HALAE Ve [m/ min], 18] S 0]

HAELZVC [m/min] (372

[S2Ff [mm [ rev]el 7| H

]:Ujl, IH == 07X 1 oo

HetAZ 18-~25 20~27 4 0.02~0.04 0.03~0.10
A 18~25 20~25 0.03~0.05 0.05~0.12
gz 8~16 8~15 0.05~0.07 0.07~0.15
g=372 8~16 8~15 10 0.06~0.09 0.10~0.16
AHIYAZE 8-~13 5~10 12 0.07~0.10 0.10~0.20
B 20~30 15~25 16 0.08~0.13 0.10~0.20
A0|= 20~70 20~80 20 0.09~0.15 0.10~0.25

25 0.10~0.16 0.15~0.30

Think threads with

YAMAWA

YAMAWA CATALOG




= mm

25. LIAHA

@ O[E] LA} AIE

JIEX=

247

Think threads with
YAMAWA CATALOG

X YAMAWA

2

ZR0i Tt

=

oM™ O
SUXRO

[SVRSV{ VNN
oojooo
[ToNTe)
I
oo
YollYoRTe}
I Ks]
oo o
o]l NToRTeY
ojooo
0 O OO O O
N RIS NN
O O OO O O
R )
Yol [TeNTe)
N
= |==
1919 19)19 19 10/19 19 1B/10 19 1B[10 19 V(10 19 1919 1 1B/ 1V 1V VY VI 1V 1V Y VYN Y YRy |9
i e i e ] i ] o o o o - o i - o o e ek
[SVIIa\Ra\RaV}{aV) [aU{aURaVRaVl{eV) N [aVaV| oV o\l V] [V oV aV| [V o Ul V] [aU oVl oV} [oV eV a\| [a\ I o\ oVJ oVl oVl eV} [a\ e\ I o\ [ oV oV A eV [oU oV oV {a I oV I o\ N oV
s} (3] [so] [SesrllerResNepllepNerNerllerNer Mool (epNepNepl (s NesNerllerNep) (2] DO NN O MMM MM MMM
< < < Al AR RS A SRS S S S R A < AR R AR S RS AN S S o A Ry
© © © © ©[© © ©O|W© © OO © Y|W© © © Y
0w [To Yo [foNTe] [Ye] [Tellel e}
N @ @< F10 © NN © N 0 0l 00 © 0 |0 00 0 0
[ejollejoNollefoNollocNoNolloNe) QN [aV) AN ™ [s2] (s} (s} < < <t < w0 o] Yo} Yo} © ©
0
wn [} — v N~ 0 © [se] N 0 [o0] o o 0 [s0] o 0 o w0 oo} [3Y) (Yo} To]
~— — — a N N (s (3] ™ < Yo} Yo} Yo} © © ~ N~ ~ 0 o <
OIS
- ¥ ® o | 9 o
— ~— ~— N [e2} < ~ < oo} N ~ [+ (o2} o} [s\) o [o0] [(] 0 Yo Yo} 0o o o
— — [aV) o (s} (3 < v © © ~ 0 o o | (s} 0
8 &= & 2
o © [to)
— — [aV) [aVl[ep) <t [{e} © 0 o o © o < o [(e] N [oe] [(e] <t N o o o o Te) o
— — — N N (S} (3] < < 5] «© ~ 0 o o — N <
g e |8 | <

%188



25. LIAHAIE=

® FL|mof LIALAIE @ A= OfX| 2 HE
I X (mm)
F
0 80 0.2540
) Zi 0.3175
No. 3 | 0.0990 2515 48 56 0.3528
No. 4 0.1120 2.845 40 48 0.3969
No. 5 0.1250 3.175 40 44 0.4233
No. 6 0.1380 3.505 32 40 UNC
No. 8 0.1640 4.166 32 36 UNC
No.10 0.1900 4.826 24 32 UNF o 0.4536
No.12 0.2160 5.486 24 28 32 UNF | UNEF ig 823%
AR s s e 2| o
16
% 0.3750 9.525 16 24 32 UNG 20 28 | UNEF 4 0.7056
Yie 0.4375 11.112 14 20 28 16 UNF_| UNEF | 32
i 0.5000 12.700 13 20 28 16 UNF | UNEF 32 32 0.7938
Yie 0.5625 14.288 12 18 24 UNC 16 20 28 32 28 0.9071
% 0.6250 15.875 11 18 24 12 16 20 28 32
Vi 0.6875 17.462 24 12 16 20 28 32 27 0.9407
% 0.7500 19.050 10 16 20 12 | UNF | UNEF | 28 32 24 1.0583
Y1 0.8125 20.638 20 12 16 UNEF 28 32 20 1.2700
% 0.8750 22,225 9 14 20 12 16 UNEF | 28 32
%6 0.9375 23.812 20 12 16 UNEF | 28 32 19 1.3368
1 1.0000 25.400 8 12 20 UNC | UNF 16 UNEF | 28 32 -
Ve 1.0625 26.988 18 8 12 16 20 28 18 14111
1% 1.1250 28.575 7 12 18 8 UNF 16 20 28 16 1.5875
1%46 1.1875 30.162 18 8 12 16 20 28 14 1.8143
17 1.2500 31.750 7 12 18 8 UNF 16 20 28
1%46 1.3125 33.338 18 8 12 16 20 28 13 1.9538
1% 1.3750 34.925 6 12 18 UNC 8 UNF 16 20 28
176 1.4375 36.512 18 6 8 12 16 20 28 12 2.1167
112 1.5000 38.100 6 12 18 UNC 8 UNF 16 20 28 11 1)2 22087
1% 1.5625 39.688 18 6 8 12 16 20 1 53091
156 1.6250 41275 18 6 8 12 16 20 :
11146 1.6875 42.862 18 6 8 12 16 20 10 2.5400
1% 1.7500 44.450 5 6 8 12 16 20 9 2.8222
11946 1.8125 46.038 6 8 12 16 20
1% 1.8750 47.625 6 8 12 16 20
11546 1.9375 49.212 6 8 12 16 20 8 3.1750
2 2.0000 50.800 4172 6 8 12 16 20 7 3.6286
216 2.1250 53.975 6 8 12 16 20 6 4.2333
2va 2.2500 57.150 412 6 8 12 16 20
2% 2.3750 60.325 6 8 12 16 20 i a 52222
212 2.5000 63.500 4 UNC 6 8 12 16 20 2 S.
2% 2.6250 66.675 4 6 8 12 16 20
2% 2.7500 69.850 4 UNC 6 8 12 16 20 4 6.3500
2% 2.8750 73.025 4 6 8 12 16 20
3 3.0000 76.200 4 UNC 6 8 12 16 20
316 3.1250 79.375 4 6 8 12 16
JI=X= 3y 3.2500 82.550 4 UNC 6 8 12 16
3% 3.3750 85.725 4 6 8 12 16
312 3.5000 88.900 4 UNC 6 8 12 16
3% 3.6250 92.075 4 6 8 12 16
3 3.7500 95.250 4 UNC 6 8 12 16
3% 3.8750 98.425 4 6 8 12 16
4 4.0000 101.600 4 UNC 6 8 12 16
4vs 4.1250 104.775 4 6 8 12 16
4 4.2500 107.950 4 6 8 12 16
4% 4.3750 111.125 4 6 8 12 16
4ve 4.5000 114.300 4 6 8 12 16
4% 4.6250 117.475 4 6 8 12 16
4% 4.7500 120.650 4 6 8 12 16
4% 4.8750 123.825 4 6 8 12 16
5 5.0000 127.000 4 6 8 12 16
516 5.1250 130.175 4 6 8 12 16
5V4 5.2500 133.350 4 6 8 12 16
5% 5.3750 136.525 4 6 8 12 16
512 5.5000 139.700 4 6 8 12 16
5% 5.6250 142.875 4 6 8 12 16
5% 5.7500 146.050 4 6 8 12 16
5% 5.8750 149.225 4 6 8 12 16
6 6.0000 152.400 4 6 8 12 16
%198 QUENOE QU Tt 2 S8 MEsHL
O|E{ AICF2|ZE LA 2 alat
|Ef AICH2IZ LA} X4 URHE Shol: o
iES) 2 3 4 5 6 7 8 10 12
T 8 1.5
T 9 1.5 2
Tr 10 1.5 2
Tr 11 2 3
Tr 12 2 3
Tr 14 2 3
Tr 16 2 4
Tr 18 2 4
Tr 20 2 4
Tr 22 3 5 8
Tr 24 3 5 8
Tr 26 3 5 8
Tr 28 3 5 8
Tr 30 3 6 10
Tr 32 3 6 10
Tr 34 3 6 10
Tr 36 3 6 10
Tr 38 3 7 10
Tr 40 3 7 10
Tr 42 3 7 10
Tr 44 3 v 12
Tr 46 3 8 12
Tr 48 3 8 12

X 200 HINEIX] 22 o ACIE LIS 0125t M= SA BT 220N,

P YAMAWA

248 YAMAWA cATALOG



26. LIAIS] 7|=

Al

SciAl

L. OO
® O[E{ LIAHM) @ {LITIO| LIAHUNC,UNF,7|E})
T[] Y I|w y
=™ - opp TN DU
o 4 \ Z AN e IR N \ ALY
= 0 i 5\
=~ ALHE T~ 2Lt /
a8 % ar
NI ﬁ P Ju| ﬁ
G ) e
7/ ol ol o ©| Tl T
H =0.866025P H =0.866025P
H1 =0.541266P D =d H1 =0.541266P D =d
d2 =d—0.649519P D2 =dz d2 =d—0.649519P D2 =dz P =25.4/n
d1 =d—1.082532P D1 =di d1 =d—1.082532P D1 =d1 ni=tie=
@ P{ELLIAKW) @ 0[& LIA(SM)
I|o Q o]
i :\ % ofLH} § =t
NNEE NN \ -
S
AN N i
mal¥
t LR % 148 o
I ey | ﬁxﬁ%@ I
H =0.9605P D =d H =0.8660P
H1=0.6403P D2 =d2 r =0.1373P H1 =0.6495P D2 =d2 r =0.1083P
d2 =d—Hi D1 =di P =25.4/n d2 =d—hi D1 =d1 P =25.4/n
di =d—2H1 D1’ =d1+2X0.0769H n =&k d1 =d—2h1 D1 =di+2Xh/16 n =4k
@ O[L[|O{X] LEAK(S) @ 22 HALIAKG,PF)
- JIEX=
= N zho &
5 VNN =R g.*uu\
T iix N 4 N | += - DN
N
5:_ I Tl B
(=] § | S Tlo / AL
o +* A = & .
5 /uuj‘? ro 88l
2 sl 8l B ! el 8l s
H =0.866025P D =d H =0.960491P D =d
H1 —0.48P D2 =d2 h =0.640327P D2 =d2
A SERUBIGEP B =ek EE : 0] AXIS 0.320744HE HHSE B ZOICH gi zg:;h ?1 23113732% :zzjf/n
d1 =d—0.96P EEHUESNS £ 8h=2 Bt 0Lk ) AN
@ 2EH|O|HLIAKR, Rc,PT) @ 2EH|O|HLIALE WAHLIAKRP,PS)
To| \\
| SHEERE
o7 2757 215
=N $
5° ‘
T|of < a
P g °

o
=
1
of
i3
i
|
5

|
_:On

H =0.960237P H' =0.960491P
h =0.640327P P =25.4/n h =0.640327P P =25.4/n
r =0.137278P n ={k r =0.137329P np==h==

Think threads with

YAMAWA

YAMAWA CATALOG

249



26. LIAIS| 7|& L Hy

.
@ 0|= 242 H|O| LA} (NPT) 3 %0 £90: mm
H =0.866025P o7 Max. 0.096P
-l Min 0.033P
Max 0.088P
18
Min 0.033P
Max 0.078P
14
Min 0.033P
Max 0.073P
15
Min 0.033P
g | Max 0.062P
Min 0.033P
=3 20 S~

27

o
Max. |0.094P | 0.140P

H =0.866025P
P =25.4/n
n =AtA Min. | 0.047P | 0.094P
s Max. |0.078P | 0.109P
Min. |0.047P | 0.078P
» Max. | 0.060P | 0.085P
Min. |0.036P | 0.060P
s Max. |0.060P | 0.090P
’ Min. | 0.040P | 0.060P
Max. |0.055P | 0.076P
JiExE 8 =
Min. |0.042P | 0.055P
@ O[E| AICH2[E LIAL (Tr) @ 29 AICE2|E LEAL(TW)
| QU
0.366P ! U
Il /; \\ ©
L
| F ‘ LA
o o E N N o __

o

ALH
Il S S 7
\/ 0.366P
\
—_

D2

al a
S| B % helkellal
H =1.866P h =1.9335P c =0.25P D =d+2a
H1=0.5P D =d h1 =2c+a d2 =d—2c D2 =d2
d2 =d—0.5P D2 =d2 h2 =2c+a—b di1 =d—2h1 D1 =di1+2b
di =d—P D1 =d1 H =2c+2a—b P =25.4/n n =ik

P YAMAWA

250 vAMAWA cATALOG



27. LIAL 7|2 EE

@Y=
Lk LIEZ ETA
M UGt OIE LI JIS B 0205-1~0205-4
S OILIOIAS LEAE JIS B 0201
UNC SUII0I Er LEAL JIS B 0206
UNF SUIOI M= LEAL JIS B 0208
Tr OIE AHCHIZE LEAL JIS B 0216
R Z HIOIH LEA JIS B 0203(2&2)
Rc 22 HIOII 2LEAL JIS B 0203( 22
Rp 2 HIOIH =LA DI b= 22 B3 LA JIS B 0203(E2&2)
G S B LI DI ZER) JIS B 0202( £2)
PF ISO0il §i= 2+ Tl LiAL (CHS JHEAI HXI HEE A JIS B 0202 (E£4)
PT ISO0il §i= Z+& HIOIH LEA (CHS JHEA HIXI H=E HIAI) JIS B 0203 (E£4)
PS ISO0il 8i= Z+& HIOIH LEA (CHS JHEA TIXI H=E HIA) JIS B 0203 (H54)
CTC e ZE MM LIt JIS C 8305
CTG SN2 ZE HMe Lt JIS C 8305
BC THEAH LEAF JIS B 0225
SM 01&S LHt JIS B 0226(2001.2.20 X))
M LEAF JIS C 7709
\Y TSXHEROI &S LEA JIS D 4207
CTV THSAH EFOIOH S LEAF JIS D 9422
M 1SO
Lk |12 LIEZ HEHE
ISO 2Bt OIH LEA ISO 261
s ISO OILIOIA LEAF ISO R 1501 PIEIN =
Tr ISO OIE4 AHCHRIZE LEAL ISO 2902
UNC ISO Q1XI LI} (25 LID ISO 263
UNF ISO 21Xl LEAF (HIZLEAR ISO 263
UNEF ISO QIX| LIAF (S MIZLEAD ISO 263
UN ISO QIXI LEAF (ZE IXIHE LID ISO 263
UNJC ot 2 21X HIZ UNJ LHAH(ES LHD ISO 3161
UNJF &2 2% 2K HE UNJ LI (HIZ LR ISO 3161
UNJEF StE 2% O1X| HIZ UNJ LI (FHIZ L ISO 3161
UNJ a8 @2 21X HIZ UNJ LEAH (X Xl A LED ISO 3161
MJ o5 2F OIE LEAH ISO 5855
R 22 HIOIH 2=LEAt ISO 7/1
Rc &2 HIOIH LEAL ISO 7/1
Rp 22 HIOIM 2=LEAHOI AFEGh= TeH 2L EAL 1SO 7/1
G TS Tol LFAF S g WA o AL (JI2UEH Z2ES GHA 8= LHD ISO 228/1
GL Sdl SI1 LHt ISOR 1115
v EFOIOH e LI OlzE & ZIAHO| [I2) ISO 4570/1~3

P YAMAWA

YAMAWA cATALOG 251



JIEXIE

252

CLE
LI 1= LIMEZ A
UN Unified inch screw threads ANSIB 1.1
UNC/UNRC Unified coarse thread series ANSIB 1.1
UNF/UNRF Unified fine thread series ANSIB 1.1
UNEF/UNREF Unified extra-fine thread series ANSIB 1.1
4UN/4UNR Unified constant-pitch series with 4-threads ANSIB 1.1
B6UN/6UNR Unified constant-pitch series with 6-threads ANSIB 1.1
8UN/BUNR Unified constant-pitch series with 8-threads ANSIB 1.1
12UN/12UNR Unified constant-pitch series with 12-threads ANSIB 1.1
16UN/16UNR Unified constant-pitch series with 16-threads ANSIB 1.1
20UN/20UNR Unified constant-pitch series with 20-threads ANSIB 1.1
28UN/28UNR Unified constant-pitch series with 28-threads ANSIB 1.1
32UN/32UNR Unified constant-pitch series with 32-threads ANSIB 1.1
UNS/UNRS Unified threads of special diameters, pitches and lengths of engagement ANSI B 1.1
NR American National thread with a0.108p to 0.144p controlled root radius MIL-B-7838
Acme Acme screw threads ANSIB 1.5
Stub-Acme Stub Acme screw threads ANSIB 1.8
Butt Buttress inch screw threads ANSIB 1.9
UNM Unified miniature thread series ANSIB 1.10
NC5 Class 5 interference-fit thread ANSIB 1.12
NPT American Standard taper pipe threads for general use ANSI/ASME B 1.20.1
NPTR American Standard taper pipe threads for railing joints ANSI/ASME B 1.20.1
NPSC American Standard straight pipe thread in pipe couplings ANSI/ASME B 1.20.1
NPSL American standard straight pipe threads for loose-fitting mechanical joints with locknuts ANSI/ASME B 1.20.1
NPSM American Standard straight pipe threads for free-fitting mechanical joints for fixture ANSI/ASME B 1.20.1
NPSH American Standard straight pipe threads for loose-fitting mechanical joints for hose couplings ANSI/ASME B 1.20.1
NPTF Dryseal American Standard taper pipe threads ANSI B 1.20.3, 1.20.4
F-PTF Dryseal fine taper pipe thread series ANSI B 1.20.3, 1.20.4
PTF-SAE SHORT Dryseal SAE short taper pipe threads ANSI B 1.20.3, 1.20.4
PTF-SPL SHORT Dryseal special short taper pipe threads ANSI B 1.20.3, 1.20.4
PTF-SPL EXTRA SHORT | Dryseal special extra short taper pipe threads ANSI B 1.20.3, 1.20.4
SPL-PTF Dryseal special taper pipe threads ANSI B 1.20.3, 1.20.4
NPSI Dryseal American Standard intermediate internal straight pipe threads ANSI B 1.20.3, 1.20.4
NPSF Dryseal American Standard fuel internal straight pipe threads ANSI B 1.20.3, 1.20.4
ANPT Aeronautical National Form taper pipe threads MIL-P-7150
NGO National gas outlet threads ANSI B 57.1
NGS National gas straight threads ANSI B 57.1
NGT National gas taper threads ANSI B 57.1
SGT Special gas taper threads ANSI B 57.1
NH Hose coupling and firehose coupling threads USAS B 2.4
NHR Hose coupling and firehose coupling threads USAS B 2.4
NPSH Hose coupling and firehose coupling threads USAS B 2.4
AMO American standard microscope objective threads ANSI B 1.11

Think threads with

YAMAWA

YAMAWA CATALOG




8y =
LIz LINES A
UNS Unified special series BS 1580
B.S.W. British Standard Whitworth coarse threads BS 84
B.S.F British Standard fine threads BS 84
BSP British Standard pipe thread (ISOMR, Rc, Rp, GE%) BS 21,2779
B.A. B.A.-Screw threads BS 93
Acme General purpose, Acme screw threads BS 1104
Buttress Buttress threads BS 1657
BSC Cycle threads BS 811
BSMO Microscope objective threads BS 3569
E Edison screw threads BS 5042
1180 72 =0l QohM Iz =
B =Y
LIDI= LIEZ SEAA
GL Glass containers thread DIN 168
S Buttress thread DIN 513,2781,20401
Rd Knuckle thread DIN 262,3182,7273,15403,20400
w Whitworth-gewinde DIN 168,477,6630,49301
KS,KT Screw siles for packages made of Plastics DIN 6063
E Edison screw thread DIN 40400
Pg Steel conduit thread DIN 40430
Vg Automobil tyre valve thread DIN 7756
Gf Thread for freezing pipes DIN 4930
Gg Threads for drill pipe DIN 4941,20314
HA Thread for bone screws and nuts DIN 58810 JIET=
FG Bicycle threads DIN 79012

X180 72 =0l 2ok 7

2= &2

P YAMAWA

YAMAWA cATALOG 253



RS JIs TAS ISO ANSI BS DIN
LI OtE 37 S84 4051
LI IS 3320] =& it 4053
S E-PN 8830 2197
OIE LEAF B9l M2 4052 2857
= Wl | P B0 T 5969
SHE &4 (0IE 25 LI B4430 4105 529 B94.9 949 352
S &4 (OIE M= LED B4430 4106 529 B94.9 949 2181
SHiC B (Sgt 2E LI E) B4432 4107 529 B94.9 949
SHE EH (S8 HIS LI R) B4438 529 B94.9 949
SHE B (248 Tall LH) B4445 2284 B94.9 949
SHE B (22 HIOIM LEAY B4446 2284 B94.9 949
SHC B (0|= 22 Tl LEA 4113 B94.9
SHE 8 (0I= 22 HIOIH LD 4114 B94.9
ST & (0|= S2H0] &4 2= Tel |LHAD 4115 B94.9
S B4 (01= S210 & 2& HIOITH LEAD 4116 B94.9
HE & (0IH 25 LI B4433 4109 357
HE & (0IE M= LI 4110
HE & (S HS LIt &) 4111 B94.9
HE & (S M= LA 2) 4112
NAE & (0IH 28 LAY 371,376
AIAELEH (OE HIS LI 374
OIHIE & (0IEf 25 LY 4101
OIHIE &4 (0IE M= LAY 4102
OIHIE & (E& 25 LI 8) 4103
OIHIE &4 (B2t M= LI &) 4104
S &3 0 & (DIE LD 4153 2283
S 83 HA & (XN LI 4153 2283
AOIE ZOIE & 4155 B94.9
ATMOIE & 4154 B94.9
& & (DIE] LIAD
JIExE a
=7 e B94.9
TU(E) & B94.9
FZ Y =43 B94.1
LEAH EAF 1S CHIA (DIH 25 LI £ E) B4451 223
LEAF ZAF 1S CHOIA (DI HIS LI £ E) B4451 223
LEAH ZAF 1S THOIA (OIE LEAF S2IE) B4451 2568 1127 223
LEAF BAF S [HO|A (B8 EE LIE XH) B4451
LEAH EAF 1S LA (B8 IS LIS £F) B4451
LEAF E4F &S CHIA (RU 0| LIS £2IE) B4451 2568 1127
LEAF EAF &S CHOIA (28 T LIALS) B4455 4231 1127 5158
LEAH EAF &S CHIA (28 HIOIH LEALS) B4456 4230 5159
LEAF 2AF S2ECHOIA 7226 1127 382
4%z A J|2H
S0 =H EE3H|T ANSI: 0IZ BZ &l
JIS: 22 3H HE T At3 BS: = HZ= &3l
TAS : 8t 3 32 &9l DIN: =& HAYHHT

P YAMAWA

254 YAMAWA CATALOG



29, dk BMtE

® 20| 23 C A0 et 2AK| SHIE

=l e
= ol AT
10mm £ 6t 30 234 3

gag  (ASHE 013 ; 2 | 45N A2
SHttoI= =|80kgf LIOIOH gy 16m 100kgt L1010} = 30kt | o1F skt
2L ATH (1/16in) £ =5 A= AT
HS45N

65 832 - (739) 83.9 - 745 922 81.9 72.0 91 - 65
64 800 - (722) 83.4 - 73.8 91.8 81.1 71.0 88 - 64
63 772 - (705) 82.8 - 73.0 914 80.1 69.9 87 - 63
62 746 - (688) 82.3 - 72.2 91.1 79.3 68.8 85 - 62
61 720 - (670) 81.8 - 715 90.7 78.4 67.7 83 - 61
60 697 - (654) 81.2 - 70.7 90.2 775 66.7 81 - 60
59 674 - (634) 80.7 - 69.9 89.8 76.6 65.5 80 - 59
58 653 - 615 80.1 — 69.2 89.3 75.7 64.3 78 - 58
57 633 - 595 79.6 - 68.5 88.9 74.8 63.2 76 - 57
56 613 - 577 79.0 - 67.7 88.3 73.9 62.0 75 - 56
55 595 - 560 78.5 - 66.9 87.9 73.0 60.9 74 2075 55
54 577 - 543 78.0 - 66.1 87.4 72.0 59.8 72 2015 54
53 560 - 525 77.4 - 65.4 86.9 712 58.6 71 1950 53
52 544 (500) 512 76.8 - 64.6 86.4 70.2 57.4 69 1880 52
51 528 (487) 496 76.3 - 63.8 85.9 69.4 56.1 68 1820 51
50 513 (475) 481 75.9 - 63.1 85.5 68.5 55.0 67 1760 50
49 498 (464) 469 75.2 - 62.1 85.0 67.6 53.8 66 1695 49
48 484 451 455 74.7 - 61.4 84.5 66.7 52.5 64 1635 48
47 471 442 443 74.1 - 60.8 83.9 65.8 51.4 63 1580 47
46 458 432 432 73.6 - 60.0 83.5 64.8 50.3 62 1530 46
45 446 421 421 73.1 - 59.2 83.0 64.0 49.0 60 1480 45
44 434 409 409 725 - 58.5 82.5 63.1 47.8 58 1435 44
43 423 400 400 72.0 — 57.7 82.0 62.2 46.7 57 1385 43
42 412 390 390 715 - 56.9 815 61.3 45.5 56 1340 42
41 402 381 381 70.9 - 56.2 80.9 60.4 44.3 55 1295 41 PIEIN =
40 392 371 371 70.4 - 55.4 80.4 59.5 43.1 54 1250 40
39 382 362 362 69.9 - 54.6 79.9 58.6 41.9 52 1215 39
38 372 353 353 69.4 - 53.8 79.4 57.7 40.8 51 1180 38
37 363 344 344 68.9 - 53.1 78.8 56.8 39.6 50 1160 37
36 354 336 336 68.4 (109.0) 52.3 783 55.9 38.4 49 115 36
35 345 327 327 67.9 (108.5) 515 7.7 55.0 372 48 1080 35
34 336 319 319 67.4 (108.0) 50.8 77.2 54.2 36.1 47 1055 34
33 327 311 311 66.8 (107.5) 50.0 76.6 53.3 34.9 46 1025 33
32 318 301 301 66.3 (107.0) 49.2 76.1 52.1 337 44 1000 32
31 310 294 294 65.8 (106.0) 48.4 75.6 51.3 325 43 980 31
30 302 286 286 65.3 (105.5) 477 75.0 50.4 313 42 950 30
29 294 279 279 64.7 (104.5) 47.0 74.5 49.5 30.1 1 930 29
28 286 271 271 64.3 (104.0) 46.1 73.9 48.6 28.9 a 910 28
27 279 264 264 63.8 (103.0) 45.2 73.3 47.7 27.8 40 880 27
26 272 258 258 63.3 (102.5) 446 72.8 46.8 26.7 38 860 26
25 266 253 253 62.8 (101.5) 43.8 72.2 45.9 255 38 840 25
24 260 247 247 62.4 (101.0) 43.1 716 45.0 243 37 825 24
23 254 243 243 62.0 100.0 42.1 71.0 44.0 23.1 36 805 23
22 248 237 237 61.5 99.0 416 70.5 432 22.0 35 785 22
21 243 231 231 61.0 985 40.9 69.9 42.3 20.7 35 770 21
20 238 226 226 60.5 97.8 40.1 69.4 415 19.6 34 760 20
(18) 230 219 219 - 96.7 - - - - 33 730 (18)
(16) 222 212 212 - 95.5 - - - - 32 705 (16)
(14) 213 203 203 - 93.9 - - - - 31 675 (14)
(12) 204 194 194 - 92.3 - - - - 29 650 (12)
(10) 196 187 187 - 90.7 - - - - 28 620 (10)
(8) 188 179 179 — 89.5 - - - - 27 600 (8)
(6) 180 171 171 - 87.1 - - - - 26 580 ( 6)
(4 173 165 165 - 85.5 - - - - 25 550 (4)
(2 166 158 158 - 83.5 - - - - 24 530 (2
(0 160 152 152 - 81.7 - - - - 24 515 (0)

% 1:1Mpa = 1N/ mm?2

% 2:HS( ) =Xt= JOHK AH2EIX| o= H0IH, 102 LIEHH 21010

0l H= SAE J 41700 238t 24410

P YAMAWA

YAMAWA CATALOG 255



30. QIX|- Ya|0|E| EALE

@ olx - 'E|EI|E1 SHALE

H s

0" O” 228.600
V&l 0.015625" 0.397 25.797 51.197 76.597 101.997 127.397 162.797 178.197 203.597 228.997
Vag 0.03125" 0.794 26.194 51.594 76.994 102.394 127.794 153.194 178.594 203.994 229.394
¥6d' 0.046875" 1.191 26.591 51.991 77.391 102.791 128.191 1563.591 178.991 204.391 229.791
Vie' 0.0625" 1.588 26.988 52.388 77.788 103.188 128.588 153.988 179.388 204.788 230.188
Y6d' 0.078125" 1.984 27.384 52.784 78.184 103.584 128.984 154.384 179.784 205.184 230.584
¥4 0.09375" 2.381 27.781 53.181 78.581 103.981 129.381 154.781 180.181 205.581 230.981
Ved' 0.109375" 2.778 28.178 53.578 78.978 104.378 129.778 165.178 180.578 205.978 231.378
1z 0.125" 3.175 28.575 53.975 79.375 104.775 130.175 155.575 180.975 206.375 231.775
Y6d' 0.140625" 3.572 28.972 54.372 79.772 105.172 130.572 155.972 181.372 206.772 232.172
¥4 0.15625" 3.969 29.369 54.769 80.169 105.569 130.969 156.369 181.769 207.169 232.569
WAL 0.171875" 4.366 29.766 55.166 80.566 105.966 131.366 156.766 182.166 207.566 232.966
Yie' 0.1875" 4.762 30.162 55.562 80.962 106.362 131.762 157.162 182.562 207.962 233.362
%64 0.203125" 5.159 30.559 55.959 81.359 106.759 132.159 157.559 182.959 208.359 233.759
V42! 0.21875" 5.556 30.956 56.356 81.756 107.156 132.556 157.956 183.356 208.756 234.156
544 0.234375" 5.953 31.353 56.753 82.153 107.553 132.958 158.353 183.753 209.153 234.553
14 0.25" 6.350 31.750 57.150 82.550 107.950 133.350 158.750 184.150 209.550 234.950
e 0.265625" 6.747 32.147 57.547 82.947 108.347 133.747 159.147 184.547 209.947 235.347
Y47 0.28125" 7.144 32.544 57.944 83.344 108.744 134.144 169.544 184.944 210.344 235.744
964 0.296875" 7.541 32.941 58.341 83.741 109.141 134.541 159.941 185.341 210.741 236.141
¥ie' 0.3125" 7.938 33.338 58.738 84.138 109.538 134.938 160.338 185.738 211.138 236.538
264" 0.328125" 8.334 33.734 59.134 84.534 109.934 135.334 160.734 186.134 211.534 236.934
Bz 0.34375" 8.731 34.131 59.531 84.931 110.331 135.731 161.131 186.531 211.931 237.331
244 0.359375" 9.128 34.528 59.928 85.328 110.728 136.128 161.528 186.928 212.328 237.728
¥ 0.375" 9.525 34.925 60.325 85.725 111.125 136.525 161.925 187.325 212.725 238.125
244 0.390625" 9.922 35.322 60.722 86.122 111.522 136.922 162.322 187.722 213.122 238.522
1347 0.40625" 10.319 35.719 61.119 86.519 111.919 137.319 162.719 188.119 213.519 238.919
264 0.421875" 10.716 36.116 61.516 86.916 112.316 137.716 163.116 188.516 213.916 239.316
Vi 0.4375" 11.112 36.512 61.912 87.312 112.712 138.112 163.512 188.912 214.312 239.712
. 2964 0.453125" 11.509 36.909 62.309 87.709 113.109 138.509 163.909 189.309 214.709 240.109
PIESIN (= Pz 0.46875" 11.906 37.306 62.706 88.106 113.506 138.906 164.306 189.706 215.106 240.506
364 0.484375" 12.303 37.703 63.103 88.503 113.903 139.303 164.703 190.103 215.503 240.903
iz 0.5" 12.700 38.100 63.500 88.900 114.300 139.700 165.100 190.500 215.900 241.300
354 0.515625" 13.097 38.497 63.897 89.297 114.697 140.097 165.497 190.897 216.297 241.697
Rz 0.53125" 13.494 38.894 64.294 89.694 115.094 140.494 165.894 191.294 216.694 242.094
3544 0.546875" 13.891 39.291 64.691 90.091 115.491 140.891 166.291 191.691 217.091 242.491
¥4 0.5625" 14.288 39.688 65.088 90.488 115.888 141.288 166.688 192.088 217.488 242.888
364 0.578125" 14.684 40.084 65.484 90.884 116.284 141.684 167.084 192.484 217.884 243.284
942 0.59375" 15.081 40.481 65.881 91.281 116.681 142.081 167.481 192.881 218.281 243.681
3964 0.609375" 15.478 40.878 66.278 91.678 117.078 142.478 167.878 193.278 218.678 244.078
G 0.625" 15.875 41.275 66.675 92.075 117.475 142.875 168.275 193.675 219.075 244.475
B2 0.640625" 16.272 41.672 67.072 92.472 117.872 143.272 168.672 194.072 219.472 244.872
% 0.65625" 16.669 42.069 67.469 92.869 118.269 143.669 169.069 194.469 219.869 245.269
464 0.671875" 17.066 42.466 67.866 93.266 118.666 144.066 169.466 194.866 220.266 245.666
e 0.6875" 17.462 42.862 68.262 93.662 119.062 144.462 169.862 195.262 220.662 246.062
ez 0.703125" 17.859 43.259 68.659 94.059 119.459 144.859 170.259 195.659 221.059 246.459
248 0.71875" 18.256 43.656 69.056 94.456 119.856 145.256 170.656 196.056 221.456 246.856
L 0.734375" 18.653 44.053 69.453 94.853 120.253 145.653 171.053 196.453 221.853 247.253
i 0.75" 19.050 44.450 69.850 95.250 120.650 146.050 171.450 196.850 222.250 247.650
2 0.765625" 19.447 44.847 70.247 95.647 121.047 146.447 171.847 197.247 222.647 248.047
548 0.78125" 19.844 45.244 70.644 96.044 121.444 146.844 172.244 197.644 223.044 248.444
564" 0.796875" 20.241 45.641 71.041 96.441 121.841 147.241 172.641 198.041 223.441 248.841
e 0.8125" 20.638 46.038 71.438 96.838 122.238 147.638 173.038 198.438 223.838 249.238
5964 0.828125" 21.034 46.434 71.834 97.234 122.634 148.034 173.434 198.834 224.234 249.634
27/2 0.84375" 21.431 46.831 72.231 97.631 123.031 148.431 173.831 199.231 224.631 250.031
5964 0.859375" 21.828 47.228 72.628 98.028 123.428 148.828 174.228 199.628 225.028 250.428
3 0.875" 22.225 47.625 73.025 98.425 123.825 149.225 174.625 200.025 225.425 250.825
RZ 0.890625" 22.622 48.022 73.422 98.822 124.222 149.622 175.022 200.422 225.822 251.222
2 0.90625" 23.019 48.419 73.819 99.219 124.619 150.019 175.419 200.819 226.219 251.619
5964 0.921875" 23.416 48.816 74.216 99.616 125.016 150.416 175.816 201.216 226.616 252.016
54! 0.9375" 23.812 49.212 74.612 100.012 125.412 150.812 176.212 201.612 227.012 252.412
564" 0.953125" 24.209 49.609 75.009 100.409 125.809 151.209 176.609 202.009 227.409 252.809
Bz 0.96875" 24.606 50.006 75.406 100.806 126.206 151.606 177.006 202.406 227.806 253.206
5364 0.984375" 25.003 50.403 75.803 101.203 126.603 152.003 177.403 202.803 228.203 253.603

P YAMAWA

256 YAMAWA CATALOG






IATH & & == J1=

INAHREE | MEAT S10C 0.08~0.13 | 0.15~0.35 | 0.30~0.60 0.030= 0.035= - - -
EES
S15C 0.13~0.18 | 0.15~0.35 | 0.30~0.60 0.030= 0.035= - - -
$20C 0.18~0.23 | 0.15~0.35 | 0.30~0.60 0.030= 0.035= - - -
SEAY S25C 0.22~0.28 | 0.15~0.35 | 0.30~0.60 0.030= 0.035= - - -
S35C 0.32~0.38 | 0.15~0.35 | 0.60~0.90 0.030= 0.035= - - -
S45C 0.42~0.48 | 0.15~0.35 | 0.60~0.90 0.030= 0.035= - - -
TEAZE
S48C 0.45~0.51 | 0.15~0.35 | 0.60~0.90 0.030= 0.035= - - -
S55C 0.52~0.58 | 0.15~0.35 | 0.60~0.90 0.030= 0.035= - - -
S58C 0.55~0.61 | 0.15~0.35 | 0.60~0.90 0.030= 0.035= - - -
JIHZEE | 3= SCM415 0.13~0.18 | 0.15~0.35 | 0.60~0.90 0.030= 0.030= 0.252 0.90~1.20 | 0.15~0.25
St JF EEJR:IEH A3
HOoo = e
SCM418 0.16~0.21 | 0.15~0.35 | 0.60~0.90 0.030= 0.030= 0.252 0.90~1.20 | 0.15~0.25
SCM420 0.18~0.23 | 0.15~0.35 | 0.60~0.90 0.0302 0.030= 0.25= 0.90~1.20 | 0.15~0.25
. SCM430 0.28~0.33 | 0.15~0.35 | 0.60~0.90 0.0302 0.030= 0.252 0.90~1.20 | 0.15~0.30
JIEX=E
SCM435 0.33~0.38 | 0.15~0.35 | 0.60~0.90 0.0302 0.030= 0.252 0.90~1.20 | 0.15~0.30
SCM440 0.38~0.43 | 0.15~0.35 | 0.60~0.90 0.0302 0.030= 0.252 0.90~1.20 | 0.15~0.30
SCM445 0.43~0.48 | 0.15~0.35 | 0.60~0.90 0.0302 0.030= 0.252 0.90~1.20 | 0.15~0.30
Lz 3agz SNC236 0.32~0.40 | 0.15~0.35 | 0.50~0.90 0.030= 0.030= 1.00~1.50 | 0.50~0.90 -
SNC415 0.12~0.18 | 0.15~0.35 | 0.35~0.65 0.0302 0.030= 2.00~2.50 | 0.20~0.50 -
SNC631 0.27~0.35 | 0.15~0.35 | 0.35~0.65 0.0302 0.030= 2.50~3.00 | 0.60~1.00 -
SNC815 0.12~0.18 | 0.15~0.35 | 0.35~0.65 0.0302 0.030= 3.00~3.50 | 0.60~1.00 -
A=Y SCr415 0.13~0.18 | 0.15~0.35 | 0.60~0.90 0.030= 0.030= 0.252 0.90~1.20 -
SCr420 0.18~0.23 | 0.15~0.35 | 0.60~0.90 0.0302 0.030= 0.252 0.90~1.20 -
SCra30 0.28~0.33 | 0.15~0.35 | 0.60~0.90 0.0302 0.030= 0.252 0.90~1.20 -
SCra40 0.38~0.43 | 0.15~0.35 | 0.60~0.90 0.030= 0.030= 0.252 0.90~1.20 -
Lz 3=
=0|gnzt o —~ ~ > >
=d|5HHZ SNCM220 | 0.17~0.23 | 0.15~0.35 | 0.60~0.90 0.030= 0.030= 0.40~0.70 | 0.40~0.60 | 0.15~0.25
SNCM240 | 0.38~0.43 | 0.15~0.35 | 0.70~1.00 0.030= 0.030= 0.40~0.70 | 0.40~0.60 | 0.15~0.30
SNCM420 | 0.17~0.23 | 0.15~0.35 | 0.40~0.70 0.030= 0.030= 1.60~2.00 | 0.40~0.60 | 0.15~0.30
SNCM439 | 0.36~0.43 | 0.15~0.35 | 0.60~0.90 0.030= 0.030= 1.60~2.00 | 0.60~1.00 | 0.15~0.30

P YAMAWA

258 YAMAWA cATALOG




31. LM =&

AlgH I HE g2

— - - - - 314= 109~156 HB 900~950C S
- - - - - 373= 111~167 HB 880~930C=H
- - - - - 402= 116~174 HB 870~920C=H
- - - - - 441= 123~183 HB 860~910C 3
510= 149~207 HB 840~890TC 3
569= 167~235 HB 840~890TC & - 550~650=H
569= 167~229 HB 820~870C=H
686= 201~269 HB 820~870TC = - 550~650=2
608= 179~235 HB 810~860C S
735 212~277 HB 810~860TC =& - 550~650= 2
647= 183~255 HB 800~850C 3
785= 229~285 HB 800~850TC = - 550~650=H
647= 183~255 HB 800~850C S
785= 229~285 HB 800~850TC = - 550~650=2
- - - - - 834= 235~321 HB
1Xt 850~900TC R
- - - - - 883=< 248~331 HB 2%+ 800~850C R
150~200C S
- - - - - 932= 262~352 HB
_ _ — - - 834= 241~302 HB JiexE
=
- - - - - 932= 269~331 HB
830~880TC =4 - 530~630=H
- - - - - 980.7= 285~352 HB
- - - - - 1030= 302~363 HB
- - - - - 736= 217~277 HB 820~880TC 7 - 550~650=
—_ 235341 HB 1X} 850~900TC R
= 2%t 740~790C =4 - 150~200C S&
— — - - - 834= 248~302 HB 820~880TC R - 550~650 =&
980.7= 285~388 HB 141 830~830C 33
T 2%t 750~800C S - 150~200 5
- - - - - 785= 217~302 HB | 41} 850~900C R
_ _ _ _ _ 834< 235~321 HB 2X+ 800~850C R - 150~200 =2
- - - - - 785 229~293 HB
830~880TC R - 520~6205
- - - - - 932= 269~331 HB
34 pa8~341 HB 1Xt 850~900C R
= 2%} 800~850C R - 150~200C S
— - - - - 883= 255~311 HB 820~870TC =4 - 580~680=
980.7= 293~375 HB 1% 850~900C 33
T 2%t 770~820T 8 - 150~200C S
- - - - - 980.7= 293~352 HB 820~870TC 7 - 580~680=2

P YAMAWA

YAMAWA cATALOG 259



IATH & & =2Ti= J1=

gﬂlg;:;fg é%éﬂfg SNCM625 | 0.20~0.30 | 0.15~0.35 | 0.35~0.60 | 0.030 0.030Z | 3.00~ 350| 1.00~ 1.50 | 0.15~0.30
SNCM630 | 0.25~0.35 | 0.15~0.35 | 0.35~0.60 | 0.030Z 0030 | 2.50~ 3.50 | 2.50~ 3.50 | 0.50~0.70
SNCM815 | 0.12~0.18 | 0.15~0.35 | 0.30~0.60 | 0.030Z 0.030Z | 4.00~ 4.50 | 0.70~ 1.00| 0.15~0.30
ERE I = Sk2 115~125 | 010~035 | 0.10~0.50 | 0.030Z 0.0302 - - -
==kl
SKa 0.90~1.00 | 0.10~0.35 | 0.10~0.50 | 0.030= 0.0302 - - -
SK6 0.70~0.80 | 0.10~0.35 | 0.10~0.50 | 0.030= 0.0302 - - -
8=, SKS11 1.20~1.30 0352 0.50= 0.0302 0.0302 - 0.20~ 0.50 =
=Pl
SKS51 0.75~0.85 0352 0.50= 0.0302 0.030Z | 1.30~ 2.00| 0.20~ 0.50 =
SKs4 0.45~0.55 0352 050 0.0302 0.0302 - 0.50~ 1.00 =
SKs3 0.90~1.00 0352 0.90~1.20 | 0.030Z 0.0302 - 0.50~ 1.00 =
SKS94 0.90~1.00 050 0.80~1.10 | 0.030Z 0.0302 - 0.20~ 0.60 =
SKD11 1.40~1.60 0.402 0.60= 0.0302 0.0302 - 11.00~13.00 | 0.80~1.20
SKD61 0.35~0.42 | 0.80~120 | 0.25~050 | 0.030= 0.0202 - 4.80~ 550 | 1.00~1.50
SKT3 0.50~0.60 0352 0.60~1.00 | 00302 0.020= | 025~ 0.60| 0.90~ 1.20 | 0.30~0.50
SKT4 0.50~0.60 | 0.10~0.40 | 0.60~0.90 | 0.030= 0.020= | 1.50~ 1.80 | 0.80~ 1.20 | 0.35~0.55
LAHHAZ %gEﬂ LIOIE | susso1 0.152 1.002 2,002 0.0452 0.0302 6.00~ 8.00 | 16.00~18.00 -
g|
SUS303 0152 1.002 2.002 0.202 0.15= 8.00~10.00 | 17.00~19.00 -
JIEX=E
SUS304 0.082 1.002 2.002 0.0452 0.030Z | 8.00~10.50 | 18.00~20.00 -
SUS316 0.082 1.002 2.002 0.0452 0.030Z | 10.00~14.00 | 16.00~18.00 | 2.00~3.00
%lgal AHOIE | sus403 0.152 0.50= 1.002 0.040= 0.0302 - 11.50~13.00 -
- SUS416 0152 1.002 1.252 0.0602 0.15= - 12.00~14.00 -
SUS420J2 | 0.26~0.40 1.002 1.002 0.0402 0.0302 - 12.00~14.00 -
SUS440C | 0.95~1.20 1.002 1.002 0.0402 0.0302 - 16.00~18.00 -
HIZHOIE A2 | sus4so 0.122 0752 1.002 0.0402 0.0302 - 16.00~18.00 -
HE B2 HE | guseao 0.072 1.002 1.002 0.0402 00302 | 3.00~ 5.00 | 15.00~17.50 -
=& e SC360 0.202 - - 0.0402 0.0402 - - -
==
SC410 0302 - - 0.0402 0.040 - - -
SC450 0352 - - 0.0402 0.040 - - -
SC480 0.402 - - 0.0402 0.040 - - -
ZH= SCS13 0.082 2.002 2,002 0.0402 0.0402 8.00~11.00 | 18.00~21.00 -
=2
scs14 0.082 2002 2.002 0.0402 0.040Z | 10.00~14.00 | 17.00~20.00 | 2.00~3.00
12 1UE 72 | soPH1 0252 0.602 0.702 0.0402 0.040 - - -
SCPH2 0302 0.60 1.002 0.0402 0.040 - - -
SCPH21 0.202 0.602 050~0.80 | 0.040Z 0.040 - 1.00~ 150 | 0.45~0.65
SCPH32 0.202 0.602 0.50~0.80 | 0.040Z 0.040 - 2.00~ 2.75 | 0.90~1.20
EBALE 3T | sowas0 0.222 0.802 1502 0.0402 0,040 0.502 0502 -

P YAMAWA

260 vAvAWA cATALOG



31. LM =&

HO| S| &

- - - - 932= 269~321 HB 820~870CRd - 570~670 =
- - - - 1079= 302~352 HB 850~950CSd - 550~650 5
- - - - 1079= 311~375 HB 1R 830~8800 7
2% 750~800C R - 150~200CSd
- - - - - 212HB = 750~780C A&
- - - - - 207 HB = 740~760C A&
- - - - - 201 HB =< 730~760C A&
3.00~4.00 | 0.10~0.30 - - - 241 HB = 780~850C A&
- - - - - 207HB = 750~800C A&
0.50~1.00 - - - - 201 HB = 740~780TC M
0.50~1.00 - - - - 217HB = 750~800TC M
- - - - - 212HB = 740~760C A&
- 0.20~0.50 - - - 255 HB = 830~880TC A&
- 0.80~1.15 - - - 229 HB = 820~870C M
- - - - - 235HB = 760~810C A&
- 0.05~0.15 - - - 241 HB = 740~800T M
_ - - - 520=< 187 HB <
_ - - - 520=< 187 HB <
1010~1150C =
_ - - - 520=< 187 HB <
_ - - - 520=< 187 HB <
- - - - - 200 HB =
- - - - - 200HB = 800~900C MY
- - - - - 235 HB =
- - - - - 269 HB = 800~920C M
- - - - 451= 183 HB = 780~850C 3
- - 3.00~5.00 | Nb0.15~0.45 - 363 HB = 1020~1060C S &
- - - - 363= -
- - B - 412= - OB ILHOAL, DESILZEAL,
_ _ _ _ 451< _ F=, OBILLEII OB IR E A HE
- - - - 481= -
_ _ - - 440= 183 HB =
1030~1150C =&
_ _ - - 480= 183 HB =<
- - - - 412 -
- - - - 481= -
- - - - 481= - OBILIOEAL, OFILE2EAL
~ ~ ~ ~ PP ~ T, OILLEII OBIREA HE
- - - - 480= -

Think threads with

YAMAWA

YAMAWA CATALOG

JIEX=

261



JIEXIE

262

31. DAY M E

FC150 - - — - - - -
FC200 - - — - - - -
FC250 - - — - - - -
FC300 - - - - - - -
FC350 - - - - - - -
%%' ;;Eg §§ =0 FCD400 252 - - — 0022 - —
FCD450 252 - - - 0.022 - -
FCD500 252 - - - 0.022 - -
FCD600 252 - - - 0.022 - -
FCD700 252 - - - 0.022 - -
VEA IE HINE Z SuJ2 0.95~1.10 | 0.15~0.35 0.50= 0.0252 0.0252 1.30~1.60 -
SuJ3 0.95~1.10 | 0.40~0.70 | 0.90~1.15 0.025= 0.0252 0.90~1.20 -
SuJ4 0.95~1.10 | 0.15~0.35 0.50= 0.025= 0.0252 1.30~1.60 | 0.10~0.25
SUJs 0.95~1.10 | 0.40~0.70 | 0.90~1.15 0.025= 0.0252 0.90~1.20 | 0.10~0.25
R . 2 S Ay SUM22 0.132 — 0.70~1.00 | 0.07~0.12 | 0.24~0.33 - -
SUM22L 0.132 - 0.70~1.00 | 0.07~0.12 | 0.24~0.33 - -
SUM31 0.14~0.20 - 1.00~1.30 0.040= 0.08~0.13 - -
SUMBIL | 0.14~0.20 - 1.00~1.30 0.040= 0.08~0.13 - -
SUM42 0.37~0.45 - 1.35~1.65 0.0402 0.08~0.13 - -
Qe X2 24 LT SS330 - — - 0.050= 0.0502 - -
$S400 - - - 0.050= 0.050= - -
$5490 - - - 0.050= 0.050= - -
$S540 0.302 - 1.602 0.0402 0.040= - -
a2t 2 SPCC 0.15= - 0.60= 0.1002 0.0352 - -
SPCD 0.102 - 0.50= 0.040= 0.0352 - -
SPCE 0.082 - 0.45= 0.0302 0.0302 - -

Think threads with

YAMAWA

YAMAWA CATALOG



31. DA =28
= & P
| w [ v ] pe | cu [ JIE SEAEEE SRS

- - - 127~186 210~241 HB
_ - - 167~235 217~255 HB
- - - 216~275 229~269 HB -
- - - 265~304 248~269 HB
- - - 314~343 269~277 HB
- - - 392= 201 HB =
- - - 441= 143~217 HB
- - - 490= 170~241 HB -
- - - 588= 192~269 HB
- - - 686= 229~302 HB
_ _ - - 201 HB =
_ _ - - 207 HB =

JASHOEILIOA
_ _ - - 201 HB =
_ _ - - 207 HB =

0.10~0.35 - -
0.10~0.35 - - oLt

- - - 330~430
- - - 400~510
- - - 490~610 - -
- - - 540=
- — - 270= 65 HRB = TEIZ0 M2t BEXE0 B2 |

P YAMAWA

YAMAWA CATALOG 263



__cu_ ] Pb ]

S E%)

I B 7 N T N R B T

£ e c1020 | 99.96= -
HINXIS | cfi00 | 99.90= - - - - - - - - -
QIEHMS C1201 99.90= — - - - - - - 0.004~0.015 —
c1221 99.75< — — - — — — — 0.004~0.040 —
gs gs C2600 |685~715| 0052 | 0052 - =] - - — - -
C2720 |62.0~64.0| 0.05= 0.05= - N - - - - -
2801 59.0~62.0| 0.10= 0.07= - N - - - - -
UESES C3560 |61.0~64.0| 2.0~3.0 | 0.10= - e - — - - -
C3713 | 58.0~62.0| 1.0~2.0 0.10= - e - - - - -
8532 CAC201 |830~880| 052 022 01z [11.0~17.0| o02= — 022 - —
CAC203 |58.0~64.0| 0.5~3.0 0.8 1.0=  [30.0~410| o052 — 1.02 — —
85%2 CAC401 |79.0~83.0| 3.0~7.0 | 035 | 2.0~4.0 | 8.0~12.0 — - 1.02 - —
CAC403 |86.5~89.5| 1.0= 022 9.0~11.0 | 1.0~3.0 — — 1.02 — —
CAC406 |83.0~87.0| 4.0~6.0 0.3 4.0~6.0 | 4.0~6.0 — — 1.02 — —
2= 20l= A1080
2= 2ATH 0.03= — 0.15= - 0.032 99.80= 0.022 - — 0.15=
A1080-H16
A2017
3.5~4.5 - 0.7z - 0.25= = 0.40~1.0 - - 0.20~0.8
N A2017-T3
JIEX=E
A3003
0.05~0.20 - 0.7z - 0.10= = 1.0~1.5 - — 0.6
A3003-H16
A5052
0.10= — 0.4z - 0.102 = 0.10= — - 0252
A5052-H16
A6061
0.15~0.40 . 0.7z - 0.25= = 0.15= - — 0.40~0.8
A6061-T6
A7075
1.2~2.0 - 0.50= - 5.1~6.1 = 0.30= - — 0.402
A7075-T6
20l= AC2A-F
S=FE 3.0~45 0152 0.8 0.05= 0.55= = 0.55= 0.302 - 4.0~6.0
AC2A-T6
AC2B-F
2.0~4.0 0.20= 1.02 0.10= 1.02 = 0.50= 0.352 — 5.0~7.0
AC2B-T6
AC4B-F
2.0~4.0 0.20= 1.0= 0.10= 1.02 = 0.50= 0.352 - 7.0~10.0
AC4B-T6
AC4C-F
0.20= 0.052 0.50= 0.05= 0.302 =] 0.60= 0.05= - 6.5~7.5
ACA4C-T6
20525 | Apcio | 2.0~40 | 022 132 022 1.02 e 052 052 — 75~95
CHOIHAE
ADC12 15~35 022 132 0.2z 1.0= = 052 052 - 9.6~12.0

P YAMAWA

264 vavAwA cATALOG




31. LM =8

AIgHO| J|H A 82

BE AEol B2 S

P YAMAWA

YAMAWA CATALOG

- - - - 215~275 55~100 HV C1020P-/zH 9| (il
- - - - 215~275 55~100 HV C1100P-/zH O] (il
- - - - 215~275 55~100 HV C1201P-/zH O] (il
- - - - 215~275 55~100 HV Cc1221P-/H O] (il
- - - - 325~410 75~125 HV C2600P-/2H O] 0l
- - - - 325~410 75~125 HV C2720P-/H O (il
- - - - 355~440 85~145 HV C2801P-/ZH O (il
- - - - 345~430 - C3560P-1/zH 9| (il
- - - - 375~460 - C3713P-/4H 9| (il
- - - - 147= -
- - - - 245= -
- - - ExS202 167= -
- - - Ex21.02 245 - -
- - - ExS202 196= -
54~94 - ENEIGEER)]
0.022 - 0.032 -
98~137 - SXEM
2162 - ENBEIGER)]
0.40~0.8 | 0.10= 0.152 015 - —
373= - et SXel, NESS 02l .
JIEX=
94~127 - EREIGEER)!
_ _ - 015
167~206 - SEXEM
177~216 - ENBEIGER)]
22~28 |0.15~0.35 - 015
255~304 - SEEM
1472 - EREIGER)]
0.8~1.2 |0.04~0.35| 0.152 - - - 015 — —
204= - 59t SMel, NESS0H2]
2752 - ENRBEIGER)]
21~29 |0.18~0.28| 0.20= - - - 015 — —
530= - et SMel, NES0H2]
186= 9f 75 HB Z=AHH
0.252 0152 0.202 - —
275= 9F 90 HB EHE=E, 2l
157= 9F 70 HB F=AHH
0.50= 0.202 0.202 - —
245 9F 90 HB EHE=E, 8l
1772 QF 80 HB Z=AHH
0.50= 0.202 0.202 - —
245 9 100 HB EHletd=%, 8l
157= oF 55 HB T ALEY
0.2~0.4 - 0.202 -
206 9F 85 HB EHletd=%, 8l
0.3 - 0.3 -
0.3 - 0.3 -

265



JIEXIE

266

0x
M

31. DA &

FE

AR =T =T 1=

0] G =S | B = MC1-F 0.10= - - - 25~35 | 53~6.7 | 0.15~06 | 001= 0.302
2= SI=ZE
MC1-T6 - — — - — - - - —
MC3-F 0.10= — — - 1.6~24 | 83~9.7 | 0.10~05 | 001= 0.302
MC3-T6 - — — - — - - - —
MC6-T5 | 0.10= — — - 3.6~5.5 - - 0.01= —
E’EHE%“AE MDC1A | 0.10= — — - 0.35~1.0 | 83~9.7 | 0.15= 0.032 0.50=
[= =]
MDC1B | 0.35Z — 0.032 - 0.35~1.0 | 83~9.7 | 0.13~0.5 | 0.03= 0.50=
Oriel= |orge= ZDC1  |0.75~125| 0.005= | 0.10= | 0.003= T 3.5~43 - - -
CHOIAIAE
ZDC2 0.25= 0.005= 0.102 0.003= P 3.5~4.3 - - -
B iAo ERR 7=
=Es |2 =Es |2
ASB==XI ASB SC0E HZEY Q! PETP
OLMIE =X POM SC0E HH ZEH01E PBTP
HE=E 2T PMMA Zd| 0IE PI
OHE REZRA CA Zd M= SA0I1E PPO
HEZt ES22H0IE HIEE =X PTFE Zd N2 2I01E PPS
Ef| Z222101= M2 =X PCTEF = PASF
AL E222H01E HIEH X PFEP Zd| OFEZIOIE PAR
ES20IE(EA) HIE 2T PVF 0 I=Zdl PP
E2QL0IE(EA) HIZ2E 4T PVDF =c| AR PS
HZ HEZL 222210/ HIZd RZ2IH ETFE R PSF
Or0I2 =M 10 FAHHIE 2T PVAC
HE HH Z2H MPP HiZ2 2|8 S22H0IE 8L PVDC
A2 (2] 0H0IE) PA ASZT| SAN
Z2FHEUI0IE PC Aot HIE &K PVC
EELIEED PE
SOAYE £XZ2= JHE6HH 2 E S2H EXF BEHYX D 1R dH0IEUL, HE 28 1 Eg IitH s2&= 412 UL
HE S0, E22AEH (PS)2 420 M= SZELILIE 80 CELH HEE0l M6tt1, 110 °CED SHH0I DT, 170°COIM0ILH B& H&H gao2 UL
012+ Z0l 20l olgt Aot 2XIE SItAN STt IEHLIC

P YAMAWA

YAMAWA CATALOG




4

)
=
Bl
- BEINE
o ) )
m o ol
Rl <] {0k {0k
0| = o A gl
| v IR R R
= H <0 @ <0 @ =
= K= |K = | H
= KE | 00 | KF | 00 | ol
o
THr
il
]
LI
T H
KH | RO
=]
H o
SO Vi | Vi | v | v | v
PR N | 2 5| 3|8
W._/W — [aY} — [aY} [3Y
mj
™
g4
bel
&1 ! 188
o o
N
>
“ |
&
\%/ N
IH 2
RUNIN] | Ll
jof 3
I IS
“ |
m |
S| 8
= S| 5|99
Slrvmvga=ad|d
S| 38
o o

m EFsgK|e ERS 72

Y=

Y=

od
[ B o W s |
a|Dln|la

=

<k

1|

fiw)

<l

=

o | < | W
= | H(<F| &S
A_'HW«_.:._O_'
AU EH A | g
=

o
R
= =A==
SEUR | <E[<F]<F
uliHisia| =
R R
ol | = | OF| &l | S

= 80°CETIM It

* AL T

Think threads with

X YAMAWA

267

YAMAWA CATALOG



Ly
oo

32, AiEXl=2}

mAEME
ST M2 AME J(HEOH OfeH ZRE[DE SAl= A o2 HAF 2|10 LB I Z 2| *{Ent HTAE AHl&ol LHELICt S|
AESIIRU = BEHQ| SXk= CHS ot Z2&LICH
(1) & e HSS(GH0IA) - SKH58. SKH51. SKH56
t SIr501 % (SKH10. 5101 HILIS 8101 THE Tha
X4 X0IZXH HAE FHHI0IE
(@ CHolA L e HSS(BH0[A) - SKH51, SKH56
ool =TI SKS2, SKS21. SKS3. SKS31
GUHESZ W HHEE———— o« HSS(6101A) - SKH51. SKH56
t S95H0lA  (SKH10, Ot0] HILIE 6H0| Z2E T
eXA FOIEX EAE FHHI0IE
X HE S2 Aoll, (IS0l HEE £ JAsUTH

m 270 58
JIETk=

A2 22Ol At Aol @710] CHEsto] 22| M=o Ciet AEYE, LHEY, Lot Y, LiAld S HAUE SO 2
Holst UAGLICH B SHHO 2= MAREA] O M = Ate] ZHIHQI 2 R0] 2fshA delst Folet 8l 7ks AlZte| HES
U= 7ISHOZ 1 A XHA|ZHHH L = FMIQLICE of2{3t Helof| w2t 2F MZ Tt A} El= ZE0| B, 713
Bk Bt 2 JAELcH
[, 718301 AFZEl=E STl THollM =, B ZHO|A = Lot S0t LIX| 2 eFedo] 271&H, 7t8 Y2 = ZHOM=
Znt WU SHt0| Q7| 1, JFSA|IZE TS EHOM = SEA S 14 BAO| @& 11 UM, Holst 8l Folst XH
37 7Y (HYY), LOtEY, LXIEE 2 2ol Betel A21-0| @710 ASLICH
O|ME CrAet 3710l thiet QT E SFAIZ17| 2f6H AFRElE STEE 7|22] T2t H BI0| MZ2 Aoz Tekstn
OIAL_||:|-

OHfel MzZ = fl0iM HHE HFE H SZ0| AFZE| 1 ASLICHE, Sixll= 7|1ES| &3 370 14378, 12
Ml 52

XEE 2R NE R HSSED JUEL|CE

EESH NEZ T YT SKH20IMSE] SKH51, SKH587HA| T =2 HiLt& (V)OILt, 2 E (Co)A| = 50| HiLES 10|
i%*_ﬁlgl

2 5l0|A = Bkt QELICE

OEfolﬁgl Mz2= ZH Co|ATL £R SES7L0| CHREES KIX[SHD JAASLICHE,

HAITHO]| TSl M= D453 T2 2 B0 HHP| 1 ST
OMIE =2 Sl HEZ S| MR 2= 14 S740| F XH=0|H, dixi= SKH510{|AM ILUEAZ Half 7ta JASLICH

LSt XHYF L= HHl= AT USLICH
Otz 20|, 7t= M= A S+ XHE7f Ao 5t 0N, 7| BE BT SEULZEE= =25 TEEAZ = g7 W20,
Ve, XFEO| 248 HFE H0[FHt SS2Z S0t MESH UASLICE

Think threads with

DX YAMAWA

YAMAWA CATALOG

268




32. MEM= 2}

=5F
S o

oSk Hop
-
_ -—---—-—-
W)”o:' é ";_ " SKH 2 0.73~0.83 =0.45 =0.030 =0.030 3.80~4.50 17.20~18.70| 1.00~1.20
SKH 3 0.73~0.83 =0.45 =04 =0.030 =0.030 3.80~4.50 17.00~19.00| 0.80~1.20 | 4.50~ 5.50
SKH 4 0.73~0.83 =0.45 =<0.4 =0.030 =<0.030 3.80~4.50 17.00~19.00| 1.00~1.50 | 9.00~11.00
SKH10 1.45~1.60 =0.45 =04 =0.030 =0.030 3.80~4.50 11.50~13.50 | 4.20~5.20 | 4.20~ 5.20
MO):”%' J_l_é _;,__—'1_%)}. SKH51 0.80~0.88| =0.45 0.4 <0.030 <0.030 3.80~4.50 | 4.70~ 5.20| 5.90~ 6.70| 1.70~2.10 —
SKH52 1.00~1.10 =0.45 =<0.4 =0.030 =0.030 3.80~4.50 | 5.50~ 6.50| 5.90~ 6.70| 2.30~2.80 —
SKH53 1.15~1.25 =0.45 =0.4 =0.030 =0.030 3.80~4.50 | 4.70~ 5.20| 5.90~ 6.70| 2.70~3.20 —
SKH54 1.25~1.40 =0.45 =<0.4 =0.030 =0.030 3.80~4.50 | 4.20~ 5.00| 5.20~ 6.00| 3.70~4.20 —
SKH55 0.87~0.95 =0.45 =04 =0.030 =0.030 3.80~4.50 | 4.70~ 5.20| 5.90~ 6.70| 1.70~2.10 | 4.50~ 5.00
SKH56 0.85~0.95 =0.45 0.4 <0.030 <0.030 3.80~4.50 | 4.70~ 5.20| 5.90~ 6.70| 1.70~2.10 | 7.00~ 9.00
SKH57 1.20~1.35 =0.45 =<0.4 =0.030 =0.030 3.80~4.50 | 3.20~ 3.90| 9.00~10.00| 3.00~3.50 {9.50~10.50
SKH58 0.95~1.05 =0.7 =04 =0.030 =0.030 3.50~4.50 | 8.20~ 9.20| 1.50~ 2.10| 1.70~2.20 —
SKH59 1.05~1.15 =0.7 =<0.4 =<0.030 =<0.030 3.50~4.50 | 9.00~10.00| 1.20~ 1.90| 0.90~1.30 | 7.50~ 8.50
o = 2915 HI=Z9l JI=et Hlw
- =" __As | woEH | 50 |
WHS T 22 SkH 2 | 2 BAZ J|E 2453 T1 $18-0-1 $1(HS18-0-1)
SkH 3 | & ZSEAME B LSS T4 $18-1-2-5 | S7(HS18-1-1-5)
SKH 4 | HATH BAE JIEE HESH TS5 §18-1-2-10 | $6 (HS18-0-1-10)
SkH10 | JHATH ZAZ JIEH 2855 T15 - S9(HS12-1-5-5)
MoHlg 11 332 SKH51 OIME ERE otz L EMAZ JIEHAESE M 2 $6-5-2 S4(HS6-5-2)
SKH52 M 3-1 — —
HM QI8 E HRZE ot 18T ZA4E JIEt HESH
SKH53 M 3-2 S6-5-3 S5(HS6-5-3)
SKH54 | HAMTH BAMZ JIEH ZESH M 4 - -
SKH55 M35 $6-5-2-5 S8(HS6-5-2-5
HIDA 0INS HRZ ol 15 SEME J|EH2UAESH ( )
SKH56 M36 - -
SkHs7 | JHATH ZAZ JIEH 285 - $10-4-3-10 | S10(HS10-4-3-10)
skHss | OIS ERE ol L 2HE JIE 24ESH M 7 $2-9-2 82(HS2-9-2)
skHso | HIWH CIEE HRZ ot= 14 SHEMEZ It ZES2 M42 $2-10-1-8 | S11(HS2-9-1-8)
JISHALUO]| 14 37| #AH2 AHE0] USLICHE SUHOM AFREE 14 372 B S5 7ot e HE Wo|
QUSLICE Z[20fl= 22 sto|AL| MZ SZE CISIA| S0{LIA, FH0f| #-E|0] U= SKH10, SKH53 2 SKH57S 0[2]0f],
HILIE (V)0 4~12%, 2LE(Co)7t 8~11 % ZEHE ‘StO| HILKE 510| ZHE 'THE7t MIZE| 1 Q= AStlL|C) Ao =T AXY

A
=0

"X M watxl 4O 2 of| AHEIL|CE
Ol2fEt ABIOlIA ol AIEl= THRE 77 0l2/2] B2 S0l BOKA, J2fet MER Y KR 57|15
= 5253 G ZP7H BO| WABILICE r2hh 22

JISTZ o|2oll= BLEF 71=7t ¢l7| TR0 EA| & 4= ¢
A F25t0, ofH AISe| HEE M85t JY=XIE I 72 7|=0] 20| EA|SH= WAIZ Bo| AF8stn

=
od

HEAsHoF & %"—‘.’—,
o| SO Z=RZE AHE
QU= ZARILICE,

Think threads with

YAMAWA

YAMAWA CATALOG

JIEX=

269



33, B-[}0|A A =5

* MIAANZIETA K/ O = 7|1t E-61(JHEIY) S SRIFAUAR.
* QUSHAMS AZAIK| HO|X[0]] 7|XHE! OI0|2OZ SOISHFMAIR
K Ds K
! = | s e
Iy Y/ bk K
2 K 2
L L
K L Ds K
==—p ¢ +
2 y K g; Yk K
L | L
K L Ds K
=i=q 8 @
2 N K
On K Zs i
L 4 L
(Tvee o N
JleXt= De K Ds
| R
=1+ % '
Y bk
gn K ‘e L
L
[ TYPEe [ TYPEK
Ds K Ds
B e
L 2
4y K £
4 L
L
BT
Ds K Ds
1 | I T
o I | .
i bk K Y/
RN , hdd L
[TvPEn
Ds K 4 D. K
S
o rs @ — %
L L
¥ M40IokHs ARIERIS, MBOIAOl MEHEE= SZEMH Q! MEHILICEH

Think threads with

YAMAWA

270



De o s
—tp ¢ —x &
4 0 Iy K Y , K
Ds K
o] i @
Y K
L L
D= 2&
[ TYPEr [ TYPEv
Ds Ds K
o] —— —r %%@
4
L Y Mﬁ K
De=92 .
[ TYPEs
Ds
DcI — ] JIEXIE
4
L
Dc: Q&

A2 0l 20 k|20 EolE
X|== 7|=2| H|Eoi| 2510

HAL BT IR 00] 7ROt K4 7|8 2t 242 CHE 7|

N
A5 21014, T2E0| 27| OEEELICE 22 2 ofol? ZAPH
SUBH A4 7S ASHORM T2o| HRlS ot 22 Sxo=
(o]

23 S gols 82 Kl 7= E HEYSLIC

Il
g| ofntet FHE =0 = HEE S X 7|2 S MES2

O| A
UELICE
Al u*lJ:I+E AH AH
XX+ L+X} o .= 2 AH_J:I o — o=
£e e 2ol 20l 22| 5% o=

L y/ fc &n D Ds O« K

X YAMAWA
27



JIEXIE

YAMAWA CATALOG

272

EH. I- I SiAF B2
[ TYPECa " [rveEch 4
L i Y
| T 6
6
)
- L L
[ TYPECh e
P\ bs
\ [
* Jo 120°\ b S S 3]
AL L
[ TYPECo e W
Dw[Dz Dci—¢= L,i{)s _ ?ﬁ D. 8 0I5t
@ A IDs
7 S| S !
t NS
[D: 0.5~0.8] L
[ TYPECd rvee o VY
A D: 10014
Y ) @
AErE=a >ﬁ**79f* 3 & SHEPH ol
L Sy
[Dc1.0014] L
[ TYPE Co-1
" P Ol
D. 8010
De o/} _—
s f- I
4 %g/ ]
L
e [ TYPE Cn "
Ds De 10014
oef | < [ .
Cl / B Q‘ [ Q IS
i z
14| L .
veece R [ TYPECp "
Ds
e
Ds
- i
Jo 120°\ 3 Jer
Y%
Y .

Think threads with

YAMAWA




35.C0|A S =5

[TYPEDa TvPED

[TYPEDD [TYPED: N

TvPED: N TvPEDT
. =
72 D \) D
E

36.01= / 78 M8 &, CI0|A ¥y =8 T
0=78 ©,0ojA dy
(ua_______ N
Ds K Ds K
= —m % I &
L, 5 L2 K Y K
L L ‘

;**ij@

P YAMAWA

YAMAWA CATALOG 273



JIEXIE

274

DIN5157/DIN2181

D3

ol X EH SiA
78 08 H,CiolA
DIN377
Ds
Z
En L
Ds K
DJ-EET SU2-5P - |— %@
4
&), K
DIN374/376
Ds K
DfE—F = %ﬁgi
4 K
L
DIN357/352
Ds
DFEE—F
4
L
5P 3.5P 2P
] . PlAAAA
AL Fre o [
DIN357
Ds K
D} - = 4¢%§
4
c P . K
DIN5156
Ds K
D3 i ﬁ‘%
4
. K

1S0529
Ds K
D= F@
z-@n K
Ds K
T 7
Zﬁﬂ ‘Zk K
L
Ds i
E i —
2 S & K
L
Ds K
| —— %@
) @g s
L

Think threads with

YAMAWA

YAMAWA CATALOG




